April 30, 2022

Lori Mayabb Regulated Energy Division Michigan Public Service Commission PO Box 30221 Lansing, MI 48909

Dear Lori:

Enclosed please find one original and one copy of MPSC Form P-522 and accompanying schedules. Please note that, as a cooperative, PIE&G does not prepare annual reports for stockholders. In lieu of this report, I have included our annual audit report. Please call with any questions or concerns.

Sincerely,

Docusigned by:

Randy Stempky

5BEAC9B6AC7543F...

Randy Stempky Chief Financial Officer

Presque Isle Electric & Gas Co-op



Consolidated Financial Statements
December 31, 2021 and 2020
Presque Isle Electric & Gas Co-op and Subsidiary



Presque Isle Electric & Gas Co-op and Subsidiary Table of Contents

December 31, 2021 and 2020

Board of Directors	
Independent Auditor's Report	2
Consolidated Financial Statements	
Consolidated Balance Sheets - Assets	
Supplementary Information	
Consolidating Balance Sheet - Assets	25
Consolidating Balance Sheet - Equities and Liabilities	26
Consolidating Statement of Operations	

Presque Isle Electric & Gas Co-op and Subsidiary Listing of Board of Directors (Unaudited)

December 31, 2021

Allan J. Berg Chair

John F. Brown Vice Chair

Sandra Borowicz Secretary

Daryl W. Peterson Treasurer

Charles Arbour Director

Sally L. Knopf Director

Kurt Krajniak Director

Brentt Lucas Director

Raymond Wozniak Director



Independent Auditor's Report

The Board of Directors
Presque Isle Electric & Gas Co-op and Subsidiary
Onaway, Michigan

Report on the Audit of the Consolidated Financial Statements

Opinion

We have audited the consolidated financial statements of Presque Isle Electric & Gas Co-op and Subsidiary, which comprise the consolidated balance sheets as of December 31, 2021, and the related consolidated statements of operations, changes in members' equity, and cash flows for the year then ended, and the related notes to the consolidated financial statements.

In our opinion, the consolidated financial statements referred to above present fairly, in all material respects, the financial position of Presque Isle Electric & Gas Co-op and Subsidiary as December 31, 2021, and the results of its operations and cash flows for the year then ended in conformity with accounting principles generally accepted in the United States of America.

Basis for Opinion

We conducted our audit in accordance with auditing standards generally accepted in the United States of America (GAAS). Our responsibilities under those standards are further described in the Auditor's Responsibilities for the Audit of the Consolidated Financial Statements section of our report. We are required to be independent of Presque Isle Electric & Gas Co-op and Subsidiary and to meet our other ethical responsibilities, in accordance with the relevant ethical requirements relating to our audit. We believe that the audit evidence we have obtained is sufficient and appropriate to provide a basis for our audit opinion.

Other Matter

The consolidated financial statements of Presque Isle Electric & Gas Co-op and Subsidiary for the year ended December 31, 2020, were audited by another auditor, who, expressed an unmodified opinion on those statements on March 18, 2021.

Responsibilities of Management for the Consolidated Financial Statements

Management is responsible for the preparation and fair presentation of these consolidated financial statements in accordance with accounting principles generally accepted in the United States of America; and for the design, implementation, and maintenance of internal control relevant to the preparation and fair presentation of consolidated financial statements that are free from material misstatement, whether due to fraud or error.

In preparing the consolidated financial statements, management is required to evaluate whether there are conditions or events, considered in the aggregate, that raise substantial doubt about Presque Isle Electric & Gas Co-op and Subsidiary's ability to continue as a going concern for one year after the date that the consolidated financial statements are issued.

Auditor's Responsibilities for the Audit of the Consolidated Financial Statements

Our objectives are to obtain reasonable assurance about whether the consolidated financial statements as a whole are free from material misstatement, whether due to fraud or error, and to issue an auditor's report that includes our opinion. Reasonable assurance is a high level of assurance but is not absolute assurance and therefore is not a guarantee that an audit conducted in accordance with GAAS will always detect a material misstatement when it exists. The risk of not detecting a material misstatement resulting from fraud is higher than for one resulting from error, as fraud may involve collusion, forgery, intentional omissions, misrepresentations, or the override of internal control. Misstatements are considered material if there is a substantial likelihood that, individually or in the aggregate, they would influence the judgment made by a reasonable user based on the financial statements.

In performing an audit in accordance with GAAS, we:

- Exercise professional judgment and maintain professional skepticism throughout the audit.
- Identify and assess the risks of material misstatement of the consolidated financial statements, whether due to fraud or error, and design and perform audit procedures responsive to those risks.
 Such procedures include examining, on a test basis, evidence regarding the amounts and disclosures in the financial statements.
- Obtain an understanding of internal control relevant to the audit in order to design audit procedures that are appropriate in the circumstances, but not for the purpose of expressing an opinion on the effectiveness of Presque Isle Electric & Gas Co-op and Subsidiary's internal control. Accordingly, no such opinion is expressed.
- Evaluate the appropriateness of accounting policies used and the reasonableness of significant accounting estimates made by management, as well as evaluate the overall presentation of the financial statements.
- Conclude whether, in our judgment, there are conditions or events, considered in the aggregate, that raise substantial doubt about Presque Isle Electric & Gas Co-op and Subsidiary's ability to continue as a going concern for a reasonable period of time.

We are required to communicate with those charged with governance regarding, among other matters, the planned scope and timing of the audit, significant audit findings, and certain internal control-related matters that we identified during the audit.

Supplementary Information

Our audit was conducted for the purpose of forming an opinion on the basic consolidated financial statements taken as a whole. The listing of the board of directors, consolidating balance sheet and consolidating statement of operations are presented for the purposes of additional analysis and is not a required part of the consolidated financial statements. Such information is the responsibility of management and was derived from and relates directly to the underlying accounting and other records used to prepare the consolidated financial statements. With the exception of the listing of the board of directors, the information has been subjected to the auditing procedures applied in the audits of the consolidated financial statements and certain additional procedures, including comparing and reconciling such information directly to the underlying accounting and other records used to prepare the consolidated financial statements or to the consolidated financial statements themselves, and other additional procedures in accordance with auditing standards generally accepted in the United States of America. In our opinion, the information is fairly stated in all material respects in relation to the consolidated financial statements as a whole. The listing of the board of directors has not been subjected to the auditing procedures applied in the audit of the basic consolidated financial statements and, accordingly, we do not express and opinion or provide any assurance on them.

Fargo, North Dakota

Esde Saelly LLP

April 11, 2022

Consolidated Balance Sheets - Assets December 31, 2021 and 2020

	2021	2020
Assets		
Utility Plant In service - at cost Construction work in progress	\$ 194,216,148 2,431,517	\$ 166,109,996 14,993,745
Total utility plant Less accumulated depreciation and amortization	196,647,665 (83,233,329)	181,103,741 (78,861,950)
Utility plant - net	113,414,336	102,241,791
Other Assets and Investments Investments in associated organizations	23,953,102	23,948,108
Current Assets Cash and temporary cash investments Accounts receivable, less allowance for doubtful accounts of \$121,760 in 2021 and 2020	5,703,297 6,729,174	2,889,575 5,718,742
Unbilled revenue Materials and supplies Prepaid expenses	990,197 7,363,697 182,659	545,201 2,709,315 390,775
Total current assets	20,969,024	12,253,608
Deferred Debits	251,665	100,946
Total Assets	\$ 158,588,127	\$ 138,544,453

Consolidated Balance Sheets - Equities and Liabilities December 31, 2021 and 2020

	2021	2020
Equities and Liabilities		
Equities		
Memberships	\$ 310,615	\$ 301,545
Patronage capital	51,038,107	52,917,069
Other equities	5,046,726	4,713,037
Total equities	56,395,448	57,931,651
Long-Term Liabilities		
Long-term debt, net of current maturities	79,391,733	67,483,649
Accrued post-retirement benefits	1,012,836	919,327
Total long-term debt	80,404,569	68,402,976
Current Liabilities		
Current maturities of long-term debt	2,940,453	2,456,000
Note payable - line of credit	10,576,530	4,000,000
Accounts payable		
Purchased energy	2,076,263	2,192,984
Other Accrued payroll, sick and vacation	3,003,238 922,016	572,328 791,278
Accrued property taxes	682,937	548,756
Customer deposits	544,950	594,147
Accrued interest	335,879	306,555
Patronage capital payable	51,163	41,973
Other	289,487	226,365
Total current liabilities	21,422,916	11,730,386
Deferred Credits	365,194	479,440
Total equities and liabilities	\$ 158,588,127	\$ 138,544,453

Consolidated Statements of Operations Years Ended December 31, 2021 and 2020

	2021	2020
Operating Revenues		
Electric and gas sales	\$ 49,015,220	\$ 46,175,454
Other sales	324,978	331,295
	49,340,198	46,506,749
Operating Expenses	2= 2=2 252	24 224 255
Cost of energy	25,959,068	24,091,855
Operation and maintenance	8,599,882	6,778,004
Customer accounts	2,530,698	2,202,361
Customer service and information expense	900,275	746,091
Administrative and general	3,021,932	2,481,026
Depreciation and amortization	5,431,454	5,244,046
Taxes - property Taxes - other	1,382,597	1,206,200
raxes - other	44,642	50,119
Total operating expenses	47,870,548	42,799,702
Operating Margins Before Fixed Charges	1,469,650	3,707,047
Fixed Charges		
Interest on long-term debt	3,155,009	2,803,245
Operating Margins After Fixed Charges	(1,685,359)	903,802
Capital Credits	1,873,364	1,565,685
Net Operating Margins (Loss)	188,005	2,469,487
Non-Operating Margins		
Interest income	47,733	71,330
Other income (expense)	(658,533)	1,797,763
Total Non-Operating Margins (Loss)	(610,800)	1,869,093
Not Margins (Loss)	¢ (422.705)	¢ 4220 E90
Net Margins (Loss)	\$ (422,795)	\$ 4,338,580

Consolidated Statements of Members' Equity Years Ended December 31, 2021 and 2020

	Me	mberships	Patronage Capital	Other Equities	_	Total
Balance, December 31, 2019 Memberships issued - net Other equity transactions Retirement of capital credits Current year net margins	\$	292,815 8,730 - - -	\$ 49,931,677 - - (1,353,188) 4,338,580	\$ 4,402,941 - 310,096 - -	<u>\$</u>	5 54,627,433 8,730 310,096 (1,353,188) 4,338,580
Balance, December 31, 2020 Memberships issued - net Retirement of capital credits Current year net loss		301,545 9,070 - -	52,917,069 - (1,456,167) (422,795)	4,713,037 - 333,689 -		57,931,651 9,070 (1,122,478) (422,795)
Balance, December 31, 2021	\$	310,615	\$ 51,038,107	\$ 5,046,726	\$	56,395,448

Consolidated Statements of Cash Flows Years Ended December 31, 2021 and 2020

	2021	2020
Operating Activities		
Cash received from customers	\$ 47,075,517	\$ 48,525,047
Cash paid to suppliers and employees	(39,386,227)	(36,251,668)
Interest received	47,733	71,330
Interest paid	(3,125,685)	(2,773,485)
Taxes paid	(1,293,058)	(1,272,532)
Net Cash from Operating Activities	3,318,280	8,298,692
Investing Activities		
Net utility plant additions and replacements	(16,268,605)	(20,329,976)
Capital credit distributions received	1,868,371	1,824,014
Change in materials and supplies	(3,796,540)	(578,771)
Net Cash used for Investing Activities	(18,196,774)	(19,084,733)
Financing Activities		
Proceeds from debt	15,000,000	13,900,000
Payments of debt	(2,607,463)	(2,225,924)
Net change in line of credit	6,576,530	200,000
Capital credits paid	(1,122,478)	(1,353,188)
Proceeds from memberships issued	9,070	8,730
Increase (decrease) in consumer deposits	(49,197)	11,136
Increase (decrease) in deferred credits	(114,246)	(134,337)
Change in other equities		310,096
Net Cash from Financing Activities	17,692,216	10,716,513
Net Change in Cash and Cash Equivalents	2,813,722	(69,528)
Cash and Cash Equivalents, Beginning of Year	2,889,575	2,959,103
Cash and Cash Equivalents, End of Year	\$ 5,703,297	\$ 2,889,575

Consolidated Statements of Cash Flows Years Ended December 31, 2021 and 2020

		2021		2020
Reconciliation of Net Margins (loss) to Net Cash from				
Operating Activities				
Net margins	\$	(422,795)	\$	4,338,580
Adjustments to reconcile net margins to net cash from				
Operating activities				
Depreciation and amortization		5,272,003		5,823,837
Loss on disposal of assets		654,072		170,468
Capital credits		(1,873,365)		(1,565,685)
Change in assets and liabilities				
Customer and other accounts receivable		(1,010,432)		(245,024)
Unbilled revenue		(444,996)		-
Prepaid expenses		208,116		15,231
Deferred debits		(150,719)		62,740
Accounts payable		626,332		(183,593)
Accrued interest payable		29,324		29,760
Accrued property taxes		134,181		10,631
Accrued post retirement benefits		93,509		(18,288)
Current and accrued liabilities - other		203,050		(139,965)
Net Cash From Operating Activities	\$	3,318,280	\$	8,298,692
Supplemental Disclosure of Cash Flow Information				
Cash paid during the year for				
Interest	\$	2,945,468	\$	1,565,685
Income taxes	\$	40,000	\$	40,000
meome taxes		40,000	<u> </u>	+0,000
Supplemental Disclosure of Non-Cash Investing Activities				
Accounts payable incurred for plant	\$	830,015	\$	-
Accounts payable incurred for materials and supplies	\$	857,842	\$	-

Note 1 - Summary of Significant Accounting Policies

Principal Business Activity

Presque Isle Electric & Gas Co-op ("PIE&G", "the Cooperative") is a member-owned, not-for-profit corporation whose purpose is to provide retail energy services to its members. As a cooperative, all monies in excess of cost of providing electric and natural gas services are capital, at the moment of receipt, and are credited to each member's capital account.

During 2021, the Cooperative entered into another like business activity, to provide high speed internet services (fiber to the home) to its electric members, with the goal to build out to all of its members. The fiber business is considered a division within the cooperative.

Presque Isle Aurora Gas Assets ("PIAGA") is a wholly-owned subsidiary of Presque Isle Electric & Gas Cooperative, acquired in 2018. PIE&G has a rental agreement with PIAGA for use of building, equipment, and transportation assets. In addition, there is an irrevocable right to use agreement that grants PIE&G access and use of PIAGA natural gas pipelines and related property. In consideration, PIE&G manages, operates and maintains the assets.

Consolidation Policy and Preparation of Consolidated Financial Statements

The accompanying consolidated financial statements combine the accounts of the Cooperative and its wholly owned subsidiary, Presque Isle Aurora Gas Assets, as required. Presque Isle Electric and Gas Cooperative, Inc. has accounted for the investment using the equity method. All significant inter-company transactions have been eliminated. The consolidated financial statements have been prepared on the accrual basis of accounting.

Utility Plant and Depreciation

Property and equipment are carried at cost less contributions in aid of construction. The cost of additions to electric and natural gas plant includes contracted work, direct labor and materials and allocable overheads. When units of property that are specifically identifiable are retired, sold or otherwise disposed of in the ordinary course of business, their book cost less net salvage is recognized as a gain or loss. All other units of property that are retired, sold or otherwise disposed of in the ordinary course of business, their average book cost less net salvage is charged to accumulated depreciation. Repairs and the replacement and renewal of items determined to be less than units of property are charged to maintenance expense.

The Cooperative utilizes composite depreciation methods for each distribution plant account. The rates are determined based on management's estimate of the average useful life of the assets along with future cost of removal and salvage factor estimates. Industry guidelines are also utilized to assist with determining the appropriate rates.

Depreciation of the following assets is determined by straight-line method based upon the estimated useful lives of the various classes of property.

	Years
Structures and improvements	10-50
Office furniture equipment	1.5-7
Transportation equipment	4-7
Power operated equipment	3-16
Other	4-5

Recoverability of Long-Lived Assets

The Cooperative reviews the carrying value of electric and natural gas plant for impairment whenever events and circumstances indicate that the carrying value of an asset may not be recoverable from the estimated future cash flows expected to result from its use and eventual disposition. An impairment loss is recognized when estimated undiscounted cash flows expected to result from the use of the asset plus net proceeds expected from disposition of the asset are less than the carrying value of the asset. Management has determined that no impairment exists at December 31, 2021 and 2020

Cash and Cash Equivalents

For purposes of the statement of cash flows, the Cooperative considers all highly liquid debt instruments purchased with an original maturity of three months or less to be temporary cash investments.

Investments

The Cooperative has investments in associated companies and other investments which are accounted for as equity securities. The Cooperative has determined that these investments do not have a readily determinable fair value. Investments in associated companies are recorded at the Cooperative's share of allocated patronage capital and the other investments are recorded at cost. These investments are assessed for impairment, if any, and adjusted for changes resulting from observable price changes in orderly transactions for the identical or a similar investment of the same issuer. The Cooperative has not identified any impairments and there has not been observable price changes during the years ended December 31, 2021 and 2020.

Receivables and Credit Policies

The Cooperative's revenue contracts provide it with the unconditional right to consideration upon delivery of electricity and natural gas to its customers; therefore, a receivable is recognized in the period the Cooperative provides energy to its customers, so no contract assets or liabilities exist. The unconditional right to consideration is represented by contract receivables which are presented on the balance sheet as accounts receivable.

Trade receivables are uncollateralized customer obligations due under normal trade terms requiring payment within 21 days from the billing date. Unpaid trade receivables with dates over 30 days old are assessed a late fee of 2% of the unpaid balance. Seasonal account billings are accounted for as deferred credits and recognized as income on a straight-line basis over a period of one year. There were no estimated net unbilled revenues for the year.

Payments on trade and notes receivables are allocated to the earliest unpaid billings. The carrying amounts of trade receivables are reduced by a valuation allowance that reflects management's best estimate of the amount that will not be collected. Management reviews all trade receivable balances periodically and adjusts the allowance accounts based on current economic conditions and past experience. When a member's account becomes past due and uncollectible, the member's service is terminated. The Board of Directors approves all accounts charged off.

The Cooperative records an estimate of the unbilled revenues pertaining to seasonal members as of year-end as a result of the timing of when the meters are read.

The beginning and ending balances of customer prepayments, accounts receivable, and unbilled revenues, net of allowances for doubtful accounts, were as follows for the years ended December 31, 2021 and 2020:

	De	ecember 31, 2021	De	ecember 31, 2020		J	anuary 1, 2020
Billed Unbilled Customer Deposits (Contract Liability)	\$	6,729,174 990,197 (544,950)	\$	5,718,742 545,201 (594,147)	_	\$	5,473,718 224,366 (583,011)
Total accounts receivable	\$	7,174,421	\$	5,669,796	_	\$	5,115,073

Materials and Supplies

Electric, natural gas, and fiber materials and supplies are valued at average cost. Natural gas inventory is stated at the lower of cost or net realizable value. Cost is determined on a first-in, first out (FIFO) method.

Deferred Debits

Deferred debits consists of prepaid tap fees, prepaid years of service, and under collection of amounts.

Patronage Capital

The Cooperative operates on a nonprofit basis. Amounts received from the furnishing of electric energy and natural gas in excess of operating costs and expenses are assigned to patrons on a patronage basis. All other amounts received by the Cooperative from its operations in excess of costs and expenses, to the extent they are not needed to offset current or prior losses, may be credited to a general unallocated reserve, at the discretion and determination of the Board of Directors.

Presque Isle Electric & Gas Co-op and Subsidiary Notes to Consolidated Financial Statements

December 31, 2021 and 2020

Revenue Recognition

The Cooperative accounts for customer revenues under Accounting Standards Codification (ASC) 606, Revenue from Contracts with Customers.

The Cooperative's performance obligation related to the sale of energy and natural gas is satisfied as energy and natural gas are delivered to customers; therefore, revenue from the delivery of energy and natural gas are recognized over time as energy and natural gas are delivered to the customers. The Cooperative's members read their meters and bills are sent to customers each month.

The Cooperative's performance obligation related to merchandising, electrical, and other services are satisfied at the point in time when projects have been completed; therefore, revenue is recorded upon the completion of the service.

The Cooperative does not have any significant financing components related to contracts with customers as payment is received shortly after being billed to customers.

The following table depicts revenues by timing of revenue recognition and type of revenue for the years ended December 31, 2021 and 2020, respectively:

	2021	2020
Electric Revenues (Transferred over Time) Gas Revenues (Transferred over Time) Service Charge (Transferred at Point in Time)	\$ 38,527,715 10,487,505 205,694	\$ 35,714,666 10,460,790 188,725
Rent Revenue (Transferred at Point in Time) Revenue from contracts with customers	\$ 49,340,198	\$ 46,506,749

Power Costs

Power costs include all power delivered to the Cooperative, regardless of whether the power supplier has billed the Cooperative for power delivered.

Deferred Credits

Deferred credits consist primarily of advance payments made by consumers in connection with electric and natural gas service.

Business and Credit Risk

Financial instruments which potentially subject the Cooperative to concentrations of credit risk consist primarily of temporary cash instruments and trade receivables. The Cooperative provides electrical and natural gas service on account to its members located in Michigan. The Cooperative has established policies for extending the credit based upon factors surrounding the credit risk of specified members, historical trends, and other information. Concentrations of credit risk with respect to trade receivables are limited due to the Cooperative's large number of members. Nonetheless, the Cooperative's ability to collect from its members is affected by the economic conditions in which it operates.

The Cooperative maintains its temporary cash investments and cash balances with high credit quality financial institutions. Although such investments and cash balances may exceed the federally insured limit of \$250,000 from time to time, they are, in the opinion of management, subject to minimal risk.

Accounting Estimates

The preparation of financial statements in conformity with accounting principles generally accepted in the United States of America requires management to make estimates and assumptions that affect the reported amounts of assets and liabilities at the date of the financial statements and reported amounts of revenues and expenses during the reporting period. Actual results could differ from those estimates.

Sales Taxes

The Cooperative has members in a state which imposes a sales tax on certain sales. The Cooperative collects the sales taxes from its members and remits the entire amount to the State of Michigan. The Cooperative's accounting policy is to exclude the tax collected and remitted from revenue and cost of revenue.

Fair Value Measurements

Accounting Standards Codification (ASC) 820, Fair Value Measurements and Disclosures provides a framework for measuring fair value under generally accepted accounting principles.

ASC 820 defines fair value as the exchange price that would be received for an asset or paid to transfer a liability (an exit price) in the principal or most advantageous market for the asset or liability in an orderly transaction between market participants on the measurement date. ASC 820 requires that valuation techniques maximize the use of observable inputs and minimize the use of unobservable inputs. ASC 820 also establishes a fair value hierarchy, which prioritizes the valuation inputs into three broad levels.

Level 1 inputs consist of quoted prices in active markets for identical assets or liabilities that the reporting entity has the ability to access at the measurement date. Level 2 inputs are inputs other than quoted prices included within Level 1 that are observable for the related asset or liability. Level 3 inputs are unobservable inputs related to the asset or liability.

The Cooperative does not have any assets or liabilities subject to the level 1, 2, or 3 valuation as of December 31, 2021 and 2020 and does not anticipate participating in transactions of this type in the future.

Income Taxes

Income taxes are provided for the tax effects of transactions reporting in the financial statements and consist of taxes currently due plus deferred taxes related primarily to differences between the basis of receivables, inventories, property and equipment, intangible property, and accrued expenses for financial and income tax reporting. The deferred tax assets and liabilities represent the future tax return consequences of those differences, which will either be taxable or deductible when the assets and liabilities are recovered or settled.

The Company evaluates its tax positions that have been taken or are expected to be taken on income tax returns to determine if an accrual is necessary for uncertain tax positions. As of December 31, 2021 and 2020, the unrecognized tax benefits accrual was zero. The Company will recognize future accrued interest and penalties related to unrecognized tax benefits in income tax expense if incurred.

Advertising Costs

Advertising costs of \$293,470 and \$171,360 in 2021 and 2020, respectively, are expensed as incurred.

Retirement Plan

Presque Isle has a retirement savings plan for substantially all employees. Under the terms of the plan, Presque Isle is required to contribute 10 to 16 percent of the employee's total base earnings to the retirement plan.

Contributions in Aid of Construction

Contributions in aid of construction are received from members on electrical and gas service requests and reapplied against the construction costs.

Regulation

Electric accounting and rate matters are subject to the Board of Directors and membership approval. Natural gas accounting and rate matters are either subject to Home Rule approval pursuant to the Michigan Home Rule Statute or subject to the approval of the Michigan Public Service Commission.

Reclassifications

Certain reclassifications of amounts previously reported have been made to the accompanying financial statements to maintain consistency between periods presented. The reclassifications had no impact on net income or members equity.

Notes to Consolidated Financial Statements December 31, 2021 and 2020

Note 2 - Plant and Equipment

Plant in service consists of the following:

	2021	2020
Distribution Plant	155,802,624	150,053,332
General Plant	35,907,730	13,550,871
Transmission Plant	834,898	834,897
Intangible Plant	1,670,896	1,670,896
Construction Work in Progress	194,216,148 2,431,517	166,109,996 14,993,745
Construction Work in Progress	2,431,317	14,555,745
Total	\$ 196,647,665	\$ 181,103,741

Note 3 - Investments in Associated Organizations

Investments in associated organizations consisted of the following at December 31, 2021 and 2020:

	2021	2020
Wolverine Power Supply Cooperative, Inc Patronage Capital Credits National Rural Utilities Cooperative Finance Corporation	\$ 19,457,298	\$ 19,563,166
Capital term certificates	1,394,779	1,417,768
Patronage capital credits	2,360,567	2,283,268
RESCO - Patronage Capital Credits	355,628	324,561
National Information Services Cooperative - Patronage Capital Credits	257,396	239,721
CoBank - Patronage Capital Credits	96,825	87,627
Other	30,609	31,998
Total	\$ 23,953,102	\$ 23,948,109

Notes to Consolidated Financial Statements December 31, 2021 and 2020

Deferred Debits and Credits Note 4 -

Following is a summary of the amounts recorded as deferred debits as of December 31, 2021 and 2020:

	2021		 2020	
Prepaid Tap Fees	\$	47,402	\$ 49,398	
Prepaid Years of Service		2,789	18,014	
Under-Collection of WPSC PSCR Costs	167,940		-	
Other		33,534	 33,534	
Total	\$	251,665	\$ 100,946	

Following is a summary of the amounts recorded as deferred credits as of December 31, 2021 and 2020:

	 2021		2020	
Customer Prepayments Over-Collection of WPSC PSCR Costs	\$ 365,194 -	\$	340,233 139,208	
	\$ 365,194	\$	479,441	

Note 5 -**Patronage Capital**

Patronage capital consisted of the following at December 31, 2021 and 2020:

	2021	2020
Assignable Assigned to Date	\$ (422,795) 	\$ 4,338,580 69,664,608
Less Retirements to Date	73,580,393 (22,542,286)	74,003,188 (21,086,119)
Total	\$ 51,038,107	\$ 52,917,069

Under the provisions of the Mortgage Agreements, until the equities and margins equal or exceed thirty percent of the total assets of the Cooperative, the return to patrons of capital contributed by them is limited generally to twenty-five percent of the patronage capital or margins received by the Cooperative in the next preceding year.

The equities and margins of the Cooperative represent and of the total assets at December 31, 2021 and 2020, respectively.

Notes to Consolidated Financial Statements December 31, 2021 and 2020

Memberships and Other Equities Note 6 -

At December 31, 2021 and 2020, other equities consisted of:

	2021		2020	
Unclaimed Patronage Capital Equity from Subsidiary Patronage Capital Abandoned Donated Capital	\$	2,406,967 260,648 1,652,713 607,107	\$	2,380,251 260,648 1,347,632 605,214
Capital Gains and Losses	\$	119,291 5,046,726	\$	119,292

Memberships have been adjusted to reflect the number of members currently receiving service. In accordance with the Co-op by-laws, memberships are not refunded when a member leaves the service area. The membership fee is transferred to donated capital when the member terminates service.

Note 7 -**Mortgage Notes**

Long-term debt consists of the following:

	2021	2020
NRUCFC mortgage notes payable in equal quarterly installments including interest at 2.45%-6.28%, maturing through 2051, secured by utility plant assets	\$ 82,332,186	\$ 69,939,652
Less Current Maturities	(2,940,453)	(2,456,000)
	\$ 79,391,733	\$ 67,483,652

As of December 31, 2021, approximate annual maturities of long-term debt outstanding for the next five years are as follows:

2022 2023 2024 2025	\$ 2,940,453 3,080,310 3,132,596 3,236,148
2026	3,369,529
Thereafter	66,573,150
	\$ 82,332,186

Notes to Consolidated Financial Statements
December 31, 2021 and 2020

Substantially all assets are pledged as collateral on long-term debt payable to the National Rural Utilities Cooperative Finance Corporation (NRUCFC). Additionally, the Cooperative has \$86,000,000 of unadvanced loan funds available from NRUCFC as of December 31, 2021.

Note 8 - Line of Credit

Lines of credit consists of the following:

	2021		2020	
NRUCFC Line of Credit (Perpetual)				
Available at December 31	\$	8,000,000	\$8,000,000	
Outstanding at December 31		3,500,000	-	
Interest rate at December 31		2.45%	2.45%	
CoBank Line of Credit				
Available at December 31	\$	8,000,000	\$8,000,000	
Outstanding at December 31		7,076,530	4,000,000	
Interest rate at December 31		2.41%	2.45%	

The line of credit agreement requires that when the agreement is for a term of more than twelve months, then within 360 days of the first advance, the cooperative will reduce to zero for a period of at least five consecutive business days amounts outstanding. The Cooperative was in compliance with this requirement for 2021 and 2020.

The Cooperative has a letter of credit outstanding to CFC for \$1,500,000 at December 31, 2021 and 2020. This letter of credit is required in order to mitigate counter party risk in natural gas purchase transactions. This also is a risk management tool for the Co-op with respect to mark to market issues. As of January 1, 2022 the letter of credit was decreased to \$1.

At December 31, 2021, the Cooperative has a letter of credit agreement with Universal Service Administrative Company (USAC). The agreement provides a letter of credit up to \$1,126,354. There were no outstanding balances on the letter of credit at December 31, 2021 and 2020.

Note 9 - Benefit Plans

Pension Plan

The Retirement Security Plan (RS Plan), sponsored by the National Rural Electric Cooperative Association (NRECA), is a defined benefit pension plan qualified under Section 401 and tax-exempt under Section 501(a) of the Internal Revenue Code. It is a multiemployer plan under the accounting standards.

The plan sponsor's Employer Identification Number is 53-0116145 and the Plan Number is 333.

A unique characteristic of a multiemployer plan compared to a single employer plan is that all plan assets are available to pay benefits of any plan participant. Separate asset accounts are not maintained for participating employers. This means that assets contributed by one employer may be used to provide benefits to employees of other participating employers.

The Cooperative's contributions to the RS Plan in 2021 and 2020 represented less than five percent of the total contributions made to the RS Plan by all participating employers. The Cooperative made contributions to the plan of \$643,511 and \$618,397 for the years ended December 31, 2021 and 2020, respectively. In 2013, the Cooperative made a \$152,257 prepayment to the NRECA for the RS Plan to enhance the Plan's funded status. The prepayment is being amortized over 10 years. The amortization expense was \$15,226 in 2021 and 2020.

For the RS Plan, a "zone status" determination is not required, and therefore not determined, under the Pension Protection Act (PPA) of 2006. In addition, the accumulated benefit obligations and plan assets are not determined or allocated separately by individual employer. In total, the RS Plan was over 80 percent funded on January 1, 2021 and January 1, 2020 based on the PPA funding target and PPA actuarial value of assets on those dates.

Because the provisions of the PPA do not apply to the RS Plan, funding improvement plans and surcharges are not applicable. Future contribution requirements are determined each year as part of the actuarial valuation of the plan and may change as a result of plan experience.

Postretirement Health Insurance Benefits

The cooperative has chosen to recognize the accounting method required by the Statement of Financial Accounting Standards No. 106 for Employer's Accounting for Post-retirement Benefits Other Than Pensions. The statement requires a transition from accounting, for these benefits, on a pay-as-you go (cash basis) to recognizing the benefit cost as they are earned (accrual basis). The change in accounting method requires the accounting for costs incurred to date but unpaid, which is called the Transition amount. This amount may be either expensed in the year of transition or it may be amortized over either the benefit period or twenty-years.

The plan sponsored by the company is a defined benefit post-retirement plan that covers all employees who retire from the cooperative before April 1, 1997 after (i) attainment of age 55 and completion of 30 years of service, or (ii) attainment of age 62. Spouses of pensioners are also insured until the pensioner's death.

Notes to Consolidated Financial Statements
December 31, 2021 and 2020

At the end of 2020 there were no active participants and the accounting rules of the Financial Accounting Standards Board Statement No. 88 regarding curtailment must be recognized. The reconciliation of the funded status at December 31, 2020 is as follows:

,	2021	2020
Accumulated Postretirement Benefit Obligation, Beginning of Year	\$ 1,129,353	\$ 937,615
Actuarial Gain on Assumption Changes Benefit Payments Interest Cost on Accumulated Postretirement Benefit Obligations	(130,993) 14,476	253,178 (91,243) 29,803
Net periodic postretirement cost (benefit)	(116,517)	191,738
Contribution to Plan Benefit Payments	130,993 (130,993)	123,536 (123,536)
Net plan funding		
Accumulated Postretirement Benefit Obligation End of Year Less: Current obligation	1,012,836 126,169	1,129,353 210,026
Long-term	\$ 886,667	\$ 919,327

For measurement purposes, a 6.5% annual rate of increase in the per capita cost of covered health care benefits was assumed for 2021; the rate was assumed to decrease gradually to an ultimate rate of 4.5% per annum. The health care cost trend rate assumption has a significant effect on the amounts reported. To illustrate, increasing the assumed health care cost trend rates by 1 percentage point in each year would increase the accumulated post-retirement benefit obligation \$32,155. Decreasing the assumed health care cost trend rates by 1 percentage point in each year would decrease the accumulated post-retirement benefit obligation \$27,668.

The weighted-average discount rate used in determining the accumulated post-retirement benefit obligation was 1.45 percent.

Note 10 - Commitments and Contingencies

Power Supply Cost Recovery Clause

On October 12, 1982, the Governor of the State of Michigan signed PA 304 of 1982 into law creating the Power Supply Cost Recovery Clause (PSCR), a power cost recovery mechanism.

Wolverine Power Supply Cooperative, Inc. (Wolverine) and the member-distribution Cooperatives, including Presque Isle, obtained authority to implement and apply PSCR clauses and monthly factors. Presque Isle's monthly base rate is \$0.08785 per kWh for the current period.

Due to fluctuations in market conditions, over-collections or under-collections could result between the generation cooperative and distribution cooperative as well as between the distribution cooperatives and their member-consumers.

The PSCR clause includes provisions whereby power cost recovery over-collections must be remedied by refunds and power cost recovery under-collections must be remedied by additional collections.

Presque Isle's balance sheets reflect an amount due to from member-consumers for under collections in the amounts of \$852,724 and \$384,537 at December 31, 2021 and 2020, respectively. These amounts are included in the accounts receivable balance.

The GCR mechanism includes provisions whereby gas cost recovery over-collections must be remedied by refunds and gas cost recovery under-collections must be remedied by additional collections. Presque Isle's balance sheet reflects an amount due from member-consumers for under collections in the amounts of \$163,881 and \$116,757 for the years ended December 31, 2021 and 2020, respectively. This amount is recorded in accounts receivable.

Transportation Contract

PIE&G has entered into a transportation contract expiring March 31, 2022, requiring PIE&G to deliver certain daily quantities of gas to designated points, and to receive certain daily quantities of gas at designated points. Transportation will be billed at \$0.24 per Dth, paid in monthly installments of \$46,440 through March 2022.

Concentration of Sources of Labor

At December 31, 2021, the Cooperative has approximately 66% of its employees covered by a collective bargaining agreement. The collective bargaining agreement for employees will expire on March 31, 2026.

Forward Contracts

Certain contracts that literally meet the definition of a derivative may be exempted from derivative accounting as normal purchases or normal sales. Normal purchases and normal sales are contracts that provide for the purchase or sale of something other than a financial instrument or derivative instrument that will be delivered in quantities expected to be used or sold over a reasonable period in the normal course of business. Contracts that meet the requirements of normal and are documented as normal are exempted from the derivative accounting and reporting requirements.

The Company uses forward contracts to reduce the risk related to changes in market prices of fixed natural gas purchases contracts that meet the requirements of normal purchases and normal sales.

All contracts are entered into at a specified price and quantity that is not subject to change. The quantities are based on projected future demand and the sales price of natural gas to customers is determined by the aggregate cost of the contracts.

Notes to Consolidated Financial Statements December 31, 2021 and 2020

The future commitments on gas forward contracts is as follows:

Years Ending December 31,	Amount
2022 2023 2024 2025	\$ 3,710,131 2,033,515 1,005,506 269,752
Total commitment	\$ 7,018,904

Note 11 - Related Party Transactions

The Cooperative is a member of and purchases its energy requirements from Wolverine Power Supply Company, a related party.

Following is a summary of material transactions with Wolverine for the years ended December 31, 2021 and 2020:

	2021	2020
Purchase of Wholesale Power	\$ 22,116,218	\$ 20,013,908
Accounts Payable for Purchased Power at December 31	\$ 2,076,263	\$ 2,192,984
Accumulated Investment in Patronage Capital Credits	\$ 19,457,298	\$ 19,563,166
Capital Credits Allocated During the Year	\$ 1,506,149	\$ 1,304,738
Capital Credits Retired During the Year	\$ 773,970	\$ 1,612,016

Note 12 - Subsequent Events

The Cooperative has evaluated subsequent events through April 11, 2022, the date which the financial statements were available to be issued.



Supplementary Information December 31, 2021 and 2020

Presque Isle Electric & Gas Co-op and Subsidiary

Consolidating Balance Sheet - Assets December 31, 2021 (With Comparative totals for 2020)

	Presque Isle	Presque Isle		Consolida	ted Totals
	Electric & Gas Cooperative	Aurora Gas Assets	Eliminations	2021	2020
Assets					
Utility Plant					
In service	188,078,673	\$ 6,137,475	\$ -	\$ 194,216,148	\$ 166,109,996
Construction work in progress	2,431,517			2,431,517	14,993,745
Total utility plant Less accumulated depreciation	190,510,190	6,137,475	-	196,647,665	181,103,741
and amortization	(79,285,314)	(3,948,015)		(83,233,329)	(78,861,950)
Utility plant - net	111,224,876	2,189,460		113,414,336	102,241,791
Other Assets and Investments					
Investments in associated organizations	23,953,102	-	-	23,953,102	23,948,108
Investment in subsidiary	2,571,910		(2,571,910)	<u> </u>	
Total other assets and investments	26,525,012		(2,571,910)	23,953,102	23,948,108
Current Assets					
Cash and temporary cash investments Accounts receivable, less allowance for doubtful accounts of \$121,760 in 2021	5,065,762	637,535	-	5,703,297	2,889,575
and 2020	6,730,174	17,016	(18,016)	6,729,174	5,718,742
Unbilled revenue	990,197	-	-	990,197	545,201
Materials and supplies	7,363,697	-	-	7,363,697	2,709,315
Prepaid expenses	182,659			182,659	390,775
Total current assets	20,332,489	654,551	(18,016)	20,969,024	12,253,608
Deferred Debits	251,665			251,665	100,946
Total assets	\$ 158,334,042	\$ 2,844,011	\$ (2,589,926)	\$ 158,588,127	\$ 138,544,453

Consolidating Balance Sheet - Equities and Liabilities

December 31, 2021

(With Comparative totals for 2020)

	Presque Isle	Presque Isle		Consolida	ited Totals
	Electric & Gas Cooperative	Aurora Gas Assets	Eliminations	2021	2020
Equities and Liabilities					
Equities Memberships Patronage capital	\$ 310,615 51,038,107	\$ -	\$ -	\$ 310,615 51,038,107	\$ 301,545 52,917,069
Other equities	4,786,079	2,832,557	(2,571,910)	5,046,726	4,713,037
Total equities	56,134,801	2,832,557	(2,571,910)	56,395,448	57,931,651
Long-Term Liabilities Long-term debt, less					
current maturities	79,391,733	-	-	79,391,733	67,483,649
Accrued post-retirement benefits	1,012,836			1,012,836	919,327
Total long-term debt	80,404,569			80,404,569	68,402,976
Current Liabilities					
Current maturities of long-term debt	2,940,453	_	-	2,940,453	2,456,000
Note payable - line of credit	10,576,530	-	-	10,576,530	4,000,000
Accounts payable	• •			, ,	
Purchased power	2,076,263	-	-	2,076,263	2,192,984
Subsidiary	17,016	-	(17,016)	-	-
Other	3,003,238	-	-	3,003,238	572,328
Accrued payroll and vacation	922,016	-	-	922,016	791,278
Accrued property taxes	672,483	10,454	-	682,937	548,756
Customer deposits and prepayments	544,950	-	-	544,950	594,147
Accrued interest	335,879	-	-	335,879	306,555
Patronage capital payable	51,163		()	51,163	41,973
Other	289,487	1,000	(1,000)	289,487	226,365
Total current liabilities	21,429,478	11,454	(18,016)	21,422,916	11,730,386
Deferred Credits	365,194			365,194	479,440
Total equities and liabilities	\$ 158,334,042	\$ 2,844,011	\$ (2,589,926)	\$ 158,588,127	\$ 138,544,453

Consolidating Statement of Operations Year Ended December 31, 2021 (With Comparative totals for 2020)

	Presque Isle	Presque Isle		Consolidated Totals	
	Electric & Gas Cooperative	Aurora Gas Assets	Eliminations	2021	2020
Operating Revenues					
Electric and gas sales Other sales	\$ 49,015,220 324,978	\$ - -	\$ - -	\$ 49,015,220 324,978	\$ 46,175,454 331,295
	49,340,198			49,340,198	46,506,749
Operating Expenses					
Cost of power and gas	25,959,068	-	-	25,959,068	24,091,855
Distribution - operation and maintenance	8,599,882	-	-	8,599,882	6,778,004
Customer accounts	2,530,698	-	-	2,530,698	2,202,361
Customer service	900,275	-	-	900,275	746,091
Administrative and general	3,229,812	5,028	(212,908)	3,021,932	2,481,026
Depreciation and amortization	5,280,797	150,657	-	5,431,454	5,244,046
Taxes - property	1,365,423	17,174	-	1,382,597	1,206,200
Taxes - other	4,593	40,049		44,642	50,119
Total operating expenses	47,870,548	212,908	(212,908)	47,870,548	42,799,702
Operating Margins Before Fixed Charges	1,469,650	(212,908)	212,908	1,469,650	3,707,047
Fixed Charges					
Interest on long-term debt	3,155,009			3,155,009	2,803,245
Operating Margins After Fixed Charges	(1,685,359)	(212,908)	212,908	(1,685,359)	903,802
Capital Credits	1,873,364	-		1,873,364	1,565,685
Net Operating Margins	188,005	(212,908)	212,908	188,005	2,469,487
New Organia Marria					
Non-Operating Margins Interest income	47,733	986	(986)	47,733	71,330
	(658,533)	211,922		(658,533)	1,797,763
Other income (expense)	(030,333)	211,922	(211,922)	(036,333)	1,/3/,/03
Total Non-Operating Margins	(610,800)	212,908	(212,908)	(610,800)	1,869,093
Net Margins	\$ (422,795)	\$ -	\$ -	\$ (422,795)	\$ 4,338,580

MICHIGAN PUBLIC SERVICE COMMISSION

ANNUAL REPORT OF NATURAL GAS UTILITIES (MAJOR AND NON-MAJOR)

This form is authorized by 1919 PA 419, as amended, being MCL 460.55 et seq.; and 1969 PA 306, as amended, being MCL 24.201 et seq. Filing of this form is mandatory. Failure to complete and submit this form will place you in violation of state law.

Report	Report submitted for year ending:								
Decemb	December 31, 2021								
Present	Present name of respondent:								
Presque	e Isle Electric	c & Gas C	о-ор						
Address	of principa	l place of	business:						
3149 Ma	3149 Main Street, P.O. Box 308 Onaway, MI 49765								
Utility re	Utility representative to whom inquires regarding this report may be directed:								
	Name:	Randy S	stempky		Title:	Chief F	inancial (Officer	
	Address:	3149 Ma	in Street, P.O.	Box 30	8				
	City:	Onaway			State:	МІ	Zip:	49765	
	Telephon	e, Includii	ng Area Code:		989-733	8-8515			
If the ut	If the utility name has been changed during the past year:								
	Prior Nan	ne:							
	Date of C	hange:							
Two cop	oies of the p	ublished a	nnual report t	o stockl	holders:				
	[]	were forward	ded to th	ne Comm	ission			
	[]	will be forwa	red to ti	he Comn	nission			
			on or about						
Annual	reports to st	ockholde	rs:						
	[1	are publishe	d					
	[j	are not publi						

FOR ASSISTANCE IN COMPLETION OF THIS FORM:

Contact the Michigan Public Service Commission (Lori Mayabb) at <u>mayabbl@michigan.gov OR forward correspondence to:</u>

> Michigan Public Service Commission Regulated Energy Division (Lori Mayabb) 7109 W Saginaw Hwy PO Box 30221 Lansing, MI 48909

INSTRUCTIONS FOR THE FILING OF THE ANNUAL REPORT OF NATURAL GAS UTILITIES (MAJOR AND NONMAJOR)

GENERAL INFORMATION

I. <u>Purpose:</u>

By authority conferred upon the Michigan Public Service Commission by 1919 PA 419, as amended, being MCL 460.55 et seq. and 1969 PA 306, as amended, being MCL 24.201 et seq., this form is a regulatory support requirement. It is designed to collect financial and operational information from public utilities, licensees and others subject to the jurisdiction of the Michigan Public Service Commission. This report is a nonconfidential public use form.

II. Who Must Submit:

Each major and nonmajor gas company, as classified by the Commission's Uniform System of Accounts must submit this form.

NOTE: Major - A gas company having annual natural gas sales over 50 million Dth in each of the 3 previous calendar years

Nonmajor - A gas company having annual natural gas sales at or below 50 million Dth in each of the 3 previous calendar years.

The class to which any utility belongs shall originally be determined by the average of its annual gas sales for the last three consecutive years. Subsequent changes in classification shall be made when the annual gas sales for each of the three years immediately preceding the years exceeds the upper limit, or is less than the lower limit of the classification previously applicable to the utility.

III. What and Where to Submit:

(a) Submit an original copy of this form to:

Michigan Public Service Commission Regulated Energy Division 7109 W Saginaw Hwy, PO Box 30221 Lansing, MI 48909

Retain one copy of this report for your files. <u>Also</u> submit the electronic version of <u>this</u> record to Lori Mayabb at the address below or to mayabbl@michigan.gov

(b) Submit immediately upon publication, one (1) copy of the latest annual report to stockholders and any annual financial or statistical report regularly prepared and distributed to bondholders, security analyst, or industry association. (Do not include monthly and quarterly reports. If reports to stockholders are not prepared, enter "NA" in column (c) on Page 5, the List of Schedules.) Mail these reports to:

Michigan Public Service Commission Regulated Energy Division 7109 W. Saginaw Hwy, PO Box 30221 Lansing, MI 48909

- (c) For the CPA certification, submit with the original submission of the form, a letter or report prepared in conformity with current standards of reporting which will:
 - (i) Contain a paragraph attesting to the conformity, in all material aspects, of the schedules and pages listed below with the Commission's applicable Uniform Systems of Accounts (including applicable notes relating thereto and the Chief Accountant's published accounting releases), and

(ii) Signed by independent certified public accountants or an independent licensed public accountant, certified or licensed by a regulatory authority or a state or other political subdivision of the U.S. (See 18 CFR 41.10-41.12 for specific qualifications).

Schedules	Reference Page
Comparative Balance Sheet	110 - 113
Statement of Income	114 - 117
Statement of Retained Earnings	118 - 119
Statement of Cash Flows	120 - 121
Notes to Financial Statements	122 - 123

When accompanying this form, insert the letter or report immediately following the cover sheet. Use the following form for the letter or report unless unusual circumstances or conditions, explained in the letter or report, demand that it be varied. Insert parenthetical phrases only when exceptions are reported.

In connection with our regular examination of the financial statements of _____ for the year ended on which we have reported separately under the date of ____ we have also reviewed schedules ____ of Form P-522 for the year filed with the Michigan Public Service Commission as set forth in its applicable Uniform System of Accounts and published accounting releases. Our review for this purpose included such tests of accounting records and such other auditing procedures as we considered necessary in the circumstances.

Based on our review, in our opinion the accompanying schedules identified in the preceding paragraph (except as noted below) conform in all material respects with the accounting requirements of the Michigan Public Service Commission as set forth in its applicable Uniform System of Accounts and published accounting releases.

State in the letter or report which, if any, of the pages above do not conform to the Commission's requirements. Describe the discrepancies that exist.

(d) Federal, state, and local governments and other authorized users may obtain additional blank copies to meet their requirements for a charge from:

Michigan Public Service Commission Regulated Energy Division 7109 W Saginaw Hwy, PO Box 30221 Lansing, MI 48909

IV. When to Submit

Submit this report form on or before April 30 of the year following the year covered by this report.

GENERAL INSTRUCTIONS

- Prepare this report in conformity with the Uniform System of Accounts (USOA). Interpret all accounting words and phrases in accordance with the USOA.
- II. Enter in whole number (dollars or Dth) only, except where otherwise noted. (Enter cents for averages and figures per unit where cents are important. The truncating of cents is allowed except on the four basic financial statements where rounding is required). The amounts shown on all supporting pages must agree with the amounts entered on the statements that they support. When applying thresholds to determine significance for reporting purposes, use for balance sheet accounts the balances

- at the end of the current reporting year, and use for statement of income accounts the current year's amounts.
- III. Complete each question fully and accurately, even if it has been answered in a previous annual report. Enter the word "NONE" where it truly and completely states the fact.
- IV. For any page(s) that is not applicable to respondent, either
 - (a) Enter the words "NOT APPLICABLE" on the particular page(s), OR
 - (b) Omit the page(s) and enter "NA", "NONE", or "NOT APPLICABLE" in column (c) on the List of Schedules, pages 2, 3, 4.
- V. Complete this report by means which result in a permanent record. Complete the original copy in permanent black ink or typewriter print, if practical. The copies, however, may be carbon copies or other similar means or reproduction provided the impressions are clear and readable.
- VI. Enter the month, day, and year for all dates. Use customary abbreviations. The "Date of Report" at the top of each page is applicable only to resubmissions (See VIII, below).
- VII. Indicate negative amounts (such as decreases) by enclosing the figures in parentheses ().
- VIII. When making revisions, resubmit only those pages that have been changed from the original submission. Submit the same number of copies as required for filing the form. Include with the resubmission the identification and Attestation page, page 1. Mail dated resubmissions to:

Michigan Public Service Commission Regulated Energy Division 7109 W Saginaw Hwy, PO Box 30221 Lansing, MI 48909

- **IX.** Provide a supplemental statement further explaining accounts or pages as necessary. Attach the supplemental statement (8 1/2 x 11 inch size) to the page being supplemented. Provide the appropriate identification information, including the title(s) of the page and page number supplemented.
- **X.** Do not make references to reports of previous years or to other reports in lieu of required entries, except as specifically authorized.
- **XI.** Wherever (schedule) pages refer to figures from a previous year, the figures reported must be based upon those shown by the annual report of the previous year, or an appropriate explanation given as to why the different figures were used.
- XII. Report all gas volumes on a pressure base of 14.65 psia and a temperature base of 60° F.
- **XIII.** Respondents may submit computer printed schedules (reduced to 8 1/2 x 11 inch size) instead of preprinted schedules if they are in substantially the same format.

DEFINITIONS

I. BTU per cubic foot - The total heating value, expressed in Btu, produced by the combustion, at constant pressure, of the amount of the gas which would occupy a volume of 1 cubic foot at a temperature of 60° F if saturated with water vapor and under a pressure equivalent to that of 30 inches of mercury at 32° F, and under standard gravitational force (980.65 cm. Per sec. ²) with air of the same temperature and pressure as the gas, when the products of combustion are cooled to the initial temperature of gas and air when the water formed by combustion is condensed to the liquid state. (Sometimes called gross heating value or total heating value.)

I.	<u>Commission Authorization (Comm. Auth.)</u> - The authorization of the Michigan Public Service Commission, or any other Commission. Name the Commission whose authorization was obtained and give the date of the authorization.
II.	Respondent - The person, corporation, licensee, agency, authority, or other legal entity or instrumentality in whose behalf the report is made.

MPSC FORM P-522

ANNUAL REPORT OF NATURAL GAS COMPANIES (Major and Nonmajor)

IDENTIFICATION						
01 Exact Legal Name of Resp	ondent	02 Year of Report				
Presque Isle Electric & Gas Co-op December 31, 2021						
03 Previous Name and Date	of Change (if name changed		Dei 31, 2021			
oo i torious tuine una Bate et change (ii hame shangea aanng year)						
04 Address of Principal Busin	ness Office at End of Year (St	treet, City, State, Zip)				
	3149 Main Street, P.O. Box	308 Onaway MI 49765				
	O 140 Main Greet, 1 .O. Box					
05 Name of Contact Person		06 Title of Contact Persor	n			
Randy Stempky	Chief Fir	nancial Officer				
07 Address of Contact Person (Street, City, State, Zip						
	3149 Main Street, P.O. Box	308 Onaway, MI 49765				
08 Telephone of Contact Per	son, Including Area Code:	09 This Report is	10 Date of Report			
989-733-8515		(1) [X] An Original	(Mo, Da, Yr)			
969-733-6313		(2) [] A Resubmission	4/30/2022			
	ATTESTA	ATION				
The undersigned officer certification and by						
knowledge, information, and the accompanying report is a			•			
			· · · · · · · · · · · · · · · · · · ·			
respect to each and every matter set forth therein during the period from and including January 1 and including December 31 of the year of the report.						
01 Name			04 Data Ciarrad			
-	03 Signature	gned by:	04 Date Signed			
Randy Stempky	Rand	(Mo, Da, Yr)				
02 Title	5BEAC9	4/30/2022				
Chief Financial Officer	4/30/2022					

Unrecovered Plant and Regulatory Study Costs

Accumulated Deferred Income Taxes (Account 190)

Preliminary Survey and Investigation Charges

Extraordinary Property Losses

Miscellaneous Deferred Debits

Other Regulatory Assets

230

230

231

232

233

234-235

n Envelope ID: C5271FC8-5CAB-4EE Name of Respondent	F-B8C4-49ED0165649E This Report Is:	Dat	te of Report	Year of Report
Presque Isle Electric & Gas	(1) [X] An Original		o, Da, Yr)	·
Co-op	(2) [] A Resubmission	(4/30/2022	12/31/2021
О СР	LIST OF SCHEDULES (Natu	ıral Gas		
Title	e of Schedule	T T	Reference	Remarks
			Page	
			No.	
	(a)		(b)	(c)
BALANCE SHEET	SUPPORTING SCHEDULES		(/	(-)
(Liabilities	s and Other Credits)			
Capital Stock	,		250-251	
Capital Stock Subscribed, Ca	pital Stock Liability for			
Conversion, Premium on	•			
Installments Received on	·		252	
Other Paid-in Capital	•		253	
Discount on Capital Stock			254	
Capital Stock Expense			254	
	d and Securities Refunded or			
Retired During the Year			255	
Long Term Debt			256-257	
Unamortized Debt Expense,	Premium and Discount on			
Long-Term Debt			258-259	
Unamortized Loss and Gain	on Required Debt		260	
Reconciliation of Reported N	•			
Income for Federal Incom		М	261A-B	
Calculation of Federal Incom-		М	261C-D	
Taxes Accrued, Prepaid and			262-263	
Investment Tax Credits Gene			264-265	
Accumulated Deferred Invest		М	266-267	
Miscellaneous Current and A		М	266-267	
Other Deferred Credits			269	
Accumulated Deferred Incom	ne Taxes - Accelerated			
Amortization Property			272-273	
Accumulated Deferred Incom	ne Taxes - Other Property		274-275	
Accumulated Deferred Incom		М	276A-B	
Other Regulatory Liabilities			278	
j ,				
INCOME ACCOUNT	Γ SUPPORTING SCHEDULES			
Gas Operating Revenues			300-301	
Rates and Sales Section		М	305A-C	
Off-System Sales - Natural G	Sas	М	310A-B	
•	of Gas of Others - Natural Gas		312-313	
Sales of Products Extracted f			315	
Revenues from Natural Gas	Processed by Others		315	
Gas Operation and Maintena	•	М	320-325	
Number of Gas Department I			325	
Exploration and Developmen			326	
Abandoned Leases	•		326	
Gas Purchases		lκ	1 327, 327A-B	
Exchange Gas Transactions		"	328-330	
Gas Used in Utility Operation	s - Credit		331	
Transmission and Compressi			332-333	
Other Gas Supply Expenses	- , -		334	
Miscellaneous General Expe	nses - Gas	М	335	
Depreciation, Depletion and		[336-338	
Income from Utility Plan Leas			339	
Particulars Concerning Certa			200	
Interest Charges			340	
5.1. 5.1.4. 955			J 10	1

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas	(1) [X] An Original	(Mo, Da, Yr)	rear or report
Co-op	(2) [] A Resubmission	4/30/2022	12/31/2021
СО-ОР	. ,		
	LIST OF SCHEDULES (Natural G		
Т	itle of Schedule	Reference	Remarks
		Page	
		No.	
	(a)	(b)	(c)
	MMON SECTION		
Regulatory Commission Exp		350-351	
Research, Development and		352-253	
Distribution of Salaries and V		354-355	
Charges for Outside Profess	ional and Other Consultative Services	357	
GAS PLAI	NT STATISTICAL DATA		
Natural Gas Reserves and L	and Acreage	500-501	
Changes in Estimated Hydro			
and Net Realized Value		504-505	
Compressor Stations		508-509	
Gas and Oil Wells		510	
Gas Storage Projects		M 512-513	
Distribution and Transmission	n Lines	M 514	
Liquefied Petroleum Gas Op		516-517	
Distribution System Peak De		M 518	
Auxiliary Peaking Facilities		519	
System Map		522	
Footnote Data		551	
Stockholders' Report			
·			
MP	SC SCHEDULES		
Reconciliation of Deferred In-	come Tax Expenses	117A-B	
Operating Loss Carryforward		117C	
	e Summary for Balance Sheet	228A	
Accumulated Provision for U	ncollectible Accounts - Credit	228A	
Receivables From Associate	d Companies	228B	
Materials and Supplies		228C	
Notes Payable		260A	
Payables to Associated Com	panies	260B	
Customer Advances for Cons	struction	268	
Accumulated Deferred Income Taxes - Temporary		277	
Gas Operation and Maintena	ince Expenses (Nonmajor)	320N-324N	
Lease Rentals Charged		333A-333D	
Depreciation, Depletion and	Amortization of Gas Plant (Nonmajor)	336N	
Particulars Concerning Certa		341	
Gain or Loss on Disposition of		342A-B	
•	c, Political and Related Activities	343	
Common Utility Plant and Ex		356	
Summary of Costs Billed to A	•	358-359	
Summary of Costs Billed fror	•	360-361	

Name of Respondent	This Report Is:	Date of Report	Year of Report				
Presque Isle Electric & Gas Coop	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021				
	GENERAL INFORMATION	ON					
Provide name and title of officer having custody of the general corporate books of account and address of office where the general corporate books are kept, and address of office where any other corporate books of account are kept, if different from that where the general corporate books are kept. Thomas J. Sobeck, Chief Executive Officer 3149 Main Street, P.O. Box 308 Onaway, MI 49765							
	e under the laws of which responde aw, give reference to such law. If n ganized. MICHIGAN March 26, 1937	-	-				
3. If at any time during the year	the property of respondent was he	ld by receiver or trustee	e, give (a) name of				
receiver or trustee, (b) date such	receiver or trustee took possession	on, (c) the authority by v	vhich the				
receivership or trusteeship was o	created, and (d) date which posses	sion by receivership or	trustee ceased.				
NOT APPLICABLE							
4. State the classes of utility or on which the respondent operated.	other services furnished by respon	dent during the year in	each State in				
ELECTRIC DISTRIBUTION NATURAL GAS DISTRIBUTION	N						
	ncipal accountant to audit your fina your previous year's certified financ		countant who is				
1. [X] Yes Enter date when	such independent accountant was	initially engaged: June	<u>26, 2021</u>				
2. [] No							

Name of Respondent	This Report Is:	Date of Report	Year of Report			
•	(1) [X] An Original	(Mo, Da, Yr)	real of Report			
Presque Isle Electric & Gas Co- op	(2) [] A Resubmission	4/30/2022	12/31/2021			
	[, , , , , , , , , , , , , , , , , , ,	<u> </u>	1			
CONTROL OVER RESPONDENT & OTHER ASSOCIATED COMPANIES						
1. If any corporation, business tru		-	nich respondent did not			
organization or combination of suc	_		or indirectly and which			
jointly held control over the respon		did not control respon	dent but which were			
of year, state name of controlling of	corporation or	associated companies	s at any time during the year.			
organization, manner in which con	trol was held,	If the above require	ed information is available			
and extent of control. If control wa			eport Form filing, a specific			
company organization, show the c			t form (i.e. year and company			
or control to the main parent comp			ovided the fiscal years for			
If control was held by a trustee(s),		both the 10-K report a	and this report are compatible.			
trustee(s), name of beneficiary or l						
whom trust was maintained, and p	urpose of the trust.					
NOT ADDI (0 AD) -						
NOT APPLICABLE						

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas	(1) [X] An Original	(Mo, Da, Yr)	10/21/2021
Со-ор	(2) [] A Resubmission	4/30/2022	12/31/2021

CORPORATIONS CONTROLLED BY RESPONDENT

- 1. Report below the name of all corporations, business trusts, and similar organizations, controlled directly or indirectly by respondent at any time during the year. If control ceased prior to the end of the year, give particulars (details) in a footnote.
- 2. If control was by other means than a direct holding of voting rights, state in a footnote the manner in which control was held, naming any intermediaries involved.
- 3. If control was held jointly with one or more other interests, state the fact in a footnote and name the other interests.
- 4. If the above required information is available from the SEC 10-K Report From filing, a specific reference to the report form (i.e. year and company title) may be listed in column (a) provided the fiscal years for both the 10-K report and this report are compatible.

DEFINITIONS

- See the Uniform Systems of Accounts for a definition of control.
- 2. Direct control is that which is exercised without interposition of an intermediary.
- 3. Indirect control is that which is exercised by the interposition of an intermediary which exercises direct control.
- 4. Joint control is that in which neither interest can effectively control or direct action without the consent

of the other, as where the voting control is equally divided between two holders, or each party holds a veto power over the other. Joint control may exist by mutual agreement or understanding between two or more parties who together have control within the meaning of the definition of control in the Uniform System of Accounts, regardless of the relative voting rights of each party.

Name of Company Controlled (a)	Kind of Business (b)	Percent Voting Stock Owned (c)	Footnote Ref. (d)
Presque Isle Aurora Gas Assets, LTD. (PIAGA)	Asset Holding Company	100%	

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021
Ова ОО-ОР	(Z)[]/(Todabililooleli	4/30/2022	

OFFICERS

- 1. Report below the name, title and salary for the five executive officers.
- 2. Report in column (b) salaries and wages accrued during the year including deferred compensation.
- 3. In column (c) report any other compensation provided such as bonuses, car allowance, stock options and rights, savings contribution, etc., and explain in a footnote what the amounts represent.
- 4. If a change was made during the year in the incumbent of any position, show the name and total remuneration of the previous incumbent and the date the change in incumbency occurred.
- 5. Upon request, the Company will provide the Commission with supplemental information on officers and other employees salaries.

		T	T	
Line No.	Name and Title (a)	Base Wages	Other Compensation	
	(a)	(b)	(c)	(d)
1				
2	THOMAS SOBECK, PRESIDENT & CEO	\$203,984.01	\$10,368.41	\$214,352.42
3	ALLAN BERG, CHAIRMAN		\$18,715.00	\$18,715.00
4	JOHN BROWN, VICE CHAIRMAN		\$16,875.00	\$16,875.00
5	SANDRA BOROWICZ, SECRETARY		\$14,990.00	\$14,990.00
6	CHARLES ARBOUR, TREASURER (01-01-2021 to 10-22-2021)		\$14,590.00	\$14,590.00
7	DARYL PETERSON, TREASURER (10-22-2021 to 12-31-2021)		\$14,120.00	\$14,120.00
8				
9	FOOTNOTE:			
10	THOMAS SOBECK, PRESIDENT & CEO			
11	50K LIFE INSURANCE PREMIUM		\$2,764.08	
12	VEHICLE COMPENSATION		\$7,604.33	
13			\$10,368.41	
14				
15				
16				
17				
18				

Name of Respondent	This Report Is:	Date of Report	Year of Report			
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021			
DIRECTORS						
 Report below the information called for concerning each director of the respondent who held office at any time during the year. Include in column (a), abbreviated titles of the directors who are officers of the respondent. Designate members of the Executive Committee by an asterisk and the Chairman of the Executive Committee by a double asterisk. 						
Name (and Title) of Director (a)	Principal Business Address (b)	No. of Directors Meetings During Yr. (c)	Fees During Year Ref. (d)			
Allan Berg, Chairperson	3149 Main Street	16	\$18,715.00			
John Brown, Vice Chairperson	Onaway, MI 49765	16	\$16,875.00			
Sandra Borowicz, Secretary		16	\$14,990.00			
Daryl Peterson, Treasurer		16	\$14,120.00			
Brentt Lucas, Director		16	\$16,405.00			
Sally Knopf, Director		16	\$13,165.00			
Kurt Krajniak, Director		16	\$16,135.00			
Raymond Wozniak, Director		16	\$14,660.00			
Charles Arbour, Director		16	\$14,590.00			
			\$139,655.00			

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
Со-ор	(2) [] A Resubmission	4/30/2022	, 0 ./ _ 0 _ /
	SECURITY HOLDERS	S AND VOTING POWERS	
1. (A) Give the names and add	•	2. If any security other than s	
holders of the respondent who		explain in a supplemental stat	
closing of the stock book or co	•	whereby such security becam	
stockholders of the responder year, had the highest voting p	•	and give other important parti- the voting rights of such secur	` , , , <u>-</u>
state the number of votes which	•	rights are actual or contingent	,
right to cast on that date if a m		contingency.	, ii dentingent, describe the
If any such holder held in trust	-	3. If any class or issue of sec	urity has any special
known particulars of the trust (•	privileges in the election of dir	
duration of trust, and principal	•	managers, or in the determina	•
interest in the trust. If the stoo		any method, explain briefly in	
list of stockholders were not co		4. Furnish particulars (details	,
to the end of the year, or if sin		warrants, or rights outstanding others to purchase securities	
of a list of stockholders, some become vested with voting rig		securities or other assets own	
security holders as of the clos		including prices, expiration da	•
names of the security holders		information relating to exercis	
commencing with the highest.	<u> </u>	or rights. Specify the amount	
titles of officers and directors i	ncluded in such list of 10	so entitled to be purchased by	≀ an officer, director,
security holders.		associated company, or any o	
(B) Give also the name and ir	. .	holders. This instruction is in	
resulting from ownership of se		securities or to any securities	•
each officer and director not in	icluded in the list of 10	outstanding in the hands of th	•
largest security holders.		options, warrants, or rights we	re issued on a prorata basis.
Give the date of the latest of the late	closing of the stock book prior t	to end of year, and state the pu	rpose of such closing:
NOT APPLICABLE			
State the total number of vertex in the state.	otes cast at the latest general r	meeting prior to the end of the y	ear for election of
	nd number of such votes cast by		
Total:	2,190		
	_,		
By Proxy:	0		
3. Give the date and place of	such meeting:		

POSEN HIGH SCHOOL, POSEN, MICHIGAN

Friday, October 22, 2021

	of Respondent This Report Is:	Date of Repor	t	Year of Report	
Presqu Co-op	ue Isle Electric & Gas (1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022		12/31/2021	
СО-ОР	SECURITY HOLDERS A			l inued)	
				SECURITIES	
		Number of vot	tes as of (date):		
Line No.	Name (Title) and Address of Security Holder (a)	Total Votes (b)	Common Stock (c)	Preferred Stock (d)	Other (e)
4	TOTAL votes of all voting securities	, ,	,	,	()
5	TOTAL number of security holders				
6	TOTAL votes of security holders listed below				
7					
8	NOT APPLICABLE				
9					
10					
11					
12					
13					
14					
15					
16					
17					
18					
19					
20					
21					
22					
23					
24					
25					
26					
27					

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas	(1) [X] An Original	(Mo, Da, Yr)	40/04/0004
Co-op	(2) [] A Resubmission	4/30/2022	12/31/2021

IMPORTANT CHANGES DURING THE YEAR

Give particulars (details) concerning the matters indicated below. Make the statements explicit and precise, and number them in accordance with the inquiries. Each inquiry should be answered. Enter "none", "not acceptable" or "NA" where applicable. If information which answers an inquiry is given elsewhere in the report, make a reference to the schedule in which it appears.

- Changes in and important additions to franchise rights: Describe the actual consideration given therefor and state from whom the franchise rights were acquired. If acquired without the payment of consideration, state that fact.
- Acquisition of ownership in other companies by reorganization, merger, or consolidation with other companies: Give names of companies involved, particulars concerning the transactions, name of the Commission authorizing the transaction, and reference to Commission authorization.
- 3. Purchase or sale of an operating unit or system: Give a brief description of the property, and of the transactions relating thereto, and reference to Commission authorization, if any was required. Give date journal entries called for by the Uniform System of Accounts were submitted to the Commission.
- 4. Important leaseholds (other than leaseholds for natural gas lands) that have been acquired or given, assigned or surrendered: Give effective dates, lengths of terms, names of parties, rents and other conditions. State name of Commission authorizing lease and give reference to such authorization.
- 5. Important extension or reduction of transmission or distribution system: State territory added or relinquished and date operations began or ceased and give reference to Commission authorization, if any was required. State also the approximate number of customers added or lost and approximate annual revenues of each class of service. Each natural gas company must also state major new continuing

- sources of gas made available to it from purchases, development, purchase contract or otherwise, giving location and approximate total gas volumes available, period of contracts, and other parties to any such arrangements etc.
- 6. Obligations incurred or assumed by respondent as guarantor for the performance by another of any agreement or obligation, including ordinary commercial paper maturing on demand or not later than one year after date of issue: State on behalf of whom the obligation was assumed and amount of the obligation. Give reference to Commission authorization if any was required.
- 7. Changes in articles of incorporation or amendments to charter: Explain the nature and purpose of such changes or amendments.
- 8. State the estimated annual effect and nature of any important wage scale changes during the year.
- 9. State briefly the status of any materially important legal proceedings pending at the end of the year, and the results of any such proceedings culminated during the year.
- 10. Describe briefly any materially important transactions of the respondent not disclosed elsewhere in this report in which an officer, director, security holder reported on page 106, voting trustee, associated company or known associate of any of these persons was a party or in which any such person had a material interest.
- 11. Estimated increase or decrease in annual revenues due to important rate changes: State effective date and approximate amount of increase or decrease of each revenue classification. State the number of customers affected.
- 12. If the important changes during the year relating to the respondent company appearing in the annual report to stockholders are applicable in every respect and furnish the data required by instructions 1 to 11 above, such notes may be attached to this page.

NON	١E
-----	----

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
Co-op	(2) [] A Resubmission	4/30/2022	12/01/2021
	IMPORTANT CHANGES DURIN	NG THE YEAR (Continued)
		•	•

PRESQUE ISLE ELECTRIC & GAS CO-OP

19831 M68 Hwy. P.O. Box 308 Onaway, MI 49765 (989) 733-8515 1-800-423-6634 Fax (989) 733-2247

CERTIFICATION

We hereby certify that the entries in this report are in accordance with the accounts and other records of the system and reflect the status of the system to the best of our knowledge and belief.

- DocuSigned by:

Randy Stempky
Signature of Chief Einancial Officer

Thomas Sobeck

Signature ջմենի թերբանում - Signature Officer

5/2/2022

Date

5/2/2022

Date

PART 1 - STATEMENT OF CONSOLIDATED OPERATIONS FOR THE PERIOD ENDED DECEMBER 31, 2021

RUS Form 7 Line	ITEM	YEAR TO DATE			THIS MONTH
Number		2020	2021	BUDGET	
1.	Operating Revenue - Electric	35,978,308	38,784,574	38,137,397	3,397,264
1.	Operating Revenue - Gas	10,528,441	10,555,625	10,608,200	1,416,711
1.	Operating Revenue - Fiber	0	0	0	0
	Total Revenue	46,506,749	49,340,200	48,745,597	4,813,975
3.	Cost of Purchased Energy - Electric	20,014,076	21,979,421	20,901,005	1,894,703
3.	Cost of Purchased Energy - Gas	4,077,780	3,979,647	3,856,243	562,287
3.	Cost of Purchased Energy - Fiber	0	0	0	0
0.	Total Cost of Energy Sold	24,091,855	25,959,068	24,757,248	2,456,990
	Gross Revenues	22,414,894	23,381,131	23,988,349	2,356,985
5.	Distribution Expense - Operation	2,137,754	3,202,465	2,402,676	346.783
6.	Distribution Expense - Maintenance	4,769,450	5,374,656	4,832,470	1,166,771
7.	Consumer Accounts Expense	2,202,361	2,534,046	2,484,496	205,670
8.	Customer Service and Informational Expense	746,091	900,276	960,969	103,880
10.	Administrative and General Expense	2.594.250	3.239.424	2.737.230	350.821
10.	Total Operation & Maintenance Expense	12,449,906	15,250,867	13,417,841	2,173,925
12.	Depreciation & Amortization Expense	5,244,046	5,431,455	5,386,032	485,785
13.	Tax Expense - Property & Gross Receipts	1,206,200	1,382,597	1,491,719	209,018
14.	Tax Expense - Other	50.119	44,642	884	852
15.	Interest on Long-Term Debt	2,706,628	2,967,610	3,664,389	271.716
17.	Interest Expense - Other	96,618	187,399	81,377	22,427
18.	Other Deductions	0	14,828	1,000	0
10.	Total Cost of Operations	21,753,516	25.279.398	24.043.242	3.163.723
20.	Patronage Capital & Operating Margins	661,378	(1,898,267)	(54,893)	(806,738)
21.	Non-Operating Margins - Interest	71,330	48.719	81.690	93
23.	Income (Loss) from Equity Investments	1,797,763	(658,533)	(471,634)	(298,366)
24.	Non-Operating Margins - Other	242,424	211,922	0	(230,300)
25. a	Generation and Transmission Capital Credits	1,244,361	1,506,149	1,300,000	1,506,149
25. b	G & T Capital Credits - PSDFC	0	0	0	0
26.	Other Capital Credits and Patronage Dividends	321,325	367,215	291,286	25,504
27.	Extraordinary Items	0	0	0	0
28.	Patronage Capital	4,338,580	(422,795)	1,146,449	426,642
	Net T.I.E.R.	2.55	0.87		
	Operating T.I.E.R.	1.24	0.40		
	Operating T.I.E.R.	1.24	0.40		
_					

CERTIFICATION

We hereby certify that the entries in this report are in accordance with the accounts and other records of the system and reflect the status of the system to the best of our knowledge and belief.

Signature officer

5/2/2022

Date

5/2/2022

Date

PART 1A - STATEMENT OF ELECTRICAL OPERATIONS FOR THE PERIOD ENDED DECEMBER 31, 2021

RUS Form 7 Line	ITEM			THIS MONTH				
Number		2020	2021	BUDGET				
1.	Operating Revenue - Electric	35,978,308	38,784,574	38,137,397	3,397,264			
1.								
	Total Revenue	35,978,308	38,784,574	38,137,397	3,397,264			
3.	Cost of Purchased Energy - Electric	20,014,076	21,979,421	20,901,005	1,894,703			
3.	3,	, , , , , , , , , , , , , , , , , , , ,	, ,	.,,	, , , , , , , , , , , , , , , , , , , ,			
	Total Cost of Energy Sold	20,014,076	21,979,421	20,901,005	1,894,703			
	Gross Revenues	15,964,232	16,805,153	17,236,392	1,502,561			
5.	Distribution Expense - Operation	1,269,187	1,889,286	1,406,963	236,468			
6.	Distribution Expense - Maintenance	4,360,867	4,977,714	4,392,502	1,131,277			
7.	Consumer Accounts Expense	1,551,827	1,778,699	1,783,569	144,114			
8.	Customer Service and Informational Expens	700,087	771,202	918,303	91,334			
10.	Administrative and General Expense	1,866,857	2,183,864	2,030,391	209,251			
	Total Operation & Maintenance Expense	9,748,824	11,600,765	10,531,728	1,812,445			
12.	Depreciation & Amortization Expense	3,277,333	3,445,218	3,528,718	317,849			
13.	Tax Expense - Property & Gross Receipts	905,454	1,077,549	1,129,849	183,422			
14.	Tax Expense - Other	1,216	4,593	884	852			
15.	Interest on Long-Term Debt	1,666,384	1,895,651	2,198,633	219,465			
17.	Interest Expense - Other	67,241	137,044	53,031	10,882			
18.	Other Deductions	0	7,384	1,000	0			
	Total Cost of Operations	15,666,451	18,168,202	17,443,843	2,544,915			
20.	Patronage Capital & Operating Margins	297,781	(1,363,049)	(207,451)	(1,042,354)			
21.	Non-Operating Margins - Interest	63,641	46,731	74,017	68			
23.	Income (Loss) from Equity Investments	1,363,770	(601,154)	(390,767)	(284,874)			
24.	Non-Operating Margins - Other	0	0	0	0			
25.a	Generation and Transmission Capital Credit	1,244,361	1,506,149	1,300,000	1,506,149			
25.b	G & T Capital Credits - PSDFC	0	0	0	0			
26.	Other Capital Credits and Patronage Divider	221,486	264,554	211,670	18,618			
27.	Extraordinary Items See attached sheet	0	Ó	0	0			
28.	Patronage Capital	3,191,039	(146,769)	987,469	197,607			
	Net T.I.E.R.	2.84	0.93					
	Operating T.I.E.R. 1.17 0.33							
	Operating There is a second of the second of							

PRESQUE ISLE ELECTRIC & GAS CO-OP

19831 M68 Hwy. P.O. Box 308 Onaway, MI 49765 (989) 733-8515 1-800-423-6634 Fax (989) 733-2247

We hereby certify that the entries in this report are in accordance with the accounts and other records of the system and reflect the status of the system to the best of our knowledge and belief.

--- DocuSigned by:

Randy Stempky
Signature of Chief Fragicial Officer

Thomas Sobeck

Signature of Chief Executive Officer

5/2/2022

Date

5/2/2022

Date

PART 1B - STATEMENT OF GAS OPERATIONS FOR THE PERIOD ENDED DECEMBER 31, 2021

			THIS MONTH		
		2020	2021	BUDGET	
4					
1. 1.	Operating Poyonus Cos	10,528,441	10,555,625	10,608,200	1 116 711
1.	Operating Revenue - Gas Total Revenue	10,528,441	10,555,625	10,608,200	1,416,711 1,416,711
	Total Reveilue	10,520,441	10,555,625	10,606,200	1,410,711
3.					
3.	Cost of Purchased Energy - Gas	4,077,780	3,979,647	3,856,243	562,287
	Total Cost of Energy Sold	4.077.780	3,979,647	3,856,243	562,287
	Total Goot of Energy Cold	4,011,100	0,010,041	0,000,210	002,201
	Gross Revenues	6,450,662	6,575,978	6,751,957	854,424
5.	Distribution Expense - Operation	868,566	929,950	995,713	71,054
6.	Distribution Expense - Maintenance	408,584	396,943	439,968	35,494
7.	Consumer Accounts Expense	650,534	754,031	700.927	60.240
8.	Customer Service and Informational Expense	46,005	60,181	42,666	2,622
10.	Administrative and General Expense	723,629	837,195	706,839	72,355
10.	Total Operation & Maintenance Expense	2,697,317	2,978,299	2,886,113	241,766
12.	Depreciation & Amortization Expense	1,793,912	1,825,081	1,857,314	163,799
13.	Tax Expense - Property & Gross Receipts	283,119	287,875	361,870	25,596
14.	Tax Expense - Other	0	0	0	0
15.	Interest on Long-Term Debt	1,040,244	1,071,959	1,465,756	52,251
17.	Interest Expense - Other	29,377	37,232	28,346	4,263
18.	Other Deductions	0	7,444	0	0
	Total Cost of Operations	5,843,969	6,207,891	6,599,399	487,675
20.	Patronage Capital & Operating Margins	606,692	368,087	152,558	366,749
21.	Non-Operating Margins - Interest	7,018	1,002	7,673	25
23.	Income (Loss) from Equity Investments	433,993	(57,379)	(80,867)	(13,492)
24.	Non-Operating Margins - Other	0	0	0	0
25.a	Generation and Transmission Capital Credits	0	0	0	0
25.b	G & T Capital Credits - PSDFC	0	0	0	0
26.	Other Capital Credits and Patronage Dividen	99,838	102,661	79,616	6,886
27.	Extraordinary Items	0	0	0	0
28.	Patronage Capital	1,147,541	414,371	158,980	360,168
	Net T.I.E.R.	2.07	1.37		
	Operating T.I.E.R.	1.57	1.33		
	Operating T.I.E.R.	1.5/	1.33		

PRESQUE ISLE ELECTRIC & GAS CO-OP

19831 M68 Hwy. P.O. Box 308 Onaway, MI 49765 (989) 733-8515 1-800-423-6634 Fax (989) 733-2247

We hereby certify that the entries in this report are in accordance with the accounts and other records of the system and reflect the status of the system to the best of our knowledge and belief.

--- DocuSigned by:

Randy Stempky

Thomas Sobeck

Signature of Chief Executive Officer

5/2/2022

Date

5/2/2022

Date

PART 1C - STATEMENT OF FIBER OPERATIONS FOR THE PERIOD ENDED DECEMBER 31, 2021

RUS Form 7 Line Number	ITEM	YEAR TO DATE			THIS MONTH
Line Number		2020	2021	BUDGET	
,					
1. 1.	On anating Davison Files	0	0	0	0
1.	Operating Revenue - Fiber Total Revenue	0 0	0	0	0
	Total Revenue	U	U	U	<u> </u>
3.					
3.	Cost of Purchased Energy - Fiber	0	0	0	0
	Total Cost of Energy Sold	0	0	0	0
	Gross Revenues	0	0	0	0
5.	Distribution Expense - Operation	0	383,230	0	39,260
6.	Distribution Expense - Maintenance	0	0	0	0
7.	Consumer Accounts Expense	0	1,316	0	1,316
8.	Customer Service and Informational Expens	0	68,893	0	9,924
10.	Administrative and General Expense	0	213,337	0	69,214
10.	Total Operation & Maintenance Expense	0	666,776	Ö	119,713
12.	Depreciation & Amortization Expense	0	10,498	0	4,137
13.	Tax Expense - Property & Gross Receipts	0	0	0	0
14.	Tax Expense - Other	0	0	0	0
15.	Interest on Long-Term Debt	0	0	0	0
17.	Interest Expense - Other	0	13.123	0	7,283
18.	Other Deductions	0	0	0	0
	Total Cost of Operations	0	690,397	0	131,133
20.	Patronage Capital & Operating Margins	0	(690,397)	0	(131,133)
21.	Non-Operating Margins - Interest	0	0	0	0
23.	Income (Loss) from Equity Investments	0	0	0	0
24.	Non-Operating Margins - Other	0	0	0	0
25.a	Generation and Transmission Capital Credits	0	0	0	0
25.b	G & T Capital Credits - PSDFC	0	0	0	0
26.	Other Capital Credits and Patronage Divider	0	0	0	0
27.	Extraordinary Items	0	0	0	0
28.	Patronage Capital	0	(690,397)	0	(131,133)
	Net T.I.E.R.	#DIV/0!	-51.61		

Net T.I.E.R. #DIV/0! -51.61
Operating T.I.E.R. #DIV/0! -51.61

PRESQUE ISLE AURORA GAS ASSETS

19831 M68 Hwy. P.O. Box 308 Onaway, MI 49765 (989) 733-8515 1-800-423-6634 Fax (989) 733-2247

We hereby certify that the entries in this report are in accordance with the accounts and other records of the system and reflect the status of the system to the best of our knowledge and belief.

Docusigned by:

Randy Stempky.

Signature of Chief Financial Officer
Docusigned by:

Thomas Soleck

5/2/2022 Date 5/2/2022 Date

PART 1D - STATEMENT OF OPERATIONS - PIAGA FOR THE PERIOD ENDED DECEMBER 31, 2021

RUS Form 7	ITEM		YEAR TO DATE	
Line Number		2020	2021	
1.				ı
1.	Operating Revenue	0	0	
	Total Revenue	0	0	
3.				İ
3.	Cost of Purchased Energy	0	0	
	Total Cost of Energy Sold	0	0	<u> </u>
	Gross Revenues	0	0	
5.	Distribution Expense - Operation	0	0	
6.	Distribution Expense - Maintenance	0	0	
7.	Consumer Accounts Expense	0	0	
8.	Customer Service and Informational Expens	0	0	
10.	Administrative and General Expense	3,765	5,028	
	Total Operation & Maintenance Expense	3,765	5,028	
12.	Depreciation & Amortization Expense	172,801	150,657	
13.	Tax Expense - Property & Gross Receipts	17,627	17,174	
14.	Tax Expense - Other	48,903	40,049	
15.	Interest on Long-Term Debt	0	0	
17.	Interest Expense - Other	0	0	
18.	Other Deductions	0	0	
	Total Cost of Operations	243,096	212,908	
20.	Patronage Capital & Operating Margins	(243,096)	(212,908)	
21.	Non-Operating Margins - Interest	672	986	
23.	Income (Loss) from Equity Investments	0	0	
24.	Non-Operating Margins - Other	242,424	211,922	
25.a	Generation and Transmission Capital Credits	0	0	
25.b	G & T Capital Credits - PSDFC	0	0	
26.	Other Capital Credits and Patronage Divider	0	0	
27.	Extraordinary Items	0	0	
28.	Patronage Capital	0	0	
I				

PART 2 - CONSOLIDATED BALANCE SHEET AS OF DECEMBER 31, 2021

RUS Form 7			RUS Form 7		
Line Number	ASSETS AND OTHER DEBITS		Line Number	LIARII ITIES AND OTHER CREDITS	
1a.	Utility Plant in Service - Electric	141,215,838	30a.	Memberships - Electric	282,455
1b.	Utility Plant in Service - Gas	45,666,425	30b.	Memberships - Gas	28,160
1c.	Utility Plant in Service - Fiber	1,196,410	30c.	Memberships - Fiber	0
1d.	Utility Plant in Service PIAGA	6,137,475			
1.	Utility Plant in Service - Combined	194,216,148	30.	Memberships - Combined	310,615
2a.	Construction Work in Progress - Electric	1,024,038	31a.	Patronage Capital - Electric	42,541,709
2b.	Construction Work in Progress - Gas	542,513	31b.	Patronage Capital - Gas	8,919,193
2c.	Construction Work in Progress - Fiber	864,966	31c.	Patronage Capital - Fiber	0
2	Construction Work in Progress - Combined	2,431,517	31.	Patronage Capital - Combined	51,460,902
3a.	Total Utility Plant (1+ 2) - Electric	142,239,876	32a.	Operating Margins - Prior Years - Electric	21,064
3b.	Total Utility Plant (1 + 2) - Gas	46,208,938	32b.	Operating Margins - Prior Years - Gas	0
3c.	Total Utility Plant (1 + 2) - Fiber	2,061,376	32c.	Operating Margins - Prior Years - Fiber	0
3d.	Total Utility Plant - PIAGA	6,137,475			
3.	Total Utility Plant - Combined	196,647,665	32.	Operating Margins - Prior Years - Combined	21,064
4a.	Accumulated Provision for Depreciation - Electric	63,955,825	33a.	Operating Margins - Current Year - Electric	(1,575,957)
4b.	Accumulated Provision for Depreciation - Gas	15,318,991	33b.	Operating Margins - Current Year - Gas	368,087
4c.	Accumulated Provision for Depreciation - Fiber	10,498	33c.	Operating Margins - Current Year - Fiber	(690,397)
4d.	Accumulated Provision for Depreciation - PIAGA	3,948,015	33d.	Operating Margins - Current Year - PIAGA	(212,908
4.	Accum. Provision for Depreciation - Combined	83,233,329	33.	Operating Margins - Current Year - Combined	(1,898,267)
5a.	Net Utility Plant (3 - 4) - Electric	78,284,051	34a.	Non Operating Margins - Electric	1,216,280
5b.	Net Utility Plant (3 - 4) - Gas	30,889,947	34b.	Non Operating Margins - Gas	46,284
5c.	Net Utility Plant (3 - 4) - Fiber	2,050,878	34c.	Non Operating Margins - Fiber	0
5d.	Net Utility Plant (3 - 4) - PIAGA	2,189,460	34d.	Non Operating Margins - PIAGA	212,908
5.	Net Utility Plant - Combined	113,414,336	34.	Non Operating Margins - Combined	1.475.472
7.	Investments in Subsidiary Companies	0	35a.	Other Margins and Equities - Electric	4,757,808
8.a	Invest. in Assoc. Org- Patronage Capital - WPC	19,457,298	35b.	Other Margins and Equities - Gas	7.207
O.u	invoca in viscosi orgivianonago capitar vivio	10,101,200	35c.	Other Margins and Equities - Fiber	0
			35d.	Other Margins and Equities - PIAGA	260.647
8.b	Invest. in Assoc. Org- Patronage Capital - Other	3,096,224	35.	Other Margins and Equities - Combined	5,025,662
9.	Invest. in Assoc. Org Other - General Funds	4,800	36a.	Total Margins and Equities (30 thru 35) - Electric	47,243,359
10.	Invest. in Assoc. Org Other - Nongeneral Funds	1,394,780	36b.	Total Margins and Equities (30 thru 35) - Gas	9,368,932
10.	invest. in 7 tosoc. Org. Other Hongeneral Funds	1,004,100	36c.	Total Margins and Equities (30 thru 35) - Fiber	(690,397)
			36d.	Total Margins and Equities (30 thru 35) - PIAGA	260,647
11.	Invest, in Economic Development Projects	0	36.	Total Margins and Equities (30 thru 35) - Combined	56,395,448
12.	Other Investments	0	37.	Long Term Debt - RUS (Net)	00,000,110
13.	Restricted Funds	0	07.	(Payments-Unapplied \$ -0-	0
14.	Total Other Property and Investments (6 thru 13)	23,953,102	38.	Long Term Debt - RUS - Econ. Dev. (Net)	0
15.	Cash - General Funds	3,439,604	39.	Long Term Debt - Other - RUS Guaranteed	0
16.	Cash - Construction Funds	0,455,004	40.	Long Term Debt - Other (Net)	79,391,733
17.	Cash - PIAGA	637,535	41.	Total Long Term Debt (37 thru 40)	79,391,733
18.	Temporary Investments	1,626,158	42.	Obligations Under Capital Leases	79,591,755
19.	Notes Receivable - Net	1,020,138	43.	Deferred Compensation	0
20.	Accounts Receivable	6.729.174	44.	Total Other Non Current Liabilities (42+43)	0
21.	Unbilled Revenue	990.197	45.	Line of Credit Balance Due	10.576.530
22.	Materials and Supplies - Electric and Other	7,363,697	46.	Accounts Payable	5,079,501
23.	Prepayments	182,659	47.	Consumers Deposits	544,950
24.	Other Current and Accrued Assets	102,039	48.	Other Current and Accrued Liabilities	6,234,771
25.	Total Current and Accrued Assets (15 thru 24)	20,969,024	49.	Total Current and Accrued Liabilities (45 thru 48)	22,435,752
26.	Regulatory Assets	20,969,024	50.	Deferred Credits	365,194
27.	Other Deferred Debits	251,665	51.	Accumulated Deferred Income Taxes	300, 194
28.	Accumulated Deferred Income Taxes	251,005	52.	Total Liabilities and Other Credits	
29.	Total Assets and Other Debits (5 + 14 + 25 thru 28)	158,588,127	JZ.	(36+41+44+49 thru 51)	158,588,127
		,		(40	,,

PART 4 - NOTES TO CONSOLIDATED FINANCIAL STATEMENTS

THIS SPACE BELOW IS PROVIDED FOR IMPORTANT NOTES REGARDING THE FINANCIAL STATEMENT CONTAINED IN THIS REPORT.

ELECTRIC OPERATIONS PLANT RATIOS, SALES & REVENUE REPORT FOR THE MONTH ENDING DECEMBER 31, 2021

BALANCE SHEET RATIOS

Current Assets to Current Liabilities - Combined 86.19 %

Margins & Equities as % of Assets - Combined 35.57 %

Long Term Debt as % of Net Utility Plant - Combined 71.38 % Long Term Debt as % of Plant - Combined 41.67 % Modified Debt Service Coverage Ratio - Combined 1.46

CONSUMER SALES AND REVENUE DATA - MONTHLY

CLASS OF SERVICE	Number Receiving Service	kWh Sold	Amount	Number of Minimum Bills
	A.	В.	C.	D.
Sales - Residential	18,143	12,759,826	1,784,095	730
Sales - Seasonal	13,786	3,508,693	814,008	12,608
Sales - General Service - Oil	496	440,457	56,433	67
Sales - Irrigation	27	2,574	2,164	16
Sales - General Service	1,691	2,790,863	329,650	187
Sales - Large Power - Oil	2	96,160	9,078	
Sales - Large Power	40	2,158,746	210,724	1
Sales - Public Street & Highway Lighting	37	11,864	3,972	
Sales - Public Buildings	325	295,127	37,571	36
Consumer Sales - PSCR			53,058	
Total Sales of Electric Energy (1 thru 11)	34,547	22,064,310	3,300,753	13,645
Other Electric Revenue			96,511	
Total (12 + 13)			3,397,264	
Last Year kWh Sales	34,137	21,240,141		

CONSUMER SALES AND REVENUE DATA - YEAR TO DATE

CLASS OF SERVICE	Average Number Receiving Service B.	kWh Sold Cumulative C.	Amount Cumulative D.
Sales - Residential	18,002	142,866,798	20,042,071
Sales - Seasonal	13,734	42,594,748	9,426,031
Sales - General Service - Oil	497	4,440,150	577,934
Sales - Irrigation	26	107,538	21,186
Sales - General Service	1,656	34,961,822	4,066,338
Sales - Large Power - Oil	2	917,120	88,260
Sales - Large Power	39	27,867,278	2,674,365
Sales - Public Street & Highway Lighting	37	142,497	47,433
Sales - Public Buildings	326	4,173,743	514,371
Consumer Sales - PSCR			440,600
Total Sales of Electric Energy (1 thru 11)	34,319	258,071,694	37,898,590
Other Electric Revenue			885,984
Total (12 + 13)			38,784,574
Last Year kWh Sales		246,588,784	

KWH AND KWH STATISTICS

ITEM	THIS MONTH	YEAR-TO-DATE
1. kWh Purchased	25,323,371	280,036,748
2. Interchange kWh-Net	1,564	70,341
3. Total kWh (1 + 2)	25,324,935	280,107,089
4. Total kWh-Sold	22,064,310	258,071,694
5. Office Use - **For Information Purposes Only**	65,182	562,222
6. Total Unaccounted for		
(3 - 4)	3,260,625	22,035,395
7. Percent System Loss (6/3)x100	12.88	7.87
8. Maximum Demand (kw)	45,566	59,254
9. Month When Maximum		
Demand Occurred		7

GAS OPERATIONS SALES & REVENUE REPORT FOR THE MONTH DECEMBER 31, 2021

CONSUMER SALES AND REVENUE DATA - MONTHLY

CLASS OF SERVICE	Number Receiving Service	CCF Sold	Amount	Number of Minimum Bills
	A .	В.	C.	D.
Gas Sales - Residential	7,958	960,593	915,797	244
Gas Sales - Residential - Line Retention	59			
Gas Sales - Seasonal	4,273	316,470	322,022	516
Gas Sales - Seasonal - Line Retention	62			
Gas Sales - General Service	438	142,085	105,049	33
Gas Sales - General Service - Line Retention	3			
Gas Sales - Large Power	11	51,494	33,993	1
Gas Sales - Public Buildings	139	77,945	54,728	4
Gas Sales - Public Buildings - Line Retention				
Gas Cost Recovery (Over)/Undercollection			(25,191)	
Less: Area Expansion Rate				
Total Sales of Natural Gas Energy (1 thru 11)	12,943	1,548,587	1,406,399	798
Other Gas Revenue			10,313	
Total (12 + 13)			1,416,711	
Last Year CCF Sales	12,739	1,468,952		

CONSUMER SALES AND REVENUE DATA - YEAR TO DATE

	Average Number Receiving Service	CCF Sold Cumulative	Amount Cumulative
CLASS OF SERVICE	B.	C.	D.
Gas Sales - Residential	7,884	6,462,522	6,616,717
Gas Sales - Residential - Line Retention	65		
Gas Sales - Seasonal	4,213	2,054,348	2,352,182
Gas Sales - Seasonal - Line Retention	64		
Gas Sales - General Service	434	976,957	753,514
Gas Sales - General Service - Line Retention	3		
Gas Sales - Large Power	12	371,906	248,839
Gas Sales - Public Buildings	138	490,262	358,312
Gas Sales - Public Buildings - Line Retention			
Gas Cost Recovery (Over)/Undercollection			153,308
Less: Area Expansion Rate			
Total Sales of Natural Gas Energy (1 thru 11)	12,813	10,355,995	10,482,871
Other Gas Revenue			72,754
Total (12 + 13)			10,555,625
Last Year CCF Sales		10,519,692	

Name o	of Respondent	This Report Is:	Date of Report	Year of Report
Presqu	e Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021
	SUMMARY OF UTILITY PLANT			
	FOR DEPRECIATION, AMO	ORTIZATION AND DEPLET	rion	
	Item		Total	Electric
Line				
No.	(a)		(b)	(c)
1	UTILITY PLANT			
2	In Service			
3	Plant in Service (Classified)		\$188,078,671	\$141,215,836
4	Property Under Capital Leases			
5	Plant Purchased or Sold			
6	Completed Construction not Classified			
7	Experimental Plant Unclassified		<u> </u>	4444
8	TOTAL (Enter Total of lines 3 thru 7)		\$188,078,671	\$141,215,836
9	Leased to Others			
10	Held for Future Use		40.404.545	* 4 00 4 00 0
11	Construction Work in Progress		\$2,431,515	\$1,024,036
12	Acquisition Adjustments		1	
13	TOTAL Utility Plant (Enter Total of lines 8 thru		\$190,510,186	\$142,239,872
14	Accum. Prov. For Depr., Amort., & Depl.		\$79,285,315	
15	Net Utility Plant (Enter Total of line 13 less 14)		\$111,224,871	\$78,284,046
16	DETAIL OF ACCUMULATED PROVI			
47	DEPRECIATION, AMORTIZATION AN	1D DEPLETION	-	
17	In Service:		Φ 7 0.005.045	# 00.055.000
18	Depreciation		\$79,285,315	\$63,955,826
19	Amort. and Depl. Of Producing Natural Gas Land		 	
20	Amort. of Underground Storage Land and Land R	ights	 	
21	Amort. of Other Utility Plant	04)	ATO 005 045	***
22	TOTAL in Service (Enter Total of lines 18 thru	<u> </u>	\$79,285,315	\$63,955,826
23	Leased to Others			
24 25	Depreciation Amortization and Depletion		 	
26	TOTAL Leased to Others (Enter Total of lines)	24 and 25)	+	
27	Held for Future Use	<u> 24 anu 20)</u>		
28	Depreciation			
29	Amortization		+	
30	TOTAL Held for Future Use (Enter Total of line	es 28 and 29)	+	
31	Abandonment of Leases (Natural Gas)	20 20 and 29)	+	
32	Amort. of Plant Acquisition Adj.		+	
33	TOTAL Accumulated Provisions (Should agree wi	ith line 14 above)	+	
- 55	(Enter Total of lines 22, 26, 30, 31 and 32)	a. mo i i abovoj	\$79,285,315	\$63,955,826

Name of Respondent	This Report Is:	Date of Report		Year of Report	
Presque Isle Electric &	(1) [X] An Original	(Mo, Da, Yr)		12/31/2021	
Gas Co-op	(2) [] A Resubmission		/2022		
	SUMMARY OF UTILITY				
	FOR DEPRECIATION, A	MORTIZATION AND D	EPLETION (Continu	ed)	
Gas	Fiber	Other (Specify)	Other (Specify)	Common	
					Line
(d)	(e)	(f)	(g)	(h)	No.
					1
#45.000.405	D				2
\$45,666,425	\$1,196,410				3
					5
					6
					7
\$45,666,425	\$1,196,410				8
					9
					10
\$542,513	\$864,966				11
4/2 222 222	***************************************				12
\$46,208,938	\$2,061,376				13 14
\$15,318,991 \$30,889,947	\$10,498 \$2,050,878				15
\$30,009,347	\$2,030,078				16
					17
\$15,318,991	\$10,498				18
					19
					20
					21
\$15,318,991	\$10,498				22
					23 24
					25
					26
					27
					28
					29
					30
					31
					32
\$15,318,991	\$10,498				33

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric &	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
Gas Co-op	(2) [] A Resubmission	4/30/2022	12/31/2021

GAS PLANT IN SERVICE (Accounts 101, 102, 103, 106)

- 1. Report below the original cost of gas plant in service according to the prescribed accounts.
- In addition to Account 101, Gas Plant in Service (Classified), this schedule includes Account 102, Gas Plant Purchased or Sold; Account 103, Experimental Gas Plant Unclassified; and Account 106, Completed Construction Not Classified - Gas.
- Include in column (c) or (d), as appropriate, corrections of additions and retirements for the current or preceding year.
- 4. Enclose in parentheses credit adjustments of plant accounts to indicate the negative effect of such amounts.
- 5. Classify Account 106 according to prescribed accounts, on an estimated basis if necessary, and

include the entries in column (c). Also to be included in column (c) are entries for reversals of tentative distributions of prior year reported in column (b). Likewise, if the respondent has a significant amount of plant retirements which have not been classified to primary accounts at the end of the year, include in column (d) a tentative distribution of such retirements on an estimated basis, with appropriate contra entry to the account for accumulated depreciation provision. Included also in column (d) reversals of tentative distributions of prior year of unclassified retirements.

Attach supplemental statement showing the account

Attach supplemental statement showing the account distributions of these tentative classifications in columns (c) and (d), including the reversals of the prior years' tentative account distributions of these

		Account	Balance at	Additions
Line	Acct.		Beginning of Year	
No.	No.	(a)	(b)	(c)
1		Intangible Plant		
2	301	Organization		
3	302	Franchises and Consents	42,142	0
4	303	Miscellaneous Intangible Plant	9,379,738	0
5		TOTAL Intangible Plant	\$9,421,880	\$0
6		Production Plant		
7		Manufactured Gas Production Plant		
8	304.1	Land		
9	304.2	Land Rights		
10	305	Structures and Improvements		
11	306	Boiler Plant Equipment		
12	307	Other Power Equipment		
13	308	Coke Ovens		
14	309	Producer Gas Equipment		
15	310	Water Gas Generating Equipment		
16	311	Liquefied Petroleum Gas Equipment		
17	312	Oil Gas Generating Equipment		
18	313	Generating Equipment - Other Processes		
19	314	Coal, Coke and Ash Handling Equipment		
20	315	Catalytic Cracking Equipment		
21	316	Other Reforming Equipment		
22	317	Purification Equipment		
23	318	Residual Refining Equipment		
24	319	Gas Mixing Equipment		
25	320	Other Equipment		
26		TOTAL Manufactured Gas Production Plant	0	0

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric &	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
Gas Co-op	(2) [] A Resubmission	4/30/2022	12/31/2021

GAS PLANT IN SERVICE (Accounts 101, 102, 103 106) (Continued)

amounts. Careful observance of the above instructions and the text of Accounts 101 and 106 will avoid serious omission of the reported amount of respondent's plant actually in service at the end of year.

- 6. Show is column (f) reclassification or transfers within utility plant accounts. Include also in column (f) the additions or reductions of primary account classifications arising from distribution of amounts initially recorded in Account 102. In showing the clearance of Account 102, include in column (e) the amounts with respect to accumulated provision for depreciation, acquisition adjustments, etc., and show in column (f) only the offset to the debits or credits distributed in column (f) to primary account classifications.
- 7. For Account 399, state the nature and use of plant included in this account and if substantial in amount submit a supplementary statement showing subaccount classification of such plant conforming to the requirements of these pages.
- 8. For each amount comprising the reported balance and changes in Account 102, state the property purchased or sold, name of vendor or purchaser, and date of transaction. If proposed journal entries have been filed with the Commission as required by the Uniform System of Accounts, give also date of such filing.

Retirements	Adjustments	Transfers	Balance at End of Year	Acct.	Line
(d)	(e)	(f)	(g)	No.	No.
					1
				301	2
(42,142)	\$0		\$0	302	3
			\$9,379,738	303	4
	\$0		\$9,379,738		5
					6
					7
				304.1	8
				304.2	9
				305	10
				306	11
				307	12
				308	13
				309	14
				310	15
				311	16
				312	17
				313	18
				314	19
				315	20
				316	21
				317	22
				318	23
				319	24
				320	25
0	0	0	0		26

Name	of Resp	ondent This Report Is:	Date of Report	Year of Report
	•	Electric & (1) [X An Original	(Mo, Da, Yr)	·
Gas C		(2) [] A Resubmission	4/30/2022	12/31/2021
		GAS PLANT IN SERVICE (Accounts 101, 102, 103, 10	06 (Continued)	
			Balance at	
		Account	Beginning of	Additions
Line	Acct.		Year	
No.	No.	(a)	(b)	(c)
27		Natural Gas Production & Gathering Plant		
28	325.1	Producing Lands		
29	325.2	Producing Leaseholds		
30	325.3	Gas Rights		
31	325.4	Rights-of-Way		
32	325.5	Other Land		
33	325.6	Other Land Rights		
34	326	Gas Well Structures		
35	327	Field Compressor Station Structures		
36	328	Field Measuring and Regulating Station Structures		
37	329	Other Structures		
38	330	Producing Gas Wells-Well Construction		
39	331	Producing Gas Wells-Well Equipment		
40	332	Field Lines		
41	333	Field Compressor Station Equipment		
42	334	Field Measuring and Regulating Station Equipment		
43	335	Drilling and Cleaning Equipment		
44	336	Purification Equipment		
45	337	Other Equipment		
46	338	Unsuccessful Exploration & Development Costs		
47	000	TOTAL Production and Gathering Plant	0	0
48		Products Extraction Plant	U	0
49	340.1	Land		
50	340.2	Land Rights		
51	341	Structures and Improvements		
52	342	Extraction and Refining Equipment		
53	343	Pipe Lines		
54	344	Extracted Products Storage Equipment		
55	345	Compressor Equipment	+	
56	346	Gas Measuring and Regulating Equipment	+	
57	347	Other Equipment	+	
58	347	TOTAL Products Extraction Plant	0	^
59		TOTAL Products Extraction Plant TOTAL Natural Gas Production Plant	0	0
		SNG Production Plant (Submit Supplemental Statement)	0	U
60		TOTAL Production Plant		^
61			0	0
62		Natural Gas Storage and Processing Plant Underground Storage Plant		
63	050 1	Underground Storage Plant		
64	350.1	Land		

Name of Respondent	This Report Is:		Date of Report	Year of Repo	ort
Presque Isle Electric &	(1) [X] An Original		(Mo, Da, Yr)	12/2	1/2021
Gas Co-op	(2) [] A Resubmiss	sion	4/30/2022	12/3	1/2021
GA	AS PLANT IN SERVI	CE (Accounts 10	01, 102, 103 106) (Conti	nued)	
Retirements	Adjustments	Transfers	Balance at	Acct.	Line
Retirements	Adjustments	Hansiers	End of Year	No.	No.
(d)	(e)	(f)	(g)	110.	110.
					27
				325.1	28
				325.2	29
				325.3	30
				325.4	31
				325.5	32
				325.6	33
				326	34
				327	35
				328	36
				329	37
				330	38
				331	39
				332	40
				333	41
				334 335	42 43
				336	43
				337	44
				338	46
0	0	0	0		47
0	O	O	0		48
				340.1	49
				340.2	50
				341	51
				342	52
				343	53
				344.0	54
				345.0	55
				346	56
				347	57
0	0	0	0		58
0	0	0	0		59
					60
0	0	0	0		61
					62
					63
				350.1	64

Name	of Resp	pondent This Report Is:	Date of Report	Year of Report			
		Electric & (1) [X] An Original	(Mo, Da, Yr)	12/31/2021			
Gas C	Co-op	(2) [] A Resubmission	4/30/2022	12/01/2021			
GAS PLANT IN SERVICE (Accounts 101, 102, 103, 106 (Continued)							
		Account	Balance at	Additions			
Line	Acct.		Beginning of Year				
No.	No.	(a) Rights-of-Way	(b)	(c)			
65	350.2	Structures and Improvements					
66	351.0	Wells					
67	352						
68	352.1	Storage Leaseholds and Rights					
69	352.2	Reservoirs					
70	002.0	Non-Recoverable Natural Gas					
71	353	Lines					
72	354	Compressor Station Equipment					
73	355	Measuring and Regulating Equipment					
74	356	Purification Equipment					
75	357	Other Equipment					
76	358	Gas in Underground Storage-Noncurrent					
77		TOTAL Underground Storage Plant	0	0			
78		Other Storage Plant					
79	360.1	Land					
80	360.2	Land Rights					
81	361	Structures and Improvements					
82	362	Gas Holders					
83	363	Purification Equipment					
84	363.1	Liquefaction Equipment					
85	363.2	Vaporizing Equipment					
86	363.3	Compressor Equipment					
87	363.4	Measuring and Regulating Equipment					
88	363.5	Other Equipment					
89		TOTAL Other Storage Plant	0	0			
90		Base Load Liquefied NG Terminating and Processing Plant					
91	364.1	Land					
92		Land Rights					
93	364.2	Structures and Improvements					
94	364.3	LNG Processing Terminal Equipment					
95	364.4	LNG Transportation Equipment					
96		Measuring and Regulating Equipment					
97	364.6	Compressor Station Equipment					
98	364.7	Communication Equipment					
99	364.8	Other Equipment					
100	557.0	TOTAL Base Load LNG Terminating and Processing Plant	0	0			
101		in the second se	<u> </u>	<u> </u>			
102		TOTAL Natural Gas Storage and Processing Plant	0				
102	<u> </u>	. 5 17 12 14atarar 5a5 otorago ana i 100c55ing i lant	ı	ı			

Name of Respondent	This Report Is:		Date of Report	Year of Repo	ort		
Presque Isle Electric &	(1) [X] An Original		(Mo, Da, Yr)	12/31/	2021		
Gas Co-op	(2) [] A Resubmission		4/30/2022				
GAS PLANT IN SERVICE (Accounts 101, 102, 103 106) (Continued)							
Retirements	Adjustments	Transfers	Balance at	Acct.	Line		
/ N	(0)	(f)	End of Year	No.	No.		
(d)	(e)	(f)	(g)				
				350.2	65		
				351	66		
				352	67		
				352.1	68		
				352.2	69		
				352.3 353	70 71		
				354	71		
				355	73		
				356	74		
				357	75		
				358	76		
0	0	0	0	330	77		
0	U	U	U		78		
				360.1	79		
				360.2	80		
				361	81		
				362	82		
				363	83		
				363.1	84		
				363.2	85		
				363.3	86		
				363.4	87		
				363.5	88		
0	0	0	0		89		
					90		
				364.1	91		
				364.1a	92		
				364.2	93		
				364.3	94		
				364.4	95		
				364.5	96		
				364.6	97		
				364.7	98		
				364.8	99		
0	0	0	0		100		
					101		
0	0	0	0		102		

Name	of Resp	pondent This Report Is:	Date of Report	Year of Report			
		Electric & (1) [X] An Original	(Mo, Da, Yr)				
Gas C	Со-ор	(2) [] A Resubmission	4/30/2022	12/31/2021			
	GAS PLANT IN SERVICE (Accounts 101, 102, 103, 106 (Continued)						
		Account	Balance at	Additions			
Line	Acct.		Beginning of Year				
No.	No.	(a)	(b)	(c)			
103		Transmission Plant					
104	365.1	Land					
105	365.2	Land Rights					
106	365.3	Rights-of-Way					
107	366	Structures and Improvements					
108	367	Mains					
109	368	Compressor Station Equipment					
110	369	Measuring and Regulating Station Equipment					
111	370	Communication Equipment					
112	371	Other Equipment					
113		TOTAL Transmission Plant	0	0			
114		5. Distribution Plant					
115	374.1	Land	60,459	0			
116	374.2	Land Rights	148,259	0			
117	375	Structures and Improvements	732,806	0			
118	376	Mains	16,538,576	234,043			
119	377	Compressor Station Equipment		== 1,5 15			
120	378	Measuring and Regulating Station Equipment - General	99,657	0			
121	379	Measuring and Regulating Station Equipment - City Gate	22,221	_			
122	380	Services	15,065,658	1,109,253			
123	381	Meters	2,122,449	471,073			
123a	381.01	N Gas AMI Communications Equipment	0	279,249			
124	382	Meter Installations	29,122	6,957			
125	383	House Regulators	20,122	0,00.			
126	384	House Regulator Installations					
127	385	Industrial Measuring and Regulating Station Equipment					
128	386	Other Property on Customer's Premises					
129	387	Other Equipment					
130		TOTAL Distribution Plant	\$34,796,986	\$2,100,575			
131		6. General Plant	+5 7,1 00,000	+=,,			
132	389.1	Land	17,041	0			
133	389.2	Land Rights	17,041	,			
134	390	Structures and Improvements	148,678	0			
135	391	Office Furniture and Equipment	140,070	, , , , , , , , , , , , , , , , , , ,			
136	391.1	Computers and Computer Related Equipment					
137	392	Transportation Equipment					
138	393	Stores Equipment		21,748			
139	394	Tools, Shop and Garage Equipment	245,033	42,823			
140	395	Laboratory Equipment	91,768	42,623			
140	১৬১	Laboratory Equipment	91,768	I			

		Date of Report Year of Report				
		(Mo, Da, Yr)	12/31/2021			
Gas Co-op	Co-op (2) [] A Resubmission		4/30/2022		1/2021	
GAS PLANT IN SERVICE (Accounts 101, 102, 103 106) (Continued)						
Retirements	Adjustments	Transfers	Balance at	Acct.	Line	
(1)	(0)	(f)	End of Year	No.	No.	
(d)	(e)	(f)	(g)			
				005.4	103	
				365.1 365.2	104 105	
				365.3	106	
				366	107	
				367	108	
				368	109	
				369	110	
				370	111	
				371	112	
				.	113	
					114	
0			60,459	374.1	115	
0			148,259	374.2	116	
0			732,806	375	117	
(42,068)			16,730,551	376	118	
			0	377	119	
0			99,657	378	120	
			0	379	121	
(627,091)			15,547,820	380	122	
(303,310)			2,290,212	381	123	
(186,180)			93,070	381.01	123a	
(26,513)			9,566	382	124	
			0	383	125	
			0	384	126	
			0	385	127	
			0	386	128	
			0	387	129	
(\$1,185,161)			\$35,712,400		130	
				000.4	131	
0			17,041	389.1	132	
_			0	389.2	133	
0			148,678	390	134	
			0	391	135	
			0	391.1	136 137	
			0	392 393	137	
			21,748	393	139	
0			287,856	394	140	
0			91,768	390	140	

Presque Gas Co-		Electric & (1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021
Gas Co-	-ор		4/30/2022	
		GAS PLANT IN SERVICE (Accounts 101, 102, 10	3, 106 (Continued)	
		Account	Balance at	Additions
Line A	Acct.		Beginning of Year	
No.	No.	(a)	(b)	(c)
141 3	396	Power Operated Equipment		
142	397	Communication Equipment	7,196	0
143	398	Miscellaneous Equipment		
144		SUBTOTAL (lines 132 thru 143)	\$509,715	\$64,572
145	399	Other Tangible Property		
146		TOTAL General Plant	\$509,715	\$64,572
147		TOTAL (Accounts 101 and 106)		
148 1	101.1	Property Under Capital Leases		
149	102	Gas Plant Purchased (See Instruction 8)		
150	(Less) 102	Gas Plant Sold (See Instruction 8)		
151	103	Experimental Gas Plant Unclassified		
152		TOTAL GAS PLANT IN SERVICE	\$44,728,581	\$2,165,146

Name of Respondent	This Report Is:		Date of Report	Year of Re	port
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission		(Mo, Da, Yr) 4/30/2022		/2021
G	AS PLANT IN SERVICE	(Accounts 101, 102	2, 103 106) (Continued)		
Retirements (d)	Adjustments (e)	Transfers (f)	Balance at End of Year (g)	Acct. No.	Line No.
				396	141
0			7,196	397	142
				398	143
0			\$574,287		144
				399	145
0			\$574,287		146
					147
				101.1	148
				102	149
				(102)	150
				103	151
(\$1,185,161)	\$0	\$0	\$45,666,425		152

Nam	e of Respondent	This Report Is:	Date of Report		Year of Report			
Presque Isle Electric & (1) [X] An Original ((Mo, Da, Yr)		12/31/2021			
Gas	Gas Co-op (2)[] A Resubmission 4/30/2022							
4 5	GAS PLANT LEASED TO OTHERS (Account 104) 1. Report below the information called for concerning gas 2. In Column (c) give the date of Commission							
	eport below the inforr leased to others.	nation called for concernir	ng gas					
piani		of Lessee	Description of	Commission		as plant to others.		
		sociated companies	Property	Author-	Date of			
Line		n asterisk)	Leased	iazation	Lease	Balance at		
No.		(a)	(b)	(c)	(d)	End of Year		
1		, ,			, ,			
2								
	NOT APPLICABLE							
4								
5 6								
7								
8								
9								
10								
11								
12 13								
14								
15								
16								
17								
18								
19								
20 21								
22								
23								
24								
25								
26								
27 28								
29								
30								
31								
32								
33								
34 35								
36								
37								
38								
39								
40								
41								
42 43								
44								
45								
46								
47	TOTAL							
TI	· 🗸 i / 🖫							

	e of Respondent	This Report Is:	Date of Repo	rt	Year of Report			
	que Isle Electric &	(1) [X] An Original	(Mo, Da, Yr)	19/31/9091				
Gas (Со-ор	(2) [] A Resubmission	4/	/30/2022	12)	01/2021		
	GAS PLANT HELD FOR FUTURE USE (Account 105)							
end o	Report separately each property held for future use at d of the year having an original cost of \$250,000 or more. oup other items of property held for future use. 2. For property having an original cost of \$250,000 or more previously used in utility operations, now held for future use, give in column (a), in addition to other required information, the date that utility use of such property was discontinued, and the date the original cost was transferred to Account 105.							
	Natural Gas Lands,	scription and Location of Property (a) Leaseholds, and Gas Righ y Use (Per Pages 500-50		Date Originally Included in This Account (b)	Date Expected to be used in Utility Service (c)	Balance at End of Year (d)		
2	NOT APPLICABLE	y Use (Per Pages 500-50 ²	1)					
45								
46	TOTAL							

Name	of Respondent	This Report Is:	Date of Report	Year of Report				
Presc	ue Isle Electric &	(1) [X] An Original	(Mo, Da, Yr)	10/21/	2024			
Gas (Со-ор	(2) [] A Resubmission	4/30/2022	12/31/3	2021			
	PRODUCTION PROPERTY HELD FOR FUTURE USE (Account 105.1)							
1. Re	eport separately eac	h property held for future use at	more previously used	in utility operations, n	ow held for			
		g an original cost of \$1,000,000	future use, give in col					
		ms of property held for future use.						
2. Fo	r property having ar	n original cost of \$1,000,000 or	discontinued, and the	date the original cost	was transferred			
			to Account 105.1	1				
			Date Originally	Date Expected				
	Г	escription and Location	Included in	to be used in	Balance at			
Line	_	of Property	This Account	Utility Service	End of Year			
No.		(a)	(b)	(c)	(d)			
1		Leaseholds, and Gas Rights						
2	Held for Future Utili	ity Use (Per Pages 500-501)						
2	NOT APPLICABLE	:						
4								
5								
6								
7 8								
9								
10								
11 12								
13								
14								
15								
16								
17 18								
19								
20								
21								
22 23								
24								
25								
26								
27								
28 29								
30								
31								
32								
33 34								
35								
36								
37								
38 39								
40								
41								
42								
43								
44 45								
46								
	TOTAL			•				

Nam	e of Respondent	This Report Is:	Date of Report		Year of Report
	Presque Isle Electric & (1) [X] An Original (Mo, Da, Yr)				12/31/2021
Gas				30/2022	12/31/2021
		CONSTRUCTION W	ORK IN PROGR	ESS GAS (Account 1	07)
or pro	oject in process of cor now items relating to '	ons and balances at end of ynstruction (107). 'research, development, and st, under a caption Researcl	d	Uniform Systems of Aco	constration (see Account 107 of the counts). than \$500,000) may be grouped.
Line No.		Description of Project (a)		Construction Work in ProgressGas (Account 107) (b)	Estimated Additional Cost of Project (c)
1	DISTRIBUTION WO	RK IN PROGRESS AT YEA	R END 2021		
2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24	DISTRIBUTION WO	MINOR PROJECTS	IK END 2021	542,513	0
25 26 27 28 29 30 31 32					
33 34 35 36 37 38 39 40 41 42					
43	TOTAL		_	542,513	0

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
Co-op	(2) [] A Resubmission	4/30/2022	12/31/2021

CONSTRUCTION OVERHEAD--GAS

- List in column (a) the kinds of overheads according to the titles used by the respondent. Charges for outside professional services for engineering fees and management or supervision fees capitalized should be shown as separate items.
- 2. On Page 218 furnish information concerning construction overheads.
- 3. A respondent should not report "none" to this page if on overhead apportionments are made, but rather should explain on page
- 218 the accounting procedures employed and the amounts of engineering, supervision and administrative costs, etc., which are directly charged to construction.
- 4. Enter on this page engineering, supervision, administrative, and allowance for funds used during construction, etc., which are first assigned to a blanket work order and then prorated to construction jobs.

Line No.	Description of Overhead (a)	Total Amount Charged for the Year (b)	Total Cost of Construction to Which Overheads Were Charged (Exclusive of Overhead Charges (c)	Indirect
	DIRECT LABOR	439,010	362,688	76,322
3 4 5	INDIRECT LABOR	39,584	23,871	15,713
	MATERIAL INVENTORY	298,266	298,265	1
8 9	TRANSPORTATION	404,051	167,189	236,862
10 11	STORES	101,380	101,037	344
12 13	PAYROLL TAXES	38,941	32,059	6,881
15	MISCELLANEOUS	64,060	22,079	41,981
17	HEAVY EQUIPMENT	0	0	0
19	RIGHT OF WAY AND PERMITS EMPLOYEE COSTS	9,896	9,295 122,432	601 29,915
20 21 22	CONTRACTORS/PROFESSIONAL SERVICES	152,347 47,108	46,835	29,915
23 24	AID TO CONSTRUCTION	(324,287)	(324,287)	0
25 26		(==:,==:)	(==:,==:)	
27 28				
29 30				
31 32				
33 34 35				
36 37				
38 39				
40 41				
42 43				
44 45				
46	TOTAL	\$1,270,356	\$861,463	\$408,893

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
·	(2) [] A Resubmission		
		RUCTION OVERHEAD PR	
1. For each construction overhead and extent of work, etc., the overh		indirectly assigned.	ner the overhead is directly or
intended to cover, (b) the general	_	• •	utation of allowance for funds
determining the amount capitalize			ates, if those differ from the
distribution to construction jobs, (c	•		rized by the Michigan Public
rates are applied to different types		Service Commission.	
basis of differentiation in rates for	different types of		
1)			
a. Administrative	e, employee benefits, gene	eral construction support.	
b. All items direc	ctly or indirectly linked to co	onstruction.	
c. All overhead it	tems are spread based on	work orders with direct labor	or for the month incurred.
d. Not Applicable	9		
e. Not Applicable	9		
	orders having direct labor.	work order for the month, the Each work order receives i	· ·
2) Not Applicable			

Name of Respondent	This Report Is:	Date of Report	Year of Report	
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021	
		CIATION OF GAS UTILITY PLANT	,	
 Explain in a footnote year. 	any important adjustments during	If the respondent has a significant at year end which has not been red	•	
amount for book cost of	any difference between the plant retired, line 11, column (c)	to the various reserve functional classifications, make preliminary closing entries to tentatively functionalize the		
-	s plant in service, pages 204-211,	book cost of the plant retired. In addition, include all		

column (d), excluding retirements of non-depreciable property. 3. Accounts 108 and 110 in the Uniform System of Accounts require that retirements of depreciable plant be

costs included in retirement work in progress at year end in the appropriate functional classifications.

4. Show separately interest credits under a sinking fund or similar method of depreciation accounting.

	Section A. Baland	ces and Changes D	uring Year		
Line No.	Item (a)	Total (c+d+e) (b)	Gas Plant in Service (c)	Gas Plant Held for Future use (d)	Gas Plant Leased to Others (e)
1	Balance Beginning of Year	13,700,459	13,700,459	(4)	(0)
2	Depreciation Prov. for Year, Charged to	10,100,100	10,100,100		
3	(403) Depreciation Expense	800,735	800,735		
4	(403.1) Deprec. and Deplet. Expense	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	333,133		
5	(413) Exp. of Gas Plt. Leas. to Others				
6	Transportation Expenses - Clearing				
7	Other Clearing Accounts				
8	Other Accounts (Specify):				
9	Amortization Expense (426.5)	1,024,347	1,024,347		
10	TOTAL Deprec. Prov. for Year (Enter		, ,		
	Total of lines 3 thru 9)	1,825,081	1,825,081		
11	Net Charges for Plant Retired:		, ,		
12	Book Cost of Plant Retired	(206,549)	(206,549)		
13	Cost of Removal	,	` '		
14	Salvage (Credit)				
15	TOTAL Net Chrgs. for Plant Ret. (Enter Total of lines 12 thru 14)	(206,549)	(206,549)		
16	Other Debit or Credit Items (Describe):				
17	Amortization Adjustment	0	0		
18					
19	Balance End of Year (Enter Total of lines 1,				
	10, 15, & 16)	\$15,318,991	\$15,318,991		
	Section B. Balances at End of N	ear According to F	unctional Classifica	ations	
20	Production - Manufactured Gas				
21	Production and Gathering - Natural Gas				
22	Products Extraction - Natural Gas				
23	Underground Gas Storage				
24	Other Storage Plant				
25	Base Load LNG Terminating & Proc. Plt.				
26	Transmission				
27	Distribution	15,318,991	15,318,991		
28	General				

-						
Name o	f Respondent	This Report Is:	Date of Report Year of Report			
Presque	e Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 12/31/2021			
	(GAS STORED (ACCOUNT		AND 164.3)	ı	
1. If during the year adjustment was made to the stored gas inventory (such as to correct cumulative inaccuracies of gas measurements), furnish in a footnote an explanation of the reason for adjustment, the Mcf and dollar amount of adjustment, and account charged or credited. 2. Give in a footnote a concise statement of the facts and the accounting performed with respect to any encroachment of withdrawals during the year, or restoration of previous encroachment, upon native gas constituting the "gas cushion" of any storage reservoir. 3. If the company uses a "base stock" in connection with its inventory accounting, give a concise statement of the basis of establishing such "base stock" and the inventory basis and the accounting performed with respect to any encroachment			of withdrawals upon "base stock," or restoration of previous encroachment, including brief particulars of any such accounting during the year. 4. If the company has provided accumulated provision for stored gas which may not eventually be fully recovered from any storage project, furnish a statement showing: (a) date of Commission authorization of such accumulated provision, (b) explanation of circumstances requiring such provision, (c) basis of provision and factors of calculation, (d) estimated ullimate accumulated provision accumulation, and (e) a summary showing balance of accumulated provision and entries during year. 5. Report pressure base of gas volumes as 14.65 psia at 60° F.			
Line No.	Description (a)	Noncurrent (Account 117) (b)	Current Account 164.1) (c)	LNG Account 164.2) (d)	LNG (Account 164.3) (e)	Total (f)
1	Balance at Beginning of Year	NONE				
2	Gas Delivered to Storage (contra Account)					
3	Gas Withdrawn from Storage (contra Account)					
4	Other Debits or Credits (Net)					
5	Balance at End of Year					
6	Mcf					
7	Amount per Mcf					
8	State basis of segregation of	of inventory between current	and noncurrent p	onions:		

Name	of Respondent	This Report Is	3:	Date of Report		Year of Report	
Presq	eque Isle Electric & Gas (1) [X] An Original (Mo, Da, Yr)						2021
Со-ор		(2) [] A Res	submission	4/30/2022			
			NONUTILITY PROP	ERTY (Accoun	t 121)		
1. Giv	e a brief description an	d state the loc	ation of	distinct from the	ose allowed to be gro	ouped under inst	ruction
	lity property included in			No. 5.			
2. De:	signate with an asterisk	any property	which is leased	5. Minor items	(5% of the Balance	at the End of the	Year,
to ano	ther company. State n	ame of lessee	and whether	for Account 121	1) may be grouped.		
lessee	is an associated comp	any.		6. Natural gas	companies which ha	ve oil property s	hould
3. Fur	nish particulars (details	s) concerning s	sales,	report such pro	perty by State, class	ified as to (a) oil	lands
purcha	ases, or transfers or No	nutility Propert	ty during	and land rights,	, (b) oil wells, and (c)	other oil proper	ty.
the ye	ar.			Gasoline plants	and other plants for	the recovery of	products
4. Lis	t separately all property	previously de	voted to		s are classifiable as		
	service and give date of			reported as suc	ch and not shown as	Nonutility Prope	erty .
Nonut	ility Property. These ite	ems are separ	ate and				
					Beginning	Sales,	End
Line		Description a	and Location		of Year	Transfers, etc.	of Year
No.		(a	a)		(b)	(c)	(d)
1							
2							
3 4		NONE					
5							
6							
7							
8							
9							
10							
11							
12							
13							
14							
15 16							
17							
18							
19							
20							
21							
22							
23							
24 25							
20	۸۰۰	YUMUU ATED E	PROVISION FOR DE		ND AMODTIZATION	LOE	
	ACC	OWOLATEDT	NONUTILITY PROP			i Oi	
	Report helow th	e information	called for concerning			nutility property	
	Troport below ti	ic information	Item	acpreciation an	a amortization of not	idinity property.	Amount
Line No.			(a)				(b)
	Balance, Beginning of	Voor					
	Accruals for Year, Cha (417) Income from I		rations				
3							
	(418) Nonoperating		<u> </u>				
5	Other Accounts (Sp	ocuiy).					
6	TOTAL Assertals	for Voor /Ent	or Total of lines 2 thm	(6)			
7			er Total of lines 3 thrเ	10)			
	Net Charges for Plant I						
9	Book Cost of Plant	Ketirea					
10	Cost of Removal						
11	Salvage (Credit)	/ - -					
12			tal of lines 9 thru 11)				
13	Other Debit or Credit It	ems (Describe	e):				
14	B	<i></i>		,			
15	Balance End of Year /	-nter Intel of	unge 1 7 19 and 11	.)			1

This Report Is:

Name of Respondent

NVESTMENTS (Accounts 133, 144, 136) Report below investments in Accounts 123. Report below investments. 124. Other Investments. Ind 136, Temporary Cash Investments. Ind 136, Temporary Cash Investments. Ind 136, Temporary Cash Investments. In Securities – List and describe each ecurity owned, giving name of issuer, date acquired and ate of maturity. For bonds, also give principal amount, date if issue, maturity, and interest rate. For capital stock in conducting capital stock of respondent reacquired under a elimited plan for resale) pursuant to authorization by the Board In Description of investment Description of investment Description of investment (a) NONE NONE NONE In Report below investments in Account 124, 1450 In Report Description of investment in Securities – Interest of Account 125, Advances subject to current repayment should be included in Account 136, Temporary Cash Investments, also may be grouped by classes. (b) Investment Advances – Report separately for each person or company the amounts of loans or investments and exhausting a state number of shares, class, and series of stock. Milnor investments may be grouped by classes. (b) Investment Advances – Report separately for each person or company the amounts of loans or investments and exhausting a state number of shares, class, and series of stock. Milnor investments may be grouped by classes. (b) Investment may be grouped by classes. (c) Investments may be grouped by classes. (b) Investments may be grouped by classes. (c) Investments may be grouped amounts of loans or investments and exhausting a state number of shares, class, and series of stock. Milnor investments and incount 136, and account 136		ue Isle Electric &			An Original	(Mo, Da,	•	_	12/31/2021
Negori below investments in Accounts 123, movestment in Associated Companies, 124, Other Investments, and 136, Temporary Cash Investments. Ind 136, Temporary Cash Investments. Ind 136, Temporary Cash Investments. Ind 136, Temporary Cash Investments. In Westment in Securities – List and describe each ecurity owned, giving name of issuer, date acquired and ate of maturity. For bonds, also give principal amount, date if issue, maturity, and interest rate. For capital stock of respondent reacquired under a definite plan for resale) pursuant to authorization by the Board In Description of Investment (a) NONE NONE Or Directors, and included in Account 124, Other Investments in Associated Companies and series of stock. Milmon investments may be grouped by classes. (b) Investment Advances – Report separately for each person or company the amounts of loans or investments advances, which are properly includable in Account 123. Advances subject to current repayment should be included in Account 134 and account 134 and account 134. Advances — Report separately for each person or company the amounts of loans or investments advances, which are properly includable in Account 123. Advances subject to current repayment should be included in Account 134. Advances in Personal Programments and services and present or capital stock of respondent in Account 134. Advances is a note or open account. Book Cost at Beginning of Year (if book cost is different from cost to respondent, give cost to respondent in a forcion and explain difference. 1	Sas C	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1				, 0 ., _ 0			
state number of shares, class, and series of stock. Minor investments may be grouped by classes. Investments included in 136, Temporary Cash Investments, also may be grouped by classes. Investments in Count 136, Provide a subheading for each account and list merulated from (a) Investment in Securities – List and describe each each early owned, piving name of issuer, date acquired and late of maturity. For bonds, also give principal amount, date if issue, maturity, and interest rate. For capital stock nectuding capital stock of respondent reacquired under a either plan for resale) pursuant to authorization by the Board line. Description of Investment Description of Investment (a) NONE NONE NONE NONE NONE See The power of shares, class, and series of stock. Minor investments may be grouped by classes. Investments, also may be grouped by classes. Investments and account 136, Temporary Cash Investments, also may be grouped by classes. Investments and account 136, Temporary Cash Investments, also may be grouped by classes. Investments and the company the amounts of loans or investment advances which are property includable in Account 123. Advances subject to current repayment should be included in Account 146. With respect to each advance, which are property includable in Account 123. Advances subject to current repayment should be included in Account 146. With respect to each advance, which are property includable in Account 123. Advances subject to current repayment should be included in Account 146. With respect to each advance, which are property includable in Account 123. Advances subject to current repayment should be included in Account 146. With respect to each advance, which are property includable in Account 123. Advances which are property includable in Account 124. Advances which are property includable in Account 125. Advances which are property includable in Ac						TS (Acco		•	
ine No. Description of Investment and Engine in Graph (Factor of Investment) (a) NONE NONE NONE NONE Reserved in a footnote and explain difference.) NONE NONE Reserved in a footnote and explain difference.) (b) NONE Reserved in a footnote and explain difference.) (c) (c) Purchases or Additions During Year During Year Purchases or Additions During Year Purchases or Addi	nvestment in Associated Companies, 124, Other Investments, and 136, Temporary Cash Investments. Provide a subheading for each account and list hereunder the information called for: (a) Investment in Securities List and describe each recurity owned, giving name of issuer, date acquired and late of maturity. For bonds, also give principal amount, date of issue, maturity, and interest rate. For capital stock including capital stock of respondent reacquired under a			е	state number of shares, class, and series of stock. Minor investments may be grouped by classes. Investments included in Account 136, <i>Temporary Cash Investments</i> , also may be grouped by classes. (b) Investment Advances Report separately for each person or company the amounts of loans or Investment advances which are property includable in Account 123. Advances subject to current repayment should be included in Accounts 145 and 146. With respect to each advance,				
2	ine No.			tion	of Investment			Beginning of Year (if book cost is different from cost to respondent, give cost to respondent in a footnote and explain difference.)	During Year
NONE									
30	4 5 6 7 8 9 10 111 12 13 14 15 16 17 18 19 20 21 22 23 24 22 5 22 6 22 7 22 8 33 34 35 36 37		NON	IE					

Date of Report

Year of Report

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric &	(1) [X] An Original	(Mo, Da, Yr)	12/21/2021
Gas Co-op	(2) [] A Resubmission	4/30/2022	12/31/2021

INVESTMENTS (Accounts 123, 124, 136) (Continued)

Each note should be listed giving date of issuance, maturity date, and specifying whether note is a renewal. Designate any advances due from officers, directors, stockholders, or employees. Exclude amounts reported on page 229.

- 3. For any securities, notes or accounts that were pledged designate with an asterisk such securities, notes or accounts and in a footnote state the name of pledge and purpose of the pledge.
- 4. If Commission approval was required for any advance made or security acquired, designate such fact in a footnote

- and give name of Commission, date of authorization, and case or docket number.
- 5. Report in column (g) interest and dividend revenues from investments including such revenues from securities disposed of during the year.
- 6. In column (h) report for each investment disposed of during the year the gain or loss represented by the difference between cost of investment (or the other amount at which carried in the books of account if different from cost) and the selling price thereof, not including any dividend or interest adjustment includible in column (g).

Sales or Other Dispositions During Year (d)	Principal Amount or No. of Shares at End of Year (e)	Book Cost at End of Year (If book cost is different from cost to respondent, give cost to respondent in a footnote and explain differences.) (f)	Revenues for Year (g)	Gain or Loss from Investment Disposed of (h)	Line No.
(u)	(e)	(1)	(9)	(11)	1
					1 2
NONE					1 3
TO TE					1 4
					5
					2 3 4 5 6
					7
					7 8
					9
					10
					11
					12
					13
					14
					15
					16
					17
					18
					19
					20 21
					22
					23
					2/
					24 25
					26
					27
					28
					29
					30
					31
					32
					33
					34
					35
					36
					37
					38
					39

Name of Respondent	This Report Is:	Date of Report	Year of Report			
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021			
INVESTMENT IN SUBSIDIARY COMPANIES (Account 123.1)						
1 Depart helevy Investment	a in Assounts 100 1	(b) Investment Adv	ranges Depart congretaly the			

- 1. Report below Investments in Accounts 123.1, *Investments in Subsidiary Companies.*
- 2. Provide a subheading for each company and list thereunder the information called for below. Sub-total by company and give a total in columns (e), (f), (g) and (h).
- (a) Investment in Securities -- List and describe each security owned. For bonds give also principal amount, date of issue, maturity, and interest rate.
- (b) Investment Advances -- Report separately the amounts of loans or investment advances which are subject to repayment, but which are not subject to current settlement. With respect to each advance show whether the advance is a note or open account. List each note giving date of issuance, maturity date, and specify whether note is a renewal.
- 3. Report separately the equity in undistributed subsidiary earnings since acquisition. The total in column (e) should equal the amount entered for Account 418.1

Line No.	Description of Investment (a)	Date Acquired (b)	Date of Maturity (c)	Amount of Investment at Beginning of Year (d)
1	(α)	(b)	(0)	(u)
3	NONE			
4				
2 3 4 5				
6 7				
7				
8				
9 10				
11				
12				
13				
14				
15				
16				
17				
18 19				
20				
21				
22				
22 23				
24 25				
25				
26 27				
20				
28 29				
30				
31				
32 33				
33				
34 35				
35				
36 37				
38				
39				
40				
41				
42	TOTAL Cost of Account 123.1 \$		TOTAL	

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric &	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
Gas Co-op	(2) [] A Resubmission	4/30/2022	12/31/2021

- **INVESTMENT IN SUBSIDIARY COMPANIES (Account 123.1) (Continued)**
- 4. For any securities, notes or accounts that were pledged, designate such securities, notes, or accounts in a footnote, and state the name of pledgee and purpose of the pledge.
- If Commission approval was required for any advance made or security acquired, designate such fact in a footnote and give name of Commission, date of authorization, and case or docket number.
- Report column (f) interest and dividend revenues from investments, including such revenues from securities disposed of during the year.
- 7. In column (h) report for each investment disposed of during the year, the gain or loss represented by the difference between cost of the investment (or the other amount at which carried in the books of account if different from cost) and the selling price thereof, not including interest adjustment includible in column (f).
- 8. Report on Line 42, column (a) the total cost of Account

Equity in	Revenues	Amount of	Gain or Loss	
Subsidiary	for Year	Investment at	from Investment	
Earnings for Year	(0)	End of Year	Disposed of	Line
(e)	(f)	(g)	(h)	No.
				1
NONE				2 3 4 5 6
NO.112				4
				5
				6
				7
				8 9
				10
				11
				12
				13
				14
				15
				16 17
				18
				19
				20
				21
				22
				23
				24 25
				26
				27
				28
				29
				30
				31 32
				33
				34
				35
				36 37
				37
				38 39
				40
				41
				42

		T=	<u> </u>		Transaction of the second
	of Respondent	This Report Is:	Date of Re		Year of Report
	ue Isle Electric &	(1) [X] An Original	(Mo, Da, Y	•	12/31/2021
Gas C	20-ор	(2) [] A Resubmission		4/30/2022	
<u> </u>		GAS PREPAYMENTS UN			
prepa Prepa 2. If a	yments as defined ayments. (Report ac any prepayment at l	rmation called for concerning gas in the text of Account 165, dvances on page 229.) beginning of year (or incurred ed, forfeited, or applied to another	period whi disposition explanatio		
		Name of Vendor		BALANCE BEG	SINNING OF YEAR
Line No.	(Desig	nate associated companies with an asterick)	Seller FERC Rate Schedule	Mcf (14.73 psia at 60°F)	Amount
		(a)	No. (b)	(c)	(d)
1		\/	(~)	(-)	\-/
2					
3	NONE				
4 5					
6					
7					
8					
9 10					
11					
12					
13					
14					
15 16					
17					
18					
19					
20 21					
22					
23					
24					
25					
26 27					
28					
29					
30					
31 32					
33					
34					
35					
36					
37 38					
39					
40					
41					

Name of Respondent	This Report Is:		Date of Report		Year of Report	
Presque Isle Electric & (1) [X] An Original		(Mo, Da, Yr)		12/31/2021		
Gas Co-op	(2) [] A Resubmission	INDER BUS	4/30/2022			
2 166	GAS PREPAYMENTS L					
=	or pay situation is in contro	=			ned other than by referen	ice
	ne amount of those prepaym	nent	•		mmodity factors, furnish	
claims which have not bee			in a footnote a concise	e explanatior	n of basis of computation.	
	amount is in controversy (an	d any				
explanation the responder	t chooses to make).		DDED AVAIENT	TO IN	<u> </u>	
BALAI	NCE END OF YEAR		PREPAYMEN' CURRENT Y		Make-up	
		Cents		Percent of Year's	Period	Line No.
Mcf (14.73 psia	Amount	per	Mcf (14.73 psai	required	expiration	INO.
at 60°F) (e)	(f)	Mcf (g)	at 60°F) (h)	take	date (j)	
(6)	(1)	(9)	(11)	(f)	U)	1
						2
NONE						3
						4
						5 6
						7
						8
						9
						10 11
						12
						13
						14
						15 16
						17
						18
						19
						20
						21 22
						23
						24
						25
						26 27
						28
						29
						30
						31 32
						33
						34
						35
						36
						37 38
						38
						40
						41
						42

Name o	of Respondent	This Report Is:	Date of Report		Year of Report
Presque Isle Electric & Gas Co-op		(1) [X] An Original	(Mo, Da, Yr)		40/04/0004
Presqu	e isie Electric & Gas Co-op	(2) [] A Resubmission	4/30	/2022	12/31/2021
	NOT	TES AND ACCOUNTS RECEIVABLE SU	MMARY FOR BALA	NCE SHEET	
Show s	separately by footnote the tot	tal amount of notes and	employees include	ed in Notes Receiva	ble (Account 141)
accoun	nts receivable from directors,	officers, and	and Other Accoun	ts Receivable (Acco	ount 143).
Line				Balance	
No.		Accounts		Beginning of	Balance End
		4.		Year	of Year
		(a)		(b)	(c)
1	Notes Receivable (Account	,			
2	Customer Accounts Receiva	,		1,781,224	2,007,906
3	Other Accounts Receivable	(Account 143)			
	(Disclose any capital sto	ck subscriptions received)			
4	TOTAL			1,781,224	2,007,906
_	Lance Assumed to d Bookiei	f			
5	Less: Accumulated Provision			07.700	07.700
	Accounts-Cr. (Accour	nt 144)		27,760	27,760
6	TOTAL, Less Accumulat	ted Provision for Uncollectible Accounts		1,753,463	1,980,146
7					
8					
9					
10					
11					
12					
13					
14					
14	1			1	1

ACCUMULATED PROVISION FOR UNCOLLECTIBLE ACCOUNT-CR. (Account 144)

- 1. Report below the information called for concerning this accumulated provision.
- 2. Explain any important adjustments of subaccounts.
- 3. Entries with respect to officers and employees shall not include items for utility services.

Line No.	Item (a)	Utility Customers (b)	Merchandise Jobbing and Contract Work (c)	Officers and Employees	Other (e)	Total (f)
1	Balance beginning of year	27,760	(/	()	(/	27,760
2	Prov. For uncollectibles	•				·
	for current year	7,804				7,804
3	Accounts written off	(17,432)	()	()	()	(17,432)
4	Coll. Of accounts					
	written off	9,628				9,628
5	Adjustments					
	(explain):					
6	Balance end of year	27,760				27,760
7						
8						
9						
10						
11						

date of note, date of maturity and interest rate.

Name of Respondent		Date of Report	Year of Report		
Presque Isle Electric & Gas Co-op	This Report Is: (1) [X] An Original (2) [] A Resubmission		(Mo, Da, Yr) 4/30/2022	12/31/2021	
RECEIVABL	ES FROM ASSO	CIATED COMPANIE	S (Account 145, 146)		
1. Report particulars of notes and accounts	receivable	4. If any note wa	as received in satisfaction of an	open	
from associated companies* at end of year.		account, state the period covered by such open account.			
2. Provide separate headings and totals for	Accounts 145,	5. Include in column (f) interest recorded as income			
Notes Receivable from Associated Compani	es, and 146,	during the year including interest on accounts and notes			
Accounts Receivable from Associated Companies, in		held any time during the year.			
addition to a total for the combined accounts	i.	6. Give particula	ars of any notes pledged or disc	counted,	
3. For notes receivable, list each note separ	rately and state	also of any collat	teral held as guarantee of paym	nent of any	
purpose for which received. Show also in column (a)		note or account			

* NOTE: "Associated companies" means companies or persons that, directly or indirectly, through one or more intermediaries, control, or are controlled by, or are under common control with, the accounting company. This includes related parties.

"Control" (including the terms "controlling," "controlled by," and "under common control with") means the possession, directly or indirectly, of the power to direct or cause the direction of the management and policies of a company, whether such power is exercised through one or more intermediary companies, or alone, or in conjunction with, or pursuant to an agreement, and whether such power is established through a majority or minority ownership or voting of securities, common directors, officers, or stockholders, voting trusts, holding trusts, associates companies, contract or any other direct or indirect means.

			Totals	for Year		
Line No.	Particulars (a)	Balance Beginning of Year (b)	Debits (c)	Credits (d)	Balance End of Year (e)	Interest for Year (f)
1						
2						
3	NONE					
4						
5 6						
7						
8						
9						
10						
11						
12						
13						
14						
15						
16						
17						
18						
19 20						
21						
22						
23						
24						
25	TOTAL					

Name of Respondent	This Report Is:	Date of Report	Year of Report
IDraedua lela Elactric X. (Lac Calon	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

MATERIAL AND SUPPLIES

- 1. For Accounts 154, report the amount of plant materials and operating supplies under the primary functional classifications as indicated in column (a); estimates of amounts by function are acceptable. In column (d), designate the department or departments which use the class of material. Nonmajor companies may report total on line 4.
- 2. Give an explanation of important inventory adjustments during the year (on a supplemental page) showing general classes of material and supplies and the various accounts (operating expenses, clearing accounts, plant, etc.) affected-debited or credited. Show separately debits or credits to stores expense-clearing, if applicable.

Line No.	Account (a)	Balance Beginning of Year (b)	Balance End of Year (c)	Dept. or Departments Which Use Material (d)
1	Fuel Stock (Account 151)			
2	Fuel Stock Expenses Undistributed (Account 152)			
3	Residuals and Extracted Products (Account 153)			
4	Plant Materials & Operating Supplies (Account 154)	902,402	1,028,677	
5	Assigned to - Construction (Estimated)			
6	Assigned to - Operations & Maintenance			
7	Production Plant (Estimated)			
8	Transmission Plant (Estimated)			
9	Distribution Plant (Estimated)			
10	Assigned to - Other			
11	TOTAL Account 154 (Enter Total of line 5 thru 10)			
12	Merchandise (Account 155)			
13	Other Material & Supplies (Account 156)			
14	Nuclear Materials Held for Sale (Account 157) (Not applicable to Gas Utilities)			
15	Stores Expense Undistributed (Account 163)			
16				
17				
18				
19				
20	TOTAL Materials & Supplies (Per Balance Sheet)	902,402	1,028,677	

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
Co-on	(2) [1 A Resubmission	4/30/2022	12/31/2021

ADVANCES FOR GAS PRIOR TO INITIAL DELIVERIES OR COMMISSION CERTIFICATION (Accounts 124, 166 and 16)

- 1. Report below the information called for concerning all advances for gas, as defined in the text of Account 166, Advances for Gas Exploration, Development and Production, and 167, Other Advances for Gas, whether reported in Accounts 166, 167 or reclassified to Account 124, Other Investments. List Account 124 items first.
- 2. In column (a) give the date the advance was made, the payee (designate associated companies with an asterisk) a brief statement of the purpose, (exploration, development, production, general loan, etc.) and the estimated date of repayment. Do not use the term indefinite in reporting
- estimated date of repayment. If advances are made to a payee in connection with different projects with different arrangements for repayments, use separate lines for reporting; otherwise all advances may be grouped by payee, subject to the requirements of instruction 3 below.
- 3. If the beginning balance shown in column (c) does not agree with the prior year's ending balance, column (g), provide a detailed explanation in a footnote. Show all Advances made during the year in column (d) and all repayments or other credits in column (e). Report amounts shown in column (e) separately by account, as reported in column (f).

					()		
Line No.	Date of Advance, Payee, Purpose and Estimated Date of Repayment	Account Number (124, 166 or 167)	Balance at Beginning of Year	Advances During Year	Repayments or Other Credits During Year	Accounts Charged	Balance at End of Year
	(a)	(b)	(c)	(d)	(e)	(f)	(g)
1					, ,	, ,	
2							
3 4	NONE						
5							
6							
7							
8							
9 10							
11							
12							
13							
15							
16 17							
18							
19							
20							
21							
22 23							
24							
25							
26							
27							
28 29							
30							
31							
32							
33							
34 35							
36							
37							
38							
39							

Name o	of Respondent	This Report Is:		Date of R	eport	Year of Report
Presqu	e Isle Electric & Gas Co-op	(1) [X] An Original		(Mo, Da,	·	12/31/2021
1 100qu	- 1516 E166416 & Gd5 G5 GF	(2) [] A Resubmission			4/30/2022	12/01/2021
		PREPAYMENTS	(Account 165)		
1. Rep	ort below the particulars (details) on eac	h prepayment.	2. Report all	payments	for undelivered gas of	on line 5 and complete
			pages 226 to	227 showi	ng particulars (details	s) for gas prepayments.
Line		Nature of Payment				Balance at End of
No.		Nature of Payment (a)				Year (In Dollars)
140.			(b)			
1	Prepaid Insurance					
2	Prepaid Rents					
3	Prepaid Taxes (pages 262-263)					
4	Prepaid Interest					
5	Gas Prepayments (pages 226-227)					
6	Miscellaneous Prepayments					
7	TOTAL					
	EXT	RAORDINARY PROPER	TY LOSSES (A	ccount 18	32.1)	
	Description of Extraordinary Loss			WRITT	EN OFF DURING	
	[Include in the description the date of				YEAR	
Lino	loss, the date of Commission	Total	Losses			Balance at
Line No.	authorization to use Account 182.1	Amount	Recognized			End of
INO.	and period of amortization (mo, yr to	of Loss	During Year	Account	Amount	Year
	mo, yr.)]			Charged		
	(a)	(b)	(c)	(d)	(e)	(f)
1						
2						
	NONE					
4						
5						
6						
7						
8						
9	TOTAL					
	UNRECO	VERED PLANT AND REG	ULATORY ST	JDY COS	TS (182.2)	
	Description of Unrecovered Plant and			WRITT	EN OFF DURING	
	Regulatory Study Costs				YEAR	
	[Included in the description of costs,	Total	Costs			Balance at
Line	the date of Commission authorization	Amount	Recognized	Account	A 4	End of
No.	to use Account 182.2, and period of	of Charges	During Year	Charged	Amount	Year
	amortization (mo, yr, to mo, yr).] (a)	(b)	(c)	(d)	(e)	(f)
10	(<i>a</i>)	(5)	(0)	(u)	(0)	(1)
11						
12						
13						
14						
15						
16 17						
18						
19						
20						
21						
22						
23						
24 25						
26						
27						
28						
29						
30	TOTAL	Î.	Ī			Ì

Name	of Respondent	This Report Is:		Date of R	Report	Year of Report
Presque Isle Electric & Gas Co-op		(1) [X] An Original (2) [] A Resubmission		(Mo, Da, Yr) 4/30/2022		12/31/2021
	PRFI IMINA	ARY SURVEY AND INV		RGFS (A		<u> </u>
1 Re	port below particulars (details) co				and Account 183.2, <i>Oth</i>	ner
	ns, surveys, and investigations ma	-	Preliminary Surve	-		
	ermining the feasibility of projects	• •			:50,000) may be groupe	d by
		· ·	•	55 tilali	.50,000) may be groupe	tu by
	r gas companies, report separatel		classes.			
includ	ed in Account 183.1, <i>Preliminary I</i>	Vaturai Gas Survey	1	r	ODEDITO.	T
					CREDITS	
		Balance at				
Line	Description and Purpose of	Beginning	5	Account		Balance at
No.	Project	of Year	Debits	Charged	Amount	End of Year
	(a)	(b)	(c)	(d)	(e)	(f)
1	(2)	(2)	(3)	(4)	(0)	(.)
2						
3	NONE					
4						
5						
6 7						
8						
9						
10						
11						
12						
13 15						
16						
17						
18						
19						
20						
21						
22 23						
24						
25						
26						
27						
28						1
29 30						
30						1
32						
33						
34						
35						
36						1
37						
38 39						1
40						
41						1
42						1
43						
44	ΤΟΤΔΙ	1	1		ī	I

Name of Respondent	This Report Is:	Date of Report	Year of Report					
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021					
OTHER RECIII ATORY ASSETS								

OTHER REGULATORY ASSETS

- 1. Reporting below the particulars (details) called for concerning other regulatory assets which are created through the ratemaking actions of regulatory agencies (and not includable in other amounts).
- 2. For regulatory assets being amortized, show period of amortization in column (a).
- 3. Minor items (amounts less than \$50,000 may be grouped by classes.
- 4. Give the number and name of the account(s) where each amount is recorded.

			CREDITS		
	Description and Purpose of		Account		Balance at
Line	Other Regulatory Assets	Debits	Charged	Amount	End of Year
No.					
	(a)	(b)	(c)	(d)	(e)
1					
2	NONE				
3 4					
5					
6					
7					
8					
9					
10					
11					
12					
13 15					
16					
17					
18					
19					
20					
21					
22					
23					
24 25					
26					
27					
28					
29					
30					
31					
32					
33					
34 35					
36					
37					
38					
39					
40	TOTAL				

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

MISCELLANEOUS DEFERRED DEBITS (Account 186)

Report below the particulars (details) called for concerning miscellaneous deferred debits.

- 3. Minor items (less than \$50,000) may be grouped by classes.
- 2. For any deferred debit being amortized, show period

of	amortizatio	n in	column	(a).

or an	ortization in column (a).					
				CRE	DITS	
Line No.	Description of Miscellaneous Deferred Debits	Balance at Beginning of Year	Debits	Account Charged	Amount	Balance at End of Year
	(a)	(b)	(c)	(d)	(e)	(f)
1	(2)	(-)	(-)	()	(-)	(-)
2 3 4 5 6 7 8 9 10 11 12 13 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 31 32 31 32 32 32 32 32 32 32 32 32 32 32 32 32	PREPAID TAP FEES PREPAID YEARS OF SERVICE OTHER DEFERRED DEBITS CONSUMER PREPAYMENTS UNDER COLLECTION OF WPSC COSTS	49,398 18,014 33,534 0 0				47,402 2,789 33,534 0 167,940
33 34 35						
36 37						
38	Misc. Work in Progress					
39	DEFERRED REGULATORY COMM. EXPENSES (SEE PAGES 350-351)					
40	TOTAL	100,946				251,665

DocuSign Envelope ID: C5271FC8-5CAB-4EEF-B8C4-49ED0165649E

BLANK PAGE

INSTRUCTIONS FOR THE FILING OF THE ANNUAL REPORT OF MAJOR AND NONMAJOR GAS UTILITIES

TAX SCHEDULES

I. Purpose:

The Commision will permit the option to adopt FERC reporting requirements if the company agrees to file the MPSC information on a historical test-year basis in a rate case or upon request of the Commission Staff. For the following pages:

A.	Accumulated Deferred Income Taxes	234-235
В.	Reconciliation of Reported Net Income With Taxable Income For Federal Income Taxes	261A-B
C.	Calculation of Federal Income Tax	261C-D
D.	Taxes Accured, Prepaid and Charged During Year	262-263
E.	Accumulated Deferred Income Taxes	272-277

		Date of Report							
que Isle Electric & Gas Co-			200	12/31/2021					
· · · · · · · · · · · · · · · · · · ·									
1. Report the information called for below concerning the 2. At Other (Specify), include deferrals relating to other									
espondent's accounting for deferred income taxes. income and deductions.									
			Changes	During Year					
Accou	nt Subdivisions (a)	Balance at Beginning of Year (b)	Amounts Debited to Account 410.1 (c)	Amounts Credited to Account 411.1 (d)					
Electric									
NOT APPLICABLE									
Other									
,	otal of lines 2 thru 7)								
Gas									
<u> </u>			<u> </u>						
<u> </u>			<u> </u>						
 			 						
0.11			 						
	Clines 40 thm AE		 						
·	of lines 10 thru 15)		 						
			 						
16 & 17)	nter Total of lines 6,								
			<u> </u>						
Federal Income Tax			ļ						
State Income Tax			<u> </u>						
Local Income Tax		TEO							
	n the space provided below, ide nificant items for which deferred	entify by amount and classifica I taxes area being provided. Il							
2	eport the information called for ondent's accounting for defense ondent's accounting for defen	(2) [] A Resubmission	ACCUMULATED DEFERRED INCOME TAXES (Account 1 Report the information called for below concerning the ondent's accounting for deferred income taxes. Report the information called for below concerning the ondent's accounting for deferred income taxes. Report the information called for below concerning the ondent's accounting for deferred income taxes. Reginning of Year (b) Electric NOT APPLICABLE Other TOTAL Electric (Enter Total of lines 2 thru 7) Gas Other TOTAL Gas (Enter Total of lines 10 thru 15) Other (Specify) TOTAL (Account 190) (Enter Total of lines 8, 16 & 17) Classification of Total: Federal Income Tax State Income Tax Local Income Tax NOTES In the space provided below, identify by amount and classifica	que Isle Electric & Gas Co- (1) [X] An Original [2] [A Resubmission 4/30/2022 ACCUMULATED DEFERRED INCOME TAXES (Account 190) Report the information called for below concerning the condent's accounting for deferred income taxes. Replacement of the information called for below concerning the condent's accounting for deferred income taxes. Reginning of Year (b) Year (c) Account Subdivisions (a) Electric NOT APPLICABLE Other TOTAL Electric (Enter Total of lines 2 thru 7) Gas Other TOTAL Gas (Enter Total of lines 10 thru 15) Other (Specify) TOTAL (Account 190) (Enter Total of lines 8, 16 & 17) Classification of Total: Federal Income Tax State Income Tax In the space provided below, identify by amount and classification, significant items for which deferred taxes area being provided. Indicate					

Name of Respondent	This Report Is:		•	Date of Repo		Year of Report	
Presque Isle Electric &	(1) [X] An Original			(Mo, Da, Yr)		12/31/2021	
Gas Co-op	(2) [] A Resubr				/2022		
	CCUMULATED I						
3. If more space is needed	ا, use separate pa	iges as	and classificat	tion, significa	nt items for w	hich deferred	
required.					Indicate insig	nificant amounts	
4. In the space provided be	elow, identify by a	ımount	listed under O	Other			
Changes During	y Year		ADJUSTN	√ENTS	_		
		DEB	BITS	CRE	DITS	1	
				 		1	
Amounts	Amounts						Line
Debited to	Credited to	Acct.	1	Acct.	A4	Balance at	No.
Account 410.2	Account 411.2	No.	Amount	No.	Amount	End of Year	
(e)	(f)	(g)	(h)	(i)	(j)	(k)	1
							2
		 	 	 			3
NOT APPLICABLE			 	 			4
NOI ALL LIVADEE	[5
		 	 				6
			 	 			7
			 				8
							9
							10
			†				11
			†				12
							13
			1				14
							15
			1				16
							17
							18
							19
							20
							21
							22
		NOTE	S (Continued)				

Name o	of Respondent	This Report Is:		Date of Report		Year of Report
	(1) [X] An Original (Mo. Da. Yr)					•
Presque Isle Electric & Gas Co-op (2) [] A Resubmission (4/30/2022				12/31/2021		
		CAPITAL STOCK (Ad	counts	201 and 204)		
1. Rep	ort below the particulars (det	ails) called for	and c	company title) may b	oe reported in	column (a) provided
concer	ning common and preferred s	stock at end of year,	the fi	scal years for both t	he 10-K report	t and this report are
disting	uishing separate series of any	y general class. Show	comp	atible.		
separa	te totals for common and pre	ferred stock. If Information	2. Er	ntries in column (b)	should represe	ent the number of
to mee	t the stock exchange reportin	g requirement outlined	share	es authorized by the	articles of inc	orporation as
	mn (a) is available from the S		amer	nded to end of year.		
Form fi	ling, a specific reference to the	ne report form (i.e. year				
					Par or	Call
Line		Series of Stock and		Number of Shares Authorized	Per Share	Price at End of Year
No.	Name of	Stock Exchange		by Charter	rei Silale	Elid of Fear
		(a)		(b)	(c)	(d)
1				\	. ,	()
2						
3	NOT APPLICABLE					
4 5						
6						
7						
8						
9						
10 11						
12						
13						
14						
15						
16						
17 18						
19						
20						
21						
22						
23 24						
25						
26						
25 26 27						
28						
29 30						
50				ĺ		ĺ

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

CAPITAL STOCK (Accounts 201 and 204) (Continued)

- 3. Give particulars (details) concerning shares of any class and series of stock authorized to be issued by a regulatory commission which have not yet been issued.
- 4. The identification of each class of preferred stock should show the dividend rate and whether the dividends are cumulative or noncumulative.
- 5. State in a footnote if any capital stock which has been nominally issued is nominally outstanding at end of year.
- 6. Give particulars (details) in column (a) of any nominally issued capital stock, reacquired stock or stock in sinking and other funds which is pledged, stating name of pledgee and purpose of pledge.

are cumulative	ative or noncumulative. and purpose of pledge.					
	ING PER BALANCE Il amount outstanding		HELD BY F	RESPONDENT		
	on for amounts held by	AS REACQUIF	RED STOCK	IN SINKI	NG AND	Line
	spondent.)	(Account 217)		OTHER		No.
Shares	Amount	Shares	Cost	Shares	Amount	
(e)	(f)	(g)	(h)	(i)	(j)	
						1 2
	NOT APPLICABLE					3
						4
						5
						6 7
						8
						9
						10
						11 12
						13
						14
						15
						16 17
						18
						19
						20
						21 22
						23
						24
						25
						26 27
						28
						29
						30
						31 32
						33
						34
						35
						36 37
						38
						39
						40
						41 42
						42

Name of Respondent	This Report Is:	Date of Report	Year of Report
Dreedile lele Electric & Cae Co on	(1) [X] An Original	(Mo, Da, Yr) 4/30/2022	12/31/2021

CAPITAL STOCK SUBSCRIBED, CAPITAL STOCK LIABILITY FOR COVERSION PREMIUM ON CAPITAL STOCK, AND INSTALLEMNTS RECEIVED ON CAPITAL STOCK (Accounts 202 and 205, 203 and 206,207, 212)

- 1. Show for each of the above accounts that amounts applying to each class and series of capital stock.
- 2. For Account 202, *Common Stock Subscribed*, and Account 205, *Preferred Stock Subscribed*, show the subscription price and the balance due on each class at the end of year.
- 3. Describe in a footnote the agreement transaction under which a conversion liability existed under Account 203,

Common Stock Liability for Conversion, or Account 206, Preferred Stock Liability for Conversion, at the end of the year.

4. For Premium on Account 207, *Capital Stock*, designate with an asterisk any amounts representing the excess of consideration received over stated values of stocks without par value.

Line	Name of Account and Description of Item	Number of Shares	Amount
No.	(a)	(b)	(c)
1			
2			
3	NOT APPLICABLE		
4			
5 6			
6			
7 8			
8			
9			
10			
11 12			
13			
14			
15			
16			
17			
18			
18 19			
20			
21			
22			
23			
24 25			
25			
26 27			
27			
28 29			
30			
31			
32			
33			
32 33 34			
35			
36			
37			
38			
39 40			
40			
41			
42			
43			
44 45			
	TOTAL		
46	TOTAL		

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

OTHER PAID-IN CAPITAL (Accounts 208-211, inc.)

Report below the balance at the end of the year and the information specified below for the respective other paid-in capital accounts. Provide a subheading for each account and show a total for the account, as well as total of all accounts for reconciliation with balance sheet, page 112. Add more columns for any account if deemed necessary. Explain changes made in any account during the year and give the accounting entries effecting such change.

- (a) Donations Received from Stockholders (Account 208)--State amount and give brief explanation of the origin and purpose of each donation.
- (b) Reduction in Par or Stated Value of Capital Stock
 (Account 209)-- State amount and give brief explanation of the

capital changes which gave rise to amounts reported under this caption including identification with the class and series of stock to which related.

- (c) Gain on Resale or Cancellation of Reacquired Capital Stock (Account 210)--Report balance at beginning of year, credits, debits and balance at end of year with a designation of the nature of each credit and debit identified by the class and series of stock to which related.
- (d) Miscellaneous Paid-in Capital (Account 211)--Classify amounts included in this account according to captions which, together with brief explanations, disclose the general nature of the transactions which gave rise to the reported amounts.

Line	Item	Amount
No.	(a)	(b)
1 2 3		
3	NOT APPLICABLE	
4		
4 5 6 7		
6		
7		
8 9 10		
9		
10 11		
11		
13		
12 13 14		
15		
16		
17		
18		
19		
20 21		
21		
22		
24		
22 23 24 25 26 27 28		
26		
27		
28		
29		
30		
31 32		
32		
33 34		
3 4 35		
35 36 37		
37		
38		
39		
40	TOTAL	

Name o	of Respondent	This Report Is:	Date of Report	Year of Report
Presqu	e Isle Electric & Gas Co-op	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
	· .	(2) [] A Resubmission	4/30/2022 AL STOCK (Account 213)	
1. Rep	ort the balance at end of yea		statement giving particulars (details) of	the change. State
-	or each class and series of ca	•	the reason for any charge-off during the	
	y changes accurred during th		amount charged.	
with res	spect to any class or series of	f stock, attach a		L Balance et
Line		Class and Series	s of Stock	Balance at End of Year
No.		(a)		(b)
1				
2 3	NOT APPLICABLE			
4				
5				
6 7				
8				
9				
10 11				
12				
13				
14 15				
16				
17				
18 19				
20				
21	TOTAL			
			XPENSE (Account 214)	
	ort the balance at end of yea es for each class and series		statement giving particulars (details) of the reason for any charge-off of capital	
	y change occurred during the		specify the account charged.	Stock expense and
	spect to any class or series of			
Line		Class and Series	o of Stock	Balance at End of Year
No.		(a)	S OI Slock	(b)
1		(α)		(2)
2				
3 4				
5				
6				
7 8				
9				
10				
11 12				
13				
14				
15 16				
17				
18				
19 20				
	TOTAL			

Name of Respondent

Presque Isle Electric & Gas Co-op

This Report Is:

(1) [X] An Original
(2) [] A Resubmission

Date of Report

(Mo, Da, Yr)

4/30/2022

Year of Report

12/31/2021

SECURITIES ISSUED OR ASSUMED AND SECURITIES REFUNDED OR RETIRED DURING THE YEAR

- 1. Furnish a supplemental statement giving a brief description of security financing and refinancing transactions during the year and the accounting for the securities, discounts, premiums, expenses, and related gains or losses. Identify as to Commission authorization numbers and dates.
- 2. Furnish particulars (details) showing fully the accounting for the total principal amount, par value, or stated value of each class and series of security issued, assumed, retired, or refunded and the accounting premiums, discounts, expenses, and gains or losses relating to the securities. Set forth the fact of the accounting clearly with regard to redemption premiums, unamortized discounts, expenses, and gains or losses relating to securities retired or refunded, including the account for such amounts carried in the respondent's accounts at the date of the refunding or refinancing transactions with respect to securities previously refunded or retired.
- 3. Include the identification of each class and series

- of security, as appropriate, the interest or dividend rate, nominal date of issuance, maturity date, aggregate principal amount, par value or stated value, and number of shares. Give also the issuance of redemption price and name of the principal underwriting firm through which the security transactions were consummated.
- 4. Where the accounting for amounts relating to securities refunded or retired is other than that specified in General Instructions 17 of the Uniform System of Accounts, give reference to the Commission authorization for the different accounting and state the accounting method.
- 5. For securities assumed, give the name of the company for which the liability on the securities was assumed as well as particulars (details) of the transactions whereby the respondent undertook to pay obligations of another company. If any unamortized discount, premiums, expenses, and gains or losses were taken over onto the respondent's books, furnish details of these amounts with amount relating to refunded securities clearly earmarked.

NOT APPLICABLE	NO	TA	PP	LIC	AB	LE
----------------	----	----	----	-----	----	----

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-	(1) [X] An Original	(Mo, Da, Yr)	10/01/0001
ор	(2) [] A Resubmission	4/30/2022	12/31/2021

LONG-TERM DEBT (Accounts 221, 222, 223 and 224)

- 1. Report by balance sheet Account the particulars (details) concerning long-term debt included in Accounts 221, Bonds, 222 Reacquired Bonds, 223, Advances from Associated Companies, and 224, Other Long-Term Debt. If information to meet the stock exchange reporting requirement outlined in column (a) is available from the SEC 10-K Report Form filing, a specific reference to the report for (i.e. year and company title) may be reported in column (a) provided the fiscal years for both the 10-K report and this report are compatible.
- 2. For bonds assumed by the respondent, include in column (a) the name of the issuing company as well as a description of the bonds.
- 3. For advances from Associated Companies, report separately advances on notes and advances on oper accounts. Designate demand notes as such. Include in column (a) name of associated companies from which advances were received.
- 4. For receivers' certificates, show in column (a) the name of the court and date of court order under which such certificates were issued.

	oor undated we			
Line No.	Class and Series of Obligation and Name of Stock Exchange	Nominal Date of Issue	Date of Maturity	Outstanding (Total amount outstanding without reduction for amounts held by respondent
	(a)	(b)	(c)	
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 37 37 37 37 37 37 37 37 37 37 37 37	SEE ATTACHED	(b)	(c)	(d)
38	TOTAL			

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric &	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
Gas Co-op	(2) [] A Resubmission	4/30/2022	12/31/2021

LONG-TERM DEBT (Accounts 221, 222, 223, and 224) (Continued)

- 5. In a supplemental statement, give explanatory particulars (details) for Accounts 223 and 224 of net changes during the year. With respect to long-term advances, show for each company: (a) principal advanced during year, (b) interest added to principal amount, and (c) principal repaid during year. Give Commission authorization number and dates.
 6. If the respondent has pledged any of its long-term debt securities, give particulars (details) in a footnote, including
- 7. If the respondent has any long-term securities which have been nominally issued and are nominally

name of the pledgee and purpose of the pledge.

- outstanding at end of year, describe such securities in a footnote.
- 8. If interest expense was incurred durig the year on any obligations retried or reacquired before end of year, include such interest expense in column (f). Explain in a footnote any difference between the total of column (f) and the total of Account 427, *Interest on Long-Term Debt and Account* 430, *Interest on Debt to Associated Companies*.
- 9. Give particulars (details) concerning any long-term debt authorized by a regulatory commission but not yet issued.

nave been nominally issu-	FOR YEAR	HELD B	Y RESPONDENT	Redemption	
INTEREST	T GIV TEXIX	Reacquired	TINEOLONDENI	Price Per	
Rate		Bonds	Sinking and	\$100 at End	Line
(in %)	Amount	(Acct. 222)	Other Funds	of Year	No.
(1170)	Amount	(ACCL 222)	Other Funds	or real	110.
(e)	(f)	(g)	(h)	(f)	
					1
					2 3
					3
					4 5
					6
					7
					8
					9
					10
					11
					12
					13
					14
					15
					16
					17
					18
					19
					20
					21
					22
					23
					24
					25 26
					27
					28
					29
					30
					31
					32
					33
					34
					35
					36
					37
					38

CFC-LTD Payments 2021	PIE&G Account #	Beginning Balance 1/1/2021	Principal Paid 2021	Interest 2021	Total Principal & Interest	Ending Balance 12/31/2021
0016 001	224.74	¢454 000 22	\$44,585.60	¢4.0E0.07	¢40 044 E7	¢106 440 70
9016-001 9016-002	224.71 224.71.01	\$151,028.33 \$142,721.22	\$42,133.30	\$4,258.97 \$4,024.69	\$48,844.57 \$46,157.99	\$106,442.73
9029-001	224.71.01	\$512,677.29	\$39,719.42	\$21,500.27	\$61,219.69	\$100,587.92 \$472,957.87
9029-002	224.83	\$513,512.55	\$39,684.68	\$21,786.37	\$61,471.05	\$473,827.87
9029-003	224.84	\$516,610.75	\$40,003.76	\$21,715.79	\$61,719.55	\$476,606.99
9029-004	224.85	\$531,246.84	\$42,008.35	\$17,804.38	\$59,812.73	\$489,238.49
9031-002	224.87.02	\$19,714.24	\$1,348.26	\$752.73	\$2,100.99	\$18,365.98
9031-002	224.87.03	\$555,995.08	\$37,382.04	\$22,865.93	\$60,247.97	\$518,613.04
9031-004	224.87.04	\$555,995.08	\$37,382.04	\$22,865.93	\$60,247.97	\$518,613.04
9031-005	224.87.05	\$561,257.28	\$37,521.48	\$23,633.15	\$61,154.63	\$523,735.80
9031-006	224.87.06	\$561,257.28	\$37,521.48	\$23,633.15	\$61,154.63	\$523,735.80
9032-000	224.88	\$360,294.22	\$29,411.76	\$15,046.07	\$44,457.83	\$330,882.46
9033-000	224.89	\$360,294.22	\$29,411.76	\$15,046.07	\$44,457.83	\$330,882.46
9034-000	224.90	\$360,294.22	\$29,411.76	\$14,522.17	\$43,933.93	\$330,882.46
9035-000	224.91	\$360,294.22	\$29,411.76	\$14,522.17	\$43,933.93	\$330,882.46
9036-000	224.92	\$583,361.87	\$37,355.31	\$20,887.89	\$58,243.20	\$546,006.56
9037-001	224.93	\$550,740.47	\$34,839.92	\$20,801.42	\$55,641.34	\$515,900.55
9037-002	224.94	\$47,052.40	\$2,976.55	\$1,777.15	\$4,753.70	\$44,075.85
9038-000	224.95	\$595,657.83	\$36,883.83	\$24,546.65	\$61,430.48	\$558,774.00
9039-001	224.96	\$596,670.58	\$34,603.11	\$23,457.26	\$58,060.37	\$562,067.47
9040-001	224.97	\$595,682.65	\$33,649.34	\$25,764.97	\$59,414.31	\$562,033.31
9041-001	224.98	\$595,682.65	\$33,649.34	\$25,764.97	\$59,414.31	\$562,033.31
9042-001	224.99	\$654,190.83	\$33,439.05	\$26,106.67	\$59,545.72	\$620,751.78
9043-001	225.01	\$647,920.41	\$32,637.66	\$27,135.55	\$59,773.21	\$615,282.75
9044-001	225.02	\$660,728.43	\$33,828.16	\$23,643.20	\$57,471.36	\$626,900.27
9045-001	225.03	\$669,787.23	\$30,111.15	\$38,187.52	\$68,298.67	\$639,676.08
9046-001	225.04	\$689,619.71	\$28,672.14	\$39,368.27	\$68,040.41	\$660,947.57
9047-001	225.05	\$689,619.71	\$28,672.14	\$39,368.27	\$68,040.41	\$660,947.57
9048-001	225.06	\$689,619.71	\$28,672.14	\$39,368.27	\$68,040.41	\$660,947.57
9049-001	225.07	\$689,619.71	\$28,672.14	\$39,368.27	\$68,040.41	\$660,947.57
9050-001	225.08	\$689,619.71	\$28,672.14	\$39,368.27	\$68,040.41	\$660,947.57
9051-001	225.09	\$177,914.49	\$7,397.15	\$10,156.57	\$17,553.72	\$170,517.34
9051-002	225.10	\$511,705.19	\$21,275.00	\$29,211.67	\$50,486.67	\$490,430.19
9052-001	225.11	\$677,192.99	\$29,666.53	\$28,431.93	\$58,098.46	\$647,526.46
9053-001	225.12	\$657,946.60	\$30,151.75	\$24,045.20	\$54,196.95	\$627,794.85
9054-001	225.13	\$662,224.33	\$28,511.95	\$29,179.97	\$57,691.92	\$633,712.38
9055-001	225.14	\$514,083.12	\$22,133.82	\$22,652.37	\$44,786.19	\$491,949.30
9055-002	225.15	\$167,713.92	\$7,363.42	\$6,133.70	\$13,497.12	\$160,350.50
9056-001	225.16	\$166,004.35	\$7,607.51	\$6,066.79	\$13,674.30	\$158,396.84
9056-002	225.17	\$523,396.79	\$21,318.00	\$23,701.65	\$45,019.65	\$502,078.79
9057-001	225.18	\$695,223.77	\$33,705.00	\$17,257.19	\$50,962.19	\$661,518.77
9058-001	225.19	\$690,204.09	\$29,292.01	\$27,974.02	\$57,266.03	\$660,912.08
9059-001	225.20	\$426,793.57	\$17,383.35	\$19,327.02	\$36,710.37	\$409,410.22
9059-002	225.21	\$263,159.34	\$11,553.86	\$9,624.39	\$21,178.25	\$251,605.48
9060-001	225.22	\$702,690.23	\$27,961.34	\$28,508.58	\$56,469.92	\$674,728.89
9061-001	225.23	\$700,611.40	\$28,637.58	\$26,342.41	\$54,979.99	\$671,973.82
9062-001	225.24	\$709,330.74	\$28,736.10	\$27,372.61	\$56,108.71	\$680,594.64
9063-001	225.25	\$692,078.81	\$38,875.22	\$16,654.67	\$55,529.89	\$653,203.59
9064-001	225.26	\$738,382.55	\$28,247.07	\$31,429.94	\$59,677.01	\$710,135.48
9065-001	225.27	\$742,129.68	\$28,390.40	\$31,589.39	\$59,979.79	\$713,739.28
9066-001	225.28	\$745,448.19	\$28,517.33	\$31,730.68	\$60,248.01	\$716,930.86
9093-001	225.36	\$843,785.93	\$20,654.93	\$36,102.82	\$56,757.75	\$823,131.00
9093-002	225.37	\$843,785.93	\$20,654.93	\$36,102.82	\$56,757.75	\$823,131.00
9093-003	225.38	\$421,892.77	\$10,327.48	\$18,051.38	\$28,378.86	\$411,565.29
9093-004	225.39	\$871,132.72	\$19,929.13	\$35,999.54	\$55,928.67	\$851,203.59
9093-005	225.40	\$871,132.72	\$19,929.13	\$35,999.54	\$55,928.67	\$851,203.59
9093-006	225.41	\$876,329.37	\$24,594.29	\$22,875.09	\$47,469.38	\$851,735.08
9093-007	225.42	\$872,764.34	\$18,013.33	\$35,231.04	\$53,244.37	\$854,751.01
9093-008	225.43	\$886,296.89	\$16,814.36	\$39,760.14	\$56,574.50	\$869,482.53
9093-009	225.44	\$881,087.98	\$18,266.37	\$31,631.25	\$49,897.62	\$862,821.61
9093-010	225.45	\$883,108.01	\$18,030.38	\$32,583.96	\$50,614.34	\$865,077.63
9093-011	225.46	\$5,238,559.98	\$107,321.46	\$214,077.66	\$321,399.12	\$5,131,238.52
9097-001	225.47	\$11,043,030.41	\$198,946.59	\$484,608.41	\$683,555.00	\$10,844,083.82
9093-012	225.48	\$5,905,085.76	\$130,666.25	\$186,698.65	\$317,364.90	\$5,774,419.51
9093-013	225.49	\$3,900,000.00	\$91,710.48	\$103,888.04	\$195,598.52	\$3,808,289.52
9098-001	225.50	\$4,000,000.00	\$80,051.05	\$116,888.97	\$196,940.02	\$3,919,948.95
9098-002	225.51	\$0.00	\$104,347.83	\$90,873.12	\$195,220.95	\$3,895,652.17
9098-003	225.52	\$0.00	\$20,202.02	\$19,251.48	\$39,453.50	\$979,797.98
9098-004	225.53	\$0.00	\$11,503.58	\$11,842.52	\$23,346.10	\$988,496.42
9098-005	225.54	\$0.00	\$8,931.64	\$32,356.30	\$41,287.94	\$1,991,068.36
9098-006	225.55	\$0.00	\$0.00	\$12,064.83	\$12,064.83	\$3,000,000.00
9098-007	225.56	\$0.00	\$0.00	\$0.00	\$0.00	\$4,000,000.00
3000-001	225.29	\$741,221.80	\$29,088.72	\$31,710.24	\$60,798.96	\$712,133.08
3001-001	225.30	\$741,221.80	\$29,088.72	\$31,710.24	\$60,798.96	\$712,133.08
3002-001	225.31	\$741,221.80	\$29,088.72	\$31,710.24	\$60,798.96	\$712,133.08
3003-001	225.32	\$741,221.80	\$29,088.72	\$31,710.24	\$60,798.96	\$712,133.08
3004-001	225.33	\$741,221.80	\$29,088.72	\$31,710.24	\$60,798.96	\$712,133.08
3005-001	225.34	\$741,221.80	\$29,088.72	\$31,710.24	\$60,798.96	\$712,133.08
3006-001	225.35	\$281,324.79	\$11,040.40	\$12,035.36	\$23,075.76	\$270,284.39
		¢60 020 640 27	¢2 607 462 04	¢2 045 467 55	¢4 040 706 F4	¢00 220 40E 20
		\$69,939,649.27	\$2,607,463.91	\$2,945,467.55	\$4,910,706.54	\$82,332,185.36

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isla Flactric X. Gas Co-on	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

UNAMORTIZED DEBT EXPENSE, PREMIUM AND DISCOUNT ON LONG-TERM DEBT (Account 181, 225, 226)

- Report under separate subheadings for Unamortized Debt Expense, Unamortized Premium on Long-Term Debt and Unamortized Discount on Long-Term Debt, particulars (details) of expense, premium or discount applicable to each class and series of long-term debt.
- 2. Show premium amounts by enclosing the figures in parentheses.
- 3. In column (b) show the principal amount of bonds or other long-term debt originally issued.
- 4. In column (c) show the expense, premium or discount with respect to the amount of bonds or other long-term debt originally issued.

parenti		Principal	Total Expenses,	AMORTIZATION PERIOD	
Line	Designation of	Amount of	Premium or		
No.	Long-Term Debt	Debt Issued	Discount	Date from	Date to
	(a)	(b)	(c)	(d)	(e)
1	(a)	(D)	(0)	(u)	(6)
2					
3					
4					
5					
6					
1 2 3 4 5 6 7 8 9					
9					
10					
1 11					
12					
13 14					
15					
16					
17					
18					
19					
20 21 22					
22					
23 24					
24					
25					
25 26 27 28 29					
28					
29					
30					
31 32 33 34					
32					
34					
I 35					
36					
37					
38 39 40 41					
39 40					
41					
42					
43					
44					

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [1 A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021
	(2)[]/(100001111001011		

UNAMORTIZED DEBT EXPENSE, PREMIUM AND DISCOUNT ON LONG-TERM DEBT (Accounts 181, 225, 226 (Cont.)

- 5. Furnish in a footnote particulars (details) regarding the treatment of unamortized debt expense, premium or discount associated with issues redeemed during the year. Also give in a footnote the date of the Commission's authorization of treatment other than as specified by the Uniform System of Accounts.
- 6. Identify separately undisposed amounts applicable to issues which were redeemed in prior years.
- 7. Explain any debits and credits other than amortization debited to Account 428, *Amortization of Debt Discount and Expenses*, or credited to Account 429, *Amortization of Premium on Debt--Credit.*

Balance at Beginning of Year	Debits During Year	Credit During Year	Balance At End of Year	L
(f)	(g)	(h)	(i)	- '
.,			•	

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

UNAMORTIZED LOSS AND GAIN ON REACQUIRED DEBT (Accounts 189, 257)

- 1. Report under separate subheadings for Unamortized Loss and Unamortized Gain on Reacquired Debt, particulars (details) of gain and loss, including maturity date, on reacquisition applicable to each class and series of long-term debt. If gain or loss resulted from a refunding transaction, include also the maturity date of the new issue.

 2. In column (c) show the principal amount of bonds or
- 2. In column (c) show the principal amount of bonds or other long-term debt reacquired.
- 3. In column (d) show the net gain or net loss realized

on each debt reacquision as computed in accordance with General Instruction 17 of the Uniform Systems of Accounts.

- 4. Show loss amounts by enclosing the figures in parentheses.
- 5. Explain in a footnote any debits and credits other than amortization debited to Account 428.1 *Amortization of Loss on Reacquired Debt*, or credited to Account 429.1, *Amortization of Gain on Reacquired Debt-Credit.*

			Principal		Balance at	
Line	Description of Long-Term	Date	of Debt	Net Gain or	Beginning	Balance at
No.	Debt	Required	Reacquired	Net Loss	of Year	End of Year
	(a)	(b)	(c)	(d)	(e)	(f)
1	` ,	, ,	, ,	, ,	, ,	, ,
2 3						
3						
4						
5						
6						
7						
8						
9						
10 11						
12						
13						
15						
16						
17						
18						
19						
20						
21						
22						
23						
24						
25						
26 27						
28						
29						
30						
31						
32						
33						
34						
35						
36						
37						
38						
39						
30						
41						

Name	e of Respondent	This Report Is:		Date of Report		Year of Report
Preso	que Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission		(Mo, Da, Yr) 4/30/20	22	12/31/2021
		NOTES PAYABLE (A	Account 23			
1. Re	eport the particulars indicated concerning	notes	of credit.			
paya	ole at end of year.		4. Any de	mand notes should	be designate	d as such in
	ve particulars of collateral pledged, if any		column (d)			
	urnish particulars for any formal or informa			mounts may be gro	uped by clas	ses, showing
comp	ensating balance agreements covering o	pen lines	the numbe	er of such amounts.	<u> </u>	ı
Line	_	Purpose for	Date	Date of		Balance End
No.	Payee (a)	which issued (b)	of Note (c)	Maturity (d)	Int. Rate (e)	of Year (f)
1	(u)	(6)	(0)	(u)	%	\$
2					7.0	•
3						
4						
5						
6						
7						
8						
9						
10						
11						
12						
13						
15						
16						
17						
18						
19						
20						
21						
22						
23						
24						
25						
26						
27						
	TOTAL					

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1)[X]An Original (2)[]A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

PAYABLES TO ASSOCIATED COMPANIES* (Account 233, 234)

- Report particulars of notes and accounts payable to associated companies at end of year.
- 2. Provide separate totals for Accounts 233, Notes Payable to Associated Companies, and 234, Accounts Payable to Associated Companies, in addition to a total for the combined accounts.
- List each note separately and state the purpose for which issued. Show also in column (a) date of note, maturity and interest rate.
- 4. Include in column (f) the amount of any interest expense during the year on notes or accounts that were paid before the end of the year.
- 5. If collateral has been pledged as security to the payment of any note or account, describe such collateral.

*See definition on Page 226B

		Balance	Totals	for Year	Balance	Interest for
Line No.	Particulars	Beginning	Debits	Credits	End of	Year
INO.	(a)	of Year (b)	(c)	(d)	Year (e)	(f)
1	(α)	(5)	(0)	(u)	(0)	(1)
2						
3						
4						
5						
6						
7						
8						
9						
10						
11						
12						
13						
14						
15						
16						
17						
18						
19						
20						
21						
22						
23						
	TOTAL					

Name	of Respondent	This Report Is:	Date of Report	Year of Report
Presqu	e Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021
	RECONCILIATION OF	REPORTED NET INCOM INCOME T		ME FOR FEDERAL
1. Rep	ort the reconciliation of repor	ted net income for the	Indicate clearly the natu	re of each reconciling amount.
year w	th taxable income used in co	mputing Federal	2. If the utility is a mem	ber of a group which files a
	tax accruals and show comp			return, reconcile reported net
	ls. Include in the reconciliation			income as if a separate return
	able, the same detail as furni ax return for the year. Subm			ng, however, intercompany d in such a consolidated
	nough there is no taxable inco		amounts to be eminimate	u III sucii a consolidated
Line		mio for the year.		
No.				TOTAL AMOUNT
1	Utility net operating income	(page 114 line 20)		
2	Allocations: Allowance for for	unds used during construct	tion	
3	Interest expense			
4	Other (specify)			
5	Net income for the year (pag	ge 117 line 68)		
6	Allocation of Net incor	ne for the year		
7	Add: Federal income tax ex	penses		
8				
9	Total pre-tax income			
10				
11	Add: Taxable income not re	ported on books:		
12				
13				
14				
15	Add: Deductions recorded of	on books not deducted fron	n return	
16				
17				
18				
19	Subtract: Income recorded	on books not included in re	eturn:	
20				
21				
22				
23	Subtract: Deductions on ret	urn not charged against bo	ook income:	
24				
25				

Federal taxable income for the year

Name of Respondent	This Report Is:	Date of Report	Year of Report	
Presque Isle Electric &	(1) [X] An Original	(Mo, Da, Yr)	12/31/202	21
Gas Co-op	(2) [] A Resubmission	4/30/2022		
RECONCILI	IATION OF REPORTED NET INCOME	TAXES (continued)	E INCOME FOR FEDERAL	-
return. State names of gro	oup members, tax assigned to		designed to meet a particu	lar need of
	basis of allocation, assignmer		ised as long as the data is	
or sharing of the consolida	ated tax among the group	and meets the require	ements of the above instruc	xtions.
members. 3. Allocate taxable income	ne between utility and other			
	ocate tax expense between			
409.1 and 409.2				
	Utility		Other	Line No.
				1
				2
				3
				4
				5
				6
				7
				8
				9
				10
				11
				12
				13
				14
				15
				16
				17
				18
				19
				20
				21
				22
				23
				24
				25
				26

	Respondent This Report Is:	Date of Report	Year of Report
	Isle Electric & (1) [X] An Original	(Mo, Da, Yr)	12/31/2021
Gas Co-	<u> </u>	4/30/2022	
	CALCULATION OF FEDERAL INCOME	TAX	
Line No.			TOTAL AMOUNT
1	Estimated Federal taxable income for the current year (page 261A)		
2			
3	Show computation of estimated gross Federal income tax applicable	e to line 1:	
4			
5			
6			
7			
8		TOTAL	
9			
10	Allocation of estimated gross Federal income tax from line 8		
11	Investment tax credits estimated to be utilized for the year (page 264	4 col (c))	
12			
13	Adjustment of last year's estimated Federal income tax to the filed ta	ax return:	
14			
15	Last year's gross Federal income tax expense per the filed return	1	
16	Last year's estimated gross Federal income tax expense		
17	Increased (decreased) gross Federal income tax expense		
18			
19	Last year's investment tax credits utilized per the filed return		
20	Last year's investment tax credits estimated to be utilized		
21	Increased (decreased) investment tax credits utilized		
22			
23	Additional Adjustments (specify)		
24			
25			
26			ļ
27	Total Current Federal Income Tax		
28	Expense:		
29	409.1 (page 114, line 12)		
30	409.2 (page 117, line 44)		

Name of Respondent	This Report Is:	Date of Report	Year of Report	
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021	
Сиз СС СР	CALCULATION OF FEDER		ltinued)	
	Utility		Other	Line
	Othity		Julei	No.
				1
				2
				3
				4
				5
				6
				7
				8
				9
				10
				11
				12
				13
				14
				15
				16
				17
				18
				19
				20
				21
				22
				23
				24
				25
				26
				27
				28
				29
				30
]

This Report Is:

Name of Respondent

Presque	Isle Electric & Gas Co-op	(1) [X] An Original (2) [A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021
	ΤΔΥΕ	` ,	AND CHARGED DURING YEA	AR
1 Give	particulars (details) of the comb	· · · · · · · · · · · · · · · · · · ·		ounts in both columns (d) and
	tax accounts and show the tota		(e). The balancing of this pag	
	ns and other accounts during th		inclusion of these taxes.	e ie net aneetea by aie
	gasoline and other sales taxes v		Include in column (d) taxes	s charged during the year.
	to the accounts to which the tax		taxes charged to operations a	
	. If the actual or estimated amo		accruals credited to taxes acc	
-	vn, show the amounts in a footn			hargeable to current year, and
	estimated or actual amounts.		(c) taxes paid and charged dir	
	de on this page, taxes paid duri	ng the vear and	other than accrued and prepa	•
	direct to final accounts, (not ch		4. List the aggregate of each	
	Kind of 1	Гах	BALANCE AT BI	EGINNING OF YEAR
Line	(See Instruc		Taxes Accrued	Prepaid Taxes
No.	(333 1131 43		(Account 236)	(Incl. in Account 165)
	(a)		(b)	(c)
1	PROPERTY TAXES		548,755	(0)
2	PAYROLL TAXES (FICA, FUT	TA. SUTA)	2,223	
3	(, , , , , , , , , , , , , , , , , , , ,	_,	
4				
5				
6				
7				
8				
9				
10				
11				
12				
13				
14				
15				
16				
17				
18	TOTAL		550,979	
	DISTRIBUTION OF TA	XES CHARGED (Show u	itility department where applica	able and account charged).
Lino			Other Utility	Other Income
Line	Electric	Gas	Departments	and Deductions
No.	(Account 408.1, 409.1)	(Account 408.1, 409.1)	(Account 408.1, 409.1)	(Account 408.2, 409.2)
	(i)	(j)	(k)	(I)
1	1,077,549	287,875	` ′	(/
2	466,216	172,436		
3		·		
4				
3 4 5 6 7				
6				
8				
9				
10				
11				
12				
13				
14				
15				
16				
17 18	1,543,765	460,311		

Date of Report

Year of Report

Name of Respondent	C8-5CAB-4EEF-B8C4-49ED0165 This Report Is:		Date of Report	Year of Report	
Presque Isle Electric	(1) [X] An Original		(Mo, Da, Yr)		
& Gas Co-op	(2) [] A Resubmission		4/30/2022	12/31/2021	
	, ,	EPAID AND CH	ARGED DURING YEAR (C	Continued)	
that the total tax for ea	ch State and subdivision ca			ending transmittal of such ta	xes
be ascertained.		•	to the taxing authority.	•	
- '	Federal and state income to	•		ru (p) how the taxed account	
	year, show the required inf			oth the utility department and	
	k year, identifying the year i	, ,		ed. For taxes charged to utili	
	its of the accrued and prepared and explain each adjustment		plant, snow the number of plant account or subaccou	f the appropriate balance she	eet
	ebit adjustments by parenth			ոււ. d to more than one utility deլ	nart-
	his page entries with respe		• • • • • • • • • • • • • • • • • • • •	a footnote the basis (necessi	
	or taxes collected through		of apportioning such tax.	(-5 /
T	Taura Daid		BALANCE A	T END OF YEAR	
Taxes	Taxes Paid	Adjustmente	Taxes Accrued	Prepaid Taxes	Lin
Charged During Year	During Year	Adjustments	(Account 236)	(Incl. in Account 165)	No
(d)	(e)	(f)	(g)	(h)	
1,365,423	1,241,696	(1)	672,483	(11)	+
638,653	639,021		1,854		
,	,		,		
					.
					1
					1
					1:
					1:
					1.
					1:
					1
2,004,076	1,880,717		674,338		1
DIOTOIDU	TION OF TAYES OUR BOE	:D (0)			
	TION OF TAXES CHARGE	T .	lepartment were applicable T	and account charged.)	1
Extraordinary	Other Utility	Adjustment to		NII.	
Items (Account 409.3)	Opn. Income (Account 408.1, 409.1)	Ret. Earnings (Account 439)		Other	
(m)	(n)	(0)		(p)	
()	(…)	(5)		(P)	+
					'
					1
					1
					1:
					1:
					14
					1: 1:
		1			1 !!

Name	of Respondent	This Report Is:	Date of Report		Year of Report
	ue Isle Electric &	(1) [X] An Original	(Mo, Da, Yr)		12/31/2021
Gas (Со-ор	(2) [] A Resubmission	4/30/2022		12/01/2021
		ACCUMULATED DEFERRED INVI	ESTMENT TAX CREDITS (Ac	count 255)	
1. Re	port below informatio	n applicable to Account 255.	shown in column (h). Include	in column (j) the av	verage
Wher	e appropriate, segreç	gate the balances and transactions	period over which the tax cre	dits are amortized.	
by uti	ity and non-utility op	erations. Explain by footnote	2. Fill in columns for all line i	tems as appropriate) .
any c	orrection adjustment	s to the account balance			
				Deferred	for Year
Line	A	0.1	D.J.	A	
No.	Account Subdivisions	Subaccount Number	Balance at	Account Number	Amount
	(a)	(b)	Beginning of Year (c)	(d)	(e)
1	Gas Utility	(5)	(0)	(4)	(3)
2	3%				
3	4%				
4	7%				
5	8%				
6	10%				
7					
8 9					
10					
11					
12					
13					
15	JDITC				
16					
17					
18					
19 20	TOTAL				
21	Other				
22	3%				
23	4%				
24	7%				
25	8%				
26	10%				
27					
28					
29 30					
31					
32	JDITC				
33					
34					
35	TOTAL				
	ı	N	IOTES		

Name of Respondent	This Report Is:		Date of Report	Year of Report	
Presque Isle Electric & Gas	(1) [X] An Original		(Mo, Da, Yr)	12/31/2021	
Со-ор	(2) [] A Resubmission	VECTMENT TAY OF	4/30/2022		
ACCU	MULATED DEFERRED IN	VESTMENT TAX CR	EDITS (Account 255) (C	ontinuea)	
Allocation	nns to	Ī	Т	Ī	T
Current Year					Line
Account		1	Balance at	Average Period of	No.
Number (f)	Amount (g)	Adjustments (h)	End of Year (i)	Allocation to Income (j)	
(1)	(9)	(11)	(1)	U)	1
					2 3 4 5 6 7 8 9
					3
					5
					6
					7
					9
					10
					11
					12
					13 14
					15
					16
					17 18
					19
					20
					21 22
					23
					24 25
					25 26
					27
					28
					29
					30 31
					32
					32 33
			<u> </u>		34 35
		NOTES (Continued))	<u> </u>	33
		,			

Name of	f Respondent	This Report Is:	Date of Report	Year of Report
Presque	Isle Electric & Gas Co-	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
ор		(2) [] A Resubmission	4/30/2022	12/31/2021
	MISCELLAN	EOUS CURRENT AND ACC	RUED LIABILITIES	(Account 242)
		f other current and accrued I		
2. Mino	r items may be grouped b	y classes, showing number o	of items in each class.	Balance
Line		Item		End of Year
No.		(a)		(b)
1				(2)
2	ACCRUED PAYROLL			154,181
3	ACCRUED VACATION			313,817
4	ACCRUED MISCELLAN	EOUS PTO		299,115
5	ACCRUED SICK TIME	IT DENICEITO		154,903
6 7	ACCRUED RETIREMEN	IT BENEFITS EARS OF SERVICE BUYOU	T	1,012,836
8	ACCRUED WORKMAN'S		ı	0 9,068
9	CURRENT PORTION O			2,940,453
10		- · · · · · · · · · · · · · · · · · · ·		_,=,5,13,,.55
11				
12				
13				
14				
15				
16 17				
I 10				
18 19				
18 19 20	TOTAL			4,884,371
19	TOTAL			4,884,371
19	ı	OMER ADVANCES FOR CO	NSTRUCTION (Acco	unt 252)
19	CUSTO		NSTRUCTION (Acco	unt 252) Balance
19 20	CUSTO	st advances by department	NSTRUCTION (Acco	unt 252) Balance End of Year
19 20 Line No.	CUSTO		NSTRUCTION (Acco	unt 252) Balance
19 20 Line No.	CUSTO	st advances by department	NSTRUCTION (Acco	unt 252) Balance End of Year
19 20 Line No.	CUSTO	st advances by department	NSTRUCTION (Acco	unt 252) Balance End of Year
19 20 Line No. 21 22 23 24	CUSTO	st advances by department	NSTRUCTION (Acco	unt 252) Balance End of Year
19 20 Line No. 21 22 23 24 25	CUSTO	st advances by department	NSTRUCTION (Acco	unt 252) Balance End of Year
19 20 Line No. 21 22 23 24 25 26	CUSTO	st advances by department	NSTRUCTION (Acco	unt 252) Balance End of Year
19 20 Line No. 21 22 23 24 25 26 27	CUSTO	st advances by department	NSTRUCTION (Acco	unt 252) Balance End of Year
19 20 Line No. 21 22 23 24 25 26 27 28	CUSTO	st advances by department	NSTRUCTION (Acco	unt 252) Balance End of Year
19 20 Line No. 21 22 23 24 25 26 27 28 29	CUSTO	st advances by department	NSTRUCTION (Acco	unt 252) Balance End of Year
19 20 Line No. 21 22 23 24 25 26 27 28 29 30	CUSTO	st advances by department	NSTRUCTION (Acco	unt 252) Balance End of Year
19 20 Line No. 21 22 23 24 25 26 27 28 29	CUSTO	st advances by department	NSTRUCTION (Acco	unt 252) Balance End of Year
19 20 Line No. 21 22 23 24 25 26 27 28 29 30 31	CUSTO	st advances by department	NSTRUCTION (Acco	unt 252) Balance End of Year
19 20 Line No. 21 22 23 24 25 26 27 28 29 30 31 32 33 34	CUSTO	st advances by department	NSTRUCTION (Acco	unt 252) Balance End of Year
19 20 Line No. 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35	CUSTO	st advances by department	NSTRUCTION (Acco	unt 252) Balance End of Year
19 20 Line No. 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36	CUSTO	st advances by department	NSTRUCTION (Acco	unt 252) Balance End of Year
19 20 Line No. 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37	CUSTO	st advances by department	NSTRUCTION (Acco	unt 252) Balance End of Year
19 20 Line No. 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36	CUSTO	st advances by department	NSTRUCTION (Acco	unt 252) Balance End of Year

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

OTHER DEFERRED CREDITS (Account 253)

- 1. Report below the particulars (details) for concerning other deferred credits.
- 2. For any deferred credit being amortized, show the period of amortization.
- 3. Minor items (less than \$10,000) may be grouped by classes.
- 4. For any undelivered gas obligations to customers under take-or-pay clauses of sale agreements, show the total amount on this page and report particulars (details) called for by page 267. Show also on this page, but as a separate item, any advance billings or receipts for gas sales or service classified in Account 253 but not related to take-or-pay arrangements.

Ciacoc					to take or pay arr	ageee.
		Balance	DE	EBITS		
Line	Description of Other				1	Polones of
No.	Description of Other	Beginning	Contra	l , .		Balance at
INO.	Deferred Credits	of Year	Account	Amount	Credits	End of Year
	(a)	(b)	(c)	(d)	(e)	(f)
1						
2	CONSUMER PREPAYMENTS	340,233				365,194
3	OVERCOLLECTION - PSCR COSTS	139,208				0
4	OVERCOLLEGISM TOOK GOOTS	100,200				
5 6 7						
6						
7						
8						
9						
10						
11						
12						
13						
14						
15						
16						
17						
18						
19						
20						
21						
22						
23						
24						
25						
26						
27						
28						
29						
30						
31						
31						
32						
33						
34						
35						
36						
37						
38						
39						
40						
41						
42						
43						
44						
45						
46						
	TOTAL	470 444				205 404
47	TOTAL	479,441				365,194

Name	of Respondent	This Report Is:		Date of Report	·	Year of Report
	ue Isle Electric & Gas Co-op	(1) [X] An Original		(Mo, Da, Yr)		12/31/2021
1 1004		(2) [] A Resubmission		4/30/2		
	ACCUMULATED DEFERRED				PROPERTY (Ac	count 281)
	port the information called for b	•		able property.		_
respor	ndent's accounting for deferred	income taxes relating	2. For Oth	er (<i>Specify)</i> , inclu		
						OURING YEAR
		A (Balance at	Amounts	Credited to
Line No.	1	Account		Beginning of Year	Debited to Account 410.1	Account 411.1
INO.		(a)		(b)	(c)	(d) (f)
1	Accelerated Amortization (Acc	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \		\~/		\·/
2	Electric					
3	Defense Facilities					
4	Pollution Control Facilitie	es				
5	Other					
6						
7						
8	TOTAL Electric (Enter T	otal of lines 3 thru 7)				
9	Gas					
10 11	Defense Facilities Pollution Control Facilitie	^^			ļ!	
12	Other	<u>es </u>			 	
13	Olliei				 	
14	 				 	
15	TOTAL Gas (Enter Tota	al of lines 10 thru 14)				
16	Other (Specify)	101 11100 10 11.12				
17	TOTAL (Acct 281) (Tota	al of 8, 15 and 16)			1	
18	Classification of TOTAL					
19	Federal Income Tax					
20	State Income Tax					
21	Local Income Tax					
		NC	DTES			

Name of Respondent	This Report Is:		Date of Report			Year of Report		
Presque Isle Electric &	(1) [X] An Original		(Mo, Da, Yr) n 4/30/2022			12/31/2021		
Gas Co-op	(2) [] A Resubmission							
	ACCUMULATED DEFERRED INCOME TAXESACCELERATED AMORTIZATION PROPERTY (Account 281) (Continued)							
income and deductions								
Use separate pa	ages as required.							
CHANGES DU	RING YEAR		ADJI	JSTMENTS		T		
		D	EBITS		DITS			
Amounts	Amounts					7	Line	
Debited to	Credited to	Account		Account		Balance at	No.	
Account 410.2	Account 411.2	Credited	Amount	Debited	Amount	End of Year		
(e)	(f)	(g)	(h)	(i)	(j)	(k)	4	
							2	
							3	
							4	
							5	
							6	
							7	
							8	
							9	
							10	
		 	 			+	11 12	
			 			-	13	
		 	 				14	
		f				T	15	
							16	
							17	
							18	
							19	
							20	
		N/C	OTES (Continue	a/)			21	
		NC	OTES (Continue	a)				

Name	of Respondent This Report Is:	Date of Report		Year of Report
	(1) [X] An Original	(Mo, Da, Yr)		-
Presq	ue Isle Electric & Gas Co-op (1) A Resubmission	4/30/2		12/31/2021
	ACCUMULATED DEFERRED INCOME TAXESOTI	HER PROPERTY (Account 282)	
1. Re	port the information called for below concerning the to propert	y not subject to ac	celerated amort	ization.
respor	ndent's accounting for deferred income taxes relating 2. For Ot	her (<i>Specify)</i> , inclu	ıde deferrals re	lating to other
				DURING YEAR
		Balance at	Debited to	Amounts
Line	Account Subdivisions	Beginning	Account	Credited to
No.	(a)	of Year	410.1	Account 411.1
1	(a) Account 282	(b)	(c)	(d)
2	Electric			
3	Gas			
4	Other (Define)			
5	TOTAL (Enter Total of lines 2 thru 4)			
6	Other (Specify)			
7	, ; · · · · ·			
8				
9	TOTAL Account 282 (Enter Total of lines 5 thru 8)			
10	Classification of TOTAL			
11	Federal Income Tax			
12	State Income Tax			
13	Local Income Tax			
	NOTES			
	NOTES			

Name of Respondent	This Report Is:		Date of Report			Year of Report	
Presque Isle Electric & Gas	(1) [X] An Original		(Mo, Da, Yr)			12/31/202	1
Co-op (2) [] A Resubmission 4/30/2022 ACCUMULATED DEFERRED INCOME TAXESOTHER PROPERTY (Account 282) (Conti				1			
		NCOME TAXE	SOTHER PR	OPERTY (Acco	ount 282) (Cont	tinued)	
income and deductions.							
Use separate pag	es as required.						
CHANGES DUF	RING YEAR		ADJUS	STMENTS			
		DE	BITS	CRE	DITS		
Amounts	Amounts					7	Line
Debited to Account 410.2	Credited to Account 411.2	Account Credited	Amount	Account Debited	Amount	Balance at End of Year	No.
(e)	(f)	(g)	(h)	(i)	Amount (j)	(k)	
(0)	(.)	(9)	(11)	(•)	U/	()	1
	_						2
							3
							4
		<u> </u>				+	5 6
							7
							8
						_	9
							10
							11
							12
							13

	of Respondent	This Report Is:	Date of Report		Year of Report
	sque Isle Electric & Gas (1) [X] An Original (2) [] A Resubmission		(Mo, Da, Yr)	0/0000	12/31/2021
Co-op		MULATED DEFERRED INCO		0/2022	
1 Re		ed for below concerning the 2.	•		
	ndent's accounting for de	•	ome and deductions.		ang to other
-	g to amounts recorded i				
				OUANOEO E	LIDING VEAD
				CHANGES D	OURING YEAR
			Balance at		
Line			Beginning	Amounts	Amounts
No.		Account	of Year	Debited to Account 410.1	Credited to Account 411.1
		(a)	(b)	(c)	(d)
1	Electric				
2					
3					
4					
5					
6	Other				
7	TOTAL Electric (tota	l of lines 2 thru 6)			
8	Gas				
9					
10					
11					
12					
13	Other				
14	TOTAL Gas (Total o	f lines 9 thru 13)			
15	Other (Specify)				
16	TOTAL (Account 283 (Enter Total of lin				
17	Classification of TOTAL				
18	Federal Income Tax				
19	State Income Tax				
20	Local Income Tax				
		NOT	ES		

Name of Respondent	This Report Is:		Date of Repo	rt		Year of Report	
Presque Isle Electric & Gas	(1) [X] An Original		(Mo, Da, Yr)	4/00/0000		12/31/2021	l
Co-op	ACCUMULATED DEFERRED INCOME TAXESOTHER (Account 283) (Continued)						
3. Provide in the space below					ems as appropriat		
use of the account for each line				ate pages as re		C .	
relating to insignificant items lis	sted under Other.				·		
CHANGES DURI	NG YEAR			USTMENTS		_	
Amounts	Amounts	DE	BITS	CRI	EDITS	_	Line
Debited to	Credited to	Account		Account		Balance at	No.
Account 410.2	Account 411.2	Credited	Amount	Debited	Amount	End of Year	
(e)	(f)	(g)	(h)	(i)	(j)	(k)	
							1
							2
							3
							4
							5
							6
							7
							8
							9
							10
							11
							12
							13
							14
							15
							16
							17
							18
							19
							20
		NOTES	(Continued)				

Name	of Respondent	This Report Is:	Date of Report		Year of Report
Presque Isle Electric & Gas Co-op		(1) [X] An Original	(Mo, Da, Yr)	10000	12/31/2021
		(2) [] A Resubmission TED DEFERRED INCOME TA		2022	
1. Re	port the information called for b	elow concerning each item inc	luded in this accoun	it at year end.	Γ
Line No.		on of Item	Balance at End of Year (b)	Date of Filing for Commission Approval (c)	Case Number (d)
1	Electric	a)	(b)	(0)	(u)
2	Liouno				
3					
4					
5					
6					
7	TOTAL Electric (total of line	es 2 thru 6)			
8	Gas	,			
9					
10					
11					
12					
13					
14	TOTAL Gas (Total of lines 9	9 thru 13)			
15	Other (Specify)				
16	TOTAL (Account 284) (Enter Total of lines 7, 1	4 and 15)			
17	Classification of TOTAL				
18	Federal Income Tax				
19	State Income Tax				
20	Local Income Tax				
		NOTES	,		

Name	of Respondent	This Report Is:		Date of Report		Year of Report
Presqu	ue Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Result		(Mo, Da, Yr) 4/30/2	2022	12/31/2021
		OTHER REGULA		1		l.
concer through (and no 2. For	porting below the particulars (dening other regulatory liabilities when the ratemaking actions of regulation tincludable in other amounts). regulatory liabilities being amoratization in column (a).	hich are created latory agencies	grouped by o	ns (amounts less classes. number and nam t is recorded.		
			DI	EBITS		
Line No.	Description and Pu Other Regulatory I		Account Credited	Amount	Credits	Balance at End of Year
1	(a)		(b)	(c)	(d)	(e)
	NOT APPLICABLE					

39

40 TOTAL

Name of Respondent	This Report Is:	Date of Report	Year of Report			
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021			
GAS OPERATING REVENUES (ACCOUNT 400)						

- Report below natural gas operating revenues for each
 prescribed account, and manufactured gas revenues in total.
- 2. Natural gas means either natural gas unmixed or any mixture of natural and manufactured gas.
- 3. Report number of customers, columns (f) and (g), on the basis of meters, in addition to the number of flat rate account; except that where separate meter readings are added for billing purposes, one customer should be counted
- for each group of meters added. The average number of customers means the average of twelve figures at the close of each month.
- 4. Report quantities of natural gas sold in Mcf (14.65 psia dry at 60° F). If billings are on a therm basis, give the Btu contents of the gas sold and the sales converted to Mcf.
- 5. If increases or decreases from previous years (columns (c), (e) and (g)), are not derived from previously

			OPERATING REVENUES		
Line No.	Title of Account (a)	Amount for Year (b)	Amount for Previous Year (c)		
1	GAS SERVICE REVENUES				
2	480 Residential Sales	8,968,899	8,990,725		
3	481 Commercial & Industrial Sales				
4	Small (or Comm.) (See Instr. 6)	753,514	754,490		
5	Large (or Ind.) (See Instr. 6)	248,839	242,507		
6	482 Other Sales to Public Authorities	358,312	370,809		
7	484 Interdepartmental Sales				
8	TOTAL Sales to Ultimate Consumers	10,329,563	10,358,531		
9	483 Sales for Resale				
10	TOTAL Nat. Gas Service Revenues	10,329,563	10,358,531		
11	Revenues from Manufactured Gas				
12	TOTAL Gas Service Revenues	10,329,563	10,358,531		
13	OTHER OPERATING REVENUES				
14	485 Intracompany Transfers				
15	487 Forfeited Discounts	0	6,851		
16	488 Misc. Service Revenues	65,690	57,955		
17	489 Rev. from Trans. of Gas of Others				
18	490 Sales of Prod. Ext. from Nat. Gas				
19	491 Rev. from Nat. Gas Proc. by Others				
20	492 Incidental Gasoline and Oil Sales				
21	493 Rent from Gas Property	2,430	2,846		
22	494 Interdepartmental Rents				
23	495 Other Gas Revenues	4,634	1,643		
24	TOTAL Other Operating Revenues	72,754	69,294		
25	TOTAL Gas Operating Revenues	10,402,317	10,427,825		
26	(Less) 496 Provision for Rate Refunds	(153,308)	(100,616)		
27	TOTAL Gas Operating Revenues Net of Provision for Refunds	10,555,625			
28	Dist. Type Sales by States (Incl. Main Line Sales to Resid. and Comm. Custrs.)	10,329,563			
29	Main Line Industrial Sales (Incl. Main Line Sales to Pub. Authorities)				
30	Sales for Resale				
31	Other Sales to Pub. Auth. (Local Dist. Only)				
32	Interdepartmental Sales				
33	TOTAL (Same as Line 10, Columns (b) and (d)	10,329,563			

Name of Respondent	This Report Is:	Date of Report	Year of Report				
Presque Isle Electric & Gas	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021				
Co-op	(2) [] A Resubmission	4/30/2022	12/01/2021				
		S (ACCOUNT 400) (Continued)					
reported figures, explain any inconsistencies in a footnote. 6. Commercial and Industrial Sales, Account 481, may be classified according to the basis of classification (Small or Commercial, and Large or industrial) regularly used by the respondent if such basis of classification is not generally greater than 200,000 Mcf per year or approximately 800 Mcf							
MCF OF NAT	URAL GAS SOLD	AVG. NO. OF NAT. GAS CUS					
Quantity for Year (d)	Quantity for Previous Year (e)	Number for Year (f)	Number for Previous Year (g)	No.			
851,687	867,582	12,226	12,037	1 2			
	, , , ,	,	, , ,	3 4			
97,696	97,909	437	435	4			
37,191 49,026	36,059 50,420	12 138	12 138	5 6			
49,020	30,420	130	130	7			
1,035,600	1,051,970	12,813	12,622	8			
4 005 000	4.054.070	10.040	40.000	9			
1,035,600	1,051,970	12,813 NOTES	12,622	10 11			
				12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32			
1,035,600				33			

Name of Respondent This Report Is:		Date of Report	Year of Report		
Draggue	Iala Flactria 9 Cas Ca an	(1) [X] An Original	(Mo, Da, Yr)	12/21/2021	
Presque	Isle Electric & Gas Co-op	(2) [] A Resubmission	4/30/2022	12/31/2021	
1. Repo	rt below natural gas operating i	revenues for each prescribed.	The average number of customers means the average of		
	and manufactured gas revenue		twelve figures at the close of each month.		
	al Gas means either natural ga			gas sold in Mcf (14.65 psia dry	
	an Gas means entrer natural ga and manufactured gas.	is difffixed of any finaltice of	at 60 degrees F). If billings are		
		no (f) and (a) on the basis of	contents of the gas sold and th		
	rt number of customers, column				
	in addition to the number of flat			om previous year (columns (c),	
	parate meter readings are adde		(e) and (g)), are not derived from	om previously reported	
custome	r should be counted for each g	roup of meters added.	_		
			OPERATIN	G REVENUES	
Line	Title of	Account			
No.			Amount for Year	Amount for Previous Year	
		(a)	(b)	(c)	
1		CE REVENUES	(~)	(-)	
2	480 Residential Sales				
3	481 Commercial & Industrial S	ales			
4	Small (or Comm.) (See Ins				
5	Large (or Ind.) (See Instr. 6				
6	482 Other Sales to Public Auth				
7		lorities	+		
	484 Interdepartmental Sales	analimara			
8	TOTAL Sales to Ultimate C	onsumers			
9	483 Sales for Resale				
10	TOTAL Nat. Gas Service R				
11	Revenues from Manufactur				
12	TOTAL Gas Service Reven				
13	OTHER OPERATING R	EVENUES			
14	485 Intracompany Transfers				
15	487 Forfeited Discounts				
16	488 Misc. Service Revenues				
17	489 Rev. from Trans. of Gas o	f Others			
18	490 Sales of Prod. Ext. from N	at. Gas			
19	491 Rev. from Nat. Gas Proc.	by Others			
20	492 Incidental Gasoline and O	il Sales			
21	493 Rent from Gas Property				
22	494 Interdepartmental Rents				
23	495 Other Gas Revenues				
24	TOTAL Other Operating Re	evenues			
25	TOTAL Gas Operating Rev				
26	(Less) 485 Provision for Refun				
	TOTAL Gas Operating Rev				
27	Provision for Refunds				
00	Dist. Type Sales by States (Inc	d. Main Line			
28	Sales to Resid. and Comm.				
	Main Line Industrial Sales (Inc				
29	Line Sales to Pub. Authoritie				
30	Sales for Resale	<u>-</u>			
31	Other Sales to Pub. Auth. (Loc	cal Dist. Only)			
32	Interdepartmental Sales				
33	TOTAL (Same as Line 10, Col	umns (h) and (d)			
1					

	This Report Is:		Year of Report			
Presque Isle Electric & Gas Co-		(Mo, Da, Yr)	12/31/2021			
ор	(2) [] A Resubmission	4/30/2022	12/31/2021			
CUST	OMER CHOICE GAS OPERATING	REVENUES (ACCOUNT 400) (Co	ntinued)			
figures, explain any inconsistent	cies in a footnote.	per day of normal requirements. (S	See Account 481 of the			
6. Commercial and Industrial Sa	ales, Account 481, may be	Uniform System of Accounts. Explain basis of classification				
classified according to the basis	of classification (Small or	in a footnote.)				
Commercial, and Large or Indus		7. See pages 108-109, important changes During Year, for				
	sification is not generally greater	important new territory added and				
than 200,000 Mcf per year or ap		or decreases.	•			
	•					
MCE OF NAT	URAL GAS SOLD	AVG. NO. OF NAT. GAS (CUSTRS PER MO			
WICH OF NAT	STAL GAG GOLD	AVG. NO. OF NAT. GAO	JOOTTO: 1 LICINIO.	Line		
0 111 6 14				No.		
Quantity for Year	Quantity for Previous Year	Number for Year	Number for Previous Year			
(d)	(e)	(f)	(g)			
				1		
				3		
				4		
	ļ			5		
	ļ			6		
	ļ			7		
	ļ			8		
				9		
				10		
		NOTES		11		
				12		
				13		
				14		
				15		
				16		
				17		
				18		
				19		
				20		
				21 22		
				23		
				24		
				25		
				26		
				27		
				28		
				29		
				30		
				31		
				32		
				33		

DocuSign Envelope ID: C5271FC8-5CAB-4EEF-B8C4-49ED0165649E

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas C	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
ор	(2) [] A Resubmission	4/30/2022	12/31/2021

RATE AND SALES SECTION

DEFINITIONS OF CLASSES OF SERVICE AND INSTRUCTIONS PERTAINING TO STATEMENTS ON SALES DATA

In the definitions below, the letter preceding the captions distinguish the main classes from the subclasses. Show the data broken into the subclasses if possible, but if not, report data under the main classes, drawing a dash through the subclass

When gas measured through a single meter is used for more than one class of service as here defined, as for example, for both commercial and residential purposes, assign the total to the class having the principal use.

<u>Average Number of Customers.</u> Number of customers should be reported on the basis of number of meters, plus number of flat-rate accounts, except that where separate meter readings are added for billing purposes, one customer shall be counted for code group of meters so added. The average number of customers means the average of the 12 figures at the close of each month.

<u>Thousands of Cubic Feet or Therms Sold</u> (indicate which one by crossing out the one that does not apply). Give net figures, exclusive of respondent's own use and losses.

<u>Revenues</u>. This term covers revenues derived from (a) Sale of Gas (exclusive of forfeited discounts and penalties) and (b) Other Gas Revenues, such as rent from gas property, interdepartmental rents, customers' forfeited discounts and penalties, servicing of customers' installations and miscellaneous gas revenues.

- AB. <u>Residential Service</u>. This class includes all sales for residential uses such as cooking, refrigeration, water heating, space heating and other domestic uses.
- A. Residential Service. This class includes all gas for residential use except space heating.
- B. <u>Residential Space Heating.</u> This class includes all sales of gas for space heating including gas for other residential uses only when measured through the same meter.
- CD. <u>Commercial Service</u>. This class includes service rendered primarily to commercial establishments such as restaurants, hotels, clubs hospitals, recognized rooming and boarding houses, apartment houses (but not individual tenants therein), garages, churches, warehouses, etc.
- $\hbox{C. } \underline{\hbox{Commercial Service}}. \ \hbox{This class includes all sales of gas for commercial use except space heating}.$
- D. <u>Commercial Space Heating</u>. This class includes all sales of gas for space heating including gas for other commercial uses only when measured through the same meter.
- E. <u>Industrial Service</u>. This class includes service rendered primarily to manufacturing establishments where gas is used principally for large power, heating and metallurgical purposes.
- F. <u>Public Street and Highway Lighting</u>. Covers service rendered to municipalities or other governmental units for the purpose of lighting streets, highways, parks and other public places.
- G. Other Sales to Public Authorities. Covers service rendered to municipalities or other governmental units for lighting, heating, cooking, water heating and other general uses.
- H. <u>Interdepartmental Sales</u>. This class includes gas supplied by the gas department to other departments of the utility when the charges therefor are at tariff or other specific rates.
- I. Other Sales. This class includes all service to ultimate consumers not included in the foregoing described classifications.
- * A-I. <u>Total sales to Ultimate Consumers</u>. This is the total of the foregoing described classifications.
- J. Sales to Other Gas Utilities for Resale. This class includes all sales of gas to other gas utilities or to public authorities for resale to
- K. Other Gas Revenues. Revenues derived from operations of the respondent other than sales of gas. They include rent from gas property, interdepartmental rents, customers' forfeited discounts and penalties, services of customers' installations and miscellaneous gas revenues, such as fees and charges for changing, connecting and disconnecting service, profit on sales of materials and supplies not ordinarily purchased for resale, commissions on sales or distribution of others' gas (sold under rates filed by such others), management or supervision fees, sale of steam (except where the respondent furnishes steam-heating service) and rentals from leased property on customers' premises
- * A-K. Total Gas Operating Revenues. The total of all the foregoing accounts.

<u>Separate Schedules for Each State</u>. Separate schedules in this section should be filed for each state in which the respondent operates.

<u>Estimates</u>. If actual figures are not available for the schedules in this section, give estimates. Explain the methods used and the factual basis of the estimates, using supplementary sheets, if necessary.

CD. Commercial Service

E. Industrial service

Other sales

D. Commercial space heating

F. Public street & highway lighting

G. Other sales to public authorities

A-I. Total sales to ultimate customers

J. Sales to other gas utilities for resale

A-K. TOTAL GAS OPERATING REVENUE

H. Interdepartmental sales

A-J. TOTAL SALES OF GAS

K. Other gas revenues

C. Commercial service, except space heating

5

6

7

8

9

10

11

12

13

14

15

16

Name of Respondent Presque Isle Electric & Gas Co-op		This Report Is:	•		Date of Report (Mo, Da, Yr) 4/30/2022		
		625-A. SALES DAT					
		Average Number		Revenue	avenue AVERAGES		
Line No.	Class of Service (a)	of Customers per Month (a)	Gas Sold Mcf* (c)	(Show to nearest dollar) (d)	Mcf* per Customer (e)	Revenue per Customer (f)	Revenue per Mcf* (g)
1	AB. Residential Service	12,226	851,687	\$8,968,899	69.66	\$733.59	\$10.53
2	A. Residential Service						
3	B. Residential space heating service						

97,696

37,191

49,026

1,035,600

1,035,600

1,035,600

\$753,514

\$248,839

\$358,312

\$10,329,564

\$10,329,564

\$72,754

\$10,402,318

223.56

3,099.25

355.26

80.82

80.82

80.82

\$1,724.29

\$20,736.58

\$2,596.46

\$806.18

\$806.18

\$811.86

\$7.71

\$6.69

\$7.31

\$9.97

\$9.97

\$10.04

437

12

138

12,813

12,813

12,813

^{*} Report Mcf on a pressure base of 14.65 psia dry and a temperature of 60°F. Give two decimals.

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric &	(1) [X] An Original	(Mo, Da, Yr)	10/01/0001
Gas Co-op	(2) [] A Resubmission	4/30/2022	12/31/2021

625-B. SALES DATA BY RATE SCHEDULES FOR THE YEAR

- 1. Report below the distribution of customers, sales and revenue for the year by individual rate schedules. (See definitions on first page of this section).
- 2. Column (a) List all the rate schedules by identification number or symbol. Where the same rate schedule designation applies to different rates in different zones, cities or districts, list separately data for each such area in which the schedule is available.
- 3. Column (b) Give the type of service to which the rate schedule is applicable, i.e. cooking, space heating, commercial heating, commercial cooking, etc.
- 4. Column (c) Using the classification shown in Schedule 625-A, column (a), indicate the class or classes of customers served under each rate schedule, e.g., (A) for Residential Service, (B) Heating Service, etc.

- 5. Column (d) Give the average number of customers billed under each rate schedule during the year. The total of this column will approximate the total number of ultimate customers, line 12, Schedule 625-A.
- 6. Columns (e) and (f) For each rate schedule listed, enter the total number of Mcf sold to, and revenues received from customers billed under that rate schedule. The totals of these columns should equal the totals shown on line 12, Schedule 625-A. If the utility sells gas to ultimate customers under special contracts, the totals for such sales should be entered on a line on this page in order to make the totals of columns (e) and (f) check with those entered on line 12, Schedule 625-A.
- 7. When a rate schedule was not in effect during the entire year, indicate in a footnote the period in which it was effective.

Line No.	Rate Schedule Designation (a)	Type of Service to which Schedule is applicable (b)	Class of Service (c)	Average Number of Customers per Month (d)	Mcf sold (e)	Revenue (Show to nearest dollar (f)
1	RESIDENTIAL	RESIDENTIAL	AB	12,226	851,687	\$8,968,899
2	COMMERCIAL	COMMERCIAL	CD	437	97,696	\$753,514
3	INDUSTRIAL	INDUSTRIAL	Е	12	37,191	\$248,839
4	PUBLIC	PUBLIC BUILDINGS	G	138	49,026	\$358,312
5						
6						
7						
8						
9						
10						
11						
12						
13						
14						
15						
16						
17						
18	TOTALS			12,813	1,035,600	\$10,329,564

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

625-B. CUSTOMER CHOICE SALES DATA BY RATE SCHEDULES

- 1. Report below the distribution of customers, sales and revenue for the year by individual rate schedules. (See definition on first page of this section).
- 2. Column (a) List all the rate schedules by identification number or symbol. Where the same rate schedule designation applies to different rates in different zones, cities or districts, list separately data for each such area in which the schedule is available.
- 3. Column (b) Give the type of service to which the rate schedule is applicable, i.e. cooking, space heating, commercial heating, commercial cooking, etc.
- 4. Column (c) Using the classification shown in Schedule 625-A, column (a), indicate the class or classes of customers served under each rate schedule, e.g., (A) for Residential Service, (B) Heating Service, etc.

- 5. Column (d) Give the average number of customers billed under each rate schedule during the year. The total of this column will approximate the total number of ultimate customers, line 12, Schedule 625-A.
- 6. Columns (e) and (f) For each rate schedule listed, enter the total number of Mcf sold to, and revenues received from customers billed under that rate schedule. The totals of these columns should equal the totals shown on line 12, Schedule 625-A. If the utility sells gas to ultimate customers under special contracts, the totals for such sales should be entered on a line on this page in order to make the totals of columns (e) and (f) check with those entered on line 12, Schedule 625-A.
- 7. When a rate schedule was not in effect during the entire year, indicate in a footnote the period in which it was effective.

Line No.	Rate Schedule Designation (a)	Type of Service to which Schedule is applicable (b)	Class of Service (c)	Average Number of Customers per Month (d)	Mcf sold (e)	Revenue (Show to nearest dollar (f)
1			Α			
2	NOT APPLICABLE		В			
3			С			
4			D			
5			Е			
6			F			
7			G			
8			Н			
9			K			
10						
11						
12						
13						
14						
15						
16						
17						
18	TOTALS					

DocuSign Envelope ID: C5271FC8-5CAB-4EEF-B8C4-49ED0165649E

Name of	r Respondent	I his Report is:		Year of Report				
Presque	e Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021				
OFF-SYSTEM SALES NATURAL GAS								
	Report particulars (details) concerning off-system sales. Off- system sales include all sales other than MPSC							
approve	d rate schedule sales.							
Line No.	Name (a)	Point of Delivery (City or town <u>and</u> State) (b)	Account (c)	Mcf of Gas Sold (Approx. B.T.U. per Cubic Ft.) (d)				
1								
2	NOT APPLICABLE							
3								
4								
5								
6								
7								
8								
9								
10								
11								
12								
13								
14								
15								
16								
17								
18								
19								
20								

Name of Respondent	This Report Is:		Date of Report	Year of Report		
Presque Isle Electric &	(1) [X] An Original		(Mo, Da, Yr)	12/31/2021		
Gas Co-op	(2) [] A Resubmission		4/30/2022	12/01/2021		
	OFF-SYSTEM SAL	ES - NATURA	L GAS (Continued)			
			Peak Day Delivery to Customers			
	Average Revenue		1	Mcf	Line No.	
Revenue for Year (See Instr. 5) (c)	per Mcf (in cents) (f)	Date (g)	Noncoincidental (h)	Coincidental (i)		
					1	
					2	
					3	
					4	
					5	
					6	
					7	
					8	
					9	
					10	
					11	
					12	
					13	
					14	
					15	
					16	
					17	
					18	
					19	
					20	

BLANK PAGE

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

REVENUES FROM TRANSPORTATION OF GAS OF OTHERS THROUGH GATHERING FACILITIES - NATURAL GAS (Account 489.1)

- 1. Report below particulars (details) concerning revenue from transportation or compression (by respondent) of natural gas for others. Subdivide revenue between transportation or compression for interstate pipeline companies and others.
- 2. Natural gas means either natural gas unmixed or any mixture of natural and manufactured gas. Designate with an asterisk, however, if gas is transported or compressed is other than natural gas.
- Enter the average number of customers per company and/or by rate schedule.
- 4. In column (a) include the names of companies from which revenues were derived, points of receipt and delivery, and names of companies from which gas was received and to which delivered. Specify the Commission order or regulation authorizing such transaction. Separate out the various customers, volumes and revenues by individual rate schedule.

Line No.	Name of Company (Designate associated companies with an asterisk) (a)	Number of Transportation Customers (b)	Average Number of Customers per Month (c)	Distance Transported (in miles) (d)
1				
2	NOT APPLICABLE			
3				
4				
5				
6				
7				
8				
9				
10				
11				
12				
13				
14				
15				
16				
17				
18				
19				
20 21				
22				
23				
23 24				
2 4 25				
26				
27				
28				
29				
30				
TOTAL				

Name of Respondent	This Report Is:	Da	ate of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(M	Mo, Da, Yr) 4/30/2022	12/31/2021

REVENUES FROM TRANSPORTATION OF GAS OF OTHERS THROUGH TRANSMISSION OR DISTRIBUTION FACILITIES -- NATURAL GAS (Accounts 489.2, 489.3)

- 1. Report below particulars (details) concerning revenue from transportation or compression (by respondent) of natural gas for others. Subdivide revenue between transportation or compression for interstate pipeline companies and others.
- 2. Natural gas means either natural gas unmixed or any mixture of natural and manufactured gas. Designate with an asterisk, however, if gas is transported or compressed is other than natural gas.
- Enter the average number of customers per company and/or by rate schedule.
- 4. In column (a) include the names of companies from which revenues were derived, points of receipt and delivery, and names of companies from which gas was received and to which delivered. Specify the Commission order or regulation authorizing such transaction. Separate out the various customers, volumes and revenues by individual rate schedules.

Line No.	Name of Company (Designate associated companies with an asterisk) (a)	Number of Transportation Customers (b)	Average Number of Customers per Month (c)	Distance Transported (in miles) (d)
1	\ /		(-)	()
2	TR-1/ST			
3				
4	TR-2/LT			
5				
6	TR-3/XLT			
7				
8	XXLT			
9				
10	Special Contract Customer Name			
11	Special Contract Customer Name			
12	Special Contract Customer Name			
13	Special Contract Customer Name			
14	Special Contract Customer Name			
15	Special Contract Customer Name			
16	Special Contract Customer Name			
17				
18	Off System			
19				
20	Title Transfers			
21				
22	Miscellaneous Customers			
23				
24	Interstate Customers			
25				
26				
27				
28				
29				
30				
TOTAL				

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric &	(1) [X] An Original	(Mo, Da, Yr)	12/24/2024
Gas Co-op	(2) [] A Resubmission	4/30/2022	12/31/2021

REVENUES FROM TRANSPORTION OF GAS OF OTHERS THROUGH GATHERING FACILITIES -- NATURAL GAS (Account 489.1) (Cont'd)

- 4. Designate points of receipt and delivery so that they can be identified on map of the respondent's pipe line system.
- 5. Enter Mcf at 14.65 psia dry at 60 degrees F.
- 6. Minor items (less than 1,000,000 Mcf) may be grouped.

"Note: For transportation provided under Part 284 of Title 18 of the Code of Federal Regulations, report only grand totals for all transportation in columns (b) through (g) for the following regulation sections to be listed in column (a): 284.102, 284.122, 284.223, 284.223(a), 284.233(b), and 284.224. Details for each transportation are reported in separate annual reports required under Part 284 of the Commission's regulations."

Mcf of Gas Received (e)	Mcf of Gas Delivered (f)	Revenue (g)	Average Revenue per Mcf of Gas Delivered (in cents) (h)	FERC Tariff Rate Schedule Designation (i)	Line No.
					1
					2
					3
					4
					5
					6
					7
					8
					9
					10
					11
					12
					13
					14
					15
					16
					17
					18
					19
					20
					21
					22
					23
					24
					25
					26
					27
					28
					29
					30

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
Co-op	(2) [] A Resubmission	4/30/2022	12/31/2021

REVENUES FROM TRANSPORTION OF GAS OF OTHERS THROUGH TRANSMISSION OR DISTRIBUTION FACILITIES -- NATURAL GAS (Account 489.2, 489.3) (Cont'd)

- 4. Designate points of receipt and delivery so that they can be identified on map of the respondent's pipe line system.
- 5. Enter Mcf at 14.65 psia dry at 60 degrees F.
- 6. Minor items (less than 1,000,000 Mcf) may be grouped.

"Note: For transportation provided under Part 284 of Title 18 of the Code of Federal Regulations, report only grand totals for all transportation in columns (b) through (g) for the following regulation sections to be listed in column (a): 284.102, 284.122, 284.223(a), 284.233(b), and 284.224. Details for each transportation are reported in separate annual reports required under Part 284 of the Commission's regulations."

Mcf of Gas Received (e)	Mcf of Gas Delivered (f)	Revenue (g)	Average Revenue per Mcf of Gas Delivered (in cents) (h)	FERC Tariff Rate Schedule Designation (i)	Line No.
(5)	(.)	(9)	()	(1)	1
					2
					3
					4
					5
					6
					7
					8
					9
					10
					11
					12
					13
					14
					15
					16
					17
					18
					19
					20
					21
					22
					23
					24
					25 26
					26
					28
					29
					30
					30

Name of	Respondent	This Report Is:	Date of Report	Year of Report
Presque	Isle Electric & Gas Co-op	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
i resque	isic Licclife & Gas Go-op	(2) [] A Resubmission	4/30/2022	12/01/2021
	REVENUES F	FROM STORING GAS OF OTHER	S NATURAL GAS (Account 4	89.4)
		oncerning revenue from storage	4. In column (a) include the na	
	ondent) of natural gas for other	rs. Subdivide revenue by	from which revenues were der	
ıntrastai	te or interstate entities.		delivery, and names of compareceived and to which delivere	
2. Natur	ral gas means either natural ga	as unmixed or any mixture of	order or regulation authorizing	
	and manufactured gas.	,	Separate out the various custo	
			revenues by individual rate sch	nedule.
	r the average number of custo	mers per company and/or by		
rate sch	ledule.			
	Name of Company		Average	Mcf
Line	Name of Company (Designate associated compa	nies with an asterisk)	Number of Customers	of Gas Injected
No.	(2001g) late accounted compa	miles militari deterion,	per Month	o. oaogostoa
	(a)		(b)	(c)
1				
2	NOT APPLICABLE			
3				
4				
5				
6				
7				
8				
9				
10 11				
12				
13				
14				
15				
16				
17				
18				
19				
20				
21				
22				
23				
24				
25				
26				
27				
28				
29				
30				
TOTAL				

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
Co-op	(2) [] A Resubmission	4/30/2022	12/31/2021

REVENUES FROM STORING OF GAS OF OTHERS-- NATURAL GAS (Acct. 489.4) (Cont'd)

- 4. Designate points of receipt and delivery so that they can be identified on map of the respondent's pipe line system.
- 5. Enter Mcf at 14.65 psia at 60 degrees F.
- 6. Minor items (less than 1,000,000 Mcf) may be grouped.

Mcf of Gas Withdrawn (d)	Revenue (e)	Average Revenue per Mcf of Gas Injected/Withdrawn (in cents) (f)	FERC Tariff Rate Schedule Designation (g)	Line No.
	(/	()	(6)	1
				2
				3
				4
				5
				6
				7
				8
				9
				10
				11
				12
				13
				14
				15
				16
				17
				18
				19
				20
				21
				22
				23
				24
				25
				26
				27
				28
				29
				30

Name of Respondent		•		Date of Report	Year of Report
Presa	ue Isle Electric & Gas Co-op	(1) [X] An Original		(Mo, Da, Yr)	12/31/2021
	•	. , ,	esubmission	4/30/2022	
	SALES OF PRODUCTS EX	XTRACTED		•	
	port particulars (details) concerning sales of			ers are numerous,	
-	ne, butane, propane, and other products extra			•	Show the number of
	atural gas, including sales or any such produ	cts		•	tely, however, sales to
which	may have been purchased from others for				associated at the time
resale		•	the application s	ales contracts were	made.
					Sales
					Amount per
Line	Name of Purchaser	Name of	Quantity	Amount of Sales	Gallon
No.	(Designate associated companies	Product	(In gallons)	(In dollars)	(In cents)
	with an asterisk)				(d + c)
-1	(a)	(b)	(c)	(d)	(e)
1 2	NOT APPLICABLE				
3	NOT ALL EIGABLE				
4					
5					
6 7					
8					
9					
10 11					
12					
13					
14					
15 16					
17					
	REVENUES FROM NATUR				
	port particulars (details) concerning royalties				processed by others
	revenues derived from permission granted to right to remove products from the responder				d no revenue therefrom lete only columns (a) and
natura	- ·	11.5			ne contract in column (a).
			,	Mcf of	
				Respondent's	
Line	Name of Processor and Descript			Gas Processed	Revenue
No.	(Designate associated companie	s with an ast	erisk)	(14.73 psia	(in dollars)
	(a)			at 60°F) (b)	(c)
1	(4)			(-)	(5)
2					
3					
4 5					
6					
7					
8					
9 10					
11					
12					
13					
14 15					
16					

BLANK PAGE

Name of	Name of Respondent This Report Is: Date of Report Year of Report					
	(1) [X] An Original	(Mo, Da, Yr)	·			
Presque	Isle Electric & Gas Co-op (2) A Resubmission	4/30/2022	12/31/2021			
	GAS OPERATION AND MAINTENANCE EXPENSI	I .				
GAS OFERATION AND INAINTENANCE EXPENSES						
If the	amount for previous year is not derived from previously reported figures, explain in fo	ootnotes.				
		Amount for	Amount for			
Line	Account	Current Year	Previous Year			
No.	, 10003.11		1 1011040 1041			
	(a)	(b)	(c)			
4						
1	1. PRODUCTION EXPENSES					
2	A. Manufactured Gas Production					
3	Manufactured Gas Production (Submit Supplemental Statement)	_				
4	B. Natural Gas Production					
5	B1. Natural Gas Production and Gathering					
6	Operation	1				
7 8	750 Operation Supervision and Engineering 751 Production Maps and Records					
9	751 Production Maps and Records 752 Gas Wells Expenses	+				
10	753 Field Lines Expenses					
11	754 Field Compressor Station Expenses					
12	755 Field Compressor Station Fuel and Power					
13	756 Field Measuring and Regulating Station Expenses					
14	757 Purification Expenses					
15	758 Gas Well Royalties					
16	759 Other Expenses					
17	760 Rents					
18	TOTAL Operation (Enter Total of lines 7 thru 17)					
19	Maintenance					
20	761 Maintenance Supervision and Engineering					
21	762 Maintenance of Structures and Improvements					
22	763 Maintenance of Producing Gas Wells					
23 24	764 Maintenance of Field Compressor Station Equipment					
25	765 Maintenance of Field Compressor Station Equipment 766 Maintenance of Field Meas. and Req. Sta. Equipment					
26	760 Maintenance of Pield Meas, and Req. Sta. Equipment					
27	768 Maintenance of Prilling and Cleaning Equipment					
28	769 Maintenance of Other Equipment					
29	TOTAL Maintenance (Enter Total of lines 20 thru 28)					
30	TOTAL Natural Gas Production and Gathering (Total of Lines 18 and 29)					
31	B2. Products Extraction					
32	Operation					
33	770 Operation Supervision and Engineering					
34	771 Operation Labor					
35	772 Gas Shrinkage					
36	773 Fuel					
37	774 Power 775 Materials					
38 39	775 Materials 776 Operation Supplies and Expenses					
40	770 Operation Supplies and Expenses 777 Gas Processed by Others	1				
41	778 Royalties on Products Extracted					
42	779 Marketing Expenses					
43	780 Products Purchased for Resale	1				
44	781 Variation in Products Inventory					
45	(Less) 782 Extracted Products Used by the UtilityCredit					
46	783 Rents					
47	TOTAL Operation (Enter Total of lines 33 thru 46)					
		· · · · · · · · · · · · · · · · · · ·				

Name of	Respondent This Report Is:	Date of Report	Year of Report
D	(1) [X] An Original	(Mo, Da, Yr)	•
Presque	Isle Electric & Gas Co-op (1) A Resubmission	4/30/2022	12/31/2021
	GAS OPERATION AND MAINTENANCE EXPENSES (Co	ntinued)	I
		T	
		Amount for	Amount for
Line	Account	Current Year	Previous Year
No.	Account	Carrone roar	1 TOVIOGO TOGI
	(a)	(b)	(c)
	B2. Products Extraction (Continued)	(2)	(0)
48	Maintenance		
49	784 Maintenance and Supervision and Engineering		
50	785 Maintenance of Structures and Improvements		
51	786 Maintenance of Extraction and Refining Equipment		
52	787 Maintenance of Pipe Lines		
53	788 Maintenance of Extracted Products Storage Equipment		
54	789 Maintenance of Compressor Equipment		
55	790 Maintenance of Gas Measuring and Reg. Equipment		
56	791 Maintenance of Other Equipment		
57 58	TOTAL Maintenance (Enter Total of lines 49 thru 56)		
59	TOTAL Products Extraction (Enter Total of lines 47 and 57) C. Exploration and Development		
60	Operation		
61	795 Delay Rentals		
62	796 Nonproductive Well Drilling		
63	797 Abandoned Leases		
64	798 Other Exploration		
65	TOTAL Exploration and Development (Enter Total of lines 61 thru 64)		
	D. Other Gas Supply Expenses		
66	Operation		
67	800 Natural Gas Well Head Purchases		
68	800.1 Natural Gas Well Head Purchases, Intracompany Transfers		
69	801 Natural Gas Field Line Purchases		
70 71	802 Natural Gas Gasoline Plant Outlet Purchases 803 Natural Gas Transmission Line Purchases		
72	804 Natural Gas City Gate Purchases	3,259,752	3,361,165
73	804.1 Liquefied Natural Gas Purchases	3,239,732	3,301,103
74	805 Other Gas Purchases		
75	(Less) 805.1 Purchased Gas Cost Adjustments		
76			
77	TOTAL Purchased Gas (Enter Total of lines 67 to 75)	3,259,752	3,361,165
78	806 Exchange Gas		
	Purchased Gas Expenses		
80	807.1 Well Expenses Purchased Gas		
81	807.2 Operation of Purchased Gas Measuring Stations		
82	807.3 Maintenance of Purchased Gas Measuring Stations		
83 84	807.4 Purchased Gas Calculations Expenses 807.5 Other Purchased Gas Expenses TRANSPORTATION	710 005	716 615
85 85	807.5 Other Purchased Gas Expenses TRANSPORTATION TOTAL Purchased Gas Expenses (Enter Total of lines 80 thru 84)	719,895 719,895	716,615 716,615
86	808.1 Gas Withdrawn from StorageDebit	1 15,050	1 10,010
87	(Less) 808.2 Gas Delivered to StorageCredit		
88	809.1 Withdrawals of Liquefied Natural Gas for ProcessingDebt	†	
89	(Less) 809.2 Deliveries of Natural Gas for Processing-Credit		
90	Gas Used in Utility OperationsCredit		·
91	810 Gas Used for Compressor Station FuelCredit		
92	811 Gas Used for Products ExtractionCredit		
93	812 Gas Used for Other Utility OperationsCredit		
94	TOTAL Gas Used in Utility OperationsCredit (Total of lines 91 thru 93)	0	0
95	813 Other Gas Supply Expenses	68,307	66,248
96	TOTAL Other Gas Supply Exp (Total of lines 77, 78, 85, 86 thru 89, 94, 95)	4,047,954	4,144,028
97	TOTAL Production Expenses (Enter Total of lines 3, 30, 58, 65 and 96)	4,047,954	4,144,028

Name of	Respondent This Report Is:	Date of Report	Year of Report
	(1) [X] An Original		·
Presque	Isle Electric & Gas Co-op (2) A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021
	GAS OPERATION AND MAINTENANCE EXPENSES (C		
	GAS OPERATION AND MAINTENANCE EXPENSES (CO	onunueu)	1
		Amount for	Amount for
Line	Account	Current Year	Previous Year
No.			
	(a)	(b)	(c)
00	2. NATURAL GAS STORAGE, TERMINALING AND		
98	PROCESSING EXPENSES		
99	A. Underground Storage Expenses		
100	Operation		
101	814 Operation Supervision and Engineering		
102	815 Maps and Records		
103	816 Wells Expenses		
104	817 Lines Expense		
105	818 Compressor Station Expenses		
106	819 Compressor Station Fuel and Power		
107	820 Measuring and Regulating Station Expenses		
108	821 Purification Expenses		
109	822 Exploration and Development		
110	823 Gas Losses		
111	824 Other Expenses		
112	825 Storage Well Royalties		
113	826 Rents		
114	TOTAL Operation (Enter Total of lines 101 thru 113)		
	Maintenance		
116	830 Maintenance Supervision and Engineering		
117	831 Maintenance of Structures and Improvements		
118	832 Maintenance of Reservoirs and Wells		
119	833 Maintenance of Lines		
120	834 Maintenance of Compressor Station Equipment		
121	835 Maintenance of Measuring and Regulating Station Equipment		
122	836 Maintenance of Purification Equipment		
123	837 Maintenance of Other Equipment		
124	TOTAL Maintenance (Enter Total of lines 116 thru 123)		
125	TOTAL Underground Storage Expenses (<i>Total of lines 114 and 124</i>) B. Other Storage Expenses		
126 127	Operation		
128	840 Operation Supervision and Engineering		
129	841 Operation Labor and Expenses		
130	842 Rents		
131	842.1 Fuels		
132	842.2 Power		
133	842.3 Gas Losses		
134	TOTAL Operation (Enter Total of lines 128 thru 133)		
135	Maintenance		
136	843.1 Maintenance Supervision and Engineering		
137	843.2 Maintenance of Structure and Improvements		
138	843.3 Maintenance of Gas Holders		
139	843.4 Maintenance of Purification Equipment		
140	843.5 Maintenance of Liquefaction Equipment		
141	843.6 Maintenance of Vaporizing Equipment		
142	843.7 Maintenance of Compressor Equipment		
143	843.8 Maintenance of Measuring and Regulating Equipment		
144	843.9 Maintenance of Other Equipment		
145	TOTAL Maintenance (Enter Total of lines 136 thru 144)	_	
146	TOTAL Other Storage Expenses (Enter Total of lines 134 and 145)		

Presque Islé Electric & Gas Co-op	Name of	Respondent This Report Is:	Date of Report	Year of Report				
Annount for Current Year		(1) [X] An Original	_	•				
Line No. Account (a) Account (b) Current Year C. Liquefied Natural Gas Terminating and Processing Expenses (b) Amount for Current Year C. Liquefied Natural Gas Terminating and Processing Expenses (c) 440 Account Account Coperation B441. Operation Supervision and Engineering B442. LING Processing Terminal Labor and Expenses B443. Liquefaction Processing Labor and Expenses B443. Liquefaction Transportation Labor and Expenses B444. Eugerafaction Transportation Labor and Expenses B445. Measuring and Regulating Labor and Expenses B446. Compressor Station Labor and Expenses B447. Communication System Expenses B448. System Control and Load Dispatching B448. System Control and Load Dispatching B459. B445. Rents B450. B448. System Control and Load Dispatching B451. Fuel B451. B452. Power B452. Power B459. B453. Rents B450. B454. Demurrage Charges B451. B454. Demurrage Charges B451. B454. Demurrage Charges B451. B454. Demurrage Charges B451. B454. Compressor Station Labor and Expenses B451. B454. Demurrage Charges B452. Power B453. B454. Demurrage Charges B454. Demurrage Charges B455. Processing Luquefied or Vaporized Gas by Others B456. B466. B46	Presque		1 '	12/31/2021				
Line No. Account (a) Account (b) Current Year C. Liquefied Natural Gas Terminating and Processing Expenses (b) Amount for Current Year C. Liquefied Natural Gas Terminating and Processing Expenses (c) 440 Account Account Coperation B441. Operation Supervision and Engineering B442. LING Processing Terminal Labor and Expenses B443. Liquefaction Processing Labor and Expenses B443. Liquefaction Transportation Labor and Expenses B444. Eugerafaction Transportation Labor and Expenses B445. Measuring and Regulating Labor and Expenses B446. Compressor Station Labor and Expenses B447. Communication System Expenses B448. System Control and Load Dispatching B448. System Control and Load Dispatching B459. B445. Rents B450. B448. System Control and Load Dispatching B451. Fuel B451. B452. Power B452. Power B459. B453. Rents B450. B454. Demurrage Charges B451. B454. Demurrage Charges B451. B454. Demurrage Charges B451. B454. Demurrage Charges B451. B454. Compressor Station Labor and Expenses B451. B454. Demurrage Charges B452. Power B453. B454. Demurrage Charges B454. Demurrage Charges B455. Processing Luquefied or Vaporized Gas by Others B456. B466. B46		1,7	<u> </u>	1				
Account								
No. Account (a) (b) (c) 147			Amount for	Amount for				
(a) C. Liquefied Natural Gas Terminaling and Processing Expenses Operation 148		Account	Current Year	Previous Year				
148	No.							
149		(a)	(b)	(c)				
149	147	C. Liquefied Natural Gas Terminating and Processing Expenses						
1510 844.2 LING Processing Terminal Labor and Expenses 1511 844.3 Liquefaction Processing Labor and Expenses 152 844.4 Liquefaction Transportation Labor and Expenses 153 844.5 Measuring and Regulating Labor and Expenses 154 844.6 Compressor Station Labor and Expenses 155 844.7 Communication System Expenses 156 844.8 System Control and Load Dispatching 157 845.1 Fuel	148	'						
151	149	·						
152								
153 844.5 Measuring and Regulating Labor and Expenses 154 844.6 Compressor Station Labor and Expenses 155 844.7 Communication System Expenses 156 844.8 System Control and Load Dispatching 157 845.1 Fuel 158 845.2 Power 159 845.3 Rents 160 845.4 Demurage Charges 161 (Less) 845.5 Wharfage Receipts—Credit 162 845.6 Processing Liquefied or Vaporized Gas by Others 163 846.1 Gas Losses 164 846.2 Other Expenses 165 TOTAL Operating (Enter Total of lines 149 thru 164) 166 Maintenance 167 847.1 Maintenance Supervision and Engineering 168 847.2 Maintenance of Structures and Improvements 169 847.3 Maintenance of LNG Transportation Equipment 170 847.4 Maintenance of LNG Transportation Equipment 171 847.5 Maintenance of Compressor Station Equipment 172 847.6 Maintenance of Compressor Station Equipment 173 847.7 Maintenance of Compressor Station Equipment 174 847.8 Maintenance Of Compressor Stat	151							
154 844.6 Compressor Station Labor and Expenses 155 844.7 Communication System Expenses 156 844.8 System Control and Load Dispatching 157 845.1 Fuel 158 845.2 Power 159 845.3 Rents 160 845.4 Demurrage Charges 161 (Less) 845.5 Wharfage ReceiptsCredit 162 845.6 Processing Liqueffed or Vaporized Gas by Others 163 846.1 Gas Losses 164 846.2 Other Expenses 165 TOTAL Operating (Enter Total of lines 149 thru 164) Maintenance Maintenance 167 847.1 Maintenance Supervision and Engineering 168 847.2 Maintenance of LNG Processing Terminal Equipment 170 847.3 Maintenance of LNG Processing Terminal Equipment 171 847.5 Maintenance of LNG Processing Terminal Equipment 172 847.6 Maintenance of Compressor Station Equipment 173 847.7 Maintenance of Compressor Station Equipment 174 847.8 Maintenance of Compressor Station Equipment 175 TOTAL Maintenance (Enter Total of lines 167 thru 174) 176 TOTAL								
155 844.7 Communication System Expenses 156 844.8 System Control and Load Dispatching 157 845.1 Fuel 158 845.2 Power 169 845.3 Rents 160 845.4 Demurrage Charges 161 (Less) 845.5 Wharfage ReceiptsCredit 162 845.6 Processing Liquefied or Vaporized Gas by Others 163 846.1 Gas Losses 164 846.2 Other Expenses 165 TOTAL Operating (Enter Total of lines 149 thru 164) 166 Maintenance 167 847.1 Maintenance Supervision and Engineering 168 847.2 Maintenance of Structures and Improvements 169 847.3 Maintenance of LNG Transportation Equipment 170 847.4 Maintenance of LNG Transportation Equipment 171 847.5 Maintenance of Compressor Station Equipment 172 847.6 Maintenance of Other Equipment 173 847.7 Maintenance of Other Equipment 174 847.8 Maintenance of Other Equipment 175 TOTAL Maintenance (Enter Total of lines 167 thru 174) 176 TOTAL Inquefied Nat Gas Terminating and Processing Exp (Lines								
156		·						
157 845.1 Fuel 158 845.2 Power 159 845.3 Rents 160 845.4 Demurrage Charges 161 (Less) 845.5 Wharfage Receipts—Credit 162 845.6 Processing Liquefied or Vaporized Gas by Others 163 846.1 Gas Losses 164 846.2 Other Expenses 165 TOTAL Operating (Enter Total of lines 149 thru 164) 166 Maintenance 167 847.1 Maintenance Supervision and Engineering 168 847.2 Maintenance of LNG Processing Terminal Equipment 170 847.3 Maintenance of LNG Transportation Equipment 171 847.5 Maintenance of LNG Transportation Equipment 172 847.6 Maintenance of Compressor Station Equipment 173 847.5 Maintenance of Communication Equipment 174 847.8 Maintenance of Communication Equipment 175 TOTAL Maintenance of Communication Equipment 176 TOTAL Maintenance of Chere Total of lines 167 thru 174) 177 TOTAL Idjuefied Nat Gas Terminating and Processing Exp (Lines 165 & 175) 177 TOTAL Satural Gas Storage (Enter Total of lines 125, 146 and 176)								
158 845.3 Power 159 845.3 Rents 160 845.4 Demurrage Charges 161 (Less) 845.5 Wharfage ReceiptsCredit 162 845.6 Processing Liquefied or Vaporized Gas by Others 163 846.1 Gas Losses 164 846.2 Other Expenses 165 TOTAL Operating (Enter Total of lines 149 thru 164) 166 Maintenance 167 847.1 Maintenance Supervision and Engineering 168 847.2 Maintenance of Structures and Improvements 169 847.3 Maintenance of Structures and Improvements 169 847.3 Maintenance of Structures and Improvements 170 847.4 Maintenance of LNG Processing Terminal Equipment 171 847.5 Maintenance of Measuring and Regulating Equipment 172 847.6 Maintenance of Compressor Station Equipment 173 847.7 Maintenance of Communication Equipment 174 847.8 Maintenance of Other Equipment 175 TOTAL Maintenance (Enter Total of lines 167 thru 174) 176 TOTAL Natural Gas Storage (Enter Total of lines 168 thru 174) 177 TOTAL Natural Gas Storage (Enter Total of lines 125, 146 and 176) </td <td></td> <td></td> <td></td> <td></td>								
159								
160								
161								
162 845.6 Processing Liquefied or Vaporized Gas by Others 163 346.1 Gas Losses 164 846.2 Other Expenses 165 TOTAL Operating (Enter Total of lines 149 thru 164) 166 Maintenance 167 347.1 Maintenance Supervision and Engineering 168 847.2 Maintenance of Structures and Improvements 169 347.3 Maintenance of LNG Processing Terminal Equipment 170 847.4 Maintenance of LNG Transportation Equipment 171 347.5 Maintenance of Measuring and Regulating Equipment 172 847.6 Maintenance of Compressor Station Equipment 173 347.7 Maintenance of Other Equipment 174 847.8 Maintenance (Inter Total of lines 167 thru 174) 175 TOTAL Maintenance (Enter Total of lines 167 thru 174) 176 TOTAL Liquefied Nat Gas Terminating and Processing Exp (Lines 165 & 175) 177 TOTAL Natural Gas Storage (Enter Total of lines 125, 146 and 176) 178 3. TRANSMISSION EXPENSES 179 Operation 180 850 Operation Supervision and Engineering 181 851 System Control and Load Dispatching <tr< td=""><td></td><td></td><td></td><td></td></tr<>								
163 846.1 Gas Losses 164 846.2 Other Expenses 165 TOTAL Operating (Enter Total of lines 149 thru 164) 166 Maintenance 167 847.1 Maintenance Supervision and Engineering 168 847.2 Maintenance of ENG Processing Terminal Equipment 170 847.3 Maintenance of LNG Transportation Equipment 171 847.5 Maintenance of LNG Transportation Equipment 172 847.6 Maintenance of Compressor Station Equipment 173 847.7 Maintenance of Communication Equipment 174 847.8 Maintenance of Other Equipment 175 TOTAL Maintenance (Enter Total of lines 167 thru 174) 176 TOTAL Liquefied Nat Gas Terminating and Processing Exp (Lines 165 & 175) 177 TOTAL Natural Gas Storage (Enter Total of lines 125, 146 and 176) 178 3. TRANSMISSION EXPENSES 179 Operation 180 850 Operation Supervision and Engineering 181 851 System Control and Load Dispatching 182 852 Communication System Expenses 183 853 Compressor Station Labor and Expenses 184 854 Gas for Compressor Station Fuel		, ,						
164 846.2 Other Expenses 165 TOTAL Operating (Enter Total of lines 149 thru 164) 166 Maintenance 167 847.1 Maintenance Supervision and Engineering 168 847.2 Maintenance of Structures and Improvements 169 847.3 Maintenance of LNG Processing Terminal Equipment 170 847.4 Maintenance of LNG Transportation Equipment 171 847.5 Maintenance of Measuring and Regulating Equipment 172 847.6 Maintenance of Compressor Station Equipment 173 847.7 Maintenance of Communication Equipment 174 847.8 Maintenance of Other Equipment 175 TOTAL Maintenance (Enter Total of lines 167 thru 174) 176 TOTAL Liquefied Nat Gas Terminating and Processing Exp (Lines 165 & 175) 177 TOTAL Natural Gas Storage (Enter Total of lines 125, 146 and 176) 178 3. TRANSMISSION EXPENSES 179 Operation 180 850 Operation Supervision and Engineering 181 851 System Control and Load Dispatching 182 852 Communication System Expenses 183 853 Compressor Station Fuel		· · · ·						
TOTAL Operating (Enter Total of lines 149 thru 164)								
166 Maintenance 167 847.1 Maintenance Supervision and Engineering 168 847.2 Maintenance of Structures and Improvements 169 847.3 Maintenance of LNG Processing Terminal Equipment 170 847.4 Maintenance of LNG Transportation Equipment 171 847.5 Maintenance of Measuring and Regulating Equipment 172 847.6 Maintenance of Compressor Station Equipment 173 847.7 Maintenance of Compressor Station Equipment 174 847.8 Maintenance of Communication Equipment 175 TOTAL Maintenance of Other Equipment 176 TOTAL Maintenance (Enter Total of lines 167 thru 174) 176 TOTAL Liquefied Nat Gas Terminating and Processing Exp (Lines 165 & 175) 177 TOTAL Natural Gas Storage (Enter Total of lines 125, 146 and 176) 178 3. TRANSMISSION EXPENSES 179 Operation 180 850 Operation Supervision and Engineering 181 851 System Control and Load Dispatching 182 852 Communication System Expenses 183 853 Compressor Station Labor and Expenses 184 854 Gas for Compressor Station Fuel 185 855 Other Fuel and Power for Compressor Stations 186 856 Mains Expenses 187 Measuring and Regulating Station Expenses 188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses								
167 847.1 Maintenance Supervision and Engineering 168 847.2 Maintenance of Structures and Improvements 169 847.3 Maintenance of LNG Processing Terminal Equipment 170 847.4 Maintenance of LNG Transportation Equipment 171 847.5 Maintenance of Measuring and Regulating Equipment 172 847.6 Maintenance of Compressor Station Equipment 173 847.7 Maintenance of Communication Equipment 174 847.8 Maintenance of Other Equipment 175 TOTAL Maintenance of Other Equipment 176 TOTAL Maintenance (Enter Total of lines 167 thru 174) 177 TOTAL Natural Gas Storage (Enter Total of lines 125, 146 and 176) 178 3. TRANSMISSION EXPENSES 179 Operation 180 850 Operation Supervision and Engineering 181 851 System Control and Load Dispatching 182 852 Communication System Expenses 183 853 Compressor Station Labor and Expenses 184 854 Gas for Compressor Station Fuel 185 855 Other Fuel and Power for Compressor Stations 186 856 Mains Expenses 187 857 Measuring and Regulating Station Expenses 188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses								
168 847.2 Maintenance of Structures and Improvements 169 847.3 Maintenance of LNG Processing Terminal Equipment 170 847.4 Maintenance of LNG Transportation Equipment 171 847.5 Maintenance of Measuring and Regulating Equipment 172 847.6 Maintenance of Compressor Station Equipment 173 847.7 Maintenance of Compressor Station Equipment 174 847.8 Maintenance of Communication Equipment 175 TOTAL Maintenance (Enter Total of lines 167 thru 174) 176 TOTAL Liquefied Nat Gas Terminating and Processing Exp (Lines 165 & 175) 177 TOTAL Natural Gas Storage (Enter Total of lines 125, 146 and 176) 178 3. TRANSMISSION EXPENSES 179 Operation 180 850 Operation Supervision and Engineering 181 851 System Control and Load Dispatching 182 852 Communication System Expenses 183 853 Compressor Station Labor and Expenses 184 854 Gas for Compressor Station Fuel 185 855 Other Fuel and Power for Compressor Stations 186 856 Mains Expenses 187 Measuring and Regulating Station Expenses 188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses								
169 847.3 Maintenance of LNG Processing Terminal Equipment 170 847.4 Maintenance of LNG Transportation Equipment 171 847.5 Maintenance of Measuring and Regulating Equipment 172 847.6 Maintenance of Compressor Station Equipment 173 847.7 Maintenance of Communication Equipment 174 847.8 Maintenance of Other Equipment 175 TOTAL Maintenance (Enter Total of lines 167 thru 174) 176 TOTAL Liquefied Nat Gas Terminating and Processing Exp (Lines 165 & 175) 177 TOTAL Natural Gas Storage (Enter Total of lines 125, 146 and 176) 178 3. TRANSMISSION EXPENSES 179 Operation 180 850 Operation Supervision and Engineering 181 851 System Control and Load Dispatching 182 852 Communication System Expenses 183 853 Compressor Station Labor and Expenses 184 854 Gas for Compressor Station Fuel 185 855 Other Fuel and Power for Compressor Stations 186 856 Mains Expenses 187 Measuring and Regulating Station Expenses 188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses								
170 847.4 Maintenance of LNG Transportation Equipment 171 847.5 Maintenance of Measuring and Regulating Equipment 172 847.6 Maintenance of Compressor Station Equipment 173 847.7 Maintenance of Communication Equipment 174 847.8 Maintenance of Other Equipment 175 TOTAL Maintenance (Enter Total of lines 167 thru 174) 176 TOTAL Liquefied Nat Gas Terminating and Processing Exp (Lines 165 & 175) 177 TOTAL Natural Gas Storage (Enter Total of lines 125, 146 and 176) 178 3. TRANSMISSION EXPENSES 179 Operation 180 850 Operation Supervision and Engineering 181 851 System Control and Load Dispatching 182 852 Communication System Expenses 183 853 Compressor Station Labor and Expenses 184 854 Gas for Compressor Station Fuel 185 855 Other Fuel and Power for Compressor Stations 186 856 Mains Expenses 187 Measuring and Regulating Station Expenses 188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses								
171 847.5 Maintenance of Measuring and Regulating Equipment 172 847.6 Maintenance of Compressor Station Equipment 173 847.7 Maintenance of Communication Equipment 174 847.8 Maintenance of Other Equipment 175 TOTAL Maintenance (Enter Total of lines 167 thru 174) 176 TOTAL Liquefied Nat Gas Terminating and Processing Exp (Lines 165 & 175) 177 TOTAL Natural Gas Storage (Enter Total of lines 125, 146 and 176) 178 3. TRANSMISSION EXPENSES 179 Operation 180 850 Operation Supervision and Engineering 181 851 System Control and Load Dispatching 182 852 Communication System Expenses 183 853 Compressor Station Labor and Expenses 184 854 Gas for Compressor Station Fuel 185 855 Other Fuel and Power for Compressor Stations 186 856 Mains Expenses 187 Measuring and Regulating Station Expenses 188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses								
172 847.6 Maintenance of Compressor Station Equipment 173 847.7 Maintenance of Communication Equipment 174 847.8 Maintenance of Other Equipment 175 TOTAL Maintenance (Enter Total of lines 167 thru 174) 176 TOTAL Liquefied Nat Gas Terminating and Processing Exp (Lines 165 & 175) 177 TOTAL Natural Gas Storage (Enter Total of lines 125, 146 and 176) 178 3. TRANSMISSION EXPENSES 179 Operation 180 850 Operation Supervision and Engineering 181 851 System Control and Load Dispatching 182 852 Communication System Expenses 183 853 Compressor Station Labor and Expenses 184 854 Gas for Compressor Station Fuel 185 855 Other Fuel and Power for Compressor Stations 186 856 Mains Expenses 187 Measuring and Regulating Station Expenses 188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses								
173 847.7 Maintenance of Communication Equipment 174 847.8 Maintenance of Other Equipment 175 TOTAL Maintenance (Enter Total of lines 167 thru 174) 176 TOTAL Liquefied Nat Gas Terminating and Processing Exp (Lines 165 & 175) 177 TOTAL Natural Gas Storage (Enter Total of lines 125, 146 and 176) 178 3. TRANSMISSION EXPENSES 179 Operation 180 850 Operation Supervision and Engineering 181 851 System Control and Load Dispatching 182 852 Communication System Expenses 183 853 Compressor Station Labor and Expenses 184 854 Gas for Compressor Station Fuel 185 855 Other Fuel and Power for Compressor Stations 186 856 Mains Expenses 187 Measuring and Regulating Station Expenses 188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses								
174 847.8 Maintenance of Other Equipment 175 TOTAL Maintenance (Enter Total of lines 167 thru 174) 176 TOTAL Liquefied Nat Gas Terminating and Processing Exp (Lines 165 & 175) 177 TOTAL Natural Gas Storage (Enter Total of lines 125, 146 and 176) 178 3. TRANSMISSION EXPENSES 179 Operation 180 850 Operation Supervision and Engineering 181 851 System Control and Load Dispatching 182 852 Communication System Expenses 183 853 Compressor Station Labor and Expenses 184 854 Gas for Compressor Station Fuel 185 855 Other Fuel and Power for Compressor Stations 186 856 Mains Expenses 187 857 Measuring and Regulating Station Expenses 188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses								
TOTAL Maintenance (Enter Total of lines 167 thru 174) TOTAL Liquefied Nat Gas Terminating and Processing Exp (Lines 165 & 175) TOTAL Natural Gas Storage (Enter Total of lines 125, 146 and 176) 3. TRANSMISSION EXPENSES Operation 850 Operation Supervision and Engineering 181 851 System Control and Load Dispatching 182 852 Communication System Expenses 183 853 Compressor Station Labor and Expenses 184 854 Gas for Compressor Station Fuel 185 855 Other Fuel and Power for Compressor Stations 186 856 Mains Expenses 187 857 Measuring and Regulating Station Expenses 188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses		' '						
TOTAL Liquefied Nat Gas Terminating and Processing Exp (Lines 165 & 175) TOTAL Natural Gas Storage (Enter Total of lines 125, 146 and 176) 178 3. TRANSMISSION EXPENSES 179 Operation 180 850 Operation Supervision and Engineering 181 851 System Control and Load Dispatching 182 852 Communication System Expenses 183 853 Compressor Station Labor and Expenses 184 854 Gas for Compressor Station Fuel 185 855 Other Fuel and Power for Compressor Stations 186 856 Mains Expenses 187 857 Measuring and Regulating Station Expenses 188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses								
TOTAL Natural Gas Storage (Enter Total of lines 125, 146 and 176) 178 3. TRANSMISSION EXPENSES 179 Operation 180 850 Operation Supervision and Engineering 181 851 System Control and Load Dispatching 182 852 Communication System Expenses 183 853 Compressor Station Labor and Expenses 184 854 Gas for Compressor Station Fuel 185 855 Other Fuel and Power for Compressor Stations 186 856 Mains Expenses 187 857 Measuring and Regulating Station Expenses 188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses 190 860 Rents			+					
178 3. TRANSMISSION EXPENSES 179 Operation 180 850 Operation Supervision and Engineering 181 851 System Control and Load Dispatching 182 852 Communication System Expenses 183 853 Compressor Station Labor and Expenses 184 854 Gas for Compressor Station Fuel 185 855 Other Fuel and Power for Compressor Stations 186 856 Mains Expenses 187 857 Measuring and Regulating Station Expenses 188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses 190 860 Rents								
179 Operation 180 850 Operation Supervision and Engineering 181 851 System Control and Load Dispatching 182 852 Communication System Expenses 183 853 Compressor Station Labor and Expenses 184 854 Gas for Compressor Station Fuel 185 855 Other Fuel and Power for Compressor Stations 186 856 Mains Expenses 187 857 Measuring and Regulating Station Expenses 188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses 190 860 Rents				,				
180850Operation Supervision and Engineering181851System Control and Load Dispatching182852Communication System Expenses183853Compressor Station Labor and Expenses184854Gas for Compressor Station Fuel185855Other Fuel and Power for Compressor Stations186856Mains Expenses187857Measuring and Regulating Station Expenses188858Transmission and Compression of Gas by Other189859Other Expenses190860Rents								
181851System Control and Load Dispatching182852Communication System Expenses183853Compressor Station Labor and Expenses184854Gas for Compressor Station Fuel185855Other Fuel and Power for Compressor Stations186856Mains Expenses187857Measuring and Regulating Station Expenses188858Transmission and Compression of Gas by Other189859Other Expenses190860Rents								
182852Communication System Expenses183853Compressor Station Labor and Expenses184854Gas for Compressor Station Fuel185855Other Fuel and Power for Compressor Stations186856Mains Expenses187857Measuring and Regulating Station Expenses188858Transmission and Compression of Gas by Other189859Other Expenses190860Rents								
183 853 Compressor Station Labor and Expenses 184 854 Gas for Compressor Station Fuel 185 855 Other Fuel and Power for Compressor Stations 186 856 Mains Expenses 187 857 Measuring and Regulating Station Expenses 188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses 190 860 Rents			1					
184 854 Gas for Compressor Station Fuel 185 855 Other Fuel and Power for Compressor Stations 186 856 Mains Expenses 187 857 Measuring and Regulating Station Expenses 188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses 190 860 Rents								
185 855 Other Fuel and Power for Compressor Stations 186 856 Mains Expenses 187 857 Measuring and Regulating Station Expenses 188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses 190 860 Rents			1					
186 856 Mains Expenses 187 857 Measuring and Regulating Station Expenses 188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses 190 860 Rents								
187 857 Measuring and Regulating Station Expenses 188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses 190 860 Rents		'						
188 858 Transmission and Compression of Gas by Other 189 859 Other Expenses 190 860 Rents		·						
189 859 Other Expenses 190 860 Rents								
190 860 Rents								
	191	TOTAL Operation (Enter Total of lines 180 thru 190)						

Name of	Respondent This Report Is:	Date of Report	Year of Report
Draggue	(1) [X] An Original	(Mo, Da, Yr)	10/21/2021
Presque	Isle Electric & Gas Co-op (2) [] A Resubmission	4/30/2022	12/31/2021
	GAS OPERATION AND MAINTENANCE EXPENSES (Conti	nued)	
Line		Amount for	Amount for
No.	Account	Current Year	Previous Year
110.		(1.)	()
	(a)	(b)	(c)
400	3. TRANSMISSION EXPENSES (Continued)	_	
	Maintenance 861 Maintenance Supervision and Engineering		
193			
194 195	862 Maintenance of Structures and Improvements 863 Maintenance of Mains		
195	864 Maintenance of Compressor Station Equipment		
196			
198	865 Maintenance of Measuring and Reg. Station Equipment 866 Maintenance of Communicating Equipment		
199	867 Maintenance of Other Equipment		
200	TOTAL Maintenance (Enter Total lines 193 thru 199)		
201	TOTAL Maintenance (Enter Total lines 193 tind 199) TOTAL Transmission Expenses (Enter Total of lines 191 and 200)		
202	4. DISTRIBUTION EXPENSES		
203	Operation		
203	870 Operation Supervision and Engineering	31,044	32,723
205	871 Distribution Load Dispatching	31,044	32,723
206	872 Compressor Station Labor and Expenses		
207	873 Compressor Station Fuel and Power		
208	874 Mains and Services Expenses	445,453	420,052
209	875 Measuring and Regulating Station ExpensesGeneral	30,306	26,274
210	876 Measuring and Regulating Station ExpensesIndustrial	00,000	20,271
211	877 Measuring and Regulating Station ExpensesCity Gate Check Station	129,933	137,663
212	878 Meter and House Regulator Expenses	124,177	79,586
213	879 Customer Installations Expenses	18,089	16,761
214	880 Other Expenses	34,486	29,787
215	881 Rents	3 1, 100	
216	TOTAL Operation (Enter Total of lines 204 thru 215	813,487	742,846
	Maintenance	,	, .
218	885 Maintenance Supervision and Engineering	8,485	9,046
219	886 Maintenance of Structures and Improvements	i i	·
220	887 Maintenance of Mains	25,850	28,028
221	888 Maintenance of Compressor Station Equipment		
222	889 Maintenance of Meas. and Reg. Sta. EquipGeneral	9,511	5,346
223	890 Maintenance of Meas. and Reg. Sta. EquipIndustrial		
224	891 Maintenance of Meas. and Reg. Sta. EquipCity Gate Check Station	25,239	20,787
225	892 Maintenance of Services	246,022	265,847
226	893 Maintenance of Meters and House Regulators	81,836	79,530
227	896 Maintenance of Other Equipment	0	0
228	TOTAL Maintenance (Enter Total lines 218 thru 227)	396,943	408,584
229	TOTAL Distribution Expenses (Enter Total lines 216 and 228)	1,210,430	1,151,429
230	CUSTOMER ACCOUNTS EXPENSES		
231	Operation		
232	901 Supervision	40,084	34,811
233	902 Meter Reading Expenses	191,708	189,523
234	903 Customer Records and Collection Expenses	514,295	419,654
235	904 Uncollectible Accounts	7,804	6,425
236	905 Miscellaneous Customer Accounts Expenses		
237	TOTAL Customer Accounts Expenses (Enter Total of lines 232 thru 236)	753,891	650,414

Name o	f Respondent	This Report Is:		Date of Report	Year of Report
	•	(1) [X] An Original		(Mo, Da, Yr)	•
Presque	e Isle Electric & Gas Co-op	(2) [] A Resubmission	on	4/30/2022	12/31/2021
	GAS OF	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	TENANCE EXPENSES (Continu		<u>,L</u>
	1		- Elivarde Ext Elioco (continu	Amount for	Amount for
Line		Account		Current Year	Previous Year
No.		Account		Current real	Fievious real
INO.		(a)		(b)	(c)
238	6 CUSTOMER S	ERVICE AND INFORM	ATIONAL EXPENSES	(b)	(0)
239	Operation		7.11.010.12.12.11.11.01.0		
240	907 Supervision				
241	908 Customer Assistance	Expenses		140	120
242	909 Informational and Ins	tructional Expenses		60,181	46,005
243	910 Miscellaneous Custo		ational Expenses		
244	TOTAL Customer Servic	e and Information Expe	nses (Lines 240 thru 243)	60,321	46,125
245		7. SALES EXPENSE	S		
246	Operation				
247	911 Supervision				
248	912 Demonstrating and S				
249	913 Advertising Expenses				
250	916 Miscellaneous Sales		= (1		
251	TOTAL Sales Expenses			0	0
252		TRATIVE AND GENER	RAL EXPENSES		
253	Operation Operation	C-l		400 440	220,020
254 255	920 Administrative and G			406,419	320,838
256	921 Office Supplies and E (Less) (922) Administrative		1 Or		<u> </u>
257	923 Outside Services Em		JCI.	52,552	93,397
258	924 Property Insurance	pioyeu		41,086	34,781
259	925 Injuries and Damage	2		41,000	34,701
260	926 Employee Pensions			53,110	64,883
261	927 Franchise Requirement			334	0 1,000
262	928 Regulatory Commiss			12,234	10,665
263	(Less) (929) Duplicate Ch			, -	1
264	930.1 General Advertising	Expenses			
265	930.2 Miscellaneous Gene			70,567	78,309
266	931 Rents			59,375	64,348
267	TOTAL Operation (Enter	Total of lines 254 thru	266)	695,676	667,220
268	Maintenance				
269	935 Maintenance of Gene			189,674	115,881
270	TOTAL Administrative ar		•	885,351	783,101
271	TOTAL Gas O. and M. E	xp (<i>Lines 97, 177, 201,</i>	229, 237, 244, 251, and 270)	6,957,946	6,775,097
		NUMBER OF GAS DE	PARTMENT EMPLOYEES		
1 The	data on number of employees s		construction employees in a fo	otnote	
	payroll period ending nearest to		3. The number of employees a		as
any payroll period ending 60 days before or after department from joint functions of combination utilities					
October 31. may be determined by estimate, on the basis of employee					
2. If the respondent's payroll for the reporting period equivalents. Show the estimated number of equivalent					
includes any special construction personnel, include such employees attributed to the gas department from joint					
employees on line 3, and show the number of such special functions.					
1. Payroll Period Ended (Date) 11/4/2021					
Total Regular Full-Time Employees 13					
3. Total Part-Time and Temporary Employees 3					
3а.	Employees with Joint Function	ns	47		
4. Tota	al Employees		63		

BLANK PAGE

Name o	f Respondent	This Report Is:	Date of Report	Year of Report
Presque	e Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021
	GAS OPER	ATION AND MAINTENANCE EXPEN	SES (NONMAJOR)	_
Line No.		Account	Amount for Current Year	Amount for Previous Year
1	1. P	RODUCTION EXPENSES		
2	A. Ma	anufactured Gas Production		
3	Manufactured Gas Prod. (Sul	omit Supplement Statement)		
4	В.	Natural Gas Production		
5	B.1. Natur	al Gas Production and Gathering		
6	Operation			
7	750 Operation Supervision	on and Engineering		
8	755 Field Compressor St	ation Fuel and Power		
9	758 Gas Well Royalties			
10	759 Other Expenses			
11	760 Rents			
12	TOTAL Operation (Total	of lines 7 thru 11)		
13	Maintenance			
14	763 Maintenance of Proc	lucing Gas Wells		
15	764 Maintenance of Field	Lines		
16	769.1 Maintenance of Oth	ner Plant		
17	TOTAL Maintenance (1	otal of lines 14 thru 16)		
18	TOTAL NG Production	and Gathering Expenses		
19				
20	В	.2. Products Extraction		
21	Operation			
22	776 Operation Supplies a	and Expenses		
23	Maintenance			
24	792 Maintenance of Proc	lucts Extraction Plant		
25	TOTAL Prod. Extraction	(Total lines 22 and 24)		
26				
27	C. Ex	ploration and Development		
28	Operation			
29	795 Delay Rentals			
30	796 Nonproductive Well	Drilling		
31	797 Abandoned Leases			
		4) B 000N	•	•

Name of	f Respondent This Report Is:	Date of Report	Year of Report
Presque	lsle Electric & Gas Co-op (1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021
	GAS OPERATION AND MAINTENANCE EXPENS	l l	
Line No.	Account	Amount for Current Year	Amount for Previous Year
32	798 Other Exploration		
33	799 Natural Gas Purchases		
34	TOTAL Expl. And Dev. (Total of lines 29 thru 33)		
35			
36	D. Other Gas Supply Expenses		
37	803.1 Off-system Gas Purchases		
38	805 Other Gas Purchases		
39	807 Purchased Gas Expenses		
40	808.1 Gas Withdrawn from Underground Storage-Debit		
41	808.2 Gas Delivered to Underground Storage-Credit		
42	812.1 Gas Used in Utility Operations-Credit		
43	813 Other Gas Supply Expenses		
44	813.1 Synthetic Gas Supply Expenses		
45	813.2 Gas Cost Recovery Expenses-Royalties		
46	TOTAL Other Gas Sup. Exp. (Total of lines 37 thru 45)		
47	TOTAL Production Exp. (Total of lines 3, 18, 25, 34 & 46)		
48			
49	2. NATURAL GAS STORAGE EXPENSE		
50	A. Underground Storage Expense		
51	Operation		
52	814 Operation Supervision and Engineering		
53	823 Gas Losses		
54	825 Storage Well Royalties		
55	826 Rents		
56	827 Operation Supplies and Expenses		
57	TOTAL Operation (Total of lines 52 thru 56)		
58	Maintenance		
59	832 Maintenance of Reservoirs and Wells		
60	838 Maint. of Other Underground Storage Plant		
61	TOTAL Maintenance (Total of lines 59 and 60)		
62	TOTAL Underground Stor. Exp. (Total of lines 57 & 61)		
	•	•	•

Presque see Electric & Gas Co-op (1) { X An Original (2) { 1,1 A Resubmission (4,30)(2022) } 12/31/2021	Name of	Respondent This Report Is:	Date of Report	Year of Report
Comparison	Presque	Isle Electric & Gas Co-op (1) [X] An Original (2) [1 A Resultation	(Mo, Da, Yr)	12/31/2021
Line No. Account Amount for Current Year Amount for Previous Year 63 B. Other Storage Expenses Image: Current Year Amount for Previous Year 64 348.4 Maintenance of Other Storage Plant Image: Current Year Image: Current Year 65 TOTAL Natural Gas Storage (Total of lines 62 & 65) Image: Current Year Image: Current Year 66 TOTAL Natural Gas Storage (Total of lines 62 & 65) Image: Current Year Image: Current Year 68 3. TRANSMISSION EXPENSES Image: Current Year Image: Current Year 69 Operation Image: Current Year Image: Current Year 70 850 Operation Supervision and Engineering Image: Current Year Image: Current Year 70 853 I Compressor Station Fuel and Power Image: Current Year Ima		1, 7		
63 B. Other Storage Expenses 64 848.4 Maintenance of Other Storage Plant 65 TOTAL Other Storage Expenses 66 TOTAL Natural Gas Storage (Total of lines 62 & 65) 67 68 3. TRANSMISSION EXPENSES 69 Operation 70 850 Operation Supervision and Engineering 71 853.1 Compressor Station Fuel and Power 72 857.1 Operation Supplies and Expenses 73 858 Transmission and Compression of Gas by Others 74 860 Rents 75 TOTAL Operation (Total of lines 70 thru 74) 76 Maintenance 77 863 Maintenance of Mains 78 864 Maintenance of Compressor Station Equipment 79 868 Maintenance of Other Plant 80 TOTAL Maintenance (Total of lines 77 thru 79) 81 TOTAL Transmission Exp. (Total of lines 75 and 80) 82 83 4. DISTRIBUTION EXPENSES 84 Operation 85 870 Operation Supervision and Engineering 86 874 Mains a	Line		<u> </u>	Amount for
64 848.4 Maintenance of Other Storage Plant 65 TOTAL Other Storage Expenses 66 TOTAL Natural Gas Storage (Total of lines 62 & 65) 67			Current Year	Previous Year
66 TOTAL Other Storage Expenses 66 TOTAL Natural Gas Storage (Total of lines 62 & 65) 67	63			
66 TOTAL Natural Gas Storage (Total of lines 62 & 65) 67	64	848.4 Maintenance of Other Storage Plant		
67 3. TRANSMISSION EXPENSES 68 3. TRANSMISSION EXPENSES 69 Operation 70 850 Operation Supervision and Engineering 71 853.1 Compressor Station Fuel and Power 72 857.1 Operation Supplies and Expenses 73 858 Transmission and Compression of Gas by Others 74 860 Rents 75 TOTAL Operation (Total of lines 70 thru 74) 76 Maintenance 77 863 Maintenance of Mains 78 864 Maintenance of Compressor Station Equipment 79 868 Maintenance of Other Plant 80 TOTAL Maintenance (Total of lines 77 thru 79) 81 TOTAL Transmission Exp. (Total of lines 75 and 80) 82 83 83 4. DISTRIBUTION EXPENSES 84 Operation 85 870 Operation Supervision and Engineering 86 874 Mains and Services Expenses 87 878 Meter and House Regulator Expenses 89 880.1 Miscellaneous Distribution Expenses 90 881 Rents 91 TOTAL Operation	65	TOTAL Other Storage Expenses		
68 3. TRANSMISSION EXPENSES 69 Operation 70 850 Operation Supervision and Engineering 71 853.1 Compressor Station Fuel and Power 72 857.1 Operation Supplies and Expenses 73 858 Transmission and Compression of Gas by Others 74 860 Rents 75 TOTAL Operation (Total of lines 70 thru 74) 76 Maintenance 77 863 Maintenance of Mains 78 864 Maintenance of Compressor Station Equipment 79 868 Maintenance of Other Plant 80 TOTAL Maintenance (Total of lines 77 thru 79) 81 TOTAL Transmission Exp. (Total of lines 75 and 80) 82 83 84 Operation 85 870 Operation Supervision and Engineering 86 874 Mains and Services Expenses 87 878 Meter and House Regulator Expenses 88 879 Customer Installations Expenses 89 880.1 Miscellaneous Distribution Expenses 90 881 Rents 91 TOTAL Operation (Total of lines 85 thru 90)	66	TOTAL Natural Gas Storage (Total of lines 62 & 65)		
69 Operation 70 850 Operation Supervision and Engineering 71 853.1 Compressor Station Fuel and Power 72 857.1 Operation Supplies and Expenses 73 858 Transmission and Compression of Gas by Others 74 860 Rents 75 TOTAL Operation (Total of lines 70 thru 74) 76 Maintenance 77 863 Maintenance of Mains 78 864 Maintenance of Compressor Station Equipment 79 868 Maintenance of Other Plant 80 TOTAL Maintenance (Total of lines 77 thru 79) 81 TOTAL Transmission Exp. (Total of lines 75 and 80) 82 83 84 Operation 85 870 Operation Supervision and Engineering 86 874 Mains and Services Expenses 87 878 Meter and House Regulator Expenses 88 879 Customer Installations Expenses 89 880.1 Miscellaneous Distribution Expenses 90 881 Rents 91 TOTAL Operation (Total of lines 85 thru 90)	67			
70 850 Operation Supervision and Engineering 71 853.1 Compressor Station Fuel and Power 72 857.1 Operation Supplies and Expenses 73 858 Transmission and Compression of Gas by Others 74 860 Rents 75 TOTAL Operation (Total of lines 70 thru 74) 76 Maintenance 77 863 Maintenance of Mains 78 864 Maintenance of Compressor Station Equipment 79 868 Maintenance of Other Plant 80 TOTAL Maintenance (Total of lines 77 thru 79) 81 TOTAL Transmission Exp. (Total of lines 75 and 80) 82 3 83 4. DISTRIBUTION EXPENSES 84 Operation 85 870 Operation Supervision and Engineering 86 874 Mains and Services Expenses 87 878 Meter and House Regulator Expenses 88 879 Customer Installations Expenses 89 880.1 Miscellaneous Distribution Expenses 90 881 Rents 91 TOTAL Operation (Total of lines 85 thru 90)	68	3. TRANSMISSION EXPENSES		
71 853.1 Compressor Station Fuel and Power 72 857.1 Operation Supplies and Expenses 73 858 Transmission and Compression of Gas by Others 74 860 Rents 75 TOTAL Operation (Total of lines 70 thru 74) 76 Maintenance 77 863 Maintenance of Mains 78 864 Maintenance of Compressor Station Equipment 79 868 Maintenance of Other Plant 80 TOTAL Maintenance (Total of lines 77 thru 79) 81 TOTAL Transmission Exp. (Total of lines 75 and 80) 82 83 84 Operation 85 870 Operation Supervision and Engineering 86 874 Mains and Services Expenses 87 878 Meter and House Regulator Expenses 88 879 Customer Installations Expenses 89 880.1 Miscellaneous Distribution Expenses 90 881 Rents 91 TOTAL Operation (Total of lines 85 thru 90)	69	Operation		
72 857.1 Operation Supplies and Expenses 73 858 Transmission and Compression of Gas by Others 74 860 Rents 75 TOTAL Operation (Total of lines 70 thru 74) 76 Maintenance 77 863 Maintenance of Mains 78 864 Maintenance of Compressor Station Equipment 79 868 Maintenance of Other Plant 80 TOTAL Maintenance (Total of lines 77 thru 79) 81 TOTAL Transmission Exp. (Total of lines 75 and 80) 82 83 83 4. DISTRIBUTION EXPENSES 84 Operation 85 870 Operation Supervision and Engineering 86 874 Mains and Services Expenses 87 878 Meter and House Regulator Expenses 88 879 Customer Installations Expenses 89 880.1 Miscellaneous Distribution Expenses 90 881 Rents 91 TOTAL Operation (Total of lines 85 thru 90)	70	850 Operation Supervision and Engineering		
73 858 Transmission and Compression of Gas by Others 74 860 Rents 75 TOTAL Operation (Total of lines 70 thru 74) 76 Maintenance 77 863 Maintenance of Mains 78 864 Maintenance of Compressor Station Equipment 79 868 Maintenance of Other Plant 80 TOTAL Maintenance (Total of lines 77 thru 79) 81 TOTAL Transmission Exp. (Total of lines 75 and 80) 82 83 83 4. DISTRIBUTION EXPENSES 84 Operation 85 870 Operation Supervision and Engineering 86 874 Mains and Services Expenses 87 878 Meter and House Regulator Expenses 88 879 Customer Installations Expenses 89 880.1 Miscellaneous Distribution Expenses 90 881 Rents 91 TOTAL Operation (Total of lines 85 thru 90)	71	853.1 Compressor Station Fuel and Power		
74 860 Rents 75 TOTAL Operation (Total of lines 70 thru 74) 76 Maintenance 77 863 Maintenance of Mains 78 864 Maintenance of Compressor Station Equipment 79 868 Maintenance of Other Plant 80 TOTAL Maintenance (Total of lines 77 thru 79) 81 TOTAL Transmission Exp. (Total of lines 75 and 80) 82 4. DISTRIBUTION EXPENSES 84 Operation 85 870 Operation Supervision and Engineering 86 874 Mains and Services Expenses 87 878 Meter and House Regulator Expenses 88 879 Customer Installations Expenses 89 880.1 Miscellaneous Distribution Expenses 90 881 Rents 91 TOTAL Operation (Total of lines 85 thru 90)	72	857.1 Operation Supplies and Expenses		
75 TOTAL Operation (Total of lines 70 thru 74) 76 Maintenance 77 863 Maintenance of Mains 78 864 Maintenance of Compressor Station Equipment 79 868 Maintenance of Other Plant 80 TOTAL Maintenance (Total of lines 77 thru 79) 81 TOTAL Transmission Exp. (Total of lines 75 and 80) 82 ————————————————————————————————————	73	858 Transmission and Compression of Gas by Others		
76 Maintenance 77 863 Maintenance of Mains 78 864 Maintenance of Compressor Station Equipment 79 868 Maintenance of Other Plant 80 TOTAL Maintenance (Total of lines 77 thru 79) 81 TOTAL Transmission Exp. (Total of lines 75 and 80) 82 83 4. DISTRIBUTION EXPENSES 84 Operation 85 870 870 Operation Supervision and Engineering 86 874 Mains and Services Expenses 87 878 Meter and House Regulator Expenses 88 879 Customer Installations Expenses 89 880.1 Miscellaneous Distribution Expenses 90 881 Rents 91 TOTAL Operation (Total of lines 85 thru 90)	74	860 Rents		
77 863 Maintenance of Mains 78 864 Maintenance of Compressor Station Equipment 79 868 Maintenance of Other Plant 80 TOTAL Maintenance (Total of lines 77 thru 79) 81 TOTAL Transmission Exp. (Total of lines 75 and 80) 82 4. DISTRIBUTION EXPENSES 84 Operation 85 870 Operation Supervision and Engineering 86 874 Mains and Services Expenses 87 878 Meter and House Regulator Expenses 88 879 Customer Installations Expenses 89 880.1 Miscellaneous Distribution Expenses 90 881 Rents 91 TOTAL Operation (Total of lines 85 thru 90)	75	TOTAL Operation (Total of lines 70 thru 74)		
78 864 Maintenance of Compressor Station Equipment 79 868 Maintenance of Other Plant 80 TOTAL Maintenance (Total of lines 77 thru 79) 81 TOTAL Transmission Exp. (Total of lines 75 and 80) 82	76	Maintenance		
79 868 Maintenance of Other Plant 80 TOTAL Maintenance (Total of lines 77 thru 79) 81 TOTAL Transmission Exp. (Total of lines 75 and 80) 82	77	863 Maintenance of Mains		
80 TOTAL Maintenance (Total of lines 77 thru 79) 81 TOTAL Transmission Exp. (Total of lines 75 and 80) 82	78	864 Maintenance of Compressor Station Equipment		
81 TOTAL Transmission Exp. (Total of lines 75 and 80) 82	79	868 Maintenance of Other Plant		
82 83 4. DISTRIBUTION EXPENSES 84 Operation 85 870 Operation Supervision and Engineering 86 874 Mains and Services Expenses 87 878 Meter and House Regulator Expenses 88 879 Customer Installations Expenses 89 880.1 Miscellaneous Distribution Expenses 90 881 Rents 91 TOTAL Operation (Total of lines 85 thru 90) 92 ————————————————————————————————————	80	TOTAL Maintenance (Total of lines 77 thru 79)		
83 4. DISTRIBUTION EXPENSES 84 Operation 85 870 Operation Supervision and Engineering 86 874 Mains and Services Expenses 87 878 Meter and House Regulator Expenses 88 879 Customer Installations Expenses 89 880.1 Miscellaneous Distribution Expenses 90 881 Rents 91 TOTAL Operation (Total of lines 85 thru 90) 92	81	TOTAL Transmission Exp. (Total of lines 75 and 80)		
84 Operation 85 870 Operation Supervision and Engineering 86 874 Mains and Services Expenses 87 878 Meter and House Regulator Expenses 88 879 Customer Installations Expenses 89 880.1 Miscellaneous Distribution Expenses 90 881 Rents 91 TOTAL Operation (Total of lines 85 thru 90) 92	82			
85 870 Operation Supervision and Engineering 86 874 Mains and Services Expenses 87 878 Meter and House Regulator Expenses 88 879 Customer Installations Expenses 89 880.1 Miscellaneous Distribution Expenses 90 881 Rents 91 TOTAL Operation (Total of lines 85 thru 90) 92	83	4. DISTRIBUTION EXPENSES		
86 874 Mains and Services Expenses 87 878 Meter and House Regulator Expenses 88 879 Customer Installations Expenses 89 880.1 Miscellaneous Distribution Expenses 90 881 Rents 91 TOTAL Operation (Total of lines 85 thru 90) 92	84	Operation		
87 878 Meter and House Regulator Expenses 88 879 Customer Installations Expenses 89 880.1 Miscellaneous Distribution Expenses 90 881 Rents 91 TOTAL Operation (Total of lines 85 thru 90) 92	85	870 Operation Supervision and Engineering		
88 879 Customer Installations Expenses 89 880.1 Miscellaneous Distribution Expenses 90 881 Rents 91 TOTAL Operation (Total of lines 85 thru 90) 92	86	874 Mains and Services Expenses		
89 880.1 Miscellaneous Distribution Expenses 90 881 Rents 91 TOTAL Operation (Total of lines 85 thru 90) 92	87	878 Meter and House Regulator Expenses		
90 881 Rents 91 TOTAL Operation (Total of lines 85 thru 90) 92	88	879 Customer Installations Expenses		
91 TOTAL Operation (Total of lines 85 thru 90) 92	89	880.1 Miscellaneous Distribution Expenses		
92	90	881 Rents		
	91	TOTAL Operation (Total of lines 85 thru 90)		
93	92			
	93			

Name of	f Respondent This Report Is:	Date of Report	Year of Report
Presque	e Isle Electric & Gas Co-op (1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021
	GAS OPERATION AND MAINTENANCE EXPENSES (NON		
Line No.	Account	Amount for Current Year	Amount for Previous Year
94	Maintenance		
95	892.1 Maintenance of Lines		
96	893 Maintenance of Meters and House Regulators		
97	895 Maintenance of Other Plant		
98	TOTAL Maintenance (Total of lines 95 thru 97)		
99	TOTAL Distribution Exp. (Total of lines 91 & 98)		
100			
101	5. CUSTOMER ACCOUNTS EXPENSES		
102	902 Meter Reading Expenses		
103	903 Customer Records and Collection Expenses		
104	904 Uncollectible Accounts		
105	TOTAL Customer Accts. Exp. (Total of lines 102-104)		
106			
107	6. CUSTOMER SERVICE AND INFORMATIONAL EXPENSES		
108	906 Customer Service and Informational Expenses		
109	TOTAL Cust. Service & Informational Exp.		
110			
111	7. SALES PROMOTION EXPENSES		
112	917 Sales Expense		
113	TOTAL Sales Expenses		
114			
115	8. ADMINISTRATIVE AND GENERAL EXPENSES		
116	Operation		
117	920 Administrative and General Salaries		
118	921 Office Supplies and Expenses		
119	922 Administrative Services Transferred-Credit		
120	923 Outside Services Employed		
121	924 Property Insurance		
122	925 Injuries and Damages		
123	926 Employee Pensions and Benefits		

Name o	f Respondent	This Report Is:	Date of Report	Year of Report
Presque	e Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021
	GAS OF	PERATION AND MAINTENANCE EXPENSES	1	
Line	1		Amount for	Amount for
No.		Account	Current Year	Previous Year
124	927 Franchise Requirem	nents		
125	928 Regulatory Commis	sion Expenses		
126	929 Duplicate Charges-0	Credit		
127	930.1 General Advertisin	g Expenses		
128	930.2 Miscellaneous Ger	neral Expenses		
129	931 Rents			
130	TOTAL Operation (Tota	l of lines 117 thru 129)		
131	Maintenance			
132	933 Transportation Expe	enses		
133	935 Maintenance of Ger	neral Plant		
134	TOTAL Maintenance (T	otal of lines 132 & 133)		
135	TOTAL Admin. & Gen. I	Exp. (Total of lines 130 & 134)		
136		Gas Operation of Maintenance Expenses es 47, 66, 81, 99, 105, 109,113 and 135)		

	NUMBER OF GAS DEPARTMENT EMPLOYEES
1.	The data on number of employees should be reported for the payroll period ending nearest to December 31, or any payroll period ending 60 days before or after December 31.
2.	If the respondent's payroll for the reporting period includes any special construction personnel, include such employees on line 3, and show the number of such special construction employees in a footnote.
3.	The number of employees assignable to the gas department from joint functions or combination utilities may be determined by estimate, on the basis of employee equivalents. Show the estimated number of equivalents employees attributed to the gas department from joint functions.
1.	Payroll Period Ended (Date)
2.	Total Regular Full-Time Employees
3.	Total Part-Time and Temporary Employees
4.	Total Employees

Name	of Respondent	This Report Is:			Date of Report		Year of Report
	ue Isle Electric &	(1) [X] An Origina			(Mo, Da, Yr)		12/31/2021
Gas C	о-ор	(2) [] A Resubmis	ssion		4/30/20)22	12/01/2021
	E	EXPLORATION AND	DEVELOPMEN	T EXPENSES	(Account 795, 796	5, 798)	
		(Exc	ept Abandoned	Leases, Acco	unt 797)		
		ration and developm			a footnote any diffe		
		ount 797, <i>Abandone</i>			orted in column (f) a		
		d accounts shown by	y the column		eliminary Survey ar		
headir		nd subtotals for expl	oration and		Account 798 during <i>inary Natural Ga</i> s S		
	pment costs for each		oration and	Charges.	nary Natural Gas G	arvey and mive	Jugation
				·	ductive Well	Other	
] 		•	(Account 796)	Exploration	
Line]	Delay Rentals			Costs	
No.	Field	County	(Account 795)	Number		(Accounts	Total
		_		of Wells	Amount	798)	
	(a)	(b)	(c)	(d)	(e)	(f)	(g)
1		! 					
2		NOT APPLICABLE					
4		NOT AFFEIGABLE					
5							
6		! 					
7		Ī					
8 9		1					
10							
11]]					
12]					
13		Ī					
14 15							
16							
17] 					
18]					
19		Ī					
20 21							
22							
23] [
24		i					
25		Ī					
26 27	TOTAL						
'		A	BANDONED LEA	SES (Account	t 797)		
1. Re	port below the partic	culars (details) conce			otal provision is con	nprised of sepa	arate
provisi	ion for the year to co	over probable loss or	n abandonment	determination	ns with respect to co	ertain groups o	r classes of
		ded in Account 105,			separately the dete		
		have never been pro			s. If the provision v		
		termining the year's			mounts may be ide		
	ding year.	the same as that use	ed for the	or counties, s as such.	show the componen	it amounts ider	ıtırıea
Line	ing year.		Item	as sucii.			Amount
No.			(a)				(b)
1			(α)				(6)
2							
3							
4							
5							
6 7							
8							
9							

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric &	(1) [X] An Original	(Mo, Da, Yr)	10/21/2021
Gas Co-op	(2) [] A Resubmission	4/30/2022	12/31/2021

GAS PURCHASES (Accounts 800, 801, 802, 803, 803.1, 804, 804.1 and 805)

- 1. Report particulars of gas purchases during the year in the manner prescribed below.
- 2. Provide subheadings and totals for prescribed accounts as follow:
 - 800 Natural Gas Well Head Purchases.
 - 801 Natural Gas Field Line Purchases.
 - 802 Natural Gas Gasoline Plant Outlet Purchases.
 - 803 Natural Gas Transmission Line Purchases.
 - 803.1 Off-System Gas Purchases.
 - 804 Natural Gas City Gate Purchases.
 - 804.1 Liquefied Natural Gas Purchases.
 - 805 Other Gas Purchases.

Purchases are to be reported in account number sequence, e.g. all purchases charged to Account 800, followed by charges to Account 801, etc. Under each account number, purchases should be reported by states in alphabetical order. Totals are to be shown for each account in Columns (h) and (i) and should agree with the books of account, or any differences reconciled.

In some cases, two or more lines will be required to report a purchase, as when it is charged to more than one account.

- 3. Purchases may be reported to gas purchase contract totals (at the option of the respondent) provided that the same price is being paid for all gas purchased under the contract. If two or more prices are in effect under the same contract, separate details for each price shall be reported. The name of each seller included in the contract total shall be listed on separate sheets, clearly cross-referenced. Where two or more prices are in effect the sellers at each price are to be listed separately.
- 4. Purchases of less than 100,000 Mcf per year per contact from sellers not affiliated with the reporting company may (at the option of the respondent) be grouped by account number, except when the purchases were permanently discounted during the reporting year. When grouped purchases are reported, the number of grouped purchases is to be reported in Column (b). Only Columns (a), (b), (h), (i) and (j) are to be completed for grouped purchases; however, the Commission may request additional details when necessary. Grouped non-jurisdictional purchases should be shown on a separate line.

5. Column instructions are as follows:

<u>Column (b)</u> - Report the names of all sellers. Abbreviations may be used where necessary.

<u>Column (c)</u> - Give the name of the producing field only for purchases at the wellhead or from field lines. The plant name should be given for purchase from gasoline outlets. If purchases under a contract are from more than one field or plant, use the name of the one contributing the larges volume. Use a footnote to list the other fields or plants involved.

<u>Columns (d) and (e)</u> - Designate the state and county where the gas is received. Where gas is received in more than one county, use the name of the county having the largest volume and by footnote list the other counties involved.

Column (f) - Show date of the gas purchase contract. If gas is purchased under a renegotiated contract, show the date of the original contract and the date of the renegotiated contract on the following line in brackets. If new acreage is dedicated by ratification of an existing contract show the date of the ratification, rather than the date of the original contract. If gas is being sold from a different reservoir than the original dedicated acreage pursuant to Section 2.56(f)(2) of the Commission's Rules of Practice and Procedure, place the letter "A" after the contract date.

If the purchase was permanently discontinued during the reporting year, so indicate by an asterisk (*) in Column (f).

<u>Column (g)</u> - Show for each purchase the approximate Btu per cubic foot.

<u>Column (h)</u> - State the volume of purchased gas as measured for purpose of determining the amount payable for the gas. Include current year receipts of make-up gas that was paid for in prior years.

<u>Column (i)</u> - State the dollar amount (omit cents) paid and previously paid for the volumes of gas shown in Column (h).

Column (j) - State the average cost per Mcf to the nearest hundredth of a cent. [Column (i) divided by Column (h) multiplied by 100].

Name o	of Respondent	This Report Is:	Date of Report	Year of Report
	e Isle Electric & Gas	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
Co-op	CV6 DIIDUR	(2) [] A Resubmission ASES (Accounts 800, 801, 802, 803, 803.	4/30/2022	
	GAS FORCIN	A3L3 (Accounts 600, 601, 602, 603, 603.	1, 004, 004.1 and 003) (CC	
Line No.	Account No. (a)	Name of Seller (Designate Associated Companies) (b)	Name of Producing Field or Gasoline Plant (c)	State (d)
1	()	,		
2		SEE ATTACHED		
3				
4				
5				
6				
7				
8				
9				
10				
11				
12				
13				
14				
15				
16				
17				
18				
19				
20				
21				
22				
23				
24				
25				

Name of Respondent	This Report Is:		Date of Report		Year of Report	
Presque Isle Electric &	(1) [X] An Original		(Mo, Da, Yr)		12/31/202	1
Gas Co-op	(2) [] A Resubmiss		4/30/2			•
GAS	PURCHASES (Acco	ount 800, 801, 80	2, 803.1, 804, 804.1	, and 805) (Cont	inued)	
County (e)	Date of Contract (f)	Approx. Btu per Cu. Ft. (g)	Gas Purchased-Mcf (14.73 psia 60°F) (h)	Cost of Gas (i)	Cost per Mcf (cents) (j)	Line No.
						1
						2
						3
						4
						5
						6
						7
						8 9
						10
						11
						12
						13
						14
						15
						16
						17
						18
						19
						20
						21 22
						23
						24
						25

2021 CALENDAR YEAR PURCHASES

PURCHASED	DATE	DESCRIPTION	AMOUNT	PURCHASE	TOTAL
FROM P	URCHASED		PURCHASED	PRICE	COST
January 20	21				
SEQUENT ENERGY	6/19/2017	Original Purchase	2,511	\$3.2200	\$8,085.42
SEQUENT ENERGY	7/18/2017	Original Purchase	2,511	\$3.2600	\$8,185.86
SEQUENT ENERGY	8/16/2017	Original Purchase	2,511	\$3.2600	\$8,185.86
SEQUENT ENERGY	9/18/2017	Original Purchase	2,511	\$3.2800	\$8,236.08
SEQUENT ENERGY	10/17/2017	Original Purchase	2,511	\$3.2900	\$8,261.19
SEQUENT ENERGY	11/20/2017	Original Purchase	2,511	\$3.2700	\$8,210.97
SEQUENT ENERGY	12/1/2017	Original Purchase	2,511	\$3.2500	\$8,160.75
SEQUENT ENERGY	1/16/2018	Original Purchase	2,511	\$3.2400	\$8,135.64
SEQUENT ENERGY	2/13/2018	Original Purchase	2,511	\$3.0900	\$7,758.99
SEQUENT ENERGY	3/19/2018	Original Purchase	2,511	\$3.0800	\$7,733.88
MIDAMERICAN ENERGY	5/1/2018	Original Purchase	10,000	\$3.4675	\$34,675.00
MIDAMERICAN ENERGY	5/1/2018	Original Purchase	10,000	\$3.3575	\$33,575.00
SEQUENT ENERGY	5/14/2018	Original Purchase	2,511	\$2.8600	\$7,181.46
SEQUENT ENERGY	6/18/2018	Original Purchase	2,511	\$2.8520	\$7,161.37
SEQUENT ENERGY	7/13/2018	Original Purchase	2,511	\$2.8795	\$7,230.42
SEQUENT ENERGY	8/14/2018	Original Purchase	2,511	\$2.9020	\$7,286.92
SEQUENT ENERGY	9/14/2018	Original Purchase	2,511	\$2.8820	\$7,236.70
SEQUENT ENERGY	10/11/2018	Original Purchase	2,511	\$2.9820	\$7,487.80
SEQUENT ENERGY	11/19/2018	Original Purchase	2,511	\$2.9745	\$7,468.97
SEQUENT ENERGY	12/10/2018	Original Purchase	2,511	\$3.0455	\$7,647.25
SEQUENT ENERGY	1/14/2019	Original Purchase	2,511	\$3.0665	\$7,699.98
SEQUENT ENERGY	2/7/2019	Original Purchase	2,511	\$3.0500	\$7,658.55
SEQUENT ENERGY	3/11/2019	Original Purchase	2,511	\$3.0290	\$7,605.82
SEQUENT ENERGY	4/16/2019	Original Purchase	2,511	\$2.9985	\$7,529.23
SEQUENT ENERGY	5/20/2019	Original Purchase	2,511	\$2.9530	\$7,414.98
SEQUENT ENERGY	6/12/2019	Original Purchase	2,511	\$2.9135	\$7,315.80
SEQUENT ENERGY	7/11/2019	Original Purchase	2,511	\$2.9210	\$7,334.63
SEQUENT ENERGY	8/12/2019	Original Purchase	5,022	\$2.7215	\$13,667.37
SEQUENT ENERGY	9/12/2019	Original Purchase	2,511	\$2.7185	\$6,826.15
SEQUENT ENERGY	10/10/2019	Original Purchase	5,022	\$2.6745	\$13,431.34
SEQUENT ENERGY	11/11/2019	Original Purchase	2,511	\$2.7175	\$6,823.64
SEQUENT ENERGY	12/6/2019	Original Purchase	2,511	\$2.6260	\$6,593.89
SEQUENT ENERGY	1/8/2020	Original Purchase	2,511	\$2.5930	\$6,511.02
SEQUENT ENERGY	2/13/2020	Original Purchase	5,022	\$2.4950	\$12,529.89
SEQUENT ENERGY	3/10/2020	Original Purchase	5,022	\$2.5560	\$12,836.23
SEQUENT ENERGY	4/9/2020	Original Purchase	2,511	\$2.7870	\$6,998.16
SEQUENT ENERGY	5/13/2020	Original Purchase	5,022	\$2.8845	\$14,485.96
SEQUENT ENERGY	6/10/2020	Original Purchase	2,511	\$2.8600	\$7,181.46
SEQUENT ENERGY	7/14/2020	Original Purchase	2,511	\$2.7680	\$6,950.45
SEQUENT ENERGY	11/17/2020	Original Purchase	5,022	\$2.7050	\$13,584.51

Sunday, May 15, 2022 Page 1 of 12

DocuSign Envelope ID: C52	71FC8-5CAB-4EEF-B	8C4-49ED0165649E			
PURCHASED	DATE	DESCRIPTION	AMOUNT	PURCHASE	TOTAL
FROM	PURCHASED		PURCHASED	PRICE	COST
SEQUENT ENERGY	12/14/2020	Original Purchase	5,022	\$2.6275	\$13,195.31
SEQUENT ENERGY	1/22/2021	Spot Market Purchase	1,000	\$2.4100	\$2,410.00
SEQUENT ENERGY	1/23/2021	Spot Market Purchase	3,000	\$2.3700	\$7,110.00
SEQUENT ENERGY	1/26/2021	Spot Market Purchase	1,000	\$2.4650	\$2,465.00
SEQUENT ENERGY	1/27/2021	Spot Market Purchase	1,000	\$2.5500	\$2,550.00
SEQUENT ENERGY	1/28/2021	Spot Market Purchase	1,000	\$2.5900	\$2,590.00
SEQUENT ENERGY	1/29/2021	Spot Market Purchase	3,000	\$2.5700	\$7,710.00
STORAGE	1/31/2021	WITHDRAWAL/(INJECTION)	37,437	\$2.7072	\$101,351.31
			182,943	\$2.8876	\$528,266.21
February :	2021		· · · · · · · · · · · · · · · · · · ·	·	
SEQUENT ENERGY	6/19/2017	Original Purchase	2,492	\$3.2800	\$8,173.76
SEQUENT ENERGY	7/18/2017	Original Purchase	2,492	\$3.3500	\$8,348.20
SEQUENT ENERGY	8/16/2017	Original Purchase	2,492	\$3.3000	\$8,223.60
SEQUENT ENERGY	9/18/2017	Original Purchase	2,492	\$3.3300	\$8,298.36
SEQUENT ENERGY	10/17/2017	Original Purchase	2,492	\$3.3500	\$8,348.20
SEQUENT ENERGY	11/20/2017	Original Purchase	2,492	\$3.3300	\$8,298.36
SEQUENT ENERGY	12/1/2017	Original Purchase	2,492	\$3.2200	\$8,024.24
SEQUENT ENERGY	1/16/2018	Original Purchase	2,492	\$3.3100	\$8,248.52
SEQUENT ENERGY	2/13/2018	Original Purchase	2,492	\$3.0700	\$7,650.44
SEQUENT ENERGY	3/19/2018	Original Purchase	2,492	\$3.0700	\$7,650.44
MIDAMERICAN ENERGY		Original Purchase	10,000	\$3.3575	\$33,575.00
MIDAMERICAN ENERGY	Y 5/1/2018	Original Purchase	10,000	\$3.4675	\$34,675.00
SEQUENT ENERGY	5/14/2018	Original Purchase	2,492	\$2.8600	\$7,127.12
SEQUENT ENERGY	6/18/2018	Original Purchase	2,492	\$2.8430	\$7,084.76
SEQUENT ENERGY	7/13/2018	Original Purchase	2,492	\$2.8735	\$7,160.76
SEQUENT ENERGY	8/14/2018	Original Purchase	2,492	\$2.8850	\$7,189.42
SEQUENT ENERGY	9/14/2018	Original Purchase	2,492	\$2.8680	\$7,147.06
SEQUENT ENERGY	10/11/2018	Original Purchase	2,492	\$2.9520	\$7,356.38
SEQUENT ENERGY	11/19/2018	Original Purchase	2,492	\$2.9545	\$7,362.61
SEQUENT ENERGY	12/10/2018	Original Purchase	2,492	\$2.9670	\$7,393.76
SEQUENT ENERGY	1/14/2019	Original Purchase	2,492	\$3.0295	\$7,549.51
SEQUENT ENERGY	2/7/2019	Original Purchase	2,492	\$3.0100	\$7,500.92
SEQUENT ENERGY	3/11/2019	Original Purchase	2,492	\$3.0100	\$7,500.92
SEQUENT ENERGY	4/16/2019	Original Purchase	2,492	\$3.0525	\$7,606.83
SEQUENT ENERGY	5/20/2019	Original Purchase	2,492	\$2.9155	\$7,265.43
SEQUENT ENERGY	6/12/2019	Original Purchase	2,492	\$2.9055	\$7,240.51
SEQUENT ENERGY	7/11/2019	Original Purchase	2,492	\$2.9200	\$7,276.64
SEQUENT ENERGY	8/12/2019	Original Purchase	2,492	\$2.7635	\$6,886.64
SEQUENT ENERGY	9/12/2019	Original Purchase	2,492	\$2.7215	\$6,781.98
SEQUENT ENERGY	10/10/2019	Original Purchase	2,492	\$2.7175	\$6,772.01
SEQUENT ENERGY	11/11/2019	Original Purchase	2,492	\$2.7710	\$6,905.33
SEQUENT ENERGY	12/6/2019	Original Purchase	2,492	\$2.7030	\$6,735.88
SEQUENT ENERGY	1/8/2020	Original Purchase	2,492	\$2.7110	\$6,755.81

Sunday, May 15, 2022 Page 2 of 12

DocuSign Envelope ID: C527	1FC8-5CAB-4EEF-B	8C4-49ED0165649E			
PURCHASED	DATE	DESCRIPTION	AMOUNT	PURCHASE	TOTAL
FROM	PURCHASED		PURCHASED	PRICE	COST
SEQUENT ENERGY	2/13/2020	Original Purchase	2,492	\$2.5145	\$6,266.13
SEQUENT ENERGY	3/10/2020	Original Purchase	4,984	\$2.5790	\$12,853.74
SEQUENT ENERGY	4/9/2020	Original Purchase	2,492	\$2.8280	\$7,047.38
SEQUENT ENERGY	5/13/2020	Original Purchase	2,492	\$2.9155	\$7,265.43
SEQUENT ENERGY	6/10/2020	Original Purchase	2,492	\$2.8910	\$7,204.37
SEQUENT ENERGY	7/14/2020	Original Purchase	1,008	\$2.7760	\$2,798.21
SEQUENT ENERGY	11/17/2020	Original Purchase	2,492	\$2.6980	\$6,723.42
SEQUENT ENERGY	12/14/2020	Original Purchase	2,492	\$2.6270	\$6,546.48
SEQUENT ENERGY	1/27/2021	Original Purchase	14,000	\$2.6600	\$37,240.00
SEQUENT ENERGY	2/4/2021	Spot Market Purchase	1,000	\$2.8500	\$2,850.00
SEQUENT ENERGY	2/5/2021	Spot Market Purchase	9,000	\$3.4500	\$31,050.00
SEQUENT ENERGY	2/8/2021	Spot Market Purchase	3,000	\$2.9200	\$8,760.00
SEQUENT ENERGY	2/9/2021	Spot Market Purchase	3,000	\$2.9900	\$8,970.00
SEQUENT ENERGY	2/10/2021	Spot Market Purchase	3,000	\$3.3700	\$10,110.00
SEQUENT ENERGY	2/11/2021	Spot Market Purchase	3,000	\$5.1800	\$15,540.00
SEQUENT ENERGY	2/12/2021	Spot Market Purchase	6,000	\$3.7500	\$22,500.00
SEQUENT ENERGY	2/16/2021	Spot Market Purchase	1,000	\$9.2500	\$9,250.00
SEQUENT ENERGY	2/17/2021	Spot Market Purchase	1,000	\$6.0500	\$6,050.00
SEQUENT ENERGY	2/18/2021	Spot Market Purchase	500	\$5.0500	\$2,525.00
SEQUENT ENERGY	2/19/2021	Spot Market Purchase	1,500	\$3.9500	\$5,925.00
SEQUENT ENERGY	2/22/2021	Spot Market Purchase	1,000	\$2.7900	\$2,790.00
SEQUENT ENERGY	2/23/2021	Spot Market Purchase	1,000	\$2.7800	\$2,780.00
SEQUENT ENERGY	2/24/2021	Spot Market Purchase	1,000	\$2.7300	\$2,730.00
STORAGE	2/28/2021	WITHDRAWAL/(INJECTION)	30,090	\$2.4953	\$75,083.05
			197,286	\$3.0462	\$600,972.61
N/anah 202	1		137,200	φοιο 102	φοσο <i>γο τ</i> Ξ.σ.Ξ
March 202	7.1				
SEQUENT ENERGY	6/19/2017	Original Purchase	2,511	\$3.2100	\$8,060.31
SEQUENT ENERGY	7/18/2017	Original Purchase	2,511	\$3.2700	\$8,210.97
SEQUENT ENERGY	8/16/2017	Original Purchase	2,511	\$3.2200	\$8,085.42
SEQUENT ENERGY	9/18/2017	Original Purchase	2,511	\$3.2800	\$8,236.08
SEQUENT ENERGY	10/17/2017	Original Purchase	2,511	\$3.3000	\$8,286.30
SEQUENT ENERGY	11/20/2017	Original Purchase	2,511	\$3.3200	\$8,336.52
SEQUENT ENERGY	12/1/2017	Original Purchase	2,511	\$3.1700	\$7,959.87
SEQUENT ENERGY	1/16/2018	Original Purchase	2,511	\$3.3000	\$8,286.30
SEQUENT ENERGY	2/13/2018	Original Purchase	2,511	\$3.0100	\$7,558.11
SEQUENT ENERGY	3/19/2018	Original Purchase	2,511	\$3.0100	\$7,558.11
MIDAMERICAN ENERGY	5/1/2018	Original Purchase	10,000	\$3.3575	\$33,575.00
MIDAMERICAN ENERGY	5/1/2018	Original Purchase	10,000	\$3.4675	\$34,675.00
SEQUENT ENERGY	5/14/2018	Original Purchase	2,511	\$2.7600	\$6,930.36
SEQUENT ENERGY	6/18/2018	Original Purchase	2,511	\$2.7475	\$6,898.97
SEQUENT ENERGY	7/13/2018	Original Purchase	2,511	\$2.7740	\$6,965.51
SEQUENT ENERGY	8/14/2018	Original Purchase	2,511	\$2.7885	\$7,001.92
SEQUENT ENERGY	9/14/2018	Original Purchase	2,511	\$2.7505	\$6,906.51

Sunday, May 15, 2022 Page 3 of 12

DocuSign Envelope ID: C527	1FC8-5CAB-4EEF-B	8C4-49ED0165649E			
PURCHASED	DATE	DESCRIPTION	AMOUNT	PURCHASE	TOTAL
FROM I	PURCHASED		PURCHASED	PRICE	COST
SEQUENT ENERGY	10/11/2018	Original Purchase	2,511	\$2.7820	\$6,985.60
SEQUENT ENERGY	11/19/2018	Original Purchase	2,511	\$2.7620	\$6,935.38
SEQUENT ENERGY	12/10/2018	Original Purchase	992	\$2.7570	\$2,734.94
SEQUENT ENERGY	1/14/2019	Original Purchase	992	\$2.8100	\$2,787.52
SEQUENT ENERGY	2/7/2019	Original Purchase	992	\$2.7400	\$2,718.08
SEQUENT ENERGY	3/11/2019	Original Purchase	992	\$2.7685	\$2,746.35
SEQUENT ENERGY	4/16/2019	Original Purchase	2,511	\$2.7895	\$7,004.43
SEQUENT ENERGY	5/20/2019	Original Purchase	992	\$2.7435	\$2,721.55
SEQUENT ENERGY	6/12/2019	Original Purchase	992	\$2.7710	\$2,748.83
SEQUENT ENERGY	7/11/2019	Original Purchase	2,511	\$2.8020	\$7,035.82
SEQUENT ENERGY	8/12/2019	Original Purchase	992	\$2.7330	\$2,711.14
SEQUENT ENERGY	9/12/2019	Original Purchase	992	\$2.6600	\$2,638.72
SEQUENT ENERGY	10/10/2019	Original Purchase	2,511	\$2.6375	\$6,622.76
SEQUENT ENERGY	11/11/2019	Original Purchase	992	\$2.6670	\$2,645.66
SEQUENT ENERGY	12/6/2019	Original Purchase	992	\$2.6300	\$2,608.96
SEQUENT ENERGY	1/8/2020	Original Purchase	2,511	\$2.4530	\$6,159.48
SEQUENT ENERGY	2/13/2020	Original Purchase	992	\$2.4970	\$2,477.02
SEQUENT ENERGY	3/10/2020	Original Purchase	2,511	\$2.5240	\$6,337.76
SEQUENT ENERGY	4/9/2020	Original Purchase	2,511	\$2.7260	\$6,844.99
SEQUENT ENERGY	5/13/2020	Original Purchase	992	\$2.7945	\$2,772.14
SEQUENT ENERGY	6/10/2020	Original Purchase	992	\$2.7850	\$2,762.72
SEQUENT ENERGY	7/14/2020	Original Purchase	992	\$2.7195	\$2,697.74
SEQUENT ENERGY	11/17/2020	Original Purchase	2,511	\$2.7080	\$6,799.79
SEQUENT ENERGY	12/14/2020	Original Purchase	2,511	\$2.6115	\$6,557.48
SEQUENT ENERGY	2/23/2021	Original Purchase	31,000	\$2.8800	\$89,280.00
SEQUENT ENERGY	2/26/2021	Spot Market Purchase	2,000	\$2.6200	\$5,240.00
SEQUENT ENERGY	3/3/2021	Spot Market Purchase	1,000	\$2.8000	\$2,800.00
SEQUENT ENERGY	3/4/2021	Spot Market Purchase	1,000	\$2.6600	\$2,660.00
SEQUENT ENERGY	3/5/2021	Spot Market Purchase	1,500	\$2.6300	\$3,945.00
STORAGE	3/31/2021	WITHDRAWAL/(INJECTION)	6,901	\$3.6641	\$25,285.79
			140,064	\$2.9829	\$417,796.91
April 2021				,	
•					
MIDAMERICAN ENERGY		Original Purchase	10,000	\$3.3575	\$33,575.00
MIDAMERICAN ENERGY		Original Purchase	10,000	\$3.4675	\$34,675.00
SEQUENT ENERGY	5/14/2018	Original Purchase	2,490	\$2.5850	\$6,436.65
SEQUENT ENERGY	6/18/2018	Original Purchase	2,490	\$2.5450	\$6,337.05
SEQUENT ENERGY	7/13/2018	Original Purchase	2,490	\$2.5745	\$6,410.51
SEQUENT ENERGY	8/14/2018	Original Purchase	2,490	\$2.6170	\$6,516.33
SEQUENT ENERGY	9/14/2018	Original Purchase	2,490	\$2.6235	\$6,532.52
SEQUENT ENERGY	10/11/2018	Original Purchase	2,490	\$2.6345	\$6,559.91
SEQUENT ENERGY	11/19/2018	Original Purchase	2,490	\$2.6270	\$6,541.23
SEQUENT ENERGY	12/10/2018	Original Purchase	2,490	\$2.7040	\$6,732.96
SEQUENT ENERGY	1/14/2019	Original Purchase	2,490	\$2.6945	\$6,709.31

Sunday, May 15, 2022 Page 4 of 12

DocuSign Envelope ID: C52	71FC8-5CAB-4EEF-B	8C4-49ED0165649E			
PURCHASED FROM	DATE PURCHASED	DESCRIPTION	AMOUNT PURCHASED	PURCHASE PRICE	TOTAL COST
SEQUENT ENERGY	2/7/2019	Original Purchase	2,490	\$2.6600	\$6,623.40
SEQUENT ENERGY	3/11/2019	Original Purchase	990	\$2.6960	\$2,669.04
SEQUENT ENERGY	4/16/2019	Original Purchase	990	\$2.7550	\$2,727.45
SEQUENT ENERGY	5/20/2019	Original Purchase	2,490	\$2.5825	\$6,430.43
SEQUENT ENERGY	6/12/2019	Original Purchase	990	\$2.5885	\$2,562.62
SEQUENT ENERGY	7/11/2019	Original Purchase	990	\$2.6060	\$2,579.94
SEQUENT ENERGY	8/12/2019	Original Purchase	2,490	\$2.5310	\$6,302.19
SEQUENT ENERGY	9/12/2019	Original Purchase	990	\$2.4520	\$2,427.48
SEQUENT ENERGY	10/10/2019	Original Purchase	990	\$2.3510	\$2,327.49
SEQUENT ENERGY	11/11/2019	Original Purchase	990	\$2.3345	\$2,311.16
SEQUENT ENERGY	12/6/2019	Original Purchase	2,490	\$2.3810	\$5,928.69
SEQUENT ENERGY	1/8/2020	Original Purchase	990	\$2.3250	\$2,301.75
SEQUENT ENERGY	2/13/2020	Original Purchase	990	\$2.2700	\$2,247.30
SEQUENT ENERGY	3/10/2020	Original Purchase	990	\$2.3020	\$2,278.98
SEQUENT ENERGY	4/9/2020	Original Purchase	2,490	\$2.5220	\$6,279.78
SEQUENT ENERGY	5/13/2020	Original Purchase	990	\$2.5865	\$2,560.64
SEQUENT ENERGY	6/10/2020	Original Purchase	990	\$2.4950	\$2,470.05
SEQUENT ENERGY	7/14/2020	Original Purchase	990	\$2.4795	\$2,454.71
SEQUENT ENERGY	8/14/2020	Original Purchase	990	\$2.6500	\$2,623.50
SEQUENT ENERGY	9/14/2020	Original Purchase	990	\$2.7860	\$2,758.14
SEQUENT ENERGY	10/13/2020	Original Purchase	990	\$2.8525	\$2,823.98
SEQUENT ENERGY	11/17/2020	Original Purchase	990	\$2.5630	\$2,537.37
SEQUENT ENERGY	12/14/2020	Original Purchase	990	\$2.6110	\$2,584.89
SEQUENT ENERGY	1/13/2021	Original Purchase	2,490	\$2.7405	\$6,823.85
SEQUENT ENERGY	2/11/2021	Original Purchase	2,490	\$2.9450	\$7,333.05
SEQUENT ENERGY	3/11/2021	Original Purchase	5,010	\$2.7175	\$13,614.68
STORAGE	4/30/2021	WITHDRAWAL/(INJECTION)	10,588	\$3.5203	\$37,272.44
			93,258	\$2.8832	\$268,881.47
May 2021					
MIDAMERICAN ENERGY	y 5/1/2018	Original Purchase	10,000	\$3.4675	\$34,675.00
MIDAMERICAN ENERGY	y 5/1/2018	Original Purchase	10,000	\$3.3575	\$33,575.00
SEQUENT ENERGY	5/14/2018	Original Purchase	992	\$2.4800	\$2,460.16
SEQUENT ENERGY	6/18/2018	Original Purchase	992	\$2.4385	\$2,418.99
SEQUENT ENERGY	7/13/2018	Original Purchase	992	\$2.4630	\$2,443.30
SEQUENT ENERGY	8/14/2018	Original Purchase	992	\$2.5025	\$2,482.48
SEQUENT ENERGY	9/14/2018	Original Purchase	992	\$2.5120	\$2,491.90
SEQUENT ENERGY	10/11/2018	Original Purchase	992	\$2.5230	\$2,502.82
SEQUENT ENERGY	11/19/2018	Original Purchase	992	\$2.5125	\$2,492.40
SEQUENT ENERGY	12/10/2018	Original Purchase	992	\$2.5945	\$2,573.74
SEQUENT ENERGY	1/14/2019	Original Purchase	992	\$2.5890	\$2,568.29
SEQUENT ENERGY	2/7/2019	Original Purchase	992	\$2.5500	\$2,529.60
SEQUENT ENERGY	3/11/2019	Original Purchase	992	\$2.5795	\$2,558.86

Sunday, May 15, 2022 Page 5 of 12

992

\$2.6685

Original Purchase

\$2,647.15

SEQUENT ENERGY

4/16/2019

PURCHASED
SEQUENT ENERGY 5/20/2019 Original Purchase 992 \$2.5270 \$2,506.78 SEQUENT ENERGY 6/12/2019 Original Purchase 992 \$2.5715 \$2,550.93 SEQUENT ENERGY 7/11/2019 Original Purchase 992 \$2.5665 \$2,545.97 SEQUENT ENERGY 8/12/2019 Original Purchase 992 \$2.4910 \$2,471.07 SEQUENT ENERGY 9/12/2019 Original Purchase 992 \$2.3965 \$2,377.33 SEQUENT ENERGY 10/10/2019 Original Purchase 992 \$2.2885 \$2,270.19 SEQUENT ENERGY 11/11/2019 Original Purchase 992 \$2.2885 \$2,270.19 SEQUENT ENERGY 11/8/2020 Original Purchase 992 \$2.3430 \$2,324.26 SEQUENT ENERGY 1/8/2020 Original Purchase 992 \$2.2700 \$2,266.77 SEQUENT ENERGY 3/10/2020 Original Purchase 992 \$2.2460 \$2,208.19 SEQUENT ENERGY 4/9/2020 Original Purchase 992 \$2.5435 \$2,523.15
SEQUENT ENERGY 6/12/2019 Original Purchase 992 \$2.5715 \$2,550.93 SEQUENT ENERGY 7/11/2019 Original Purchase 992 \$2.5665 \$2,545.97 SEQUENT ENERGY 8/12/2019 Original Purchase 992 \$2.3955 \$2,377.33 SEQUENT ENERGY 10/10/2019 Original Purchase 992 \$2.2870 \$2,268.70 SEQUENT ENERGY 10/10/2019 Original Purchase 992 \$2.2885 \$2,270.19 SEQUENT ENERGY 11/11/2019 Original Purchase 992 \$2.2430 \$2,268.70 SEQUENT ENERGY 12/6/2019 Original Purchase 992 \$2.3430 \$2,324.26 SEQUENT ENERGY 1/8/2020 Original Purchase 992 \$2.3000 \$2,281.60 SEQUENT ENERGY 3/10/2020 Original Purchase 992 \$2.2260 \$2,206.77 SEQUENT ENERGY 3/10/2020 Original Purchase 992 \$2.5435 \$2,523.15 SEQUENT ENERGY 5/13/2020 Original Purchase 992 \$2.4490 \$2,429.41 </td
SEQUENT ENERGY 7/11/2019 Original Purchase 992 \$2.5665 \$2,545.97 SEQUENT ENERGY 8/12/2019 Original Purchase 992 \$2.4910 \$2,471.07 SEQUENT ENERGY 9/12/2019 Original Purchase 992 \$2.3965 \$2,377.33 SEQUENT ENERGY 10/10/2019 Original Purchase 992 \$2.28870 \$2,268.70 SEQUENT ENERGY 11/11/2019 Original Purchase 992 \$2.2885 \$2,270.19 SEQUENT ENERGY 12/6/2019 Original Purchase 992 \$2.3430 \$2,324.26 SEQUENT ENERGY 1/8/2020 Original Purchase 992 \$2.3000 \$2,281.60 SEQUENT ENERGY 2/13/2020 Original Purchase 992 \$2.2790 \$2,260.77 SEQUENT ENERGY 4/9/2020 Original Purchase 992 \$2.24870 \$6,244.86 SEQUENT ENERGY 4/9/2020 Original Purchase 992 \$2.4490 \$2,203.15 SEQUENT ENERGY 5/14/2020 Original Purchase 992 \$2.4675 \$2,447.76
SEQUENT ENERGY 8/12/2019 Original Purchase 992 \$2.4910 \$2,471.07 SEQUENT ENERGY 9/12/2019 Original Purchase 992 \$2.3965 \$2,377.33 SEQUENT ENERGY 10/10/2019 Original Purchase 992 \$2.2870 \$2,268.70 SEQUENT ENERGY 11/11/2019 Original Purchase 992 \$2.2885 \$2,270.19 SEQUENT ENERGY 12/6/2019 Original Purchase 992 \$2.2300 \$2,242.6 SEQUENT ENERGY 1/8/2020 Original Purchase 992 \$2.2300 \$2,260.77 SEQUENT ENERGY 3/10/2020 Original Purchase 992 \$2.2260 \$2,208.19 SEQUENT ENERGY 3/10/2020 Original Purchase 992 \$2.24870 \$6,244.86 SEQUENT ENERGY 5/13/2020 Original Purchase 992 \$2.5435 \$2,523.15 SEQUENT ENERGY 6/10/2020 Original Purchase 992 \$2.4490 \$2,429.41 SEQUENT ENERGY 7/14/2020 Original Purchase 992 \$2.6525 \$2,631.28
SEQUENT ENERGY 9/12/2019 Original Purchase 992 \$2.3965 \$2,377.33 SEQUENT ENERGY 10/10/2019 Original Purchase 992 \$2.2870 \$2,268.70 SEQUENT ENERGY 11/11/2019 Original Purchase 992 \$2.2885 \$2,270.19 SEQUENT ENERGY 12/6/2019 Original Purchase 992 \$2.3000 \$2,281.60 SEQUENT ENERGY 1/8/2020 Original Purchase 992 \$2.2790 \$2,260.77 SEQUENT ENERGY 2/13/2020 Original Purchase 992 \$2.2260 \$2,208.19 SEQUENT ENERGY 3/10/2020 Original Purchase 992 \$2.2260 \$2,208.19 SEQUENT ENERGY 4/9/2020 Original Purchase 992 \$2.5435 \$2,523.15 SEQUENT ENERGY 5/13/2020 Original Purchase 992 \$2.4490 \$2,429.41 SEQUENT ENERGY 7/14/2020 Original Purchase 992 \$2.4675 \$2,447.76 SEQUENT ENERGY 7/14/2020 Original Purchase 992 \$2.57745 \$2,752.30
SEQUENT ENERGY 10/10/2019 Original Purchase 992 \$2.2870 \$2,268.70 SEQUENT ENERGY 11/11/2019 Original Purchase 992 \$2.2885 \$2,270.19 SEQUENT ENERGY 12/6/2019 Original Purchase 992 \$2.3430 \$2,324.26 SEQUENT ENERGY 1/8/2020 Original Purchase 992 \$2.3000 \$2,281.60 SEQUENT ENERGY 2/13/2020 Original Purchase 992 \$2.2790 \$2,260.77 SEQUENT ENERGY 3/10/2020 Original Purchase 992 \$2.2260 \$2,208.19 SEQUENT ENERGY 4/9/2020 Original Purchase 992 \$2.2457 \$6,244.86 SEQUENT ENERGY 5/13/2020 Original Purchase 992 \$2.5435 \$2,523.15 SEQUENT ENERGY 6/10/2020 Original Purchase 992 \$2.4675 \$2,447.76 SEQUENT ENERGY 7/14/2020 Original Purchase 992 \$2.6525 \$2,631.28 SEQUENT ENERGY 9/14/2020 Original Purchase 992 \$2.2675 \$2,534.64
SEQUENT ENERGY 11/11/2019 Original Purchase 992 \$2.2885 \$2,270.19 SEQUENT ENERGY 12/6/2019 Original Purchase 992 \$2.3430 \$2,324.26 SEQUENT ENERGY 1/8/2020 Original Purchase 992 \$2.3000 \$2,281.60 SEQUENT ENERGY 2/13/2020 Original Purchase 992 \$2.2790 \$2,260.77 SEQUENT ENERGY 3/10/2020 Original Purchase 992 \$2.2260 \$2,208.19 SEQUENT ENERGY 4/9/2020 Original Purchase 2,511 \$2.4870 \$6,244.86 SEQUENT ENERGY 5/13/2020 Original Purchase 992 \$2.5435 \$2,523.15 SEQUENT ENERGY 6/10/2020 Original Purchase 992 \$2.4675 \$2,447.76 SEQUENT ENERGY 8/14/2020 Original Purchase 992 \$2.6525 \$2,631.28 SEQUENT ENERGY 9/14/2020 Original Purchase 992 \$2.7745 \$2,752.30 SEQUENT ENERGY 10/13/2020 Original Purchase 992 \$2.6525 \$2,834.64 </td
SEQUENT ENERGY 12/6/2019 Original Purchase 992 \$2.3430 \$2,324.26 SEQUENT ENERGY 1/8/2020 Original Purchase 992 \$2.3000 \$2,281.60 SEQUENT ENERGY 2/13/2020 Original Purchase 992 \$2.2790 \$2,260.77 SEQUENT ENERGY 3/10/2020 Original Purchase 992 \$2.2260 \$2,208.19 SEQUENT ENERGY 4/9/2020 Original Purchase 2,511 \$2.4870 \$6,244.86 SEQUENT ENERGY 5/13/2020 Original Purchase 992 \$2.5435 \$2,523.15 SEQUENT ENERGY 6/10/2020 Original Purchase 992 \$2.4490 \$2,429.41 SEQUENT ENERGY 7/14/2020 Original Purchase 992 \$2.4675 \$2,447.76 SEQUENT ENERGY 8/14/2020 Original Purchase 992 \$2.5525 \$2,631.28 SEQUENT ENERGY 9/14/2020 Original Purchase 992 \$2.8575 \$2,834.64 SEQUENT ENERGY 10/13/2020 Original Purchase 992 \$2.6150 \$2,599.04
SEQUENT ENERGY 1/8/2020 Original Purchase 992 \$2.3000 \$2,281.60 SEQUENT ENERGY 2/13/2020 Original Purchase 992 \$2.2790 \$2,260.77 SEQUENT ENERGY 3/10/2020 Original Purchase 992 \$2.2260 \$2,208.19 SEQUENT ENERGY 4/9/2020 Original Purchase 2,511 \$2.4870 \$6,244.86 SEQUENT ENERGY 5/13/2020 Original Purchase 992 \$2.5435 \$2,523.15 SEQUENT ENERGY 6/10/2020 Original Purchase 992 \$2.4490 \$2,429.41 SEQUENT ENERGY 7/14/2020 Original Purchase 992 \$2.4675 \$2,447.76 SEQUENT ENERGY 8/14/2020 Original Purchase 992 \$2.5525 \$2,631.28 SEQUENT ENERGY 9/14/2020 Original Purchase 992 \$2.57745 \$2,752.30 SEQUENT ENERGY 10/13/2020 Original Purchase 992 \$2.6525 \$2,834.64 SEQUENT ENERGY 11/17/2020 Original Purchase 992 \$2.6150 \$2,599.04 <
SEQUENT ENERGY 2/13/2020 Original Purchase 992 \$2,2790 \$2,260.77 SEQUENT ENERGY 3/10/2020 Original Purchase 992 \$2,2260 \$2,208.19 SEQUENT ENERGY 4/9/2020 Original Purchase 2,511 \$2.4870 \$6,244.86 SEQUENT ENERGY 5/13/2020 Original Purchase 992 \$2.5435 \$2,523.15 SEQUENT ENERGY 6/10/2020 Original Purchase 992 \$2.4490 \$2,429.41 SEQUENT ENERGY 7/14/2020 Original Purchase 992 \$2.4675 \$2,447.76 SEQUENT ENERGY 8/14/2020 Original Purchase 992 \$2.6525 \$2,631.28 SEQUENT ENERGY 9/14/2020 Original Purchase 992 \$2.8575 \$2,834.64 SEQUENT ENERGY 11/17/2020 Original Purchase 992 \$2.6200 \$2,599.04 SEQUENT ENERGY 1/13/2021 Original Purchase 2,511 \$2.7200 \$6,829.92 SEQUENT ENERGY 1/13/2021 Original Purchase 2,511 \$2.9110 \$7,309.52
SEQUENT ENERGY 3/10/2020 Original Purchase 992 \$2.2260 \$2,208.19 SEQUENT ENERGY 4/9/2020 Original Purchase 2,511 \$2.4870 \$6,244.86 SEQUENT ENERGY 5/13/2020 Original Purchase 992 \$2.5435 \$2,523.15 SEQUENT ENERGY 6/10/2020 Original Purchase 992 \$2.4490 \$2,429.41 SEQUENT ENERGY 7/14/2020 Original Purchase 992 \$2.4675 \$2,447.76 SEQUENT ENERGY 8/14/2020 Original Purchase 992 \$2.6525 \$2,631.28 SEQUENT ENERGY 9/14/2020 Original Purchase 992 \$2.7745 \$2,752.30 SEQUENT ENERGY 10/13/2020 Original Purchase 992 \$2.8575 \$2,834.64 SEQUENT ENERGY 11/17/2020 Original Purchase 992 \$2.6200 \$2,599.04 SEQUENT ENERGY 1/13/2021 Original Purchase 2,511 \$2.7200 \$6,829.92 SEQUENT ENERGY 3/11/2021 Original Purchase 2,511 \$2.9110 \$7,309.52
SEQUENT ENERGY 4/9/2020 Original Purchase 2,511 \$2.4870 \$6,244.86 SEQUENT ENERGY 5/13/2020 Original Purchase 992 \$2.5435 \$2,523.15 SEQUENT ENERGY 6/10/2020 Original Purchase 992 \$2.4490 \$2,429.41 SEQUENT ENERGY 7/14/2020 Original Purchase 992 \$2.4675 \$2,447.76 SEQUENT ENERGY 8/14/2020 Original Purchase 992 \$2.6525 \$2,631.28 SEQUENT ENERGY 9/14/2020 Original Purchase 992 \$2.7745 \$2,752.30 SEQUENT ENERGY 10/13/2020 Original Purchase 992 \$2.8575 \$2,834.64 SEQUENT ENERGY 11/17/2020 Original Purchase 992 \$2.6000 \$2,599.04 SEQUENT ENERGY 12/14/2020 Original Purchase 992 \$2.6150 \$2,599.04 SEQUENT ENERGY 1/13/2021 Original Purchase 2,511 \$2.7200 \$6,829.92 SEQUENT ENERGY 3/11/2021 Original Purchase 5,022 \$2.7340 \$13,730.15
SEQUENT ENERGY 5/13/2020 Original Purchase 992 \$2.5435 \$2,523.15 SEQUENT ENERGY 6/10/2020 Original Purchase 992 \$2.4490 \$2,429.41 SEQUENT ENERGY 7/14/2020 Original Purchase 992 \$2.4675 \$2,447.76 SEQUENT ENERGY 8/14/2020 Original Purchase 992 \$2.6525 \$2,631.28 SEQUENT ENERGY 9/14/2020 Original Purchase 992 \$2.7745 \$2,752.30 SEQUENT ENERGY 10/13/2020 Original Purchase 992 \$2.8575 \$2,834.64 SEQUENT ENERGY 11/17/2020 Original Purchase 992 \$2.6200 \$2,599.04 SEQUENT ENERGY 12/14/2020 Original Purchase 992 \$2.6150 \$2,599.04 SEQUENT ENERGY 1/13/2021 Original Purchase 2,511 \$2.7200 \$6,829.92 SEQUENT ENERGY 3/11/2021 Original Purchase 2,511 \$2.9110 \$7,309.52 SEQUENT ENERGY 5/31/2021 WITHDRAWAL/(INJECTION) -3,314 \$2.4121 (\$7,993.
SEQUENT ENERGY 6/10/2020 Original Purchase 992 \$2,4490 \$2,429.41 SEQUENT ENERGY 7/14/2020 Original Purchase 992 \$2.4675 \$2,447.76 SEQUENT ENERGY 8/14/2020 Original Purchase 992 \$2.6525 \$2,631.28 SEQUENT ENERGY 9/14/2020 Original Purchase 992 \$2.7745 \$2,752.30 SEQUENT ENERGY 10/13/2020 Original Purchase 992 \$2.8575 \$2,834.64 SEQUENT ENERGY 11/17/2020 Original Purchase 992 \$2.6200 \$2,599.04 SEQUENT ENERGY 12/14/2020 Original Purchase 992 \$2.6150 \$2,599.04 SEQUENT ENERGY 1/13/2021 Original Purchase 2,511 \$2.7200 \$6,829.92 SEQUENT ENERGY 2/11/2021 Original Purchase 2,511 \$2.9110 \$7,309.52 SEQUENT ENERGY 3/11/2021 Original Purchase 5,022 \$2.7340 \$13,730.15 STORAGE 5/31/2021 WITHDRAWAL/(INJECTION) -3,314 \$2.4121 (\$7,993.59)<
SEQUENT ENERGY 7/14/2020 Original Purchase 992 \$2.4675 \$2,447.76 SEQUENT ENERGY 8/14/2020 Original Purchase 992 \$2.6525 \$2,631.28 SEQUENT ENERGY 9/14/2020 Original Purchase 992 \$2.7745 \$2,752.30 SEQUENT ENERGY 10/13/2020 Original Purchase 992 \$2.8575 \$2,834.64 SEQUENT ENERGY 11/17/2020 Original Purchase 992 \$2.6200 \$2,599.04 SEQUENT ENERGY 12/14/2020 Original Purchase 992 \$2.6150 \$2,599.04 SEQUENT ENERGY 1/13/2021 Original Purchase 2,511 \$2.7200 \$6,829.92 SEQUENT ENERGY 2/11/2021 Original Purchase 2,511 \$2.9110 \$7,309.52 SEQUENT ENERGY 3/11/2021 Original Purchase 5,022 \$2.7340 \$13,730.15 STORAGE 5/31/2021 WITHDRAWAL/(INJECTION) -3,314 \$2.4121 (\$7,993.59) 59,993 \$2.8573 \$171,418.00 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,
SEQUENT ENERGY 8/14/2020 Original Purchase 992 \$2.6525 \$2,631.28 SEQUENT ENERGY 9/14/2020 Original Purchase 992 \$2.7745 \$2,752.30 SEQUENT ENERGY 10/13/2020 Original Purchase 992 \$2.8575 \$2,834.64 SEQUENT ENERGY 11/17/2020 Original Purchase 992 \$2.6200 \$2,599.04 SEQUENT ENERGY 12/14/2020 Original Purchase 992 \$2.6150 \$2,599.04 SEQUENT ENERGY 1/13/2021 Original Purchase 992 \$2.6150 \$2,594.08 SEQUENT ENERGY 1/13/2021 Original Purchase 2,511 \$2.7200 \$6,829.92 SEQUENT ENERGY 3/11/2021 Original Purchase 5,022 \$2.7340 \$13,730.15 STORAGE 5/31/2021 WITHDRAWAL/(INJECTION) -3,314 \$2.4121 (\$7,993.59) 59,993 \$2.8573 \$171,418.00 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.3675 \$33,575.00
SEQUENT ENERGY 9/14/2020 Original Purchase 992 \$2,7745 \$2,752.30 SEQUENT ENERGY 10/13/2020 Original Purchase 992 \$2.8575 \$2,834.64 SEQUENT ENERGY 11/17/2020 Original Purchase 992 \$2.6200 \$2,599.04 SEQUENT ENERGY 12/14/2020 Original Purchase 992 \$2.6150 \$2,594.08 SEQUENT ENERGY 1/13/2021 Original Purchase 2,511 \$2.7200 \$6,829.92 SEQUENT ENERGY 2/11/2021 Original Purchase 2,511 \$2.9110 \$7,309.52 SEQUENT ENERGY 3/11/2021 Original Purchase 5,022 \$2.7340 \$13,730.15 STORAGE 5/31/2021 WITHDRAWAL/(INJECTION) -3,314 \$2.4121 (\$7,993.59) 59,993 \$2.8573 \$171,418.00 June 2021 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.4675 \$34,675.00 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.3575 \$33,
SEQUENT ENERGY 10/13/2020 Original Purchase 992 \$2.8575 \$2,834.64 SEQUENT ENERGY 11/17/2020 Original Purchase 992 \$2.6200 \$2,599.04 SEQUENT ENERGY 12/14/2020 Original Purchase 992 \$2.6150 \$2,594.08 SEQUENT ENERGY 1/13/2021 Original Purchase 2,511 \$2.7200 \$6,829.92 SEQUENT ENERGY 2/11/2021 Original Purchase 2,511 \$2.9110 \$7,309.52 SEQUENT ENERGY 3/11/2021 Original Purchase 5,022 \$2.7340 \$13,730.15 STORAGE 5/31/2021 WITHDRAWAL/(INJECTION) -3,314 \$2.4121 (\$7,993.59) 59,993 \$2.8573 \$171,418.00 June 2021 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.4675 \$34,675.00 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.3575 \$33,575.00
SEQUENT ENERGY 11/17/2020 Original Purchase 992 \$2.6200 \$2,599.04 SEQUENT ENERGY 12/14/2020 Original Purchase 992 \$2.6150 \$2,594.08 SEQUENT ENERGY 1/13/2021 Original Purchase 2,511 \$2.7200 \$6,829.92 SEQUENT ENERGY 2/11/2021 Original Purchase 2,511 \$2.9110 \$7,309.52 SEQUENT ENERGY 3/11/2021 Original Purchase 5,022 \$2.7340 \$13,730.15 STORAGE 5/31/2021 WITHDRAWAL/(INJECTION) -3,314 \$2.4121 (\$7,993.59) 59,993 \$2.8573 \$171,418.00 June 2021 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.4675 \$34,675.00 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.3575 \$33,575.00
SEQUENT ENERGY 12/14/2020 Original Purchase 992 \$2.6150 \$2,594.08 SEQUENT ENERGY 1/13/2021 Original Purchase 2,511 \$2.7200 \$6,829.92 SEQUENT ENERGY 2/11/2021 Original Purchase 2,511 \$2.9110 \$7,309.52 SEQUENT ENERGY 3/11/2021 Original Purchase 5,022 \$2.7340 \$13,730.15 STORAGE 5/31/2021 WITHDRAWAL/(INJECTION) -3,314 \$2.4121 (\$7,993.59) 59,993 \$2.8573 \$171,418.00 June 2021 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.4675 \$34,675.00 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.3575 \$33,575.00
SEQUENT ENERGY 1/13/2021 Original Purchase 2,511 \$2.7200 \$6,829.92 SEQUENT ENERGY 2/11/2021 Original Purchase 2,511 \$2.9110 \$7,309.52 SEQUENT ENERGY 3/11/2021 Original Purchase 5,022 \$2.7340 \$13,730.15 STORAGE 5/31/2021 WITHDRAWAL/(INJECTION) -3,314 \$2.4121 (\$7,993.59) 59,993 \$2.8573 \$171,418.00 June 2021 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.4675 \$34,675.00 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.3575 \$33,575.00
SEQUENT ENERGY 2/11/2021 Original Purchase 2,511 \$2.9110 \$7,309.52 SEQUENT ENERGY 3/11/2021 Original Purchase 5,022 \$2.7340 \$13,730.15 STORAGE 5/31/2021 WITHDRAWAL/(INJECTION) -3,314 \$2.4121 (\$7,993.59) 59,993 \$2.8573 \$171,418.00 June 2021 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.4675 \$34,675.00 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.3575 \$33,575.00
SEQUENT ENERGY 3/11/2021 Original Purchase 5,022 \$2.7340 \$13,730.15 STORAGE 5/31/2021 WITHDRAWAL/(INJECTION) -3,314 \$2.4121 (\$7,993.59) 59,993 \$2.8573 \$171,418.00 June 2021 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.4675 \$34,675.00 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.3575 \$33,575.00
STORAGE 5/31/2021 WITHDRAWAL/(INJECTION) -3,314 \$2.4121 (\$7,993.59) 59,993 \$2.8573 \$171,418.00 June 2021 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.4675 \$34,675.00 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.3575 \$33,575.00
59,993 \$2.8573 \$171,418.00 June 2021 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.4675 \$34,675.00 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.3575 \$33,575.00
June 2021 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.4675 \$34,675.00 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.3575 \$33,575.00
June 2021 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.4675 \$34,675.00 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.3575 \$33,575.00
MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.4675 \$34,675.00 MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.3575 \$33,575.00
MIDAMERICAN ENERGY 5/1/2018 Original Purchase 10,000 \$3.3575 \$33,575.00
SEQUENT ENERGY 7/13/2018 Original Purchase 990 \$2,4300 \$2,405.70
SEQUENT ENERGY 8/14/2018 Original Purchase 990 \$2.4705 \$2,445.80
SEQUENT ENERGY 9/14/2018 Original Purchase 990 \$2.4830 \$2,458.17
SEQUENT ENERGY 10/11/2018 Original Purchase 990 \$2.4930 \$2,468.07
SEQUENT ENERGY 12/10/2018 Original Purchase 2,490 \$2.5675 \$6,393.08
SEQUENT ENERGY 1/14/2019 Original Purchase 2,490 \$2.5660 \$6,389.34
SEQUENT ENERGY 2/7/2019 Original Purchase 2,490 \$2.5300 \$6,299.70
SEQUENT ENERGY 3/11/2019 Original Purchase 990 \$2.5535 \$2,527.97
SEQUENT ENERGY 4/16/2019 Original Purchase 2,490 \$2.6315 \$6,552.44
SEQUENT ENERGY 5/20/2019 Original Purchase 990 \$2.5195 \$2,494.31
CECUENT ENERGY C/42/2040
SEQUENT ENERGY 6/12/2019 Original Purchase 990 \$2.5420 \$2,516.58
SEQUENT ENERGY 6/12/2019 Original Purchase 990 \$2.5420 \$2,516.58 SEQUENT ENERGY 7/11/2019 Original Purchase 990 \$2.5345 \$2,509.16
SEQUENT ENERGY 7/11/2019 Original Purchase 990 \$2.5345 \$2,509.16

Sunday, May 15, 2022 Page 6 of 12

DocuSign Envelope ID: C5271	FC8-5CAB-4EEF-B8	3C4-49ED0165649E			
PURCHASED	DATE	DESCRIPTION	AMOUNT	PURCHASE	TOTAL
	PURCHASED		PURCHASED	PRICE	COST
SEQUENT ENERGY	11/11/2019	Original Purchase	990	\$2.2525	\$2,229.98
SEQUENT ENERGY	12/6/2019	Original Purchase	990	\$2.3100	\$2,286.90
SEQUENT ENERGY	1/8/2020	Original Purchase	2,490	\$2.2510	\$5,604.99
SEQUENT ENERGY	2/13/2020	Original Purchase	990	\$2.2300	\$2,207.70
SEQUENT ENERGY	3/10/2020	Original Purchase	990	\$2.1890	\$2,167.11
SEQUENT ENERGY	4/9/2020	Original Purchase	2,490	\$2.4270	\$6,043.23
SEQUENT ENERGY	5/13/2020	Original Purchase	990	\$2.5150	\$2,489.85
SEQUENT ENERGY	6/10/2020	Original Purchase	990	\$2.4150	\$2,390.85
SEQUENT ENERGY	7/14/2020	Original Purchase	990	\$2.4255	\$2,401.25
SEQUENT ENERGY	8/14/2020	Original Purchase	990	\$2.6000	\$2,574.00
SEQUENT ENERGY	9/14/2020	Original Purchase	990	\$2.7565	\$2,728.94
SEQUENT ENERGY	10/13/2020	Original Purchase	990	\$2.8405	\$2,812.10
SEQUENT ENERGY	11/17/2020	Original Purchase	990	\$2.6230	\$2,596.77
SEQUENT ENERGY	12/14/2020	Original Purchase	990	\$2.6120	\$2,585.88
SEQUENT ENERGY	1/13/2021	Original Purchase	2,490	\$2.7295	\$6,796.46
SEQUENT ENERGY	2/11/2021	Original Purchase	2,490	\$2.8875	\$7,189.88
SEQUENT ENERGY	3/11/2021	Original Purchase	2,490	\$2.7500	\$6,847.50
STORAGE	6/30/2021	WITHDRAWAL/(INJECTION)	-46,653	\$2.7667	(\$129,076.23)
			21,527	\$2.8178	\$60,658.78
July 2021			,	γ	φ σ σ , σ σ σ σ σ
July 2021					
MIDAMERICAN ENERGY	5/1/2018	Original Purchase	20,000	\$3.2500	\$65,000.00
CECULENT ENIED OV					
SEQUENT ENERGY	7/13/2018	Original Purchase	992	\$2.4450	\$2,425.44
SEQUENT ENERGY SEQUENT ENERGY	7/13/2018 12/10/2018	Original Purchase Original Purchase	992 2,511	\$2.4450 \$2.5885	\$2,425.44 \$6,499.72
SEQUENT ENERGY	12/10/2018	Original Purchase	2,511	\$2.5885	\$6,499.72
SEQUENT ENERGY SEQUENT ENERGY	12/10/2018 1/14/2019	Original Purchase Original Purchase	2,511 2,511	\$2.5885 \$2.5900	\$6,499.72 \$6,503.49
SEQUENT ENERGY SEQUENT ENERGY SEQUENT ENERGY	12/10/2018 1/14/2019 2/7/2019	Original Purchase Original Purchase Original Purchase	2,511 2,511 2,511	\$2.5885 \$2.5900 \$2.5500	\$6,499.72 \$6,503.49 \$6,403.05
SEQUENT ENERGY SEQUENT ENERGY SEQUENT ENERGY SEQUENT ENERGY	12/10/2018 1/14/2019 2/7/2019 3/11/2019	Original Purchase Original Purchase Original Purchase Original Purchase	2,511 2,511 2,511 2,511	\$2.5885 \$2.5900 \$2.5500 \$2.5755	\$6,499.72 \$6,503.49 \$6,403.05 \$6,467.08
SEQUENT ENERGY SEQUENT ENERGY SEQUENT ENERGY SEQUENT ENERGY SEQUENT ENERGY	12/10/2018 1/14/2019 2/7/2019 3/11/2019 4/16/2019	Original Purchase Original Purchase Original Purchase Original Purchase Original Purchase	2,511 2,511 2,511 2,511 992	\$2.5885 \$2.5900 \$2.5500 \$2.5755 \$2.6480	\$6,499.72 \$6,503.49 \$6,403.05 \$6,467.08 \$2,626.82
SEQUENT ENERGY SEQUENT ENERGY SEQUENT ENERGY SEQUENT ENERGY SEQUENT ENERGY	12/10/2018 1/14/2019 2/7/2019 3/11/2019 4/16/2019 5/20/2019	Original Purchase Original Purchase Original Purchase Original Purchase Original Purchase Original Purchase	2,511 2,511 2,511 2,511 992 2,511	\$2.5885 \$2.5900 \$2.5500 \$2.5755 \$2.6480 \$2.5010	\$6,499.72 \$6,503.49 \$6,403.05 \$6,467.08 \$2,626.82 \$6,280.01
SEQUENT ENERGY	12/10/2018 1/14/2019 2/7/2019 3/11/2019 4/16/2019 5/20/2019 6/12/2019	Original Purchase	2,511 2,511 2,511 2,511 992 2,511 992	\$2.5885 \$2.5900 \$2.5500 \$2.5755 \$2.6480 \$2.5010 \$2.5235	\$6,499.72 \$6,503.49 \$6,403.05 \$6,467.08 \$2,626.82 \$6,280.01 \$2,503.31
SEQUENT ENERGY	12/10/2018 1/14/2019 2/7/2019 3/11/2019 4/16/2019 5/20/2019 6/12/2019 7/11/2019	Original Purchase	2,511 2,511 2,511 2,511 992 2,511 992 992	\$2.5885 \$2.5900 \$2.5500 \$2.5755 \$2.6480 \$2.5010 \$2.5235 \$2.5195	\$6,499.72 \$6,503.49 \$6,403.05 \$6,467.08 \$2,626.82 \$6,280.01 \$2,503.31 \$2,499.34
SEQUENT ENERGY	12/10/2018 1/14/2019 2/7/2019 3/11/2019 4/16/2019 5/20/2019 6/12/2019 7/11/2019 8/12/2019	Original Purchase	2,511 2,511 2,511 2,511 992 2,511 992 992 2,511	\$2.5885 \$2.5900 \$2.5500 \$2.5755 \$2.6480 \$2.5010 \$2.5235 \$2.5195 \$2.4520	\$6,499.72 \$6,503.49 \$6,403.05 \$6,467.08 \$2,626.82 \$6,280.01 \$2,503.31 \$2,499.34 \$6,156.97
SEQUENT ENERGY	12/10/2018 1/14/2019 2/7/2019 3/11/2019 4/16/2019 5/20/2019 6/12/2019 7/11/2019 8/12/2019 9/12/2019	Original Purchase	2,511 2,511 2,511 2,511 992 2,511 992 992 2,511 992	\$2.5885 \$2.5900 \$2.5500 \$2.5755 \$2.6480 \$2.5010 \$2.5235 \$2.5195 \$2.4520 \$2.3405	\$6,499.72 \$6,503.49 \$6,403.05 \$6,467.08 \$2,626.82 \$6,280.01 \$2,503.31 \$2,499.34 \$6,156.97 \$2,321.78
SEQUENT ENERGY	12/10/2018 1/14/2019 2/7/2019 3/11/2019 4/16/2019 5/20/2019 6/12/2019 7/11/2019 8/12/2019 9/12/2019 10/10/2019	Original Purchase	2,511 2,511 2,511 2,511 992 2,511 992 992 2,511 992 992 992	\$2.5885 \$2.5900 \$2.5500 \$2.5755 \$2.6480 \$2.5010 \$2.5235 \$2.5195 \$2.4520 \$2.3405 \$2.2430	\$6,499.72 \$6,503.49 \$6,403.05 \$6,467.08 \$2,626.82 \$6,280.01 \$2,503.31 \$2,499.34 \$6,156.97 \$2,321.78 \$2,225.06
SEQUENT ENERGY	12/10/2018 1/14/2019 2/7/2019 3/11/2019 4/16/2019 5/20/2019 6/12/2019 7/11/2019 8/12/2019 9/12/2019 10/10/2019 11/11/2019	Original Purchase	2,511 2,511 2,511 2,511 992 2,511 992 992 2,511 992 992 992 992	\$2.5885 \$2.5900 \$2.5500 \$2.5755 \$2.6480 \$2.5010 \$2.5235 \$2.5195 \$2.4520 \$2.3405 \$2.2430 \$2.2465	\$6,499.72 \$6,503.49 \$6,403.05 \$6,467.08 \$2,626.82 \$6,280.01 \$2,503.31 \$2,499.34 \$6,156.97 \$2,321.78 \$2,225.06 \$2,228.53
SEQUENT ENERGY	12/10/2018 1/14/2019 2/7/2019 3/11/2019 4/16/2019 5/20/2019 6/12/2019 7/11/2019 8/12/2019 10/10/2019 11/11/2019 12/6/2019	Original Purchase	2,511 2,511 2,511 2,511 992 2,511 992 992 2,511 992 992 992 2,511	\$2.5885 \$2.5900 \$2.5500 \$2.5755 \$2.6480 \$2.5010 \$2.5235 \$2.5195 \$2.4520 \$2.3405 \$2.2430 \$2.2465 \$2.3110	\$6,499.72 \$6,503.49 \$6,403.05 \$6,467.08 \$2,626.82 \$6,280.01 \$2,503.31 \$2,499.34 \$6,156.97 \$2,321.78 \$2,225.06 \$2,228.53 \$5,802.92
SEQUENT ENERGY	12/10/2018 1/14/2019 2/7/2019 3/11/2019 4/16/2019 5/20/2019 6/12/2019 7/11/2019 8/12/2019 9/12/2019 10/10/2019 11/11/2019 12/6/2019 1/8/2020	Original Purchase	2,511 2,511 2,511 2,511 992 2,511 992 992 2,511 992 992 2,511 992 992 2,511 992	\$2.5885 \$2.5900 \$2.5500 \$2.5755 \$2.6480 \$2.5010 \$2.5235 \$2.5195 \$2.4520 \$2.3405 \$2.2430 \$2.2465 \$2.3110 \$2.2450	\$6,499.72 \$6,503.49 \$6,403.05 \$6,467.08 \$2,626.82 \$6,280.01 \$2,503.31 \$2,499.34 \$6,156.97 \$2,321.78 \$2,225.06 \$2,228.53 \$5,802.92 \$2,227.04
SEQUENT ENERGY	12/10/2018 1/14/2019 2/7/2019 3/11/2019 4/16/2019 5/20/2019 6/12/2019 7/11/2019 8/12/2019 10/10/2019 11/11/2019 12/6/2019 1/8/2020 2/13/2020	Original Purchase	2,511 2,511 2,511 2,511 992 2,511 992 992 2,511 992 992 2,511 992 992 2,511 992 992	\$2.5885 \$2.5900 \$2.5500 \$2.5755 \$2.6480 \$2.5010 \$2.5235 \$2.5195 \$2.4520 \$2.3405 \$2.2430 \$2.2465 \$2.3110 \$2.2450 \$2.2320	\$6,499.72 \$6,503.49 \$6,403.05 \$6,467.08 \$2,626.82 \$6,280.01 \$2,503.31 \$2,499.34 \$6,156.97 \$2,321.78 \$2,225.06 \$2,228.53 \$5,802.92 \$2,227.04 \$2,214.14
SEQUENT ENERGY	12/10/2018 1/14/2019 2/7/2019 3/11/2019 4/16/2019 5/20/2019 6/12/2019 7/11/2019 8/12/2019 9/12/2019 10/10/2019 11/11/2019 12/6/2019 1/8/2020 2/13/2020 3/10/2020	Original Purchase	2,511 2,511 2,511 2,511 992 2,511 992 992 2,511 992 992 2,511 992 992 992 992 992 992 992 992	\$2.5885 \$2.5900 \$2.5500 \$2.5755 \$2.6480 \$2.5010 \$2.5235 \$2.5195 \$2.4520 \$2.3405 \$2.2450 \$2.2465 \$2.3110 \$2.2450 \$2.2320 \$2.1910	\$6,499.72 \$6,503.49 \$6,403.05 \$6,467.08 \$2,626.82 \$6,280.01 \$2,503.31 \$2,499.34 \$6,156.97 \$2,321.78 \$2,225.06 \$2,228.53 \$5,802.92 \$2,227.04 \$2,214.14 \$2,173.47
SEQUENT ENERGY	12/10/2018 1/14/2019 2/7/2019 3/11/2019 4/16/2019 5/20/2019 6/12/2019 7/11/2019 8/12/2019 10/10/2019 11/11/2019 12/6/2019 1/8/2020 2/13/2020 4/9/2020	Original Purchase	2,511 2,511 2,511 2,511 992 2,511 992 992 2,511 992 992 2,511 992 992 2,511 992 992 2,511	\$2.5885 \$2.5900 \$2.5500 \$2.5755 \$2.6480 \$2.5010 \$2.5235 \$2.5195 \$2.4520 \$2.3405 \$2.2430 \$2.2465 \$2.3110 \$2.2450 \$2.2320 \$2.1910 \$2.4240	\$6,499.72 \$6,503.49 \$6,403.05 \$6,467.08 \$2,626.82 \$6,280.01 \$2,503.31 \$2,499.34 \$6,156.97 \$2,321.78 \$2,225.06 \$2,228.53 \$5,802.92 \$2,227.04 \$2,214.14 \$2,173.47 \$6,086.66
SEQUENT ENERGY	12/10/2018 1/14/2019 2/7/2019 3/11/2019 4/16/2019 5/20/2019 6/12/2019 7/11/2019 8/12/2019 9/12/2019 10/10/2019 11/11/2019 12/6/2019 1/8/2020 2/13/2020 4/9/2020 5/13/2020	Original Purchase	2,511 2,511 2,511 2,511 992 2,511 992 992 2,511 992 992 2,511 992 992 2,511 992 992 2,511 992 992	\$2.5885 \$2.5900 \$2.5500 \$2.5755 \$2.6480 \$2.5010 \$2.5235 \$2.5195 \$2.4520 \$2.3405 \$2.2430 \$2.2465 \$2.3110 \$2.2450 \$2.2320 \$2.1910 \$2.4240 \$2.5365	\$6,499.72 \$6,503.49 \$6,403.05 \$6,467.08 \$2,626.82 \$6,280.01 \$2,503.31 \$2,499.34 \$6,156.97 \$2,321.78 \$2,225.06 \$2,228.53 \$5,802.92 \$2,227.04 \$2,214.14 \$2,173.47 \$6,086.66 \$2,516.21
SEQUENT ENERGY	12/10/2018 1/14/2019 2/7/2019 3/11/2019 4/16/2019 5/20/2019 6/12/2019 7/11/2019 8/12/2019 10/10/2019 11/11/2019 12/6/2019 1/8/2020 2/13/2020 4/9/2020 5/13/2020 6/10/2020	Original Purchase	2,511 2,511 2,511 2,511 992 2,511 992 992 2,511 992 992 2,511 992 992 2,511 992 992 992 992 992 992 992 992 992 9	\$2.5885 \$2.5900 \$2.5500 \$2.5755 \$2.6480 \$2.5010 \$2.5235 \$2.5195 \$2.4520 \$2.3405 \$2.2430 \$2.2465 \$2.3110 \$2.2450 \$2.2320 \$2.1910 \$2.4240 \$2.5365 \$2.4280	\$6,499.72 \$6,503.49 \$6,403.05 \$6,467.08 \$2,626.82 \$6,280.01 \$2,503.31 \$2,499.34 \$6,156.97 \$2,321.78 \$2,225.06 \$2,228.53 \$5,802.92 \$2,227.04 \$2,214.14 \$2,173.47 \$6,086.66 \$2,516.21 \$2,408.58

Sunday, May 15, 2022 Page 7 of 12

DocuSign Envelope ID: C52	71FC8-5CAB-4EEF-B	3C4-49ED0165649E			
PURCHASED	DATE	DESCRIPTION	AMOUNT	PURCHASE	TOTAL
FROM	PURCHASED		PURCHASED	PRICE	COST
SEQUENT ENERGY	9/14/2020	Original Purchase	992	\$2.7825	\$2,760.24
SEQUENT ENERGY	10/13/2020	Original Purchase	992	\$2.8720	\$2,849.02
SEQUENT ENERGY	11/17/2020	Original Purchase	992	\$2.6660	\$2,644.67
SEQUENT ENERGY	12/14/2020	Original Purchase	992	\$2.6775	\$2,656.08
SEQUENT ENERGY	1/13/2021	Original Purchase	2,511	\$2.7975	\$7,024.52
SEQUENT ENERGY	2/11/2021	Original Purchase	2,511	\$2.8880	\$7,251.77
SEQUENT ENERGY	3/11/2021	Original Purchase	2,511	\$2.7345	\$6,866.33
STORAGE	7/31/2021	WITHDRAWAL/(INJECTION)	-43,219	\$2.7406	(\$118,444.59)
			22,258	\$2.7956	\$62,224.46
August 20	121			,	, · -, · · · ·
•					
MIDAMERICAN ENERG	, _,	Original Purchase	20,000	\$3.2500	\$65,000.00
SEQUENT ENERGY	7/13/2018	Original Purchase	992	\$2.4585	\$2,438.83
SEQUENT ENERGY	12/10/2018	Original Purchase	2,511	\$2.6080	\$6,548.69
SEQUENT ENERGY	1/14/2019	Original Purchase	2,511	\$2.6075	\$6,547.43
SEQUENT ENERGY	2/7/2019	Original Purchase	2,511	\$2.7200	\$6,829.92
SEQUENT ENERGY	3/11/2019	Original Purchase	992	\$2.5890	\$2,568.29
SEQUENT ENERGY	4/16/2019	Original Purchase	992	\$2.6605	\$2,639.22
SEQUENT ENERGY	5/20/2019	Original Purchase	2,511	\$2.5135	\$6,311.40
SEQUENT ENERGY	6/12/2019	Original Purchase	992	\$2.5360	\$2,515.71
SEQUENT ENERGY	7/11/2019	Original Purchase	992	\$2.5320	\$2,511.74
SEQUENT ENERGY	8/12/2019	Original Purchase	2,511	\$2.4665	\$6,193.38
SEQUENT ENERGY	9/12/2019	Original Purchase	992	\$2.3510	\$2,332.19
SEQUENT ENERGY	10/10/2019	Original Purchase	2,511	\$2.2525	\$5,656.03
SEQUENT ENERGY	11/11/2019	Original Purchase	992	\$2.2560	\$2,237.95
SEQUENT ENERGY	12/6/2019	Original Purchase	992	\$2.3250	\$2,306.40
SEQUENT ENERGY	1/8/2020	Original Purchase	2,511	\$2.2490	\$5,647.24
SEQUENT ENERGY	2/13/2020	Original Purchase	992	\$2.2405	\$2,222.58
SEQUENT ENERGY	3/10/2020	Original Purchase	992	\$2.2060	\$2,188.35
SEQUENT ENERGY	4/9/2020	Original Purchase	2,511	\$2.4290	\$6,099.22
SEQUENT ENERGY	5/13/2020	Original Purchase	992	\$2.5490	\$2,528.61
SEQUENT ENERGY	6/10/2020	Original Purchase	992	\$2.4230	\$2,403.62
SEQUENT ENERGY	7/14/2020	Original Purchase	992	\$2.4765	\$2,456.69
SEQUENT ENERGY	8/14/2020	Original Purchase	992	\$2.6350	\$2,613.92
SEQUENT ENERGY	9/14/2020	Original Purchase	992	\$2.7960	\$2,773.63
SEQUENT ENERGY	10/13/2020	Original Purchase	992	\$2.8825	\$2,859.44
SEQUENT ENERGY	11/17/2020	Original Purchase	992	\$2.7230	\$2,701.22
SEQUENT ENERGY	12/14/2020	Original Purchase	992	\$2.7045	\$2,682.86
SEQUENT ENERGY	1/13/2021	Original Purchase	2,511	\$2.7840	\$6,990.62
SEQUENT ENERGY	2/11/2021	Original Purchase	2,511	\$2.8930	\$7,264.32
SEQUENT ENERGY	3/11/2021	Original Purchase	2,511	\$2.7480	\$6,900.23
STORAGE	8/31/2021	WITHDRAWAL/(INJECTION)	-45,903	\$2.7544	(\$126,436.57)
			19,574	\$2.7860	\$54,533.16
			_3,03.	, =	,,

September 2021

Sunday, May 15, 2022 Page 8 of 12

DocuSign Envelope ID: C5271FC8-5CAB-4EEF-B8C4-49ED0165649E						
PURCHASED	DATE	DESCRIPTION	AMOUNT	PURCHASE	TOTAL	
	PURCHASED		PURCHASED	PRICE	COST	
MIDAMERICAN ENERGY		Original Purchase	20,000	\$3.2500	\$65,000.00	
SEQUENT ENERGY	5/14/2018	Original Purchase	990	\$2.4550	\$2,430.45	
SEQUENT ENERGY	6/18/2018	Original Purchase	990	\$2.4435	\$2,419.07	
SEQUENT ENERGY	7/13/2018	Original Purchase	990	\$2.4425	\$2,418.08	
SEQUENT ENERGY	8/14/2018	Original Purchase	990	\$2.4830	\$2,458.17	
SEQUENT ENERGY	9/14/2018	Original Purchase	990	\$2.5005	\$2,475.50	
SEQUENT ENERGY	10/11/2018	Original Purchase	990	\$2.5025	\$2,477.48	
SEQUENT ENERGY	11/19/2018	Original Purchase	990	\$2.4950	\$2,470.05	
SEQUENT ENERGY	12/10/2018	Original Purchase	990	\$2.5870	\$2,561.13	
SEQUENT ENERGY	1/14/2019	Original Purchase	990	\$2.5815	\$2,555.69	
SEQUENT ENERGY	2/7/2019	Original Purchase	990	\$2.5500	\$2,524.50	
SEQUENT ENERGY	3/11/2019	Original Purchase	990	\$2.5690	\$2,543.31	
SEQUENT ENERGY	4/16/2019	Original Purchase	990	\$2.6430	\$2,616.57	
SEQUENT ENERGY	5/20/2019	Original Purchase	990	\$2.4915	\$2,466.59	
SEQUENT ENERGY	6/12/2019	Original Purchase	990	\$2.5140	\$2,488.86	
SEQUENT ENERGY	7/11/2019	Original Purchase	990	\$2.5325	\$2,507.18	
SEQUENT ENERGY	8/12/2019	Original Purchase	990	\$2.4395	\$2,415.11	
SEQUENT ENERGY	9/12/2019	Original Purchase	990	\$2.3230	\$2,299.77	
SEQUENT ENERGY	10/10/2019	Original Purchase	2,490	\$2.2225	\$5,534.03	
SEQUENT ENERGY	11/11/2019	Original Purchase	990	\$2.2195	\$2,197.31	
SEQUENT ENERGY	12/6/2019	Original Purchase	990	\$2.2660	\$2,243.34	
SEQUENT ENERGY	1/8/2020	Original Purchase	2,490	\$2.1980	\$5,473.02	
SEQUENT ENERGY	2/13/2020	Original Purchase	990	\$2.1640	\$2,142.36	
SEQUENT ENERGY	3/10/2020	Original Purchase	990	\$2.1270	\$2,105.73	
SEQUENT ENERGY	4/9/2020	Original Purchase	2,490	\$2.3450	\$5,839.05	
SEQUENT ENERGY	5/13/2020	Original Purchase	990	\$2.4520	\$2,427.48	
SEQUENT ENERGY	6/10/2020	Original Purchase	990	\$2.3550	\$2,331.45	
SEQUENT ENERGY	7/14/2020	Original Purchase	990	\$2.3910	\$2,367.09	
SEQUENT ENERGY	8/14/2020	Original Purchase	990	\$2.5525	\$2,526.98	
SEQUENT ENERGY	9/14/2020	Original Purchase	990	\$2.7170	\$2,689.83	
SEQUENT ENERGY	10/13/2020	Original Purchase	990	\$2.8110	\$2,782.89	
SEQUENT ENERGY	11/17/2020	Original Purchase	990	\$2.6240	\$2,597.76	
SEQUENT ENERGY	12/14/2020	Original Purchase	990	\$2.6090	\$2,582.91	
SEQUENT ENERGY	1/13/2021	Original Purchase	2,490	\$2.7225	\$6,779.03	
SEQUENT ENERGY	2/11/2021	Original Purchase	2,490	\$2.8420	\$7,076.58	
SEQUENT ENERGY	3/11/2021	Original Purchase	2,490	\$2.7260	\$6,787.74	
STORAGE	9/30/2021	WITHDRAWAL/(INJECTION)	-33,477	\$2.6879	(\$89,981.59)	
	, ,	,		_		
			30,173	\$2.7717	\$83,630.50	
October 2021						
MIDAMERICAN ENERGY	5/1/2018	Original Purchase	20,000	\$3.2500	\$65,000.00	
SEQUENT ENERGY	5/14/2018	Original Purchase	2,511	\$2.5100	\$6,302.61	
SEQUENT ENERGY	6/18/2018	Original Purchase	2,511	\$2.5020	\$6,282.52	
SEQUENT ENERGY	7/13/2018	Original Purchase	992	\$2.5020	\$2,481.98	

Sunday, May 15, 2022 Page 9 of 12

DocuSign Envelope ID: C52	71FC8-5CAB-4EEF-B	8C4-49ED0165649E			
PURCHASED	DATE	DESCRIPTION	AMOUNT	PURCHASE	TOTAL
FROM	PURCHASED		PURCHASED	PRICE	COST
SEQUENT ENERGY	8/14/2018	Original Purchase	992	\$2.5405	\$2,520.18
SEQUENT ENERGY	9/14/2018	Original Purchase	992	\$2.5540	\$2,533.57
SEQUENT ENERGY	10/11/2018	Original Purchase	992	\$2.5550	\$2,534.56
SEQUENT ENERGY	11/19/2018	Original Purchase	992	\$2.5505	\$2,530.10
SEQUENT ENERGY	12/10/2018	Original Purchase	992	\$2.6435	\$2,622.35
SEQUENT ENERGY	1/14/2019	Original Purchase	992	\$2.6400	\$2,618.88
SEQUENT ENERGY	2/7/2019	Original Purchase	992	\$2.6100	\$2,589.12
SEQUENT ENERGY	3/11/2019	Original Purchase	992	\$2.6265	\$2,605.49
SEQUENT ENERGY	4/16/2019	Original Purchase	992	\$2.6990	\$2,677.41
SEQUENT ENERGY	5/20/2019	Original Purchase	992	\$2.5500	\$2,529.60
SEQUENT ENERGY	6/12/2019	Original Purchase	992	\$2.5705	\$2,549.94
SEQUENT ENERGY	7/11/2019	Original Purchase	992	\$2.5645	\$2,543.98
SEQUENT ENERGY	8/12/2019	Original Purchase	992	\$2.4990	\$2,479.01
SEQUENT ENERGY	9/12/2019	Original Purchase	992	\$2.3845	\$2,365.42
SEQUENT ENERGY	10/10/2019	Original Purchase	992	\$2.2870	\$2,268.70
SEQUENT ENERGY	11/11/2019	Original Purchase	992	\$2.2925	\$2,274.16
SEQUENT ENERGY	12/6/2019	Original Purchase	992	\$2.3430	\$2,324.26
SEQUENT ENERGY	1/8/2020	Original Purchase	992	\$2.2820	\$2,263.74
SEQUENT ENERGY	2/13/2020	Original Purchase	992	\$2.2345	\$2,216.62
SEQUENT ENERGY	3/10/2020	Original Purchase	992	\$2.2680	\$2,249.86
SEQUENT ENERGY	4/9/2020	Original Purchase	2,511	\$2.4300	\$6,101.73
SEQUENT ENERGY	5/13/2020	Original Purchase	992	\$2.5290	\$2,508.77
SEQUENT ENERGY	6/10/2020	Original Purchase	992	\$2.4090	\$2,389.73
SEQUENT ENERGY	7/14/2020	Original Purchase	992	\$2.4635	\$2,443.79
SEQUENT ENERGY	8/14/2020	Original Purchase	992	\$2.6200	\$2,599.04
SEQUENT ENERGY	9/14/2020	Original Purchase	992	\$2.7890	\$2,766.69
SEQUENT ENERGY	10/13/2020	Original Purchase	992	\$2.8895	\$2,866.38
SEQUENT ENERGY	11/17/2020	Original Purchase	992	\$2.7200	\$2,698.24
SEQUENT ENERGY	12/14/2020	Original Purchase	992	\$2.6350	\$2,613.92
SEQUENT ENERGY	1/13/2021	Original Purchase	992	\$2.7650	\$2,742.88
SEQUENT ENERGY	2/11/2021	Original Purchase	2,511	\$2.8815	\$7,235.45
SEQUENT ENERGY	3/11/2021	Original Purchase	2,511	\$2.7415	\$6,883.91
SEQUENT ENERGY	10/8/2021	GAS SOLD	-3,000	\$5.1300	(\$15,390.00)
SEQUENT ENERGY	10/11/2021	GAS SOLD	-1,000	\$5.0850	(\$5,085.00)
SEQUENT ENERGY	10/12/2021	GAS SOLD	-1,000	\$5.0800	(\$5,080.00)
SEQUENT ENERGY	10/13/2021	GAS SOLD	-1,000	\$5.1500	(\$5,150.00)
SEQUENT ENERGY	10/14/2021	GAS SOLD	-1,000	\$5.6100	(\$5,610.00)
SEQUENT ENERGY	10/15/2021	GAS SOLD	-3,000	\$5.0400	(\$15,120.00)
STORAGE	10/31/2021	WITHDRAWAL/(INJECTION)	4,007	\$7.4088	\$29,687.16
			56,322	\$2.6893	\$151,466.75
Novembe	r 2021		JU,JEL	Y2.0033	Ÿ±3±,400.73
		Original P	20.000	62.2500	ĆCE 000 00
MIDAMERICAN ENERGY		Original Purchase	20,000	\$3.2500	\$65,000.00
SEQUENT ENERGY	5/14/2018	Original Purchase	2,490	\$2.6000	\$6,474.00

Sunday, May 15, 2022 Page 10 of 12

DocuSign Envelope ID: C52	71FC8-5CAB-4EEF-B	8C4-49ED0165649E			
PURCHASED	DATE	DESCRIPTION	AMOUNT	PURCHASE	TOTAL
FROM	PURCHASED		PURCHASED	PRICE	COST
SEQUENT ENERGY	6/18/2018	Original Purchase	2,490	\$2.5705	\$6,400.55
SEQUENT ENERGY	7/13/2018	Original Purchase	2,490	\$2.5575	\$6,368.18
SEQUENT ENERGY	8/14/2018	Original Purchase	2,490	\$2.5995	\$6,472.76
SEQUENT ENERGY	9/14/2018	Original Purchase	2,490	\$2.6095	\$6,497.66
SEQUENT ENERGY	10/11/2018	Original Purchase	2,490	\$2.6275	\$6,542.48
SEQUENT ENERGY	11/19/2018	Original Purchase	2,490	\$2.6420	\$6,578.58
SEQUENT ENERGY	12/10/2018	Original Purchase	2,490	\$2.7075	\$6,741.68
SEQUENT ENERGY	1/14/2019	Original Purchase	2,490	\$2.7225	\$6,779.03
SEQUENT ENERGY	2/7/2019	Original Purchase	2,490	\$2.6900	\$6,698.10
SEQUENT ENERGY	3/11/2019	Original Purchase	2,490	\$2.6715	\$6,652.04
SEQUENT ENERGY	4/16/2019	Original Purchase	2,490	\$2.7460	\$6,837.54
SEQUENT ENERGY	5/20/2019	Original Purchase	2,490	\$2.6425	\$6,579.83
SEQUENT ENERGY	6/12/2019	Original Purchase	2,490	\$2.6455	\$6,587.30
SEQUENT ENERGY	7/11/2019	Original Purchase	2,490	\$2.6570	\$6,615.93
SEQUENT ENERGY	8/12/2019	Original Purchase	2,490	\$2.5920	\$6,454.08
SEQUENT ENERGY	9/12/2019	Original Purchase	2,490	\$2.5060	\$6,239.94
SEQUENT ENERGY	10/10/2019	Original Purchase	2,490	\$2.4500	\$6,100.50
SEQUENT ENERGY	11/11/2019	Original Purchase	2,490	\$2.4415	\$6,079.34
SEQUENT ENERGY	12/6/2019	Original Purchase	990	\$2.4920	\$2,467.08
SEQUENT ENERGY	1/8/2020	Original Purchase	2,490	\$2.4150	\$6,013.35
SEQUENT ENERGY	2/13/2020	Original Purchase	990	\$2.3975	\$2,373.53
SEQUENT ENERGY	3/10/2020	Original Purchase	990	\$2.4310	\$2,406.69
SEQUENT ENERGY	4/9/2020	Original Purchase	2,490	\$2.6030	\$6,481.47
SEQUENT ENERGY	5/13/2020	Original Purchase	990	\$2.6990	\$2,672.01
SEQUENT ENERGY	6/10/2020	Original Purchase	990	\$2.6380	\$2,611.62
SEQUENT ENERGY	7/14/2020	Original Purchase	990	\$2.6570	\$2,630.43
SEQUENT ENERGY	8/14/2020	Original Purchase	990	\$2.8100	\$2,781.90
SEQUENT ENERGY	9/14/2020	Original Purchase	990	\$3.0055	\$2,975.45
SEQUENT ENERGY	10/13/2020	Original Purchase	990	\$3.0360	\$3,005.64
SEQUENT ENERGY	11/17/2020	Original Purchase	990	\$2.8860	\$2,857.14
SEQUENT ENERGY	12/14/2020	Original Purchase	990	\$2.8250	\$2,796.75
SEQUENT ENERGY	1/13/2021	Original Purchase	2,490	\$2.9180	\$7,265.82
SEQUENT ENERGY	2/11/2021	Original Purchase	2,490	\$3.0225	\$7,526.03
SEQUENT ENERGY	3/11/2021	Original Purchase	2,490	\$2.8980	\$7,216.02
SEQUENT ENERGY	4/14/2021	Original Purchase	2,490	\$2.8940	\$7,206.06
SEQUENT ENERGY	8/11/2021	Original Purchase	2,490	\$4.1010	\$10,211.49
SEQUENT ENERGY	9/21/2021	Original Purchase	2,490	\$4.8475	\$12,070.28
STORAGE	11/30/2021	WITHDRAWAL/(INJECTION)	32,267	\$2.3488	\$75,787.46
			130,387	\$2.7461	\$358,055.74
Decembe	r 2021		130,307	72./ TUI	4330,033.74
					4-
MIDAMERICAN ENERG		Original Purchase	19,995	\$3.2500	\$64,983.75
SEQUENT ENERGY	5/14/2018	Original Purchase	2,511	\$2.7800	\$6,980.58
SEQUENT ENERGY	6/18/2018	Original Purchase	2,511	\$2.7079	\$6,799.54

Sunday, May 15, 2022 Page 11 of 12

DocuSign Envelope ID: C52	271FC8-5CAB-4EEF-B	3C4-49ED0165649E			
PURCHASED	DATE	DESCRIPTION	AMOUNT	PURCHASE	TOTAL
FROM	PURCHASED		PURCHASED	PRICE	COST
SEQUENT ENERGY	7/13/2018	Original Purchase	2,511	\$2.7540	\$6,915.29
SEQUENT ENERGY	8/14/2018	Original Purchase	2,511	\$2.7930	\$7,013.22
SEQUENT ENERGY	9/14/2018	Original Purchase	2,511	\$2.7990	\$7,028.29
SEQUENT ENERGY	10/11/2018	Original Purchase	2,511	\$2.8200	\$7,081.02
SEQUENT ENERGY	11/19/2018	Original Purchase	2,511	\$2.8495	\$7,155.09
SEQUENT ENERGY	12/10/2018	Original Purchase	2,511	\$2.9400	\$7,382.34
SEQUENT ENERGY	1/14/2019	Original Purchase	2,511	\$2.9650	\$7,445.12
SEQUENT ENERGY	2/7/2019	Original Purchase	2,511	\$3.0500	\$7,658.55
SEQUENT ENERGY	3/11/2019	Original Purchase	2,511	\$2.9140	\$7,317.05
SEQUENT ENERGY	4/16/2019	Original Purchase	2,511	\$2.9760	\$7,472.74
SEQUENT ENERGY	5/20/2019	Original Purchase	2,511	\$2.8650	\$7,194.02
SEQUENT ENERGY	6/12/2019	Original Purchase	2,511	\$2.8705	\$7,207.83
SEQUENT ENERGY	7/11/2019	Original Purchase	2,511	\$2.8855	\$7,245.49
SEQUENT ENERGY	8/12/2019	Original Purchase	2,511	\$2.8415	\$7,135.01
SEQUENT ENERGY	9/12/2019	Original Purchase	2,511	\$2.7515	\$6,909.02
SEQUENT ENERGY	10/10/2019	Original Purchase	2,511	\$2.7350	\$6,867.59
SEQUENT ENERGY	11/11/2019	Original Purchase	2,511	\$2.7300	\$6,855.03
SEQUENT ENERGY	12/6/2019	Original Purchase	2,511	\$2.7100	\$6,804.81
SEQUENT ENERGY	1/8/2020	Original Purchase	2,511	\$2.6200	\$6,578.82
SEQUENT ENERGY	2/13/2020	Original Purchase	2,511	\$2.6375	\$6,622.76
SEQUENT ENERGY	3/10/2020	Original Purchase	2,511	\$2.6120	\$6,558.73
SEQUENT ENERGY	4/9/2020	Original Purchase	2,511	\$2.7110	\$6,807.32
SEQUENT ENERGY	5/13/2020	Original Purchase	2,511	\$2.8180	\$7,076.00
SEQUENT ENERGY	6/10/2020	Original Purchase	2,511	\$2.7220	\$6,834.94
SEQUENT ENERGY	7/14/2020	Original Purchase	2,511	\$2.7620	\$6,935.38
SEQUENT ENERGY	8/14/2020	Original Purchase	2,511	\$2.9395	\$7,381.08
SEQUENT ENERGY	9/14/2020	Original Purchase	2,511	\$3.1140	\$7,819.25
SEQUENT ENERGY	10/13/2020	Original Purchase	2,511	\$3.1675	\$7,953.59
SEQUENT ENERGY	11/17/2020	Original Purchase	2,511	\$2.9980	\$7,527.98
SEQUENT ENERGY	12/14/2020	Original Purchase	2,511	\$2.9070	\$7,299.48
SEQUENT ENERGY	1/13/2021	Original Purchase	2,511	\$3.0105	\$7,559.37
SEQUENT ENERGY	2/11/2021	Original Purchase	2,511	\$3.0955	\$7,772.80
SEQUENT ENERGY	3/11/2021	Original Purchase	5,022	\$3.0105	\$15,118.73
SEQUENT ENERGY	4/14/2021	Original Purchase	5,022	\$3.0200	\$15,166.44
SEQUENT ENERGY	7/14/2021	Original Purchase	2,511	\$3.8130	\$9,574.44
SEQUENT ENERGY	8/11/2021	Original Purchase	2,511	\$4.1905	\$10,522.35
SEQUENT ENERGY	9/21/2021	Original Purchase	2,511	\$4.9025	\$12,310.18
SEQUENT ENERGY	10/18/2021	Original Purchase	2,511	\$5.2275	\$13,126.25
SEQUENT ENERGY	11/9/2021	Original Purchase	10,044	\$4.9400	\$49,617.36
STORAGE	12/31/2021	WITHDRAWAL/(INJECTION)	35,591	\$1.9171	\$68,232.42
			171,092	\$2.9332	\$501,847.05

Grand Total

1,124,877

\$2.8979

\$3,259,751.64

Sunday, May 15, 2022 Page 12 of 12

Name o	of Respondent	This Report Is:	Date of Report	Year of Report		
Procedud Isla Flactric X. (-as (o-on		(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr)	12/31/2021		
	EVOLUNIOE CAS TO	, ,	4/30/2022			
1 Don	EXCHANGE GAS TRANSACTIONS (Account 806, Exchange Gas) Report below particulars (details) concerning the transactions (less than 100,000 Mcf) may be grouped.					
gas vol	umes and related dollar amounts of natural g ge transactions during the year. Minor	as 2. Also give	the particulars (details) call gas exchange where consid	for concerning		
		Exc	change Gas Received			
Line	Name of Company (Designate associated companies with an asterisk)	Point of Receipt (City, state, etc.	Mcf	Debit (Credit) Account 242		
No.	(a)	(b)	(c)	(d)		
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 6 17 8 9 10 11 12 13 14 15 6 17 8 19 20 12 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42 43 44	NOT APPLICABLE					

Name of Respondent	This Report Is:		Date of Report	Year of Report	
Presque Isle Electric & Gas Co-op	(1) [X] An Origi (2) [] A Resubn		(Mo, Da, Yr) 4/30/2022	12/31/2021	
·			count 806, Exchange Gas) (Co	ntinued)	
was received or paid in performances. 3. List individually net transatthe year for each rate schedu	rmance of gas exch	nange	Indicate points of receipt are they may be readily identified pipeline system.	nd delivery of gas so tha	
			Excess		
Point of Delivery (City, state, etc.)	City, state, etc.) Mcf (Credit) Account 174		Mcf Received or Delivered	Debit (Credit) Account 806	Line No.
(e)	(f)	(g)	(h)	(i)	1
					2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 38 39 40 40 40 40 40 40 40 40 40 40 40 40 40

EXCHANGE GAS TRANSACTIONS (Account 806, Exchange Gas) (Continued) 5. Furnish any additional explanations needed to 6. Report the pressure base of measurement of gas volumes at 14.73 psia at 60°F. Charges Paid or Payable by Respondent Charge	vame or	Respondent	This Report is:		Date of Report		rear of Report
EXCHANGE GAS TRANSACTIONS (Account 806, Exchange Gas) (Continued) 5. Furnish any additional explanations needed to ather explain the accounting for exchange gas ransactions. Charges Paid or Payable by Respondent Receivable by Respondent	Presque	Isle Electric & Gas Co-op	. ,	-	(Mo, Da, Yr)	1/2022	12/31/2021
5. Furnish any additional explanations needed to relate explain the accounting for exchange gas transactions. Charges Paid or Payable by Respondent Revenues Received or Receivable by Respondent Revenues Receivable by Respondent		EXCHANGE GAS			1		
Name of Company (Designate associated companies with an asterisk) Name of Company (Rosignate associated companies with an asterisk) Amount Account Amount	ather ex	sh any additional explanations needed plain the accounting for exchange ga	d to	6. Report the p	ressure base of n		las
Name of Company (Designate associated companies with an asterisk)			Charg	es Paid	Revenues	Received or	
Name of Company (Designate associated companies with an asterisk) Amount Account Amount Account Rate Schedule Identification (i) (ii) (ii) (iii) (or Payable b	y Respondent	Receivable b	y Respondent	
1 2 3 4 4 5 5 6 6 7 7 8 9 9 10 11 11 12 12 13 13 14 15 16 16 17 18 19 19 19 19 19 19 19 19 19 19 19 19 19		(Designate associated companies with an asterisk)					Tariff Rate Schedule Identification
	1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 40 40 40 40 40 40 40 40 40 40 40 40	(a)		(K)		(m)	

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

GAS USED IN UTILITY OPERATIONS--CREDIT (Accounts 810, 811, 812)

- 1. Report below particulars (details) of credits during the year to Accounts 810, 811 and 812 which offset charges to operating expenses or other accounts for the cost of gas from the respondent's own supply.
- 2. Natural gas means either natural gas unmixed, or any mixture of natural and manufacturered gas.
- 3. If the reported Mcf for any use is an estimated quanitity, state such fact in a footnote.
- 4. If any natural gas was used by the respondent for which a change was not made to the appropriate operating expense or other account, list separately in column (c) the Mcf of gas used, omitting entries in columns (d) and (e).
- 5. Report pressure base of measurement of gas volumes at 14.73 psia at 60°F.

				Natural Gas	3	Mar	nufactured Gas
	Purpose for Which Gas Was Used	Account Charged	Mcf of Gas Used	Amount of Credit	Amount per Mcf	Mcf of Gas Used	Amount of Credit
Line No.	(a)	(b)	(c)	(d)	(In Cents) (e)	(f)	(g)
	810 Gas used for Compressor	(5)	(0)	(4)	(0)	(1)	(9)
1	Station FuelCr						
2	811 Gas use for Products ExtractionsCr.						
	Gas Shrinkage and Other Usage						
3	in Respondent's Own Proc.						
4	Gas Shrinkage, Etc. for Resondent's						
	Gas Processed by Others 812 Gas used for Other Util. Oprs						
5	Cr (Rpt sep. for each prin. Use.						
	Group minor uses)						
6	812.1 Gas used in Util. Oprs Cr (Nonmajor only)						
7	Or (Normhajor Ormy)						
8							
9							
10							
11							
12							
13							
14							
15							
16 17							
18							
19							
20							
21							
22							
23							
24							
25	TOTAL						

Name of	Respondent	This Report Is:	Date of Report	Year of Report
	Isle Electric & Gas	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
Co-op		(2) [] A Resubmission	4/30/2022	12/31/2021
	TRANS	SMISSION AND COMPRESSION	ON OF GAS BY OTHERS (Acc	count 858)
	rt below particulars (Minor items (less than 1,000,0	
_		ed for respondent by others	2. In column (a) give name of	
		0 Mcf (Bcf) and amounts	payments were made, points	
of payme	ents for such service		names of companies to which	
l		Name of Company an		Distance
Line		Description of Service Perf		Transported
No.	(Des	rignate associated companies w	vitn an asterisk)	(In miles)
1		(a)		(b)
2				
3	NOT APPLICABLE			
4				
5				
6 7				
8				
9				
10				
11 12				
13				
14				
15				
16				
17 18				
19				
20				
21				
22				
23 24				
25				
26				
27				
28				
29 30				
31				
32				
33				
34 35				
36				
37				
38				
39				
40 41				
42				
43				
44				
45 46	TOTAL			
40	IOIAL			

Name of Respondent	This Report Is:	Date of Report	Year of Report	
Presque Isle Electric & Gas Co	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021	
op	(2) [] A Resubmission	4/30/2022		
TRANSMISS	ON AND COMPRESSION OF G			
which received. Points of delive designated that they can be ide respondent's pipeline system.		 If the Mcf of gas received delivered, explain in a footnot uncompleted deliveries, allow 	ote the reason for difference	
Mcf of Gas Delivered (14.73 psia at 60°F) (c)	Mcf of Gas Received (14.73 psia at 60°F) (d)	Amount of Payment (In dollars) (e)	Amount per Mcf of Gas Received (In cents) (f)	Line No.
				1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42 43 44 45 46

	This Report Is:	Date of Report	Year of Report				
Presque Isle Electric & Gas Co-op	(1) [X] An Original	(Mo, Da, Yr) 12/31/2021					
1 residue isie Electric & das co-op	(2) [] A Resubmission	4/30/2022	12/01/2021				
	LEASE RENTAL CHARGED						
1. For purposes of this schedule a "lease		5. Leases of construction ed					
contract or other agreement by which one		construction work in progres					
conveys an intangible right or land or other			s, master or open-ended leases				
property and equipment to another (lesse	ee) for a specified		, automobile fleets and other				
period of one year or more for rent.			I and replaced under term of				
2. Report below, for leases with annual of		the lease or for pole rentals					
\$25,000 or more, but less than \$250,000		called for in columns a, b (de					
for in column a, b (description only), f, g		•	otion to purchase the property.				
3. For leases having annual charges of \$		6. In column (a) report the n					
report the data called for in all the column		lessors which are associated					
4. The annual charges referred to in Inst		association) first, followed by					
include the basic lease payment and other		7. In column (b) for each lea					
on behalf of the lessor such as taxes, dep		order, classified by production					
assumed interest or dividends on the less cost of replacements** and other expend		transmission line, distributio unit or system, followed by a					
to leased property. The expenses paid b	y lossoo are to be	arrangement not covered ur					
itemized in column (e) below.	y lessee ale to be	classifications:	ider the preceding				
	RENTALS CHARGED TO	GAS OPERATING EXPENS	SFS				
,			Terminal Dates				
Name	Rasi	c Details	of				
of	Dasi	of	Leases,				
Lessor	1	ease	Primary (P) or Renewal (R)				
200001	_	cusc	Timary (F) of Heriewal (Tt)				
(a)		(b)	(c)				
NOT APPLICABLE							

^{**} See Gas Plant Instruction 6 & Operating Expense Instruction 3 of the Uniform System of Accounts.

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

LEASES RENTALS CHARGED (Continued)

Description of the property, whether lease is a sale and leaseback, whether lessee has option to purchase and conditions of purchase, whether lease is cancellable by either party and the cancellation conditions, the tax treatment used, the accounting treatment of the lease payments (levelized charges to expense or other treatment), the basis of any charges apportioned between the lessor and lessee, and the responsibility of the respondent for operation and maintenance expenses and replacement of property. The above information is to be reported with initiation of the lease and thereafter when changed or every five years, whichever occurs first.

8. Report in column (d), as of the date of the current lease term, the original cost of the property leased,

estimated if not known, or the fair market of the property if greater than original cost and indicate as shown. If leased property is part of a large unit, such as part of a building, indicate without associating any cost or value

with it.

- 9. Report in column (k) below the estimated remaining annual charges under the current term of the lease. Do not apply a present value to the estimate. Assume that cancellable leases will not be cancelled when estimating the remaining charges.
- * See definition on page 226 (B)

A. LEASE RENTALS CHARGED TO GAS OPERATING EXPENSES

		AMOUNT OF RENT - CURRENT TERM					
		Current `	Year	Accumula	ted to Date		
Original Cost (O) or Fair Market Value (F) of Property	Expenses to be Paid by Lessee Itemize	Lessor	Other	Lessor	Other	Account Charged	Remaining Annual Charges Under Lease Est. if Not Known
(d)	(e)	(f)	(g)	(h)	(i)	(j)	(k)

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
Treeque leie Electric & ede ee ep	(2) [] A Resubmission	4/30/2022	12/01/2021
A. LEASE RENTALS	CHARGED TO GAS OPER	ATING EXPENSES	3 (Continued)
			Terminal Dates
Name	Basic Deta	ils	of
of	of		Leases,
Lessor	Lease		Primary (P) or Renewal (R)
(2)	(b)		(c)
(a)	(b)		(c)
B. OTHER LEASE	RENTALS CHARGED (Suc	h as to Deferred D	ebits, etc.)

		This Report Is:			Date of Report		Year of Report
Presque Isle Electri	c & Gas Co-op		1) [X] An Original 2) [] A Resubmission		(Mo, Da, Yr) 4/30/2022		12/31/2021
	Δ I FASE REI		TALS CHARGED TO GAS OPERATING EXPENSES (
	A. EEAGE RE	TIALO OTIARO	LD TO OAO	OI LIVATINO I	LAI LITOLO (OT		
Original Cost		AMOU	NT OF RENT	- CURRENT	TERM		Remaining
(O) or Fair		Current Year		Accumula	ted to Date	A	Annual
Market Value (F) of	Expenses to be Paid by Lessee	Lessor	Other	Lessor	Other	Account Charged	Charges Under Lease
Property	Itemize						Est. if Not
(d)	(e)	(f)	(g)	(h)	(i)	(j)	Known (k)
(u)	(6)	(1)	(9)	(11)	(1)	U)	(K)
	P OTHER I	L EASE RENTAL	S CHADGE) (Such as to	Doforrad Dabit	e oto)	
	B. OTHER L	EASE RENTAL	S CHARGEL	(Such as to	Deferred Debit	.s, etc. <i>)</i>	1
	ı		1		l	l	1

	f Respondent This Report Is:	Date of Report	Year of Report				
Presque Co-op	lsle Electric & Gas (1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021				
СО-ОР	OTHER GAS SUPPLY EXPENSES (Account 813)						
	other gas supply expenses by descriptive titles which indicate the nature of such expenses. Show maintenance	expenses separately. Indicate the purpose of property to which any	expenses relate.				
Line No.	Description (a)		Amount (In dollars) (b)				
1 2 3	LETTER OF CREDIT SUPPLIER		11,775				
4 5	AMORTIZATION OF TAP FEES		1,996				
6 7	ADVISORY PROCUREMENT FEE		4,200				
8 9 10	OTHER		50,335				
11 12 13							
14 15 16 17							
18 19 20 21							
22 23 24							
25 26 27							
28 29 30							
31 32 33							
34 35 36							
37 38 39							
40 41							
42 43 44							
45 46							
47 48							
49 50	TOTAL		68,307				

Nam	e of Respondent	This Report Is:	Date of Report	Year of Report			
	-	(1) [X] An Original	(Mo, Da, Yr)				
Gas	Co-op ((2) [] A Resubmission	4/30/2022	12/31/2021			
	MISCELLANEOUS GENERAL EXPENSES (Account 930.2) (Gas)						
1	Industry association of	dues					
2	Experimental and ger	neral research expenses					
3			to stockholders; trustee, registrar, and transfer ervicing outstanding securities of the respondent				
4	purpose, (2), recipien		listed separately in this column showing the (1) s. Amounts of less than \$5,000 may be grouped own)				
5 6 7	DIRECTORS FEES 8	& MILEAGE		33,945			
8	ANNUAL MEETING I	EXPENSES		9,762			
9	PATRONAGE EXPE	NSES		6,302			
11 12	COMMUNITY SERVI	ICE		2,917			
13 14	INDUSTRY ASSOCIA	ATION DUES		303			
15 16	RESEARCH & DEVE	LOPMENT EXPENSE		4,546			
17 18	MISCELLANEOUS			12,791			
19 20				,			
21							
22 23							
24 25							
26							
27							
28 29							
30							
31							
32 33							
34							
35							
36 37							
38							
39							
40							
41							
42 43							
44							
45							
46							
47 48							
49	TOTAL			70,567			

	Respondent	This Report Is:	Date of Report	Year of Report
Presque	Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021
	DEPRECIATION, DEPLETION, AND AMORTI	ZATION OF GAS PLANT zation of Acquisition Adju		.2, 404.3, 405)
1 Reno	rt in Section A the amounts of depreciation	•	rt years (1971, 1974 and	every fifth year
	, depletion and amortization for the accounts	thereafter).	it yours (1071, 1074 and t	every man year
	I and classified according to the plant functional		(b) all depreciable plant b	alances to
groups s			pplied and show a compo	
	rt all available information called for in Section B		eport by plant account, su	
	eport year 1971, 1974 and every fifth year er. Report only annual changes in the intervals		cations other than those p	
mereane	r. Report only annual changes in the intervals	column (a). Indic	ate at the bottom of Section	л в ше
	Section A. Summary of De	preciation, Depletion, and A	Amortization Charges	
			Amortization and	
			Depletion	Amortization of
	Functional Classification	Depreciation	of Producing Natural Gas Land and Land	Underground
Line	Functional Classification	Expense (Account 403)	Rights (Account 404.1)	Storage Land and Land Rights (Account 404.2)
No.	(a)	(Account 403)	(c)	(d)
	Intangible plant	1,024,347	(-)	(-)
	Production plan, manufactured gas			
	Production and gathering plant, natural gas			
	Products extraction plant			
	Underground gas storage plant			
6 7	Other storage plant Base load LNG terminating and processing plant			
8	Transmission plant			
	Distribution plant	698,898		
10	General plant	101,836		
11	Common plant-gas			
12				
13 14				
15				
16				
17				
18				
19				
20 21				
22				
23				
		1 225 224		
24 25	TOTAL	1,825,081		

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
Co-op	(2) [] A Resubmission	4/30/2022	12/31/2021

DEPRECIATION, DEPLETION, AND AMORTIZATION OF GAS PLANT (Accounts 403, 404.1, 402.2, 404.3, 405) (Except Amortization of Acquisition Adjustments) (Continued)

manner in which column (b) balances are obtained. If average balances, state the method of averaging used. For column (c) report available information for each plant functional classification listed in column (a). If composite depreciation accounting is used, report available information called for in columns (b) and (c) on this basis. Where the unit-of-production method is used to determine

depreciation charges, show at the bottom of Section B any revisions made to estimated gas reserves.

3. If provisions for depreciation provided by application of reported rates, state at the bottom of Section B the amounts and nature of the provisions and the plant items to which related.

vvnere the unit-of-production r	ction A. Summary of Deprecia	ation Doplotion and	A Amortization Charges	
	ction A. Summary of Deprecia	ation, Depletion, and	Amonization Charges	T .
Amortization of Other Limited-term Gas Plant (Account 404.3) (e)	Amortization of Other Gas Plant (Account 405) (f)	Total (b to f) (g)	Functional Classification (a)	Line No.
(e)	(1)	1,024,347	Intangible plant	1
		1,024,347	Production plant, manufactured gas	2
			Production and gathering plant, natural gas	3
			Products extraction plant	4
			Underground gas storage plant	5
			Other storage plant	6
			Base load LNG terminating and	7
			processing plant	
			Transmission plant	8
		698,898	Distribution plant	9
		101,836	General plant	10
			Common plant-gas	11
				12 13
				14
				15
				16
				17
				18
				19
				20
				21
				22
				23
		4.005.004	TOTAL	24
		1,825,081	TOTAL	25

Name of	Respondent	This Report Is:	Date of Report	Year of Report
Presque	Isle Electric & Gas	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
Co-op		(2) [] A Resubmission	4/30/2022	12/31/2021
	DEPRECI	ATION, DEPLETION, AND AMORTIZATION OF GAS	S PLANT (Continued	l)
		Section B. Factors Used in Estimating Depreciation	Charges	
Line No.		Functional Classification	Depreciation Plant Base (Thousands)	Applied Depr. Rate(s) (Percent)
110.		(a)	(b)	(c)
1	Production and Gath			
2	Offshore			
3	Onshore			
4	Underground Gas S	torage Plant		
5	Transmission Plant			
6	Offshore			
7	Onshore			
8	General Plant			
9				
10				
		Notes to Depreciation, Depletion and Amortization of	Gas Plant	

DocuSign Envelope ID: C5271FC8-5CAB-4EEF-B8C4-49ED0165649E

BLANK PAGE

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

DEPRECIATION, DEPLETION, AND AMORTIZATION OF GAS PLANT (NONMAJOR) (Accounts 403.1, 404, 405)

(Except Amortization of Acquisition Adjustments)

- Report in Section A the amounts of depreciation expense, depletion and amortization for the accounts indicated and classified according to the plant functional groups shown.
- 2. Report all available information called for in Section B for the report year 1971, 1974 and every fifth year thereafter. Report only annual charges in the intervals between the report years (1971, 1974 and every fifth year thereafter).

Report in column (b) all depreciable plant balances to which rates are applied and show a composite total. (If more desirable, report by plant account, subaccount or functional classification other than those pre-printed in column (a). Indicate at the bottom of Section B the manner in which column (b) balances

- are obtained. If average balances, state the method of averaging used. For column (c) report available information for each plant functional classification listed in column (a). If composite depreciation accounting is used, report available information called for in columns (b) and (c) on this basis. Where the unit-of-production method is used to determine depreciation charges, show at the bottom of Section B any revisions made to estimated gas reserves.
- 3. If provisions for depreciation were made during the year in addition to depreciation provided by application of reported rates, state at the bottom of Section B the amounts and nature of the provisions and the plant items to which related.

Section A. Summary of Depreciation, Depletion, and Amortization Charges

Line No.	Functional Classification (a)	Depreciation and Depletion Expense (Account 403.1) (b)	Amortization of Limited-Term Gas Plant (Account 404) (c)	Amortization of Other Gas Plant (Account 405) (d)	TOTAL (b+c+d) (e)
1	Intangible plant	, ,	` '	, ,	` /
2	Production plant, manufactured gas				
3	Production and gathering plant, natural gas				
4	Products extraction plant				
5	Underground gas storage plant				
6	Other storage plant				
7	Base load LNG terminating and processing plant				
8	Transmission plant				
9	Distribution plant				
10	General plant				
11	Common plant-gas				
12					
13					
14					
15					
16					
17					
18					
19					
20	TOTAL	\$	\$	\$	\$

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
Со-ор	(2) [] A Resubmission	4/30/2022	12/3 1/202 1
INCOME	FROM UTILITY PLANT LEAS	SED TO OTHERS (Account 4	12 and 413)
Report below the following respect to utility property lease an operating unit or system. For each lease show: (1) r description and location of the (2) revenues; (3) operating exto operation, maintenance, de amortization; and (4) net incordarrange amounts so that deduced.	name of lessee and leased property; penses classified as preciation, rents, me from lease for year.	subtraction from revenues, and 3. Provide a subheading and department in addition to a to 4. Furnish particulars (details determining the annual rental 5. Designate with an asterisk companies.	I total for each utility stal for all utility departments. s) of the method of I for the property.
1			
NOT APPLICABLE			

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

PARTICULARS CONCERNING CERTAIN INCOME DEDUCTIONS AND INTEREST CHARGES ACCOUNTS

Report the information specified below, in the order given, for the respective income deduction and interest charges accounts. Provide a subheading for each account and a total for the account. Additional columns may be added if deemed appropriate with respect to any account.

- (a) Miscellaneous Amortization (Account 425) -- Describe the nature of items included in the account, the contra account charged, the total of amortizations charges for the year, and the period of amortization.
- (b) Miscellaneous Income Deductions -- Report the nature, payee, and amount of other income deductions for the year as required by Accounts 426.1, *Donations*; 426.2, *Life Insurance*; 426.3, *Penalties*; 426.4, *Expenditures for Certain Civic. Political and Related Activities*; and 426.5. *Other*
- Deductions, of the Uniform System of Accounts. Amounts of less than \$10,000 may be grouped by classes within the above accounts.
- (c) Interest on Debt to Associated Companies (Account 430) -- For each associated company to which interest on debt was incurred during the year, indicate the amount and interest rate respectively for (a) advances on notes, (b) advances on open account, (c) notes payable, (d) accounts payable, and (e) other debt, and total interest. Explain the nature of other debt on which interest was incurred during the year.
- (d) Other Interest Expense (Account 431) -- Report particulars (details) including the amount and interest rate for other interest charges incurred during the year.

	ain Civic, Political and Related Activities; and 426.5, Other other interest charges incurred of	during the year.				
Line	Item Amount					
No.	(a)	(b)				
1 2	(a) MISCELLANEOUS AMORTIZATION					
3 4 5 6	AMORTIZATION OF FRANCHISE COSTS AMORTIZATION OF ACQUISITION COSTS AURORA GAS	599 1,023,747				
7 8 9	(b) MISCELLANEOUS INCOME DEDUCTIONS					
10 11	FRANCHISE RETIREMENTS	7,444				
12 13	(d) OTHER INTEREST EXPENSE					
14 15 16	CFC LINE OF CREDIT INTEREST INTEREST ON SECURITY DEPOSITS	35,647 1,585				
17 18 19	TOTAL	37,232				
20 21						
22 23 24						
25 26						
27 28						
29 30 31						
32						
34 35						
36 37						
38 39 40						
70						

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-	(1) [X] An Original	(Mo, Da, Yr)	12/21/2021
ор	(2) [] A Resubmission	4/30/2022	12/31/2021

PARTICULARS CONCERNING CERTAIN OTHER INCOME ACCOUNTS

- Report in this schedule the information specified in the instructions below for the respective other income accounts. Provide a conspicuous subheading for each account and show a total for the account. Additional columns may be added for any account if deemed necessary.
- 2. Merchandising, Jobbing and Contract Work (Accounts 415 and 416) -- Describe the general nature of merchandising, jobbing and contract activities. Show revenues by class of activity, operating expenses classified as to operation, maintenance, depreciation, rents and net income before taxes. Give the bases of any allocations of expenses between utility and merchandising, jobbing and contract work activities.
- 3. Nonutility Operations (Accounts 417 and 417.1) -Describe each nonutility operation and show revenues,
 operating expenses classified as to operation,
 maintenance, depreciation, rents, amortization, and net
 income before taxes, from the operation. Give the basis
 of any allocations of expenses between utility and
 nonutility operations. The book cost of property
 classified as nonutility operations should be included in
 Account 121.
- 4. Nonoperating Rental Income (Account 418) -- For each major item of miscellaneous property included in Account 121, Nonutility Property, which is not used in operations for which income is included in Account 417, but which is leased or rented to others, give name of lessee, brief description of property, effective

- date and expiration date of lease, amount of rent revenues, operating expenses classified as to operation, maintenance, depreciation, rents, amortization, and net income, before taxes, from the rentals. If the property is leased on a basis other than that of a fixed annual rental, state the method of determining the rental. Minor items may be grouped by classes, but the number of items so grouped should be shown. Designate any lessees which are associated companies.
- 5. Equity in earnings of subsidiary companies (Account 418.1) -- Report the utility's equity in the earnings or losses of each subsidiary company for the year.
- 6. Interest and Dividend Income (Account 419) -- Report interest and dividend income, before taxes, identified as to the asset account or group of accounts in which are included the assets from which the interest or dividend income was derived. Income derived from investments, Accounts 123, 124 and 136 may be shown in total. Income from sinking and other funds should be identified with the related special funds. Show also expenses included in Account 419 as required by the Uniform System of Accounts.
- 7. Miscellaneous Nonoperation Income (Account 421) -- Give the nature and source of each miscellaneous nonoperating income, and expense and the amount for the year. Minor items may be grouped by classes.

Line	ltem	Amount
No.	(a)	(b)
1 2 3	INTEREST INCOME VARIOUS ACCOUNTS	1,002
4 5 6	REVENUE FROM MERCHANDISING	3,670
	EXPENSE OF MERCHANDISING	(2,524)
	MISCELLANEOUS NON-OPERATING INCOME	(3,286)
-	GAIN(LOSS) ON DISPOSITION OF CAPITAL ASSETS	0
13	GAIN(LOSS) ON DISPOSITION OF PROPERTY	(55,239)
15 16	TOTAL INCOME(LOSS) FROM EQUITY INVESTMENTS	(57,379)
17 18		
19 20		
21 22		

Name of	Respondent	This Report Is:		Date of Report	Year of Report
Presque	Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission		(Mo, Da, Yr) 4/30/2022	12/31/2021
	GAIN OR LOSS ON DISPOSITION C	F PROERTY (Ac	count 421.1 ar	nd 421.2)	
loss. Inc acquired date trar Leased, 2. Indivi	a brief description of property creating the gain or clude name of party acquiring the property (when by another utility or associated company) and the association was completed. Identify property by type: Held for Future Use, or Nonutility. dual gains for losses relating to property with an cost of less than \$100,000 may be grouped	3. Give the date entries in columns	of Commission s (b), when app ed but has not ving item in colo		al Where
Line No.	Description of Property (a)	Original Cost of Related Property (b)	Date Journal Entry Approved (When Required)	Account 421.1 (d)	Account 421.2 (e)
1	Gain on disposition of property:				
2					
3					
4					
5					
6					
7					
8					
9					
10					
11					
12					
13					
14					
15					
16					
17	Total Gain				
	1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1	1		4	

Name of	f Respondent	This Report Is:		Date of Report (Mo, Da, Yr)	Year of Report
Presque	Presque Isle Electric & Gas Co-op		(1) [X] An Original (2) [] A Resubmission		12/31/2021
	GAIN OR LOSS ON DISPOSITION OF PROE			4/30/2022 (continued)	
			Date Journal		
		Owinsin at Oc. 14	Entry		
		Original Cost of Related	Approved (When	Account	Account
Line	Description of Property	Property	Required)	421.1	421.2
No.	(a)	(b)	(c)	(d)	(e)
18	Loss on dispositing				
19					
20					
21					
22					
23					
24					
25					
26					
27					
28					
29					
30					
31					
32					
33					
34	Total Loss				

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isla Flactric & Gas Co-on	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

EXPENDITURES FOR CERTAIN CIVIC, POLITICAL AND RELATED ACTIVITIES (Account 426.4)

- 1. Report below all expenditures incurred by the respondent during the year for the purpose of influencing public opinion with respect to the election or appointment of public officials, referenda, legislation or ordinances (either with respect to the possible adoption of new referenda. Legislation or ordinances or repeal or modification of existing refernda, legislation or ordinances); approval, modification, or revocation of franchises; or for the purpose of influencing the decisions of public officials which are accounted for as Other Income Deductions, Expenditures for Certain Civic, Political and Related Activities, Account 426.4.
- Political and Related Activities, Account 426.4.
 2. Advertising expenditures in this Account shall be classified according to subheadings, as follows:
 (a) radio, television, and motion picture advertising; (b) newspaper, magazine, and pamphlet advertising; (c) letters or inserts in customer's bills; (d) inserts in

- reports to stockholders; (e) newspaper and magazine editorial services; and (f) other advertising.
- 3. Expenditures within the definition of paragraph (1), other than advertising shall be reported according to captions or descriptions clearly indicating the nature and purpose of the activity.
- 4. If respondent has not incurred any expenditures contemplated by the instructions of Account 426.4, so state.
- 5. For reporting years which begin during the calendar year 1963 only, minor amounts may be grouped by classes if the number of items so grouped is shown.

NOTE: The classification of expenses as nonoperating and their inclusion in this amount is for accounting purposes. It does not preclude Commission consideration of proof to the contrary for ratemaking or other purposes.

Line	Item	Amount
No.	(a)	(b)
1		
2	NONE	
3		
4		
5		
6		
7		
8		
9		
10		
11		
12		
13 14		
15		
16		
17		
18		
19		
20		
21		
22		
23		
24		
25		
26		
27		
28		
29		
30		
32		
32	00 F0DM D F00 (D	

Name	of Respondent	This Report Is: Da		Date of Report	Year of Report
Presa	ue Isle Electric & Gas Co-op	(1) [X] An Original		(Mo, Da, Yr)	12/31/2021
	<u> </u>	(2) [] A Resubmi		4/30/2022	,
expen in prev	port particulars (details) of regulatory commission ses incurred during the current year (or incurred vious years, if being amortized) relating to cases before a regulatory body, or cases in which	such a body was a 2. In columns (b) a were assessed by otherwise incurred	party. and (c), indica a regulatory l	body or were	expenses
Line	Description (Furnish name of regulatory commission or body, the docket or case number, and a description of the case).	Assessed by Regulatory Commission	Expenses of Utility	Total Expenses to Date	Deferred in Account 186 at Beginning of Year
No.	(a)	(b)	(c)	(d)	(e)
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 22 24 25 26 27 28 29 30 31 33 33 34 34 44 44 44 44 44 44 44 44 44					
46	TOTAL				

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

REGULATORY COMMISSION EXPENSES (Continued)

- 3. Show in column (k) any expenses incurred in prior years which are amortized. List in column (a) the period of amortization.
- 4. The totals of columns (e), (i), (k), and (l) must agree with the totals shown at the bottom of page 233

for Account 186.

- 5. List in column (f), (g), and (h) expenses incurred during year which were charged currently to income, plant, or other accounts.
- 6. Minor items (less than \$25,000 may be grouped.

EX	PENSES INCURRE	D DURING YEAF	₹	AMORTIZED I	DURING YEAR		
Department	Account No.	Amount	Deferred to Account 186 (i)	Contra Account (i)	Amount (k)	Deferred in Account 186, End of Year (I)	Line No.
Department (f)	Account No. (g)	Amount (h)	Account 186 (i)	Account (j)	Amount (k)	End of Year (I)	1 2 3 4 5 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36
							37 38 39 40 41 42 43 44 45

Name of	Respondent	This Report Is:		Date of Report	Year of Report
Presque	Isle Electric & Gas Co-op	(1) [X] An Original	·	(Mo, Da, Yr)	12/31/2021
	·	(2) [] A Resubmiss		4/30/2022	
4 5:	•	EVELOPMENT, AND			
	ribe and show below costs incurred a during the year for technological rese		(2) Compressor St	ation	
	onstration (R, D & D) projects initiate		a. Design b. Efficiency		
	ided during the year. Report also su			ոց, Engineering, and Օր	neration
	others during the year for jointly-supp			Control and Dispatching	
	recipient regardless of affiliation.) Fo		(5) LNG Storage a		
	ried on by the respondent in which th		(6) Underground S	-	
	with others, show separately the resp	•	(7) Other Storage	torage	
	he year and cost chargeable to other		(8) New Appliance	s and New Uses	
	of research, development, and dem	•	. ,	n, Drilling, Production, a	and
	System of Accounts).		Recovery	,,	2
	ate in column (a) the applicable class	ification, as	(10) Coal Gasificati	on	
	elow. Classifications:	•	(11) Synthetic Gas		
	A. Gas R, D & D Performed Internall	y	(12) Environmental		
	(1) Pipeline		(13) Other (Classify	and Include Items in E	xcess of
	a. Design		\$5,000.)		
	b. Efficiency		(14) Total Cost Incu		
Line	Classification		Descr	•	
No.	(a)		<u>(</u> t	0)	
2					
3	NONE				
4					
5					
6					
7					
8					
9 10					
11					
12					
13					
14					
15					
16					
17					
18 10					
19 20					
21					
22					
23					
24					
25					
26					
27					
28					
29 30					
31					
32					
33					
34					
35					
36					
37					

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
Со-ор	(2) [] A Resubmission	4/30/2022	12/31/2021

RESEARCH, DEVELOPMENT, AND DEMONSTRATION ACTIVITIES (Continued)

- B. Gas, R, D & D Performed Externally
 - (1) Research Support to American Gas Association
 - (2) Research Support to Others (Classify)
 - (3) Total Cost Incurred
- 3. Include in column (c) all R, D & D items performed internally and in column (d) those items performed outside the company costing \$5,000 or more, briefly describing the specific area of R, D & D (such as safety, corrosion control, pollution, automation, measurement, insulation, type of appliance, etc.). Group items under \$5,000 by classifications and indicate the number of items grouped. Under Other, (A.(13) and B.(2) classify items by type of R, D&D activity.
- 4. Show in column (e) the account number charged with expenses during the year or the account to which amounts were capitalized during the year, listing Account 107 (Construction Work in Progress) first. Show in column (f) the amounts related to the account charged in column (e).
- 5. Show in column (g) the total unamortized accumulation of costs of projects. This total must equal the balance in Account 188 Research, Development, and Demonstration Expenditures outstanding at the end of the year.
- 6. If costs have not been segregated for R, D & D activities or projects, submit estimates for columns (c), (d) and (f) with such amounts identified by "Est."
- 7. Report separately research and related testing facilities operated by the respondent.

Costs Incurred Internally	Externally	AMOUNTS CHARGE	D IN CURRENT YEAR	Unamortized	
Current Year	Current Year	Account	Amount	Accumulation	Line
(c)	(d)	(e)	(f)	(g)	No.
, i	, ,		, i		1
					2 3
					3
					4
					5 6
					7
					8
					9
					10
					11
					12
					13
					14
					15
					16
					17 18
					19
					20
					21
					22
					23
					24
					25
					26
					27
					28 29
					30
					31
					32
					33
					34 35
					35
					36
					37
					38

Name	e of Respondent	This Report Is:	Date of Report	Year of Report
Preso	ue Isle Electric & Gas Co-op	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
1 1030	ne isie Electric & das do-op	(2) [] A Resubmission	4/30/2022	12/31/2021
	DISTRIBUTION OF SA	LARIES AND WAGES		
Repo	rt below the distribution of total salaries and wages	in the appropriate lines an	d columns provided.	In determining
	e year. Segregate amounts originally charged to clearing	the segregation of salaries		,
	ınts to Utility Departments, Construction, Plant	charged to clearing accou		
Remo	ovals, and Other Accounts, and enter such amounts	giving substantially correc	t results may be used	1.
			Allocation of	
1	Classification	Direct Payroll	Payroll Charged for	
Line		Distribution	Clearing Accounts	Total
No.	(a)	(b)	(c)	(d)
1	Electric	-		
3	Operation Production			
4	Transmission			
5	Distribution	409,852		
6	Customer Accounts	625,546		
7	Customer Service and Informational	38,881		
8	Sales	,		
9	Administration and General	839,268		
10	TOTAL Operation (Total of lines 3 thru 9)	1,913,548		
11	Maintenance			
12	Production			
13	Transmission	1 000 740		
14	Distribution	1,388,743		
15	Administration and General	4 200 742		
16 17	TOTAL Maint. (<i>Total of lines 12 thru 14</i>) Total Operation and Maintenance	1,388,743		
18	Production (<i>Total lines 3 and 12</i>)	0		
19	Transmission (<i>Total inles 3 and 12</i>) Transmission (<i>Total of lines 4 and 13</i>)	0		
20	Distribution (<i>Total of lines 5 and 14</i>)	1,798,595		
21	Customer Accounts (Line 6)	625,546		
22	Customer Service and Informational (Line 7)	38,881		
23	Sales (Line 8)	0		
24	Administration and General (Total of lines 9 and 15)	839,268		
25	TOTAL Oper. And Maint. (Total of lines 18 thru 24)	3,302,291		3,302,291
26	Gas	-		
27 28	Operation Production-Manufactured Gas			
29	Production-Nat. Gas (including Expl. And Dev.)			
30	Other Gas Supply			
31	Storage, LNG Terminating and Processing			
32	Transmission			
33	Distribution	290,579		
34	Customer Accounts	275,593		
35	Customer Service and Informational	14,328		
36	Sales	0		
37	Administration and General	265,877		
38 39	TOTAL Operation (<i>Total of lines 28 thru 37</i>)	846,377		
40	Maintenance Production-Manufactured Gas			
41	Production-Natural Gas			
42	Other Gas Supply	<u> </u>		
43	Storage, LNG Terminating and Processing			
44	Transmission			
45	Distribution	155,379		
46	Administrative and General			
47	TOTAL Maint. (Total of lines 40 thru 46)	155,379		

Name of	f Respondent	This Report Is:	Date of Report	Year of Report
	·	(1) [X] An Original	(Mo, Da, Yr)	•
Presque	s Isle Electric & Gas Co-op	(2) [] A Resubmission	4/30/2022	12/31/2021
	DISTRIBUTION OF SALARIES A	` /	., 00, 2022	<u>l</u>
	DISTRIBUTION OF GALARIZE A		Allocation of	
			Payroll Charged	
	Classification	Direct Payroll	for	
Line	old sollied it is	Distribution	Clearing Accounts	Total
No.	(a)	(b)	(c)	(d)
	Gas (Continued)	()	()	()
48	Total Operation and Maintenance			
49	ProductionManufactured Gas (Lines 28 and 40)			
50	ProductionNatural Gas (Including Expl. And Dev.)			
51	Other Gas Supply (Lines 30 and 42)			
52	Storage, LNG Terminating and Processing			
53	Transmission (Lines 32 and 44)			
54	Distribution (Lines 33 and 45)	445,958		
55	Customer Accounts (Line 34)	275,593		
56 57	Customer Service and Informational (Line 35)	14,328		
58	Sales (Line 36) Administrative and General (Lines 37 and 46)	0 265,877		
59	TOTAL Operation and Maint. (<i>Total of lines 49 thru 58</i>)	1,001,756		1,001,756
60	Other Utility Departments	1,001,730		1,001,730
61	Operation and Maintenance			
62	TOTAL All Utility Dept. (<i>Total of lines 25, 59, and 61</i>)	4,304,046		4,304,046
63	Utility Plant	1,001,010		1,000,000
64	Construction (By Utility Departments)			
65	Electric Plant	1,752,657		1,752,657
66	Gas Plant	441,877		441,877
67	Other	0		0
68	TOTAL Construction (Total of lines 65 thru 67)	2,194,533		2,194,533
69	Plant Removal (By Utility Departments)			
70	Electric Plant	188,330		188,330
71	Gas Plant	19,502		19,502
72 73	Other TOTAL Plant Removel (Total of lines 70 thru 72)	0 207,831		0
74	TOTAL Plant Removal (<i>Total of lines 70 thru 72</i>) Other Accounts (<i>Specify</i>)	201,031		207,831
75	Other Accounts (Specify)			
76	ELECTRIC MISCELLANEOUS	1,314,670		1,314,670
77	GAS MISCELLANEOUS	17,623		17,623
78	C, to time delle it te de	17,020		,525
79				
80				
81				
82	FIBER			
83				
84	DISTRIBUTION	43,932	1	
85	CUSTOMER SERVICE & INFORMATIONAL	8,283	1	
86	ADMINISTRATIVE & GENERAL	35,630	1	
87				
88			1	
89			1	
90			1	
91 92			1	
92			1	
93				
			1	
95	TOTAL Other Accounts	1,420,139		1,420,139

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

COMMON UTILITY PLANT AND EXPENSES

- 1. Furnish a schedule describing the property carried in the utility's accounts as common utility plant and showing the book cost of such plant at end of year classified by accounts as provided by Plant Instruction 14, Common Utility Plant, of the Uniform System of Accounts. Such schedule also shall show the allocation of such plant costs to the respective departments using the common utility plant, explain the basis of allocation used, and give the allocation factors.
- 2. Furnish a schedule of the accumulated provisions for depreciation and amortization at end of year, showing the amounts and classifications of such accumulated provision, and amounts allocated to utility departments using the common utility plant to which

- such accumulated provisions relate including explanation of basis of allocation and factors used.
- 3. Furnish a schedule showing for the year the expenses of operation, maintenance, rents, depreciation and amortization of common utility plant classified by accounts as provided by the Uniform System of Accounts. Such schedule also shall show the allocation of such expenses to the departments using the common utility plant to which such expenses are related, explain the basis of allocation used, and give the factors of allocation.
- 4. Give date of approval by the Commission for use of the common utility plant classification and reference to order of the Commission or other authorization.

Line	
No.	
1	
2	
3	NOT APPLICABLE
4	
5	
6 7	
7	
8	
9	
10	
11	
12 13	
14	
15	
16	
17	
18	
19	
20	
21	
22	
23	
24	
25	
26	
27	
28	
29	
30	
31	
32	
33	
34	
35	

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Flectric & Gas Co-on	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

CHARGES FOR OUTSIDE PROFESSIONAL AND OTHER CONSULTATIVE SERVICES

1. Report the information specified below for all charges made during the year included in any account (including plant accounts) for outside consultative and other professional services. (These services include rate, management, construction, engineering research, financial, valuation, legal, accounting, purchasing, advertising, labor relations, and public relations, rendered the respondent under written or oral arrangement, for which aggregate payments were made during the year to any corporation, partnership, organization or any kind, or individual (other than for services as an employee or for payments made for medical and related services) amounting to more than \$250,000, including payments for legislative services, except those which should be reported

- in Account 426.4, Expenditures for Certain civic, Political and Related Activities.)
- (a) Name and address of person or organization rendering services.
- (b) description of services received during year and project or case to which services relate.
 - (c) basis of charges,
- (d) total charges for the year, detailing utility department and account charged.
- 2. For any services which are of a continuing nature, give the date and term or contract and date of Commission authorization, if contract received Commission approval.
- 3. Designate with an asterisk associated companies.

	ive services, except those which should	i be reported I			1
Line			Basis of		
No.	Name / Address	Service	Charges	Acct #	Amount
1					
2 3					
3					
4					
5					
6					
7					
8					
9					
10					
11					
12					
13					
14					
15					
16					
17					
18					
19					
20					
21					
22					
23					
24					
25					
26					
27					
28					
29					
30					
31					
32					
33					
34					
	•				

Name of Respondent	This Report Is:	Date of Report	Year of Report
Prescuie Isla Flactric X. (-3s ('n-nn	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

SUMMARY OF COSTS BILLED TO ASSOCIATED COMPANIES

- 1. In column (a) report the name of the associated company.
- 2. In column (b) describe the affiliation (percentage ownership, etc.).
- 3. In column (c) describe the nature of the goods and

services provided (administrative and general expenses, dividends declared, etc.).

4. In column (d) and (e) report the amount classified to operating income and the account(s) in which reported.

Line No.	Company (a)	Affiliation (b)	Description Nature of Goods and Services (c)	Account Number (d)	Amount Classified to Operating Income (e)
1					
2					
3					
4					
5					
6					
7					
8					
9					
10					
11					
12					
13					
14					
15					
16					
17					
18					
19					
20					
21					
22					
23					
24					
25					
26					
27					
28					
29					
30					
TOTAL					

6. In columns (h) and (i) report the amount classified to

Name of Respondent	This Report Is:		Date of Report	Year of Report	
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission		(Mo, Da, Yr) 4/30/2022	12/31/2021	
SUMMARY OF COSTS BILLED TO ASSOCIATED COMPANIES (Continued)					
5. In columns (f) and (g) report the clas	5. In columns (f) and (g) report the classified to reported.				
non-operating income and the account(s) in which 7. In column (j) report the total.					
reported.		8. In colmn (k) indicat	e the pricing method (co	ost, per	

contract terms, etc).

the balance sheet and the account(s) in which Account Account Amount Classified to Amount Number Non-Operating Number Classified to Total Pricing Income Method **Balance Sheet** Line (f) (g) (h) (i) (j) (k) No. 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30

Nama	of Doomondont	This Deposit let		Data of Danaut	Year of Report
iname d	of Respondent	This Report Is: (1) [X] An Origi	inal	Date of Report (Mo, Da, Yr)	Year of Report
Presqu	e Isle Electric & Gas Co-op	(2) [] A Resubr		4/30/2022	12/31/2021
	SUMMAI		ED FROM ASSOCIATED COM		
compai 2. In co owners	olumn (a) report the name of the ny. olumn (b) describe the affiliation ship, etc.). olumn (c) describe the nature o	n (percentage	services provided (administra dividends declared, etc.). 4. In column (d) and (e) repo operating income and the acc	rt the amount clas	sified to
Line No.	Company (a)	Affiliation (b)	Description Nature of Goods and Services (c)	Account Number (d)	Amount Classified to Operating Income (e)
1					
2					
3					
4					
5					
6					
7					
8 9					
10					
11					
12					
13					
14					
15					
16					
17					
18					
19					
20					
21					
22					
23					
24					
25					
26					
27					
28					
29					

30

(4)			
Presque Isle Electric & Gas Co-op (1) [(2) [[X] An Original [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

SUMMARY OF COSTS BILLED FROM ASSOCIATED COMPANIES (Continued)

- 5. In columns (f) and (g) report the classified to non-operating income and the account(s) in which reported.
- reported.
 7. In column (j) report the total.
- 6. In columns (h) and (i) report the amount classified to
- 8. In colmn (j) indicate the pricing method (cost, per contract terms, etc).

the balance sheet and the account(s) in which

Account Number (f)	Amount Classified to Non-Operating Income (g)	Account Number (h)	Amount Classified to Balance Sheet (i)	Total (j)	Pricing Method (k)	Line No.
` ,		. ,	.,	2.	. ,	1
						2
						3
						4
						5
						6
						7
						8
						9
						10
						11
						12
						13
						14
						15
						16
						17
						18 19
						20
						21
						22
						23
						24
						25
						26
						27
						28
						29
						30

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-	(1) [X] An Original	(Mo, Da, Yr)	10/21/2021
ор	(2) [] A Resubmission	4/30/2022	12/31/2021

NATURAL GAS RESERVES AND LAND ACREAGE

- 1. Report below particulars (details) concerning the remaining recoverable saleable gas reserves and natural gas land acreage at end of year. Designate gas reserves on acreage acquired before October 8, 1969, and reserves on acreage acquired after October 7, 1969.
- Classify the gas reserves and related land and land rights and costs under the sub-headings: (a) Producing Gas Lands, and (B) Non-producing Gas Lands. Provide a total for each classification.
- For producing gas lands, report the required information alphabetically by State, County, or offshore area, and field.

If the field name is not assigned, report as "unnamed." Identify offshore fields according to their location in State or Federal domains by using the letter "S" for State domain, and "F" for Federal domain in column (a). For column (b), enter the zone number if applicable. The land, leasehold, and gas rights costs so reported should agree with the amounts carried under Account 101, *Gas Plant in Service*, as a reported for Accounts 325.1, 325.2, and 325.3 on pages 204-205. In column (e) show for each field the year and remaining recoverable saleable gas reserves available to respondent from owned lands, leaseholds, and gas rights.

Line		RE AREA	Name of	Name of State/	Recoverable Gas Reserves	OWNED LANDS
No.	Domain (a)	Zone (b)	Field or Block (c)	County/Offshore Area (d)	(Thousand Mcf) (e)	Acres (f)
1	(a)	(b)	A. PRODUCING GAS LANDS		(0)	(1)
2			A. I NODOCING GAS LANDS	I		
3						
4						
5						
6						
7						
8						
9						
10						
11						
12						
13						
14						
15						
16						
17						
18 19						
20						
21						
22						
23						
24						
25						
26						
27						
28						
29						
30						
31						
32						
33 34						
35						
36						
37						
38						
39						
40	TOTAL					

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co	(1) [X] An Original	(Mo, Da, Yr)	40/04/0004
	(2) [] A Resubmission	4/30/2022	12/31/2021

NATURAL GAS RESERVES AND LAND ACREAGE (Continued)

- 4. For non-producing gas lands, report the required information alphabetically by State, County, or offshore area by blocks. Report offshore lands in the same manner as producing gas lands. The land, leasehold, and gas rights costs reported should agree with the amounts carried under Accounts 105, Gas Plant Held for Future Use, and 105.1 Production Properties Held for Future Use, and reported in total on pages 214 and 215. Do not report estimates of gas reserves (column (e)) for unproven fields; however, if the company made estimates for such lands and normally includes such estimates in stating its reserve position in connecting with proposed financing and for managerial and other purposes, include such estimates on this page.
- 5. Report the cost of lands, leaseholds, and gas rights in accordance with the provisions of the Uniform System of Accounts for Natural Gas Companies.
- 6. For column (j) and (k), do not duplicate acreages reported for owned lands and leaseholds. Designate with an asterisk royalty interests separately owned.
- 7. Indicate by footnote whether acres reported are gross acres or net acres based on proportion of ownership in jointly owned tracts.
- 8. Do not include oil mineral interests in the cost of acreage reported.
 - 9. Report volumes on a pressure base of 14.73 psia at 60°F.

OWNED LANDS (Cont.)	LEAS	SEHOLDS	OWN	ED GAS RIGHTS	TO ⁻	ΓAL	
Cost	Acres	Cost	Acres	Cost	Acres	Cost (m)	Line No.
(g)	(h)	(i)	(j)	(k)	(I)	(111)	1 NO.
							2 3 4 5 6 7 8 9
							5
							6
							8
							9
							10 11
							12
							13 14
							15 16
							16 17
							18
							19
							20 21
							21 22 23
							23 24
							24 25 26 27
							26 27
							28 29
							29
							30 31
							32 33
							33 34
							34 35
							36 37
							36 37 38 39
						TOTAL	39
			L			TOTAL	40

Name	e of Respondent		This Report Is:	Date of Report		Year of Report
Preso	que Isle Electric & Gas Co-op		(1) [X] An Original	(Mo, Da, Yr)		12/31/2021
	· · · · · · · · · · · · · · · · · · ·		(2) [] A Resubmission	4/30/2		
- 4	CHANGES IN ESTIMATED I					46.0
reser Octob three the C time t those of suc 2. to pu	Report changes during the year in recover ves of the respondent located on acreage a per 7, 1969. Have the reported reserves att years by an Independent appraiser. File the commission along with this report. If the resette reserve determination is made, significate reported on this page, file a reconciliation and differences along with the attestation. For any important changes in the estimate rechases, sales, or exchanges of lands, least the on page 505 a brief explanation of the training page 100 and the property of the page 100 and 100 are recovery of the page 100 and 100 are recovery of the page 100 are recovery o	acquired after tested to every ne attestation with erves, at the intly differ from and explanation d reserves due eholds, or rights,	reserves involved. Also, onet realizable value of res 3. For column (d), reposition and the second s	serves. ort the reserves and rights included in ies Held for Future of the U.S. of A.) use of gas volumes enet realizable valuelling price of the h	d changes associ n Account Use. (See Gas I at 14.73 psia ue of hydrocarbor ydrocarbon reser	iated <i>Plant</i> n
			Lands, Leaseholds	and Rights		
1 :	!	Total Reserves Gas	In Service	Held for Future	Total Reserves	Investment
Line No.	Items	(Thousands Mcf)	Gas	Use Gas	Oil and Liquids	(Net Book
	(-)	(b)	(Thousands Mcf)	(Thousands Mcf)	\ /	Value)
	(a) Estimated Recoverable Reserves at		(c)	(d)	(e)	(f)
1	Beginning of Year					
2	ADDITIONS					
3	Purchases and Exchanges of Lands Leaseholds, and Rights					
4	Transfers from Reserves Held for Future Use					
5	Upward Revision of Basic Reserve Estimates (<i>Explain in a footnote</i>)					
6	Other Increases (Explain in a footnote)					
7	TOTAL Additions (Lines 3 thru 6)					
8	DEDUCTIONS					
9	Production During Year					
10	Sales and Exchanges of Lands, Leaseholds, and Rights					
11	Transfers of Reserves Held for Future Use to Reserves in Service					
12	Downward Revision of Estimates of Recoverable Reserves (<i>Explain in a</i> footnote)					
13	Other Decreases (Explain in a footnote)					
14	TOTAL Deductions (Lines 9 thru 13)					
15	Estimates Recoverable Reserves at End of Year (Enter Total of lines 1, 7, and 14)					
16	Net Realizable Value at End of Reporting \	Year (Explain on ρε	age 505): \$			
			NOTES			

Name of Respondent	This Report Is:	Date of Report	Year of Report		
	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021		
Со-ор	(2) [] A Resubmission	4/30/2022	12/3 1/202 1		
HYDROCAR	BON RESERVES AND COSTS, AND	NET REALIZABLE VALUE (Cor	ntinued)		
Explain below items for which explanations are required on page 504, Changes in Estimated Hydrocarbon Reserves and					
Costs, and Net Realizable Value. For line 16 on page 504, explain the criteria used to estimate such value and provide an					
explaination of any significant revision in the value of the reserves, other than from addition of new reserves.					
, , , , , , , , , , , , , , , , , , , ,					

vame c	n Respondent	This Report is:	Date of Report	rear of Report	
Presau	e Isle Electric & Gas Co-op	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021	
'		(2) [] A Resubmission	4/30/2022		
		COMPRESSOR			
compressor stations. Use the following subheadings: field compressor stations, products extraction compressor stations, underground storage compressor stations, transmission compressor stations, distribution compressor stations, and other compressor stations.			2. For column (a), indicate the production areas where such stations are used. Relatively small field compressor stations may be grouped by production areas. Show the number of stations grouped. Designate any station held under a title other than full ownership. State in a footnote the name of owner or co-owner, the nature of the respondent's title, and percent of ownership,		
			Number		
			of		
	Name of S	Station and Location	Employees	Plant Cost	
Line		4.	4. \		
No.		(a)	(b)	(c)	
1					
2					
3 4					
5					
6					
7					
8					
9					
10					
11					
12					
13 14					
15					
16					
17					
18					
19					
20					
21					
22					
23 24					
25					
26					
27					
28					
29					
30					
31					
32					
33 34					
3 4 35					
36					
37					
38					
39					
40					
41					

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

COMPRESSOR STATIONS (Continued)

If jointly owned. Designate any station that was not operated during the past year. State in a footnote whether the book cost of such station has been retired in the books of account, or what disposition of the station and its book costs are contemplated. Designate any compressor units in transmission compressor stations installed and put into operation during the year and show in a footnote the size

of each such unit, and the date each such unit was placed in operation.

3. For column (d) include the type of fuel or power, if other than natural gas. If two types of fuel or power are used, show separate entries for natural gas and the other fuel or power.

Expenses (Except	depreciation and		Operation Date			
Fuel or Power (d)	Other (e)	Gas for Compressor Fuel Mcf (14.73 psia at 60°F)	Total Compressor Hours of Operation During Year (g)	No. of Compressors Operated at Time of Station Peak (h)	Date of Station Peak (f)	Line No.
						1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 33 33 34 34 36 36 36 36 37 37 38 37 38 37 37 37 38 37 37 37 37 37 37 37 37 37 37 37 37 37

Name of Respondent	This Report Is:	Date of Report	Year of Report
Presque Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021

GAS AND OIL WELLS

- Report below the particulars (details) concerning gas and oil wells of the respondent which are either producing or capable of production.
- 2. Report the required information alphabetically by states. List wells located offshore separately.
- 3. For column (a), under separate headings, list gas wells first, oil wells second, and combination wells third. Combination wells are wells producing or capable of production from one or more oil reservoirs and also from one or more gas reservoirs. Enter totals for each of the headings
- (gas wells, oil wells, combination wells). Designate any wells not operated during the past year, and in a footnote state whether the book cost of such wells, or any portion thereof, has been retired in the books of account, or what disposition of the wells and their book cost is contemplated.
- 4. In column (f), report well reclassified during the year as oil wells, gas wells, or combination wells. Show additions in black and deductions enclosed in parentheses. The total additions equal the total deductions.

		Number	ADDITIO	NS DURI	NG YEAR		REDUCTI	ONS DURIN	G YEAR	Number
Line No.	Location of Wells	of Wells Begin- ning of Year	Success- ful Wells Drilled	Wells Pur- chased	Total (c + d)	Wells Reclas- sified	Wells Aban- doned	Wells Sold	Total (g + h)	of Wells at End of Year
	(a)	(b)	(c)	(d)	(e)	(f)	(g)	(h)	(i)	(j)
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39	(a)	(b)	(c)	(d)	(e)	(f)	(g)	(n)	(1)	
40]	1							

BLANK PAGE

Name c	of Respondent	This Report Is:	Date of Report	Year of Report
Presque	e Isle Electric & Gas Co-op	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021
•		(2) [] A Resubmission	4/30/2022	
2. T amount	otal storage plant (column be reported by the responder	or total gas storage projects. o) should agree with	3. Give particulars (details) of any gas of another company under a gas exchange on basis of purchase and resale to other company.	e arrangement or ompany. Designate
inclusiv	e (pages 206-207).	Item	with an asterisk if other company is an ass	ociated company. Total
Line No.		(a)		Amount (b)
1		Natural Gas Storage	Plant	` /
2	Land and Land Rights	ratarar dad didrago	T MILE	
3	Structures and Improvemer	nts		
4	Storage Wells and Holders			
	Storage Lines			
6	Other Storage Equipment			
7	TOTAL (Enter Total of	·		
8	. .:	Storage Expense	es	
	Operation			
	Maintenance			
11	Rents			
12	TOTAL (Enter Total o	of Lines 9 Thru 11)		
13		Storage Operations (I	n Mcf)	
	Gas Delivered to Storage			
15	January			
16	February			
17	March			
18	April			
19	May			
20	June			
21	July			
22	August			
23	September			
24	October			
25	November			
26	December			
27	TOTAL (Enter Total o	of Lines 15 Thru 26)		
28	Gas Withdrawn from Storag	ge		
29	January			
30	February			
31	March			
32	April			
33	May			
34	June			
35	July			
36	August			
37	September			
38	October			
39	November			
40	December			
11	TOTAL (Enter Total)	of Linos 20 Thru 40)		

Name of	of Respondent	This Report Is:	Date of Report	Year of Report					
Presqu	e Isle Electric & Gas Co-op	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021					
<u> </u>	'	(2) [] A Resubmission	4/30/2022						
	GAS STORAGE PROJECTS (Continued) Item Total								
Line		Total Amount							
No.		(b)							
	Storage Operations (In Mcf)								
42	Top or Working Gas End of	Year							
43	Cushion Gas (Including Na	tive Gas)							
44	Total Gas in Resevoir (<i>Ente</i>	er Total of Line 42 and Line 43)							
45	Certified Storage Capacity								
46	Number of Injection Without	drawl Wells							
47	Number of Observation Wells								
48	Maximum Day's Withdrawl from Storage								
49	Date of Maximum Day's Wi	thdrawl							
50	LNG Terminal Companies ((In Mcf)							
51	Number of Tanks								
52	Capacity of Tanks								
53	LNG Volumes								
54	a) Received at "Ship Rail"								
55	b) Transferred to Tanks								
56	c) Withdrawn from Tanks								
57	d) "Boil Off" Vaporization L	oss							
58	e) Converted to Mcf at Tail	gate of Terminal							

Name o	of Respondent	This Report Is:	Date of Report	Year of Report				
Presqu	e Isle Electric & Gas Co-op	(1) [X] An Original (2) [] A Resubmission	(Mo, Da, Yr) 4/30/2022	12/31/2021				
	DISTRIBUTION AND TRANSMISSION LINES							
operate 2. Rep full own n a foo of respo owned.	ort below by States the tota ed by respondent at end of y ort separately any lines held nership. Designate such line thote state the name of owr ondent's title, and percent or	rear. d under a title other than es with an asterisk and ner, or co-owner, nature	 Report separately any line that the past year. Enter in a footnote the and state whether the book cost of portion thereof, has been retired in or what disposition of the lines and contemplated. Report the number of miles of point. 	he particulars (details) such a line, or any the books of account, its book costs are				
Line No.		Designation (Identification or Group of Lines		Total Miles of Pipe (to 0.1)				
		(a)		(b)				
1								
2	DISTRIBUTION MAINS			885.85				
3								
4 5								
6								
7								
8								
9								
10								
11								
12								
13								
14								
15								
16								
17								
18								
19								
20	TOTAL			885.85				

DocuSign Envelope ID: C5271FC8-5CAB-4EEF-B8C4-49ED0165649E

BLANK PAGE (Next page is 516)

Name o	of Respondent	This Report Is:	Date of Report		Year of Report
Presqu	e Isle Electric & Gas Co-op	(1) [X] An Original	(Mo, Da, Yr)		12/31/2021
. 100qu	- 1010 E1004110 & 040 00 0p	(2) [] A Resubmission)/2022	12/01/2021
			LEUM GAS OPERATION		
	ort the information called for			es of any liquefied peti	
	oroduce gas from liquefied p column (a), give city and Sta			of a manfactured gas sappropriate) the plan	
	ation necessary to locate pla			ntly with the manufactu	
	dent's system.	ant on a map of the		nant use, indicate in a	
	column (b) and (c), the plan	t cost and operation and		or the liquefied petroleu	
			above are reported.		
				•	penses
	Leastien of Dien	-4 d M l4-lld	Cost of Plant	Oper. Maintenance,	Cost of
		nt and Year Installed state, etc).	(Land struct. equip.)	Rents etc.	LPG Used
Line	(Oity,	state, etc).	equip.)	eic.	Useu
No.		(a)	(b)	(c)	(d)
1			\ /	, ,	` '
2					
3	NOT APPLICABLE				
4					
5					
6					
7 8					
9					
10					
11					
12					
13					
14					
15					
16					
17 18					
19					
20					
21					
22					
23					
24					
25					
26 27					
28					
29					
30					
31					
32					
33					
34					
35					
36					
37					

39

TOTAL

Name of Respondent	This Report Is:	Date of Report	Year of Report			
Presque Isle Electric &	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021			
Gas Co-op	(2) [] A Resubmission	4/30/2022	12/31/2021			
LIQUEFIED PETROLEUM GAS OPERATIONS (Continued)						
Designate any plant	held under a title other than full owner-	5. If any plant was not operated during the past year, give particulars				

Designate any plant held under a title other than full ownership and in a footnote state name of owner or co-owner, nature of respondent's title, and percent ownership if jointly owned.

- 4. For column (g) report the Mcf that is mixed with natural gas or which is substituted for deliveries normally made from natural gas. Natural gas means either natural gas unmixed or any mixture of natural and manufactured gas or mixture of natural gas and gasified LPG.
- 5. If any plant was not operated during the past year, give particulars (details) in a footnote, and state whether the book cost of such plant, or any portion thereof, has been retired in the books of account, or what disposition of the plant and its book cost is contemplated.
- 6. Report pressure base of gas at 14.73 psia at 60 $^{\circ}$ F. Indicate the Btu content in a footnote.

	Gas Pr	oduced			
Gallons of LPG Used	Amount of Mcf	Amount of Mcf Mixed with Natural Gas	LPG Storage Cap. Gallons	Function of Plant (Base load, peaking, etc.)	Lir No
(e)	(f)	(g)	(h)	(f)	
					1
					3
					4
					5
					6
					7 8
					9
					1
					1
					1:
					1
					1
					1
					1
					1
					1 2
					2
					2
					2
					2
					2
					2
					2
					2
					3
					3:
					3
					3
					3
					3
					3
		i l			

Name	of Respondent This Report Is:	Date of Report		Year of Report				
Presqu	e Isle Electric & Gas Co-op (1) [X] An Original (2) [] A Resubmission	, ,	(Mo, Da, Yr) 4/30/2022					
	DISTRIBUTION SYSTEM PEAK DELIVERIES							
gas, ex	1. Report below the total distribution system deliveries of gas, excluding deliveries to storage, for the periods of system peak deliveries indicated below during the calendar							
Line No.	Item (a)	Day/Month (b)	Amount of Mcf (c)	Curtailments on Day/Month Indicated (d)				
	Section A. Three Highest Days of System Peak Deliveries							
1	Date of Highest Day's Deliveries	2/7/2021						
2	Deliveries to Customers Subject to MPSC Rate Schedules							
3	Deliveries to Others		8,717					
4	TOTAL		8,717					
5	Date of Second Highest Day's Deliveries	2/15/2021						
6	Deliveries to Customers Subject to MPSC Rate Schedules							
7	Deliveries to Others		8,637					
8	TOTAL		8,637					
9	Date of Third Highest Day's Deliveries	2/16/2021						
10	Deliveries to Customer Subject to MPSC Rate Schedules							
11	Deliveries to Others		8,636					
12	TOTAL		8,636					
	Section B. Highest Consecutive 3-Day System Peak Deliveries (and Supplies)							
13		2/14/2021						
	Dates of Three Consecutive Days Highest System Peak Deliveries	2/15/2021						
		2/16/2021						
14	Deliveries to Customer Subject to MPSC Rate Schedules							
15	Deliveries to Others		25,593					
16	TOTAL		25,593					
17	Supplies from Line Pack							
18	Supplies from Underground Storage							
19	Supplies from Other Peaking Facilities							
	Section C. Highest Month's System Deliveries							
20	Month of Highest Month's System Deliveries	FEBRUARY, 2021						
21	Deliveries to Customer Subject to MPSC Rate Schedules							
22	Deliveries to Others		195,620					
23	TOTAL		195,620					
	FORM D 500 (Days 4 04)							

Name of Respondent	This Report Is:	Date of Report	Year of Report	
Presque Isle Electric & Gas Co-	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021	
	(2) [] A Resubmission	4/30/2022	12/3/1/2021	

AUXILIARY PEAKING FACILITY

- Report below auxiliary facilities of the respondent for meeting seasonal peak demands on the respondent's system, such as underground storage projects, liquefied petroleum gas installations, gas liquefaction plants, oil gas sets, etc.
- 2. For column (c), for underground storage projects, report the delivery capacity on February 1 of the heating season overlapping the year-end for which this report is
- submitted. For other facilities, report the rated maximum daily delivery capacities.
- 3. For column (d), include or exclude (as appropriate) the cost of any plant used jointly with another facility on the basis of predominant use, unless the auxiliary peaking facility is a separate plant as contemplated by general Instruction 12 of the Uniform System of Accounts.

Locat Fac	on of	Type of Facility	Maximum Daily Delivery Capacity of Facility, Mcf at 14.73 psia at 60°	Cost of Facility (In dollars)	on Day o Transmis	ty Operated of Highest ssion Peak very? No
(8	1)	(b)	(c)	(d)	(e)	(f)
1 2 NOT APPLICE 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 41		(b)	(c)	(d)	(e)	(f)

Name of Respondent Presque Isle Electric & Gas Co- op SYSTEM MAPS 1. Furnish 5 copies of a system map (one with each filed copy of this report) of the facilities operated by the respondent for the production, gathering, transportation, and sale of Report (Mo, Da, Yr) 4/30/2022 (f) Locations of compressor stations, product extraction plants, stabilization plants, important purification plants, underground storage areas, recycling areas, etc. (g) Important main line interconnections with other
op (2) [] A Resubmission 4/30/2022 SYSTEM MAPS 1. Furnish 5 copies of a system map (one with each filed copy of this report) of the facilities operated by the respondent for the production, gathering, transportation, and sale of natural gas. New maps need not be furnished if no 4/30/2022 (f) Locations of compressor stations, product extraction plants, stabilization plants, important purification plants, underground storage areas, recycling areas, etc.
1. Furnish 5 copies of a system map (one with each filed copy of this report) of the facilities operated by the respondent for the production, gathering, transportation, and sale of natural gas. New maps need not be furnished if no (f) Locations of compressor stations, product extraction plants, stabilization plants, important purification plants, underground storage areas, recycling areas, etc.
copy of this report) of the facilities operated by the respondent for the production, gathering, transportation, and sale plants, underground storage areas, recycling of natural gas. New maps need not be furnished if no areas, etc.
respondent since the date of the maps furnished with a previous year's annual report. If, however, maps are not furnished for this reason, reference should be made in the space below to the year's annual report with which the maps were furnished. 2. Indicate the following information on the maps: (a) Transmission linescolored in red, if they are not otherwise clearly indicated. (b) Principal pipeline arteries of gathering systems. (c) Sizes of pipe in principal pipelines shown on map. (d) Normal directions of gas flowindicated by arrows. (e) Location of natural gas fields or pools in which the respondent produces or purchases natural gas. (a) Transmission linescolored in red, if they are not otherwise clearly indicated. (b) Principal communities in which respondent renders local distribution service. 3. In addition, show on each map: graphic scale to which map is drawn; date as of which the map represents the facts it purports to show; a legend giving all symbols and abbreviations used; designations of facilities leased to or from another company, and giving name of such other company. 4. Maps not larger than 24 inches square are desired. If necessary, however, submit larger maps to show essential information. Fold the maps to the report.

Name of Respondent		dent	This Report Is:	Date of Report	Year of Report			
Presque	e Isle Elec	ctric &	(1) [X] An Original	(Mo, Da, Yr)	12/31/2021			
Gas Co	-op		(2) [] A Resubmission	4/30/2022	12/3 1/202 1			
	FOOTNOTE DATA							
Page No.	Line No.	Column No.		Comments				
(a)	(b)	(c)		(d)				

BLANK PAGE

<u>Schedule</u>				Page No.
Abandoned leases Accrued and prepaid taxes Accounts receivable Accumulated Deferred Income Tax	es			326 262-263 228A 234-235, 272-5
Accumulated provisions for deprec	iation of			276A-B, 277
common utility plant				356
utility plant				 219
utility plant (summary)				 200-201
Advances				000
for gas	nice		***************************************	 229
from associated compa from customers for con				 256-257 268
to associated companie				 222-223
Amortization	.5			 222 220
miscellaneous				340
of nonutility property				221
of other gas plant in se				336-338
and depletion of produc		s land and lan	d rights	 336-338
Appropriations of Retained Earning				 118-119
Assets, miscellaneous current & ac	crued			268
Associated Companies				056 057
advances from advances to				 256-257 222-223
control over responden	†			 102
corporations controlled			***************************************	 103
interest on debt to	by respondent			 256-257
investment in			***************************************	 222-223
payables to				 206B
receivables from				 228B
service contracts charg				357
summary of costs billed				 358-359
summary of costs billed	l from			 360-361
Attestation				 1
Balance Sheet				110 110
comparative notes to				 110-113 122-123
Bonds				 256-257
Calculation of Federal Income Tax	2S			 261C-D
Capital Stock	50			 250-251
discount			***************************************	 254
expenses				 254
installments received				252
liability for conversion				 252
premiums				 252
reaquired 				 250-251
subscribed				 252
Cash flows, statement of				 120-121
Changes important during year				 100 100
Charges for outside professional a	nd other consul	tative services	•	108-109 357
Civic activities, expenditures for	ia otilei colisti	tative services	•	 343
Compressor stations				 508-509
p				 222 000

Construction	Schedule	Page No.
overheads, gas 217 overhead procedures, general description of 218 work in progress - common utility plant 356 work in progress - gas 216 work in progress - other utility departments 200-201 Consultative services, charges for 357 Control 103 corporation controlled by respondent over respondent incorporated 102 controlled by respondent incorporated incorporated 101 CPA, background information on 101 CPA Certification, this report form 1-ii Current and accrued liabilities, miscellaneous 268 Deferred 269 debits, miscellaneous 233 income taxes, accumulated - accelerated amortization property 272-273 income taxes, accumulated - other property 274-275 income taxes, accumulated - other property 274-275 income taxes, accumulated - temporary 276 regulatory expenses 350-351 Definitions, this report form iii-iv Demonstration and development, research 352-353 Depletion 336-338	Construction	
overhead procedures, general description of work in progress - common utility plant work in progress - gas work in progress - other utility departments 216 work in progress - other utility departments 200-201 Consultative services, charges for Control 357 Control 103 corporation controlled by respondent over respondent security holders and voting powers 102 corporation controlled by respondent incorporated 103 incorporated 101 CPA, background information on CPA Certification, this report form 101 CPA certification, this report form 268 Deferred 269 credits, other debits, miscellaneous income taxes, accumulated - accelerated amortization property 272-273 income taxes, accumulated - other property 274-275 income taxes, accumulated - other property 277-273 permonstration and development, research 352-353 Definitions, this report form 352-3	overheads, gas	217
work in progress - common utility plant 356 work in progress - gas 216 work in progress - other utility departments 200-201 Consultative services, charges for Control 357 Control 102 corporation controlled by respondent over respondent 102 security holders and voting powers 106-107 Corporation 103 incorporated 101 CPA, background information on 101 CPA Certification, this report form 288 Deferred 269 debits, miscellaneous 233 income taxes, accumulated - accelerated amortization property 272-273 income taxes, accumulated - other property 274-275 income taxes, accumulated - other property 276-8 income taxes, accumulated - temporary 276-8 regulatory expenses 350-351 Definitions, this report form 352-353 Definitions, this report form 352-353 Depletion 336-338 amortization and depreciation of gas plant 36-338 Depreciation and amortization of producin	overhead procedures, general description of	218
work in progress - gas work in progress - other utility departments 200-201 Consultative services, charges for Control corporation controlled by respondent over respondent security holders and voting powers 2010-107 Corporation Controlled by respondent controlled by respondent incorporated 2010-107 CORPORTICION CPA, background information on CPA, background information on CPA certification, this report form Current and accrued liabilities, miscellaneous Deferred credits, other debits, miscellaneous income taxes, accumulated - accelerated amortization property income taxes, accumulated - other property income taxes, accumulated - pollution control facilities and amortization and development, research Depletion Demonstration and development research Depletion amortization and depreciation of gas plant and amortization of producing natural gas land and land rights Depreciation and amortization of common utility plant of common uti	work in progress - common utility plant	_
work in progress - other utility departments 357 Consultative services, charges for Control 357 Control 102 corporation controlled by respondent over respondent security holders and voting powers 106-107 Corporation 103 controlled by respondent incorporated 101 CPA, background information on 101 CPA, background information on 101 CPA Certification, this report form 1-ii Current and accrued liabilities, miscellaneous 268 Deferred 269 debits, miscellaneous 233 income taxes, accumulated - accelerated amortization property 272-273 income taxes, accumulated - other property 274-275 income taxes, accumulated - other property 274-275 income taxes, accumulated - other property 277-276-8 income taxes, accumulated - other property 277-276-8 income taxes, accumulated - other property 277-275-8 regulatory expenses 350-351 Definitions, this report form iii-iv Demonstration and development, research 352-353 Dep	work in progress - gas	
Consultative services, charges for Control 357 Control corporation controlled by respondent over respondent security holders and voting powers 102 Corporation controlled by respondent incorporated 103 incorporated CPA, background information on CPA Certification, this report form 101 CPA Certification, this report form 268 Deferred 289 credits, other debits, miscellaneous income taxes, accumulated - accelerated amortization property income taxes, accumulated - other property income taxes, accumulated - other property income taxes, accumulated - other property income taxes, accumulated - pollution control facilities income taxes, accumulated - temporary regulatory expenses 274-275 Definitions, this report form Illi-IV Definitions, this report form 352-353 Depletion 352-353 Depreciation and depreciation of gas plant and amortization and depreciation of gas plant and amortization of producing natural gas land and land rights 336-338 Depreciation and amortization of producing natural gas land and land rights 336-338 Directors 105 Discount of capital stock 254-257 Discount of property, gain or loss 342A-8 Distribution of salaries and wages 354-355 Dividend appro		-
Control Corporation controlled by respondent 103 103 106-107 106-107 106-107 106-107 106-107 106-107 106-107 106-107 106-107 106-107 106-107 106-107 106-107 106-107 107 108-107 108-107 109		
corporation controlled by respondent over respondent over respondent security holders and voting powers 102 security holders and voting powers Corporation controlled by respondent incorporated 103 incorporated CPA, background information on 101 cp. CPA Certification, this report form 101 cp. Current and accrued liabilities, miscellaneous 268 cp. Deferred 269 credits, other debits, miscellaneous 233 income taxes, accumulated - accelerated amortization property income taxes, accumulated - other property income taxes, accumulated - other property income taxes, accumulated - other income taxes, accumulated - other income taxes, accumulated - pollution control facilities 274-275 cp. Income taxes, accumulated - temporary regulatory expenses 352-353 Definitions, this report form 1ii-iv Demonstration and development, research 352-353 Depletion 336-338 amortization and depreciation of gas plant and amortization of producing natural gas land and land rights 336-338 Depreciation and amortization 256 cp. Discount of capital stock 254 Discount of operation and marketases 219, 336-338 Directors 254 Disposition of property, gain or loss 342-As	, , , , , , , , , , , , , , , , , , , ,	001
over respondent security holders and voting powers 102 Corporation 106-107 Controlled by respondent incorporated 101 CPA, background information on CPA Certification, this report form 101 CUrrent and accrued liabilities, miscellaneous 268 Deferred 269 credits, other debits, miscellaneous 233 income taxes, accumulated - accelerated amortization property income taxes, accumulated - other property income taxes, accumulated - temporary regulatory expenses 274-275 Definitions, this report form 350-351 Definitions, this report form 352-353 Depletion 336-338 and amortization and development, research 336-338 Depletion 336-338 Depreciation and amortization of gas plant and amortization of gas plant of gas plant 356-338 Directors 105 Discount of capital stock 254 Discount of capital stock 254 Disposition of property, gain or loss 342A-B Distribution Lines 514 Distribution Lines		103
Security holders and voting powers 106-107	over respondent	
Corporation controlled by respondent incorporated 103 CPA, background information on 101 CPA Certification, this report form i-ii Current and accrued liabilities, miscellaneous 268 Deferred 269 credits, other debits, miscellaneous income taxes, accumulated - accelerated amortization property income taxes, accumulated - other property income taxes, accumulated - other property income taxes, accumulated - other income taxes, accumulated - pollution control facilities income taxes, accumulated - temporary regulatory expenses 274-275 Definitions, this report form 350-351 Demonstration and development, research 352-353 Depletion 336-338 amortization and depreciation of gas plant and amortization of producing natural gas land and land rights 336-338 Depreciation and amortization of common utility plant of gas plant 336-338 Directors 105 Discount of capital stock 254 Discount permium on long-term debt 256-257 Disposition of property, gain or loss 342A-B Distribution Lines 514 Distribution of salaries and wages 354-355 Dividend appropriations 118-119	•	
controlled by respondent incorporated 103 incorporated 101 CPA, background information on 101 CPA Certification, this report form i-ii Current and accrued liabilities, miscellaneous 268 Deferred credits, other debits, miscellaneous 233 income taxes, accumulated - accelerated amortization property 272-273 income taxes, accumulated - other property 274-275 income taxes, accumulated - other property 274-275 income taxes, accumulated - brould on control facilities 234-235 income taxes, accumulated - temporary 277 regulatory expenses 350-351 Definitions, this report form iii-iv Demonstration and development, research 352-353 Depletion 336-338 and mortization and depreciation of gas plant 336-338 and amortization of producing natural gas land and land rights 336-338 Depreciation and amortization 556 of common utility plant of gas plant 356 of gas plant 254 Discount of capital stock 254		100-107
101 CPA, background information on	controlled by respondent	103
CPA, background information on 101 CPA Certification, this report form i-ii Current and accrued liabilities, miscellaneous 268 Deferred credits, other 269 debits, miscellaneous 233 income taxes, accumulated - accelerated amortization property 272-273 income taxes, accumulated - other property 274-275 income taxes, accumulated - other property 276-8 income taxes, accumulated - pollution control facilities 234-235 income taxes, accumulated - temporary 277 regulatory expenses 350-351 Definitions, this report form iii-iv Demonstration and development, research 352-353 Depletion 336-338 amortization and depreciation of gas plant 336-338 Depreciation and amortization of producing natural gas land and land rights 336-338 Depreciation and mortization 356 of ogas plant 356 Directors 105 Discount of capital stock 254 Discount of capital stock 254 Distribution of salaries and wages	incornorated	
CPA Certification, this report form i-ij Current and accrued liabilities, miscellaneous 268 Deferred 269 credits, other 233 debits, miscellaneous 233 income taxes, accumulated - accelerated amortization property 272-273 income taxes, accumulated - other property 274-275 income taxes, accumulated - other 276A-B income taxes, accumulated - pollution control facilities 234-235 income taxes, accumulated - temporary 277 regulatory expenses 350-351 Definitions, this report form iii-iv Demonstration and development, research 352-353 Depletion 336-338 amortization and depreciation of gas plant 336-338 Depreciation and amortization of producing natural gas land and land rights 336-338 Discount of capital stock 254 Distribution Lines 514 Distribution of property, gain or loss 342A-B		_
Current and accrued liabilities, miscellaneous 268 Deferred 269 credits, other 233 debits, miscellaneous 233 income taxes, accumulated - accelerated amortization property 272-273 income taxes, accumulated - other property 2774-275 income taxes, accumulated - other 276A-B income taxes, accumulated - pollution control facilities 234-235 income taxes, accumulated - temporary 277 regulatory expenses 350-351 Definitions, this report form iii-iv Demonstration and development, research 352-353 Depletion amortization and depreciation of gas plant 336-338 and amortization and producing natural gas land and land rights 336-338 Depreciation and amortization 356 of common utility plant 356 of gas plant 219, 336-338 Directors 105 Discount of capital stock 254 Discount of property, gain or loss 342A-B Distribution Lines 514 Distribution of property, gain or loss 342A-B		-
Deferred		
credits, other debits, miscellaneous 233 income taxes, accumulated - accelerated amortization property 272-273 income taxes, accumulated - other property 274-275 income taxes, accumulated - other 276A-B income taxes, accumulated - pollution control facilities 234-235 income taxes, accumulated - temporary 277 regulatory expenses 350-351 Definitions, this report form iii-iv Demonstration and development, research 352-353 Depletion 336-338 amortization and depreciation of gas plant 336-338 Depreciation and amortization of producing natural gas land and land rights 356-338 Depreciation and amortization of common utility plant of gas plant 356 0f common utility plant of aga plant 356 Discount of capital stock 254 Discount of property, gain or loss 254 Disposition of property, gain or loss 342A-B Distribution Lines 514 Dividend appropriations 118-119 Earnings, Retained 118-119 Earnings, Retained 118-119 <td< td=""><td></td><td>200</td></td<>		200
debits, miscellaneous 233 income taxes, accumulated - accelerated amortization property 272-273 income taxes, accumulated - other property 274-275 income taxes, accumulated - other property 276A-B income taxes, accumulated - pollution control facilities 234-235 income taxes, accumulated - temporary 277 regulatory expenses 350-351 Definitions, this report form iii-iv Demonstration and development, research 352-353 Depletion amortization and depreciation of gas plant 336-338 and amortization of producing natural gas land and land rights 336-338 Depreciation and amortization 356 of common utility plant 356 of gas plant 219, 336-338 Directors 105 Discount of capital stock 254 Discount - premium on long-term debt 256-257 Disposition of property, gain or loss 342A-B Distribution Lines 514 Distribution of salaries and wages 354-355 Dividend appropriations 118-119 Earnings, Retained 118-119 Earnings, Retained 118-119 Exchange Gas Transactions 328-330 Expenses gas operation and maintenance 320-325 gas operation and maintenance 320-325 gas operation and maintenance 320-325 Exploration and development expenses 236 Extraordinary property losses 230 Filing requirements, this report form 1-ii Footnote Data 551	20.0.104	260
income taxes, accumulated - accelerated amortization property 274-275 income taxes, accumulated - other property 274-275 income taxes, accumulated - other property 276A-B income taxes, accumulated - pollution control facilities 234-235 income taxes, accumulated - pollution control facilities 234-235 income taxes, accumulated - temporary 277 regulatory expenses 350-351 Definitions, this report form iii-iv Demonstration and development, research 352-353 Depletion amortization and depreciation of gas plant 336-338 and amortization of producing natural gas land and land rights 336-338 Depreciation and amortization 356 of common utility plant 356 of gas plant 219, 336-338 Directors 105 Discount of capital stock 254 Discount - premium on long-term debt 256-257 Disposition of property, gain or loss 342A-B Distribution Lines 514 Distribution of salaries and wages 354-355 Dividend appropriations 118-119 Earnings, Retained 118-119 Earnings, Retained 320-325 gas operation and maintenance 320-325 gas operation and maintenance (nonmajor) 320N-324N gas operation and maintenance (nonmajor) 320N-324N gas operation and maintenance (nonmajor) 320N-324N gas operation and development expenses 236 Extraordinary property losses 230 Filing requirements, this report form i-ii Footnote Data 551		
income taxes, accumulated - other property income taxes, accumulated - other 276A-B income taxes, accumulated - other 276A-B income taxes, accumulated - pollution control facilities 234-235 income taxes, accumulated - temporary 277 regulatory expenses 350-351 Definitions, this report form ini-iv 255-253 Definitions, this report form 352-353 Depletion and development, research 352-353 Depletion amortization and depreciation of gas plant and amortization of producing natural gas land and land rights 336-338 Depreciation and amortization of common utility plant of gas plant 219, 336-338 Directors 105 Discount of capital stock 254 Discount of capital stock 254 Discount - premium on long-term debt 256-257 Disposition of property, gain or loss 342A-B Distribution Lines 514 Distribution Lines 5151 Expenses 328-330 Expenses 328-330 Expenses 328-330 Expenses 329-325 Expenses 320-325 Exploration and maintenance (nonmajor) 325 Exploration and development expenses 326 Extraordinary property losses 230 Filing requirements, this report form i-ii Foothote Data 551		
income taxes, accumulated - other income taxes, accumulated - pollution control facilities income taxes, accumulated - temporary regulatory expenses Definitions, this report form Demonstration and development, research Depletion amortization and depreciation of gas plant and amortization of producing natural gas land and land rights Depreciation and amortization of common utility plant of gas plant Discount of capital stock Discount of capital stock Discount - premium on long-term debt Distribution Lines Distribution of salaries and wages Distribution of salaries and wages Distribution of salaries and wages Distribution of salaries and maintenance gas operation and maintenance (nonmajor) gas operation and maintenance, summary unamortized debt Exploration and development expenses Extraordinary property losses Filing requirements, this report form Foothote Data 101 276287 254355 254355 254355 255357 25		_
income taxes, accumulated - pollution control facilities 234-235 income taxes, accumulated - temporary 277 regulatory expenses 350-351 Definitions, this report form iii-iv Demonstration and development, research 352-353 Depletion 336-338 amortization and depreciation of gas plant 336-338 Depreciation and amortization of producing natural gas land and land rights 356 of common utility plant of common utility plant of capital stock 219, 336-338 Directors 105 Discount of capital stock 254 Discount - premium on long-term debt 256-257 Disposition of property, gain or loss 342A-B Distribution Lines 514 Distribution of salaries and wages 554-355 Dividend appropriations 118-119 Earnings, Retained 118-119 Earnings, Retained 320-325 gas operation and maintenance 320-325 gas operation and maintenance (nonmajor) 320-325 unamortized debt 256-257 Exploration and development expenses 230		_
income taxes, accumulated - temporary regulatory expenses 350-351 Definitions, this report form iii-iv Demonstration and development, research 352-353 Depletion 336-338 amortization and depreciation of gas plant and amortization of producing natural gas land and land rights 336-338 Depreciation and amortization of common utility plant of common utility plant of gas plant 219, 336-338 Directors 105 Discount of capital stock 254 Discount - premium on long-term debt 256-257 Disposition of property, gain or loss 342A-B Distribution Lines 514 Distribution of salaries and wages 354-355 Dividend appropriations 118-119 Earnings, Retained 118-119 Exchange Gas Transactions 328-330 Expenses 320-325 gas operation and maintenance (nonmajor) gas operation and maintenance, summary unamortized debt 325 Exploration and development expenses 236 Extraordinary property losses 230 Filing requirements, this report form i-ii Foothote Data 551 <td>, managamanananan managaman managaman managaman managaman managaman managaman managaman managaman managaman ma</td> <td>-</td>	, managamanananan managaman managaman managaman managaman managaman managaman managaman managaman managaman ma	-
regulatory expenses 350-351 Definitions, this report form iii-iv Demonstration and development, research 352-353 Depletion 336-338 amortization and depreciation of gas plant and amortization of producing natural gas land and land rights 336-338 Depreciation and amortization of common utility plant of capital stock 219, 336-338 Directors 105 Discount of capital stock 254 Discount - premium on long-term debt 256-257 Distribution of property, gain or loss 342A-B Distribution of salaries and wages 514 Distribution of salaries and wages 354-355 Dividend appropriations 118-119 Earnings, Retained 118-119 Exchange Gas Transactions 328-330 Expenses 320N-325 gas operation and maintenance (nonmajor) 320N-324N gas operation and maintenance, summary 325 unamortized debt 256-257 Exploration and development expenses 230 Extraordinary property losses 230 Filling requirements, this report form i-i		
Definitions, this report form iii-iv Demonstration and development, research 352-353 Depletion 336-338 amortization and depreciation of gas plant and amortization of producing natural gas land and land rights 336-338 Depreciation and amortization of common utility plant of gas plant 219, 336-338 Directors 105 Discount of capital stock 254 Discount - premium on long-term debt 256-257 Disposition of property, gain or loss 342A-B Distribution Lines 514 Distribution of salaries and wages 354-355 Dividend appropriations 118-119 Earnings, Retained 118-119 Exchange Gas Transactions 328-330 Expenses 320N-325 gas operation and maintenance (nonmajor) 320N-325 gas operation and maintenance, summary 325 unamortized debt 256-257 Exploration and development expenses 326 Extraordinary property losses 230 Filing requirements, this report form 1-ii Footnote Data 551		
Demonstration and development, research Depletion amortization and depreciation of gas plant and amortization of producing natural gas land and land rights Depreciation and amortization of common utility plant of gas plant Discount of capital stock Discount - premium on long-term debt Disposition of property, gain or loss Distribution Lines Distribution of salaries and wages Dividend appropriations Earnings, Retained Exchange Gas Transactions gas operation and maintenance gas operation and maintenance (nonmajor) gas operation and maintenance, summary unamortized debt Extraordinary property losses Filing requirements, this report form Footnote Data 336-338 336-338 336-338 326-338 2219, 336-338 2219, 336-338 2219, 336-338 2219, 336-338 2219, 336-338 236-336 2370 238-330 239-325 230 230 230 230 230 230 230 230 230 230		
Depletion amortization and depreciation of gas plant and amortization of producing natural gas land and land rights Depreciation and amortization of common utility plant of gas plant Directors Discount of capital stock Discount - premium on long-term debt Distribution Lines Distribution Lines Distribution of salaries and wages Dividend appropriations Earnings, Retained Exchange Gas Transactions gas operation and maintenance gas operation and maintenance (nonmajor) gas operation and maintenance, summary unamortized debt Exploration and development expenses Extraordinary property losses Extraordinary property losses Elining requirements, this report form Footnote Data 336-338 336-338 336-338 326-338 219, 336-338 219, 336-338 219, 336-338 219, 336-338 219, 336-338 219, 336-338 219, 336-338 229, 342-B 320-325 320-325 320-325 320-325 320 Extraordinary property losses Extraordinary property losses Elining requirements, this report form Footnote Data		
amortization and depreciation of gas plant and amortization of producing natural gas land and land rights 336-338 Depreciation and amortization of common utility plant of gas plant 219, 336-338 Directors 219, 336-338 Directors 105 Discount of capital stock 254 Discount - premium on long-term debt 256-257 Disposition of property, gain or loss 342A-B Distribution Lines 514 Distribution of salaries and wages 354-355 Dividend appropriations 118-119 Earnings, Retained 3118-119 Exchange Gas Transactions 328-330 Expenses gas operation and maintenance (nonmajor) 320N-324N gas operation and maintenance (nonmajor) 320N-324N gas operation and maintenance, summary 325 Exploration and development expenses 326 Extraordinary property losses Filing requirements, this report form i.ii Footnote Data		302-303
and amortization of producing natural gas land and land rights Depreciation and amortization of common utility plant of gas plant Directors Discount of capital stock Discount - premium on long-term debt Distribution Lines Distribution of salaries and wages Dividend appropriations Earnings, Retained Exchange Gas Transactions Expenses gas operation and maintenance gas operation and maintenance (nonmajor) gas operation and maintenance, summary unamortized debt Extraordinary property losses Extraordinary property losses Filing requirements, this report form Footnote Data 356 3219, 336-338 219, 336-338 219, 336-338 219, 336-338 219, 336-338 219, 336-338 219, 336-338 219, 336-338 219, 336-338 219, 336-338 219, 342A-B 256-257 256-257 257 258 258 258 258 259 259 250 251 251 251 2551	·	226 220
Depreciation and amortization of common utility plant of gas plant Directors Discount of capital stock Discount - premium on long-term debt Disposition of property, gain or loss Distribution Lines Distribution of salaries and wages Dividend appropriations Earnings, Retained Exchange Gas Transactions Expenses gas operation and maintenance gas operation and maintenance (nonmajor) gas operation and maintenance, summary unamortized debt Exploration and development expenses Extraordinary property losses Filling requirements, this report form Footnote Data 219, 336-338 219, 336-338 219, 336-325 342A-B 342A-B 354-355 Dividend appropriations 118-119 Exchange Gas Transactions 118-119 Exchange Gas Transactions 328-330 Expenses 320-325 320N-324N 325 Exploration and maintenance, summary unamortized debt 256-257 Exploration and development expenses Extraordinary property losses Filling requirements, this report form Footnote Data		
of common utility plant of gas plant Directors Discount of capital stock Discount - premium on long-term debt Disposition of property, gain or loss Distribution Lines Distribution of salaries and wages Dividend appropriations Earnings, Retained Exchange Gas Transactions Expenses gas operation and maintenance gas operation and maintenance (nonmajor) gas operation and maintenance, summary unamortized debt Exploration and development expenses Extraordinary property losses Filing requirements, this report form Footnote Data 105 219, 336-338 219, 336-338 254 254 256-257 342A-B 256-257 342A-B 256-257 342A-B 256-257 342A-B 256-257 342A-B 256-257 326-257 320-325 320-325 320-325 320-325 320-325 320 320-325 326 326 326 326 326 326 326 326 326 326		330-330
of gas plant Directors Discount of capital stock Discount - premium on long-term debt Disposition of property, gain or loss Distribution Lines Distribution of salaries and wages Dividend appropriations Earnings, Retained Exchange Gas Transactions Expenses gas operation and maintenance gas operation and maintenance (nonmajor) gas operation and maintenance, summary unamortized debt Exploration and development expenses Extraordinary property losses Filing requirements, this report form Footnote Data 105 254 256-257 342A-B 256-257 342A-B 2514 256-257 342A-B 342A-B 344-B 345-355 344-B 346-355 346-355 346-356 347-355 348-35 348-355 348-355 348-355 348-355 348-355 348-355 348-35 348-355 348-		256
Directors Discount of capital stock Discount - premium on long-term debt Disposition of property, gain or loss Distribution Lines Distribution of salaries and wages Dividend appropriations Earnings, Retained Exchange Gas Transactions Expenses gas operation and maintenance gas operation and maintenance (nonmajor) gas operation and maintenance, summary unamortized debt Exploration and development expenses Extraordinary property losses Filing requirements, this report form Footnote Data 256-257 105 256-257 256-257 256-257 256-257 257 258 258 258 258 258 258 258 258 258 258		
Discount of capital stock Discount - premium on long-term debt Disposition of property, gain or loss Distribution Lines Distribution of salaries and wages Dividend appropriations Earnings, Retained Exchange Gas Transactions Expenses gas operation and maintenance gas operation and maintenance (nonmajor) gas operation and maintenance, summary unamortized debt Exploration and development expenses Extraordinary property losses Filing requirements, this report form Footnote Data 256-257 256-257 254 256-257 256-257 256-257 256-257 256-257 256-257 256-257 256-257 256-257 256-257	• • • • • • • • • • • • • • • • • • • •	
Discount - premium on long-term debt Disposition of property, gain or loss Distribution Lines Distribution of salaries and wages Dividend appropriations Earnings, Retained Exchange Gas Transactions Expenses gas operation and maintenance gas operation and maintenance (nonmajor) gas operation and maintenance, summary unamortized debt Exploration and development expenses Extraordinary property losses Filing requirements, this report form Footnote Data 256-257 A42A-B 342A-B 342A-B 342A-B 354-355 118-119 Exchange Gas Transactions 118-119 328-330 328-330 230-325 320N-324N 325 226-257 Exploration and development expenses Extraordinary property losses Filing requirements, this report form Footnote Data		
Disposition of property, gain or loss Distribution Lines Distribution of salaries and wages Dividend appropriations Earnings, Retained Exchange Gas Transactions Expenses gas operation and maintenance gas operation and maintenance (nonmajor) gas operation and maintenance, summary unamortized debt Exploration and development expenses Extraordinary property losses Filing requirements, this report form Footnote Data 342A-B 551 342A-B 551 342A-B 551	•	
Distribution Lines 514 Distribution of salaries and wages 354-355 Dividend appropriations 118-119 Earnings, Retained 118-119 Exchange Gas Transactions 328-330 Expenses 328-330 Expenses 320-325 gas operation and maintenance (nonmajor) 320N-324N gas operation and maintenance, summary 325 unamortized debt 256-257 Exploration and development expenses 326 Extraordinary property losses 230 Filing requirements, this report form 551		
Distribution of salaries and wages Dividend appropriations Earnings, Retained Exchange Gas Transactions Expenses gas operation and maintenance gas operation and maintenance (nonmajor) gas operation and maintenance, summary unamortized debt Exploration and development expenses Extraordinary property losses Filing requirements, this report form Footnote Data 354-355 118-119 2328-330 2328-330 2329-325 320N-324N 320N-324N 325 256-257 256-257 250-257 250-257 251 251 251 251 251 251 251 251 251 251		
Dividend appropriations Earnings, Retained Exchange Gas Transactions Expenses gas operation and maintenance gas operation and maintenance (nonmajor) gas operation and maintenance, summary unamortized debt Exploration and development expenses Extraordinary property losses Filing requirements, this report form Footnote Data 118-119 118		-
Earnings, Retained Exchange Gas Transactions Expenses gas operation and maintenance gas operation and maintenance (nonmajor) gas operation and maintenance, summary unamortized debt Exploration and development expenses Extraordinary property losses Filing requirements, this report form Footnote Data 118-119 328-330 320-325 320N-324N 325 226-257 236 230 Filing requirements, this report form Footnote Data		
Exchange Gas Transactions Expenses gas operation and maintenance gas operation and maintenance (nonmajor) gas operation and maintenance, summary unamortized debt Exploration and development expenses Extraordinary property losses Filing requirements, this report form Footnote Data 328-330 320-325 320N-324N 325 256-257 256-257 Exploration and development expenses i-ii Footnote Data		
Expenses gas operation and maintenance gas operation and maintenance (nonmajor) gas operation and maintenance, summary unamortized debt Exploration and development expenses Extraordinary property losses Filing requirements, this report form Footnote Data 320-325 320N-324N 325 226-257 Exploration and development expenses 230 Filing requirements, this report form Footnote Data 320-325 320N-324N 325 226-257		
gas operation and maintenance gas operation and maintenance (nonmajor) gas operation and maintenance, summary unamortized debt Exploration and development expenses Extraordinary property losses Filing requirements, this report form Footnote Data 320-325 320N-324N 325 226-257 236 230 Filing requirements, this report form Footnote Data		328-330
gas operation and maintenance (nonmajor) gas operation and maintenance, summary unamortized debt Exploration and development expenses Extraordinary property losses Filing requirements, this report form Footnote Data 320N-324N 325 256-257 256-257 230 i-ii	·	200 205
gas operation and maintenance, summary unamortized debt Exploration and development expenses Extraordinary property losses Filing requirements, this report form Footnote Data 325 256-257 326 230 Filing requirements, this report form Footnote Data 551		
unamortized debt Exploration and development expenses Extraordinary property losses Filing requirements, this report form Footnote Data 256-257 326 230 i-ii 551		
Exploration and development expenses Extraordinary property losses Filing requirements, this report form Footnote Data 326 230 i-ii 551		
Extraordinary property losses 230 Filing requirements, this report form i-ii Footnote Data 551		
Filing requirements, this report form i-ii Footnote Data 551		
Footnote Data 551		
rootnote pata 551		
	FUULTIULE DAID	551

Gains an disposition of property unamortized, on reacquired debt 260 Gas 229 advances 229 exchanged, natural 328-330 production and gathering statistics, natural 506 purchases, natural and other 327 reserves, land acreage, natural gas 500-501 stored underground 220 used in utility operations, credit 331 plant in service 202-2128 General description of construction overhead procedure 218 General information 101 General information 101 General information 101 Important Changes during year 108-109 Income 256-259, 340 deductions - details 256-259, 340 from utility plant leased to others 339 statement of, by departments 114-117 Incorporation information 256-259, 340 Incorporation information 250 Interest 256-259, 340 Interest 256-259, 340 Interest 252 <th></th> <th>Schedule</th> <th></th> <th></th> <th></th> <th>Page No.</th>		Schedule				Page No.
Gas 229 exchanged, natural 328-330 production and gathering statistics, natural 506 purchases, natural and other 327 reserves, land acreage, natural gas 500-501 stored underground 220 used in utility operations, credit 331 plant in service 202-212B General description of construction overhead procedure 218 General instructions ii.ii identification 101 Important Changes during year 108-109 income 256-259, 340 from utility plant leased to others 339 statement of, by departments 114-117 incorporation information 101 installments received on capital stock 252 interest 256-259, 340 charges, on debt to associated companies 340 charges, on debt to associated companies 256-259 charges, other 256-257 charges, paid on long-term debt, advances, etc. 256-257 investment tax credits, accumulated deferred 268-267	Gains					
Gas 229 exchanged, natural 328-330 production and gathering statistics, natural 506 purchases, natural and other 327 reserves, land acreage, natural gas 500-501 stored underground 220 used in utility operations, credit 331 plant in service 202-212B General description of construction overhead procedure 218 General instructions 101 Identification 101 Important Changes during year 108-109 Income 256-259, 340 from utility plant leased to others 339 statement of, by departments 114-117 statement of, for the year (see also revenues) 114-117 Incorporation information 252 interest 256-257 received from investments, advances, etc. 256-257		on disposition of property	1			342A-B
advances exchanged, natural production and gathering statistics, natural production and gathering statistics, natural production and gathering statistics, natural purchases, natural and other reserves, land acreage, natural gas stored underground used in utility operations, credit plant in service General description of construction overhead procedure General information General instructions General instruction overhead to oftens General instructions General instruction overhead to others General instruction of construction overhead general overhead general overhead general overhead general overhead general overhead general general overhead general general overhead general		unamortized, on reacquir	ed debt			260
exchanged, natural production and gathering statistics, natural gas 500-501	Gas				 	
reserves, land acreage, natural gas stored underground used in utility operations, credit plant in service General description of construction overhead procedure General information General information General instructions Identification Inoportant Changes during year deductions - details from utility plant leased to others statement of, for the year (see also revenues) Interest Charges, on debt to associated companies charges, paid on long-term debt, advances, etc. Investment tax credits, accumulated deferred Investment tax credits generated and utilized Investment tax credits description year in associated companies nountility property other securities disposed of during year Leases in come form utility plant leased to others 339 statement of, for the year (see also revenues) 114-117 Incorporation information Installments received on capital stock 252 Interest Charges, on debt to associated companies charges, paid on long-term debt, advances, etc. 256-257 received from investments, advances, etc. 222-223 Investment tax credits generated and utilized 10 associated companies 11 associated companies 12 associated companies 12 associated companies 13 associated companies 14 associated companies 15 associated companies 16 associated companies 17 associated companies 18 associated companies 19 associated companies 10 associated companies 10 associated companies 10 associated companies 10 associated companies 11 associated companies 12 associated companies					 	
reserves, land acreage, natural gas stored underground used in utility operations, credit plant in service General description of construction overhead procedure General information General information General instructions Identification Inoportant Changes during year deductions - details from utility plant leased to others statement of, for the year (see also revenues) Interest Charges, on debt to associated companies charges, paid on long-term debt, advances, etc. Investment tax credits, accumulated deferred Investment tax credits generated and utilized Investment tax credits description year in associated companies nountility property other securities disposed of during year Leases in come form utility plant leased to others 339 statement of, for the year (see also revenues) 114-117 Incorporation information Installments received on capital stock 252 Interest Charges, on debt to associated companies charges, paid on long-term debt, advances, etc. 256-257 received from investments, advances, etc. 222-223 Investment tax credits generated and utilized 10 associated companies 11 associated companies 12 associated companies 12 associated companies 13 associated companies 14 associated companies 15 associated companies 16 associated companies 17 associated companies 18 associated companies 19 associated companies 10 associated companies 10 associated companies 10 associated companies 10 associated companies 11 associated companies 12 associated companies		exchanged, natural			 	
reserves, land acreage, natural gas stored underground used in utility operations, credit plant in service General description of construction overhead procedure General information General information General instructions Identification Inoportant Changes during year deductions - details from utility plant leased to others statement of, for the year (see also revenues) Interest Charges, on debt to associated companies charges, paid on long-term debt, advances, etc. Investment tax credits, accumulated deferred Investment tax credits generated and utilized Investment tax credits description year in associated companies nountility property other securities disposed of during year Leases in come form utility plant leased to others 339 statement of, for the year (see also revenues) 114-117 Incorporation information Installments received on capital stock 252 Interest Charges, on debt to associated companies charges, paid on long-term debt, advances, etc. 256-257 received from investments, advances, etc. 222-223 Investment tax credits generated and utilized 10 associated companies 11 associated companies 12 associated companies 12 associated companies 13 associated companies 14 associated companies 15 associated companies 16 associated companies 17 associated companies 18 associated companies 19 associated companies 10 associated companies 10 associated companies 10 associated companies 10 associated companies 11 associated companies 12 associated companies		production and gathering	statistics, nat	tural	 	
Stored in utility operations, credit 331 plant in service 202-212B		purchases, natural and o	iner		 	
used in utility operations, credit 331 plant in service 202-212B General description of construction overhead procedure 218 General information 101 General information 101 Identification 101 Important Changes during year 108-109 Income 256-259, 340 deductions - details 256-259, 340 from utility plant leased to others 339 statement of, by departments 114-117 Incorporation information 101 Installments received on capital stock 252 Interest 252 Interest charges, on debt to associated companies 340 charges, other 340 charges, paid on long-term debt, advances, etc. 256-257 Investment tax credits, accumulated deferred 266-267 Investment tax credits, accumulated deferred 266-267 Investments 222-223 nonutility property 221 other 222-223 securities disposed of during year 222-223 Leases <t< td=""><td></td><td>reserves , land acreage,</td><td>naturai gas</td><td></td><td> </td><td></td></t<>		reserves , land acreage,	naturai gas		 	
plant in service 202-2128			credit			
General description of construction overhead procedure 218 General information 101 General instructions ii-iii Identification 1001 Important Changes during year 108-109 Income 256-259, 340 from utility plant leased to others 339 statement of, by departments 114-117 Incorporation information 101 Installments received on capital stock 252 Interest 340 charges, on debt to associated companies 340 charges, other 340 charges, paid on long-term debt, advances, etc. 256-257 received from investments, advances, etc. 256-257 received from investments, advances, etc. 266-267 Investment tax credits, accumulated deferred 264-265 Investment tax credits generated and utilized 264-265 Investment is 222-223 nonutility property 221 other 222-223 securities disposed of during year 222-223 securities disposed of during year 222-223					 	
General Information 101	General de	escription of construction o	verhead proc	edure	 	
General instructions 101 Important Changes during year 108-109 Income	General in					_
Identification 101 Important Changes during year 108-109 Income 256-259, 340 from utility plant leased to others 339 statement of, by departments 114-117 Incorporation information 101 Installments received on capital stock 252 Interest 340 charges, on debt to associated companies 340 charges, paid on long-term debt, advances, etc. 256-257 received from investments, advances, etc. 222-223 Investment tax credits, accumulated deferred 266-267 Investment tax credits generated and utilized 264-265 Investments 222-223 in associated companies 222-223 nonutility property 221 other 222-223 securities disposed of during year 222-223 subsidiary companies 222-223 Law, excerpts applicable to this report form i-iv Leagal proceedings during year 108-109 Leases 108-109 Lease rentals charged 339-10 Liabilities	General in					
Important Changes during year 108-109 Income deductions - details 256-259, 340 from utility plant leased to others 339 statement of, by departments 114-117 Incorporation information 101 Installments received on capital stock 252 Interest Charges, on debt to associated companies 340 charges, other 340 charges, other 340 charges, paid on long-term debt, advances, etc. 256-257 received from investments, advances, etc. 226-223 Investment tax credits generated and utilized 266-267 Investment tax credits generated and utilized 222-223 Investments 222-223 nonutility property 221 other 222-223 securities disposed of during year 222-223 subsidiary companies 224-225 temporary cash 222-223 Law, excerpts applicable to this report form 108-109 Leases income from utility plant leased to others 268 lease rentals charged 333A-D Liabilities, miscellaneous current & accrued 268 Liquefied petroleum gas operation 516-517 List of schedules, this report form 2-4 Long-term debt 256-257 Losses-Extraordinary property 342A-B operating, carryforward 117C unamortized, on reacquired debt 260 Management and engineering contracts 575	Identificati	on				101
Income	Important	Changes during year				108-109
from utility plant leased to others 339 statement of, by departments 114-117 statement of, for the year (see also revenues) 114-117 Incorporation information 101 Installments received on capital stock 252 Interest 340 charges, on debt to associated companies 340 charges, paid on long-term debt, advances, etc. 256-257 received from investments, advances, etc. 222-223 Investment tax credits, accumulated deferred 266-267 Investment tax credits generated and utilized 264-265 Investments 222-223 in associated companies 222-223 nonutility property 221 other 222-223 securities disposed of during year 222-223 subsidiary companies 222-223 subsidiary companies 222-223 Law, excerpts applicable to this report form i-iv Legal proceedings during year 108-109 Leases 108-109 lease rentals charged 333A-D Liabilities, miscellaneous current & accrued	Income					
from utility plant leased to others 339 statement of, by departments 114-117 statement of, for the year (see also revenues) 114-117 Incorporation information 101 Installments received on capital stock 252 Interest Charges, on debt to associated companies 340 charges, paid on long-term debt, advances, etc. 256-257 received from investments, advances, etc. 222-223 Investment tax credits, accumulated deferred 266-267 Investment tax credits generated and utilized 264-265 Investments 222-223 in associated companies in associated compa					 	256-259, 340
Statement of, for the year (see also revenues) 114-117 Incorporation information 101 Installments received on capital stock 252 Interest Charges, on debt to associated companies 340 Charges, other 340 Charges, paid on long-term debt, advances, etc. 256-257 received from investments, advances, etc. 222-223 Investment tax credits, accumulated deferred 266-267 Investment tax credits generated and utilized 264-265 Investments 222-223 Investments 222-223 in associated companies 222-223 nonutility property 221 other 222-223 securities disposed of during year 222-223 subsidiary companies 224-225 temporary cash 222-223 Law, excerpts applicable to this report form i-iv Legal proceedings during year 108-109 Leases income from utility plant leased to others 339 lease rentals charged 268 Liabilities, miscellaneous current & accrued 268 Liquefied petroleum gas operation 516-517 List of schedules, this report form 2-4 Long-term debt 256-257 Losses-Extraordinary property 230 Losses On disposition of property 230 On disposition of property 230 Management and engineering contracts 357		, .	oothers			339
Incorporation information					 	
Installments received on capital stock 252 Interest 340 charges, ofther 340 charges, paid on long-term debt, advances, etc. 256-257 received from investments, advances, etc. 222-223 Investment tax credits, accumulated deferred 266-267 Investment tax credits generated and utilized 264-265 Investments 222-223 in associated companies 222-223 nonutility property 221 other 222-223 securities disposed of during year 222-223 subsidiary companies 222-223 Law, excerpts applicable to this report form i.iv Legal proceedings during year 108-109 Leases 108-109 Leases 108-109 Leases 333A-D Liabilities, miscellaneous current & accrued 268 Liquefied petroleum gas operation 516-517 List of schedules, this report form 24 Long-term debt 256-257 Losses-Extraordinary property 230 Losses on disposi			`	renues)	 	
Interest					 	
charges, on debt to associated companies 340 charges, other 340 charges, paid on long-term debt, advances, etc. 256-257 received from investments, advances, etc. 222-223 Investment tax credits, accumulated deferred 266-267 Investment tax credits generated and utilized 264-265 Investments 222-223 in associated companies 222-223 nonutility property 221 other 222-223 securities disposed of during year 222-223 subsidiary companies 222-223 subsidiary companies 222-223 Law, excerpts applicable to this report form i-iv Legal proceedings during year 108-109 Leases 108-109 Leases 339 lease rentals charged 333A-D Liabilities, miscellaneous current & accrued 268 Liquefled petroleum gas operation 516-517 List of schedules, this report form 2-4 Long-term debt 256-257 Losses-Extraordinary property 230 Losse		ts received on capital stoc	k		 	252
charges, paid on long-term debt, advances, etc. 256-257 received from investments, advances, etc. 222-223 Investment tax credits, accumulated deferred 266-267 Investment tax credits generated and utilized 264-265 Investments 222-223 in associated companies 222-223 nonutility property 221 other 222-223 securities disposed of during year 222-223 subsidiary companies 224-225 temporary cash 222-223 Law, excerpts applicable to this report form i-iv Legal proceedings during year 108-109 Leases income from utility plant leased to others 339 lease rentals charged 333A-D Liabilities, miscellaneous current & accrued 268 Liquefied petroleum gas operation 516-517 List of schedules, this report form 2-4 Long-term debt 256-257 Losses on disposition of property 230 Losses on disposition of property 342A-B operating, carryforward 217C </td <td>Interest</td> <td>-1</td> <td>.:.4</td> <td></td> <td></td> <td>0.40</td>	Interest	-1	.:.4			0.40
charges, paid on long-term debt, advances, etc. 256-257 received from investments, advances, etc. 222-223 Investment tax credits, accumulated deferred 266-267 Investment tax credits generated and utilized 264-265 Investments 222-223 in associated companies 222-223 nonutility property 221 other 222-223 securities disposed of during year 222-223 subsidiary companies 222-223 temporary cash 222-223 Law, excerpts applicable to this report form i-iv Legal proceedings during year 108-109 Leases income from utility plant leased to others 339 lease rentals charged 333A-D Liabilities, miscellaneous current & accrued 268 Liquefied petroleum gas operation 516-517 List of schedules, this report form 2-4 Long-term debt 256-257 Losses on disposition of property 230 Losses on disposition of property 342A-B operating, carryforward 117C </td <td></td> <td>_</td> <td>ciated compa</td> <td>nies</td> <td> </td> <td></td>		_	ciated compa	nies	 	
received from investments, advances, etc. lnvestment tax credits, accumulated deferred lnvestment tax credits generated and utilized lnvestments in associated companies			on dobt odvov	oto	 	
Investment tax credits, accumulated deferred Investment tax credits generated and utilized Investments in associated companies in associated of during year in associated i						
Investment tax credits generated and utilized Investments in associated companies in accurate in associated companies in accurate in associated in associ	Investmen		,			
Investments in associated companies						
in associated companies 222-223 nonutility property 221 other 222-223 securities disposed of during year 222-223 subsidiary companies 224-225 temporary cash 222-223 Law, excerpts applicable to this report form i-iv Legal proceedings during year 108-109 Leases 339 income from utility plant leased to others 339 lease rentals charged 333A-D Liabilities, miscellaneous current & accrued 268 Liquefied petroleum gas operation 516-517 List of schedules, this report form 2-4 Long-term debt 256-257 Losses-Extraordinary property 230 Losses 342A-B operating, carryforward 117C unamortized, on reacquired debt 260 Management and engineering contracts 357		-	dunzed		 	204-203
other 222-223 securities disposed of during year 222-223 subsidiary companies 224-225 temporary cash 222-223 Law, excerpts applicable to this report form i-iv Legal proceedings during year 108-109 Leases 339 lease rentals charged 333A-D Liabilities, miscellaneous current & accrued 268 Liquefied petroleum gas operation 516-517 List of schedules, this report form 2-4 Long-term debt 256-257 Losses-Extraordinary property 230 Losses on disposition of property 342A-B operating, carryforward 117C unamortized, on reacquired debt 260 Management and engineering contracts 357	mvoodmon					222-223
other 222-223 securities disposed of during year 222-223 subsidiary companies 224-225 temporary cash 222-223 Law, excerpts applicable to this report form i-iv Legal proceedings during year 108-109 Leases 339 income from utility plant leased to others 339 lease rentals charged 333A-D Liabilities, miscellaneous current & accrued 268 Liquefied petroleum gas operation 516-517 List of schedules, this report form 2-4 Long-term debt 256-257 Losses-Extraordinary property 230 Losses 342A-B operating, carryforward 117C unamortized, on reacquired debt 260 Management and engineering contracts 357		nonutility property			 	
securities disposed of during year subsidiary companies 224-225 temporary cash 222-223 Law, excerpts applicable to this report form Legal proceedings during year Leases income from utility plant leased to others lease rentals charged Liabilities, miscellaneous current & accrued Liquefied petroleum gas operation List of schedules, this report form Long-term debt Long-term debt Losses on disposition of property operating, carryforward unamortized, on reacquired debt Management and engineering contracts 224-225 224-225 224-225 224-225 224-225 224-225 224-225 224-225 224-225 224-225 224-225 224-225 224-225 224-225 224-225 239 24-209 24-209 258-109 268 268 256-257 256-257 256-257 250 260 270 270 270 270 270 270 270 270 270 27		* * * *				
subsidiary companies temporary cash Law, excerpts applicable to this report form Legal proceedings during year Leases income from utility plant leased to others lease rentals charged Liabilities, miscellaneous current & accrued Liquefied petroleum gas operation List of schedules, this report form Long-term debt Losses-Extraordinary property Losses on disposition of property operating, carryforward unamortized, on reacquired debt Management and engineering contracts 224-225 222-223 Law, excerpts applicable to this report form 108-109 Lesses 339 Light Fraction 108-109 Losses 339 Losses 1342A-B 117C 117C 117C 118		securities disposed of du	ring year			
temporary cash Law, excerpts applicable to this report form Legal proceedings during year Leases income from utility plant leased to others lease rentals charged Liabilities, miscellaneous current & accrued Liquefied petroleum gas operation List of schedules, this report form Long-term debt Losses-Extraordinary property Losses on disposition of property operating, carryforward unamortized, on reacquired debt Management and engineering contracts 222-223 108-109 108-109 239 333A-D 268 268 256-257 256-257 230 342A-B 117C 260 Management and engineering contracts						224-225
Law, excerpts applicable to this report form Legal proceedings during year Leases income from utility plant leased to others lease rentals charged Liabilities, miscellaneous current & accrued Liquefied petroleum gas operation List of schedules, this report form Long-term debt Losses-Extraordinary property on disposition of property operating, carryforward unamortized, on reacquired debt Management and engineering contracts i-iv 108-109 108-109 248 258 258 258 339 133A-D 268 268 268 268 256-257 230 230 244 256-257 230 342A-B 117C 260 Management and engineering contracts 357		temporary cash				222-223
Legal proceedings during year Leases income from utility plant leased to others lease rentals charged Liabilities, miscellaneous current & accrued Liquefied petroleum gas operation List of schedules, this report form Losses-Extraordinary property Losses-Extraordinary property on disposition of property operating, carryforward unamortized, on reacquired debt Management and engineering contracts 108-109 139 139 139 136-517 156-517 2-4 256-257 230 342A-B 117C 117C 117C 117C 117C 117C 117C 117C 117C	Law, exce	rpts applicable to this repo	rt form			i-iv
income from utility plant leased to others lease rentals charged 333A-D Liabilities, miscellaneous current & accrued 268 Liquefied petroleum gas operation 516-517 List of schedules, this report form 2-4 Long-term debt 256-257 Losses-Extraordinary property 230 Losses on disposition of property operating, carryforward unamortized, on reacquired debt Management and engineering contracts 339 333A-D 268 258 258 259 250 250 342A-B 260 357	Legal prod	eedings during year			 	108-109
lease rentals charged Liabilities, miscellaneous current & accrued Liquefied petroleum gas operation List of schedules, this report form Long-term debt Losses-Extraordinary property on disposition of property operating, carryforward unamortized, on reacquired debt Management and engineering contracts 333A-D 268 258 258 256-257 230 342A-B 117C 260 Management and engineering contracts 357	Leases				 	
Liabilities, miscellaneous current & accrued Liquefied petroleum gas operation List of schedules, this report form Long-term debt Losses-Extraordinary property Losses on disposition of property operating, carryforward unamortized, on reacquired debt Management and engineering contracts 268 256-257 224 256-257 230 342A-B 117C 260 Management and engineering contracts 357		• •	eased to othe	rs	 	
Liquefied petroleum gas operation 516-517 List of schedules, this report form 2-4 Long-term debt 256-257 Losses-Extraordinary property 230 Losses on disposition of property 342A-B operating, carryforward 117C unamortized, on reacquired debt 260 Management and engineering contracts 357					 	
List of schedules, this report form 2-4 Long-term debt 256-257 Losses-Extraordinary property 230 Losses on disposition of property 342A-B operating, carryforward 117C unamortized, on reacquired debt 260 Management and engineering contracts 357			ccrued		 	
Long-term debt 256-257 Losses-Extraordinary property 230 Losses on disposition of property 342A-B operating, carryforward 117C unamortized, on reacquired debt 260 Management and engineering contracts 357					 	
Losses-Extraordinary property Losses on disposition of property operating, carryforward unamortized, on reacquired debt Management and engineering contracts 230 342A-B 117C 260 357					 	
Losses on disposition of property operating, carryforward unamortized, on reacquired debt Management and engineering contracts 342A-B 117C 260 357					 	
on disposition of property 342A-B operating, carryforward 117C unamortized, on reacquired debt 260 Management and engineering contracts 357	_	traordinary property			 	230
unamortized, on reacquired debt 260 Management and engineering contracts 357	Losses	on disposition of property	ı			2424 0
unamortized, on reacquired debt 260 Management and engineering contracts 357		on disposition of property			 	
Management and engineering contracts 357		unamortized on reacquir	ed debt		 	
Mon avetem	Managem	ent and engineering contra	ou uent acts			
	, 0,500				 	~- <u>-</u> -

	Schedule				Page No.
	eous general expenses				 228C 335 221
110100	payable				260A
	payable payable, advances from	associated co	mpanies		 256-257
	receivable				 228A
	to balance sheet				122-123
	to statement of cash flow	,			122-123
	to statement of income				 122-123
	to statement of retained	earnings			122-123
Number of	f Gas Department Employe	•			325
	nd officers' salaries				104
Oil and ga	s wells, number of				510
Operating					
	expenses - gas				320-325
	expenses - gas (summar	y)			 325
	loss carryforward				 117C
	revenues - gas				300-301
Operation	and maintenance expense	es (nonmajor)			320N-324N
Other					
	donations received from	stockholders			 253
	gains on resale or cance	llation of reacc	quired capital	stock	 253
	income accounts				341
	miscellaneous paid-in ca	pital			253
	other supplies expense				334
	paid-in capital				253
	reduction in par or stated	value of capit	al stock		253
	regulatory assets				232
	regulatory liabilities				278
	ervices, charges for				 357
Overhead	, construction - gas				217
Payables,	to associated companies veries, distribution system,				260B
Peak, deli	veries, distribution system,	Mcf			 518
r caking is	icililes, auxiliai y				 519
Plant, Con	nmon utility				
	accumulated provision for	r depreciation			 356
	acquisition adjustments				356
	allocated to utility departi	nents			 356
	completed construction r				 356
	construction work in prog	ıress			 356
	expenses				 356
	held for future use				 356
	in service				 356
DI4 -I-4-	leased to others				 356
Plant data					 217-218
					336-338
Dlant ~-					500-519
Plant - gas		donne -: -+:			040
	accumulated provision for				 219
	construction work in prog held for future use	ji ess			 216
					 214
	in service leased to others				 204-212B
	ICASCU IU UIIICIS				 213

	<u>Schedule</u>				Page No.
Plant - utili	tv				
r idire dili	and accumulated provisi	ons (summary	()		200-201
	leased to others, income	from	/	 	339
Political ac	ctivities, expenditures for	110111		 	343
	ontrol facilities, accumulat	ed deferred in	come taxes	 	234-235
	y survey and investigation			 	231
	and discount on long-term			 	256-257
	on capital stock			 	250-257
				 	226-227
	as purchases under purch	ase agreemer	its	 	
Prepaid ta				 	262-263
Prepayme				 	230
Production					0.45
ъ.	properties held for future	use		 	215
	al services, charges for			 	357
	losses, extraordinary			 	230
Purchased	•				327, 327A-B
Reacquire					
	capital stock				250-251
	debt, unamortized loss a	nd gain on		 	260
	long-term debt			 	256-257
Receivable	es				
	from associated compan	ies		 	228B
	notes and accounts				228A
Receivers'	certificates			 	256-257
Reconcilia	tion of deferred income ta	x expense			117A-B
Reconcilia	tion of reported net incom	e with taxable	income		
	for Federal income taxes	;			261A-B
Regulatory	Assets, Other			 	232
Regulatory	Commission Expenses D	Deferred		 	233, 350-351
	Commission Expenses F			 	350-351
	Liabilities, Other			 	278
Rent	, -			 	
	from lease of utility plant				339
	lease rentals charged			 	333A-D
Research	development and demons	stration activit	ies	 	352-353
Reserves	dovelopment and demon	stration dotivit	100	 	002 000
110001100	changes in estimated hy	drocarbon			504-505
Retained E	natural gas land acreage			 	500-501
i vetaineu L	amortization reserve, Fe	doral			119
		uerai		 	_
	appropriated			 	118-119
	statement of, for year			 	118-119
D	unappropriated			 	118-119
Revenues	£				0.45
	from natural gas process			 	315
	from transportation of ga	s of others		 	312-313
	gas operating			 	300-301
Salaries a					
	director fees			 	105
	distribution of			 	354-355
	officers'			 	104

<u>Schedule</u>	Page No.
Sales	
gasoline - extracted from natural gas	315
natural gas - for resale	310A-B
products extracted from natural gas	315
Schedules, this report form	2-4
Securities	
disposed of during year	222-223
holders and voting powers	106-107
investment in associated companies	222-223
investment, others	222-223
investment, temporary cash	222-223
issued or assumed during year	255
refunded or retired during year	255
	250-251, 256-257
Service contract charges	357
Statement of cash flows	120-121
Statement of income for the year	114-117
Statement of retained earnings for the year	118-119
Stock liability for conversion	252
Storage of natural gas, underground	512-513
Supplies - materials and	228C
Survey and investigation, preliminary charges	231
System map	522
Taxes	
accrued and prepaid	262-263
accumulated deferred income - temporary	277
calculated of, federal	261C-D
charged during year	262-263
on income, deferred and accumulated	234-235, 272-275
	276A-B
reconciliation of deferred income tax expense	117A-B
reconciliation of net income with taxable income	261A-B
Temporary cash investments	222-223
Transmission	
and compression of gas by others	332-333
lines	514
Transportation of gas of others - revenues Unamortized	312-313
debt discount	258-259
deht expense	258-259
loss and gain on reacquired debt	260
premium on debt	258-259
premium on debt Uncollectible accounts, provision for Underground	228A
Onderground	
storage of natural gas, expense, operating data, plant	512-513
gas, stored	220
Unrecovered Plant and Regulatory Study Costs	230
Wells, gas and oil, number of	510